		Notice for a	<u> </u>		•					·				
	Hindustan Petroleum Co	rporation Limi	ted prop	oses to a	appoint	Retail C	Dutlet d	ealers i	in Rajas	sthan, as p	er followin	g details:	1	
S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged / the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	Between KM stone 100 and 98 on SH 25 Rajgarh towards Bandikui either side	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2	Within 3 KM either side of Malakheda Power House on SH 25	ALWAR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
3	Within 10 KMs From Tapukara police station towards Bhiwadi on SH-25	ALWAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	on SH-25 Rajgarh Town Within Municipal Limits on SH 25 A	ALWAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
5	Within 10 KM from Telco Cirle on delhi Road towards Delhi	ALWAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
6	Within 3 Km from Tatarpur Police Station towards Behror on SH 14 ( Alwar - Behror Highway)	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	Village Mundiya on Malakheda to Laxmangarh Road SH 44	ALWAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
8	Within 10 KM from Alwar Bye pass intersection on Tulera Road towards Alwar Transport nagar	ALWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
9	Within 5 KM from Narayani mata temple gate on SH- 29 A	ALWAR	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
10	towards dausa Within 10 KMs from Rajkiya Prathmik Swastha Kendra, Kishori towards Thanagazi on Ajabgarh - Thanagazi Road	ALWAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	From Ganj Kherli Railway Crossing to Alwar Distrct Limits towards Pathena on SH-22	ALWAR	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
12	towards Pathena on SH-22 Within 5 Kms from Machari crossing towards Pinan on SH-25 A	ALWAR	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
13	Anywhere in Behror RIICO Industrial Area	ALWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
14	Within 3 KM either side of Harsora Police station on SH-52 , Bansur to Harosora Road	ALWAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
15	within 1 KM From Ahinsa Circle towards Sahajpura Mod on Kherli Bye Pass Road .	ALWAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
16	Within 5 Kms From Tijara RSRTC Depot on SH 25, Towards Bhiwadi	ALWAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
17	Within 5 Kms from Mundawara chauraha towards Tolawas on Tolawas-Thanagazi Road (SH-13)	ALWAR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
18	within 2 from KM Kathumar-Banokhar Tiraha on Kathumar to	ALWAR	Regular	100	OBC CC 1	сс	35	35	1225	25	10	Bidding	30	4
19	Laxmangarh Road - SH 44 From Gola ka Baas to Alwar District Border	ALWAR	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
20	Within 2 KM of Chikani Chauraha, LHS towards Bhiwadi on SH- 25	ALWAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
21 22	On Malakheda to Haldina Road , within 5 KM from SH 25 Within 10 KM from Laxmangarh Crossing towards Kathumar on	ALWAR	Regular Regular	100 100	OBC SC	DC CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots Draw of Lots	15	4
22	SH 44	ALWAR		100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Within 1 KM from Kishangarh Powerhouse towards Tijara.		Regular										-	
24	Upto 10 Kms from RajgarhBypass on Tehla Road Towards Tehla within 3 KM Kathumar Circle on Kathumar to Kherli Road - SH	ALWAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
25	22	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
26	From Behror Choraha Upto Alwar District Border, TowardsJaipur (RHS) on NH-8 Retwood Mondo Showroom on Narayannur hydroger to	ALWAR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
27	Between Honda Showroom on Narayanpur byepass to Mahadevi B.ed collage On SH 52	ALWAR	Regular	100	OBC	CC	35	35	1225	25	10	Bidding	30	4
28 29	Village Kaduki on Alwar to Behror Highway Within 10 KM from Garhi Sawai Ram to Laxmangarh on SH 35	ALWAR	Regular Regular	100	Open CC 1 SC	DC CFS	35	35 35	1225 1225	25 0	60 0	Draw of Lots	15 0	5
30	Within 10 KM from Garhi Sawai Ram to Laxmangarh on SH 35 Pathreri Within Industrial Area	ALWAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	3
31	Within 3 KM from Budhvihar Bus Stop to Vijaymandir Post office LHS, Alwar City	ALWAR	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
32	Within 3 KM from Kishangarh Byepass Intersection towards Tilara on SH 25	ALWAR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
33	Ghilot Within Industrial Area	ALWAR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
34	Any where in RIICO Neemrana, in Phase 1 or Phase 2 or Japanese Zone.	ALWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
35	Within 2 Kms from Either side of Pinan Eidgah on SH-25 A	ALWAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
36	Within 2 KM from ADJ Court Bansur, on Bansur to Narayanpur Road SH-52	ALWAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
37	Behror Town within Municipal Limits	ALWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
38 39	Rajgarh within Industrial Area Village Sheetal on Alwar To Bharatpur Road SH 14	ALWAR	Regular Regular	100 100	SC PH OBC	CFS CC	20 35	20 35	400 1225	0 25	0 10	Draw of Lots Bidding	0 30	3 4
40	within 3 KM either side of KothiNarayanpur Police Chowki on SH 25	ALWAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
41	Village Titpuri on Laxmangarh to Kathumar Road Sh - 44 Village Shyodanpura on Alwar to Thanagazi Road ( NH 248 A)	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	LHS from Alwar	ALWAR	Regular	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
43	In between Motidungri Circle and Jail Ka Chauraha in Alwar City. From Bijlighar Chauraha to Station Road in Alwar City	ALWAR	Regular Regular	100 100	Open SC	DC CFS	20 20	20 20	400 400	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
44	Khairthal Within Industrial Area	ALWAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
46	Within 3 KM on either side of Majri Kalan Post Office on Majri kalan- Behror Road	ALWAR	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
47	ON Tapukara to Khushkhera Road within 5 KM from Tapukara Crossing	ALWAR	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
48	Anywhere Bhiwadi Industrial Area Desula on Desula Police Chowki to MIA Road , Within UIT Alwar	ALWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
49 50	Dablameo on Kothinarayanpur to Machari Road	ALWAR	Regular Regular	100 100	Open OBC	CC DC	20 35	20 35	400 1225	25 25	10 60	Bidding Draw of Lots	30 15	5
51	Within 5 KM from NH-8 Behror Crossing towards Narnaul Road	ALWAR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
52 53	Vaishali Nagar (Alwar City) Surya Nagar (Alwar City)	ALWAR ALWAR	Regular Regular	100 100	Open Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
54	Within 2 Kms from Ramgarhon Delhi Road NH	ALWAR	Regular	150	OBC CC 1	CC	35	45	1575	25	10	Bidding	30	4
55	From Behror Choraha Upto10 Kms, Towards Delhi(LHS) on NH-8	ALWAR	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
56 57	Thanagazi Within Industrial Area Shahjahanpur on NH-8	ALWAR ALWAR	Regular Regular	100 150	Open PH OBC	CC CC	20 35	20 45	400 1575	25 25	10 10	Bidding Bidding	30 30	5 4
58	Anywhere in Matsya Industrial Area ,Alwar Within 3 KM from Budhvihar Bus Stop to Vijaymandir Post	ALWAR	Regular	100	Open	22	20	20	400	25	10	Bidding	30	5
59	office RHS, Alwar City	ALWAR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5

Image: Problem in the second	S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
	1	2	3	4	5	SC SC CC-1	7		8		9a		10	11	12
B         B         D				-		ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CPEN CC-1 OPEN CC-2	DC /	Frontage	Depth	Area	working capital requirement for operation	fund required for development of infrastructure at	of Lots /		
D         Description         Description <thdescription< th=""> <thdescr< td=""><td></td><td></td><td></td><td></td><td></td><td>OBC</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></thdescr<></thdescription<>						OBC									
Π         Π         No.         F	62	Itarana Road, Alwar City	ALWAR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
InMatching weight obtained by anyone by anyone												45			4
10     10     20    20     <															
Image         Provide and Provide Prov															4
No.         Nome         Nome         No.         No. </td <td>00</td> <td>200 Feet road with SH-25 in Alwar City.</td> <td></td>	00	200 Feet road with SH-25 in Alwar City.													
17         Construct instruct inst	70	Anywhere in Shahjahanpur RIICO Area		Regular		Open CC 2									5
ImageAnome <th< td=""><td>72</td><td>Vill Kankariya on Bansur to Kotputli Road</td><td>ALWAR</td><td>Rural</td><td>50</td><td>OBC</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>12</td><td>30</td><td>Draw of Lots</td><td>5</td><td>3</td></th<>	72	Vill Kankariya on Bansur to Kotputli Road	ALWAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
b         Augus and and any answer have means have any		Khairthal to Harsoli Road . Within 3 KM from Khairthal													
17         100000         100000         100000         100000         100000         100000         100000         100000         100000         100000         100000         100000         100000         1000000         1000000         1000000         10000000         100000000000         1000000000000000000000000000000000000	75	Village Bibirani , Tehsil Kotkasim on Kishangarh Road	ALWAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Number for the other of the Vertee Number         Constrained															
m         m															
10         1000000000000000000000000000000000000						-									
Image         Control         And         A	80	Village Doomera on MIA-Alwar to Doomera Road												÷	2
14         Name         Part         P	01	Crossing	ALWAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Bit         Other Links         Name of Links         Allow         Earl         Name of Links         Name	82		ALWAR	Rural	50	SC	CFS	35	35	1225	0		Draw of Lots	0	2
Bits         Manual Manuary Ma														-	4 3
17         000000000000000000000000000000000000	85	Vill Chandpura on Pratapgarh to Dausa Road	ALWAR		50	ST	CFS	35	35	1225	0	0	Draw of Lots		
Bit         Deckup Large Law monged laws, Series and Laws Laws Laws Laws Laws Laws Laws Laws								1							
98         Langage with higher has units.         OHUU         Megine         100         OCC         100         100         Megine         100         CC         100 <td></td>															
12.         Sequence in Source Traver         CHEAD         Togetar         100         Open         CC         20         400         400         300         4				-			DC	20	20	400					5 4
9         Introvers for Store 35 at 21 at 55 at 55 at 55         95         123         125         125         125         125         126         126         125         126				-											3
194         Bask Concerting Grade Day & B & Gillstorr Receipt         Open         CC         20	93	Between Km Stone 195 to 203 on SH 6 (Taranagar - Sadalpur	CHURU		100	OBC	СС	35	35	1225	25	10	Bidding	30	4
95       Oung ory WML       Organ VML	94	Road Connecting Ghanta Ghar & SH-6 (Bikaner Road) in	CHURU	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
17:         Barleybox within Nagenaliza Gruine         CPUID         Registr         100         Open         CC         20         400         25         45         Dime droit         15         5           98<		Churu City WML													
9         Within Churu With, on Orun-Hiser Read MI 52         OIL/BU         Regular         100         Open         DC         201         400         25         45         Draw of Lots         153         5           100         detaween Ad State 23 de n MH79 (Regent to Fillue Read)         OFU/UI         Regular         150         57         05         35         125         125         0         0         Detaword Lots         0         33           101         Motion Suite on SH64 forwards Lab from Mittaer floa Stated.         OFU/UI         Regular         100         OBC         05         35         15         1225         25         00         Oene of Lots         0         4           104         Mittin State Constructure         OFU/UI         Regular         100         OBC         OC         35         15         1225         25         100         Boding         0         4           104         Mittin State Data State Law St						Open	DC		20	400	25	45	Draw of Lots		5
Image: Note State NM Store 32.3 Gen NH-700 (Riggerts to Plans Read)         CPUIUU         Regular         120         CPUIUU         Regular         120         CPUIUU         Regular         120         CPUIUU         Regular         120         State         1225         0.0         0.0         Draw of Lets         0.0         33           120         Mothio Stanes GM State Aprox Mitagar Res State         CPUIUU         Regular         130         ODE         CC         33         33         1225         2.5         0.0         Draw of Lets         10.3           130         Mita State State Aprox Mitagar Res State         CPUIUU         Regular         130         ODE         CC         35         135         1225         0.0         Draw of Lets         0.4           130         Witage Mergera on Nidaga Macadro Nidaga         CPUIUU         Regular         130         ODE         CC         35         35         1225         2.5         7.7         Draw of Lets         155         4           130         Witage Mergera on Nidaga Macadro Nidaga         CPUIUU         Regular         130         ODE         CC         35         35         1225         2.5         0.0         Draw of Lets         155         4         4         4<															
Image: Notice 20 28 on Net200 (linguish pilurs Road)         CHURU         Register         150         ST         CF         ST<	99	Within Churu WML on Churu-Hisar Road NH 52	CHURU	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
ID         Writin 5 lans on SH6A towards klub from Mitasar Bus Sand.         CHURU         Regular         100         ORC         CC         35         35         1225         2.5         6.0         Draw of Lots         150         4           100         KK State 411 to 42.201 MH 11         CHURU         Regular         150         OEC         2.5         1.5         1225         2.5         1.0         Bidding         3.0         4           104         Within 5 lms from Dolward Bus Stand towards Scalapiur on NH52         CHURU         Regular         150         OEC         1.5         1.5         1.5         Doward Lots         1.5         Doward Lots         1.5         1.5           105         Writin 6 lms towards Churur from Sicala Bus Stand on NH52         CHURU         Regular         1.50         OEC         3.5         1.225         2.5         1.00         Distantian         1.5         4           108         Writin 6 lms on SHIAS Lowards Klaut MM Mark         CHURU         Regular         1.00         OEC         3.5         1.225         2.5         1.00         Distantian         1.5         4           108         Writin 6 lms on SHIAS Lowards Klaut MM Mark         CHURU         Regular         1.00         OEC         3.5<	100	Between KM Stone 32-36 on NH709 (Rajgarh to Pilani Road)	CHURU	Regular	150	Open CC 1	СС	35	35	1225	25	10	Bidding	30	5
103         M4 Store 413 to 422 on NH 11         CHURU         Regular         150         ORC         CC         35         155         125         25         10         Bidding         30         4           104         Wrthin 5 km from bowks Bustand towards Stadepur on HI 52         CHURU         Regular         150         CC         15         35         1225         0         0         Draw of Lats         0         34           105         Within 5 Km from bowks Bustand towards Stade on NH52         CHURU         Regular         130         OBC         CC         35         35         1225         25         75         Draw of Lats         155         4           100         New States Properson NH53         CHURU         Regular         130         OBC         CC         35         35         1225         25         00         Draw of Lats         155         4           100         New States Properson NH53         CHURU         Regular         130         OBC         DC         35         1225         25         00         Draw of Lats         155         4           100         New State Store NH 51         CHURU         Regular         150         OBC         155         1225	101	Between KM Stone 20-28 on NH709 (Rajgarh to Pilani Road)	CHURU	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
104         Within 5 tms from Dolwa Bus Stand towards Solidipur on HH 32         CHURU         Regular         150         SC         CFS         35         122         0         0         Draw of Lots         0         3           105         Within 5 tms from Dolwa Bus Stand towards Solidipur on HH 32         CHURU         Regular         150         Open C1         DC         35         122         25         75         Draw of Lots         15         4           100         Within 5 Km stoward Cuture Missibility Solidipur         CHURU         Regular         150         OBC         25         35         1225         25         10         Bidding         30         4           100         Mitch and Parataski All Solidipur dhunghurun Road) from Solidipur         CHURU         Regular         150         OBC         CC         35         35         1225         25         10         Bidding         30         4           100         Bits Sindi         CHURU         Regular         150         OBC         DC         35         15         1225         25         10         Bidding         30         15         4           110         Within 8 Kms ether side on NH 28 from Ladisar Bus Stand         CHURU         Regular <td< td=""><td>102</td><td>Within 5 kms on SH6A towards Kalu from Mitasar Bus Stand.</td><td>CHURU</td><td>Regular</td><td>100</td><td>OBC</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>25</td><td>60</td><td>Draw of Lots</td><td>15</td><td>4</td></td<>	102	Within 5 kms on SH6A towards Kalu from Mitasar Bus Stand.	CHURU	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
105         Village: Meegna on NHSS (Salaur-Sujungun Road)         CHURU         Megular         100         Open CC1         DC         35         35         225         25         75         Draw of Lots         15         4           106         Writin 8 Km: towards Churu from Sinala bus Stand on NHS2         CHURU         Regular         150         ORC         CC         35         35         1225         25         75         Draw of Lots         15         4           107         New Stand Stand         CHURU         Regular         100         ORC         DC         35         35         1225         25         60         Draw of Lots         15         4           108         Krain one N145 (Salauar-Sujung Kmash)         CHURU         Regular         100         ORC         DC         35         35         1225         25         60         Draw of Lots         15         4           110         Writin 8 Km steaker side on NHSB fron Lodinar Bus Stand         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         4           110         Writin 8 Km steaker side on NHSB fron Lodinara Bus Stand         CHURU         R			CHURU	Regular	150	OBC		35	35	1225	25		Bidding		4
Info         Within 8 Kms towards Churu trom Sirala Bao Stand on 14/52         CHURU         Regular         150         OBC         DC         35         35         122         25         75         Draw of Lots         15         4           107         New Salaar Bregasson NH 58         CHURU         Regular         100         OBC         DC         35         35         1225         25         10         Biedding         30         4           108         Misch from so SH154Bad/pur/Junjunus Read from Sadalpur         CHURU         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15         4           110         Mistione enc. 165:155 on SH-4         CHURU         Regular         150         OBC         DC         35         35         1225         25         10         Default State         15         4           110         Mistone 430: e321 on NH 11         CHURU         Regular         150         OBC         CC         35         35         1225         25         10         Biedding         30         5           113         Retween KM Storne 10 on NFN2 (nagarch Neasson         CHURU         Regular         150				-											
107         New Salaar Bypass on Nit S8         CHURU         Regular         150         0.8C         CC         35         35         1225         25         10         Bidding         30         44           108         Within 6 xm on SH4[Jacdipor-Punyhunu Rood) from Skiblp/ Instance n.145:155 on SH-6         CHURU         Regular         100         OBC PH         DC         35         35         1225         25         60         Draw of Lots         115         44           109         Instance n.145:155 on SH-6         CHURU         Regular         150         0BC PH         DC         35         35         1225         25         60         Draw of Lots         15         44           110         Within 8 km either side on NHS3 from Lothsar Bus Stand         CHURU         Regular         150         OBC         DC         35         35         1225         25         10         Bidding         30         4           111         CM Stone 451 to 441 to NH11         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           112         M Stone 431 to 444 nn NH 2         CHURU         Regular         15															
Ing         Within 6 km on SH41[Saddpur-/hunpluru Road] from Saddpur         OH, Ru         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots         115         44           109         Within 8 km sether side on NHS8 from Lohhar Bus Stand         CHURU         Regular         150         OBC         OC         35         35         1225         25         60         Draw of Lots         115         44           110         Within 8 km sether side on NHS8 from Lohhar Bus Stand         CHURU         Regular         150         OBC         OC         35         35         1225         0         O         Draw of Lots         150         08           111         M Stone 451 of 51 on NH 11         CHURU         Regular         150         OBC         CC         35         35         1225         25         10         Bidding         30         4           112         M Stone 451 of 40 oht NH 11         CHURU         Regular         150         OBC         CC         35         35         1225         25         10         Bidding         30         5           113         M Stone 451 of 40 oht NH 21         CHURU         Regular         150<															4
109         (m.store ro., 145.155 or. 91-6)         CHUU         Regular         100         OBC PH         DC         35         35         1225         25         60         Draw flots         15         4           110         Within 8 Km settler side on NH56 from Lodhar Bus Stand         CHURU         Regular         150         0.00         C         75         35         35         1225         25         75         Draw flots         0.8           111         M.Store 450 to 450 on NH 11         CHURU         Regular         150         0.00         C         35         35         1225         25         10         Bidding         30         5           113         M.Stone 450 to 450 on NH 11         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           114         M.Stone 430 to 44 on NH 11         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           115         NHA         Regular         150         Open         CC         35         35         1225 </td <td>108</td> <td></td> <td>CHURU</td> <td></td> <td>100</td> <td>OBC</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>25</td> <td>60</td> <td>Draw of Lots</td> <td>15</td> <td>4</td>	108		CHURU		100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
111         KM Stone 45t ot 451 on NH 11         CHURU         Regular         150         SC         CFS         35         1225         0         0         Draw of Lots         0         31           112         KM Stone 45t ot 457 on NH 11         CHURU         Regular         150         Open         CC         35         35         1225         2.5         10         Bidding         30         54           113         Between KM Stone 40 to NH709 (Ragarh to Pilan Road)         CHURU         Regular         150         Open         CC         35         35         1225         2.5         10         Bidding         30         54           114         KM Stone 43 to 44 on NH 11         CHURU         Regular         150         Open         CC         35         35         1225         2.5         10         Bidding         30         55           115         NM State 43 to 44 on NH 11         CHURU         Regular         150         Open         CC         35         35         1225         2.5         10         Bidding         30         55           117         Between Churu-Ragarh         CHURU         Regular         150         Open         CC         35         35		Km stone no. 145-155 on SH-6													4
112       KM Stone 450 to 457 on NH 11       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       5         113       Between KM Stone 430 to 44 not 4N M110       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       4         114       KM Stone 430 to 44 not 44 not 41       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       5         115       New Sadajur Physpas on NH 52       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       5         116       OM HY09 (Raypas)       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       5         117       Between Km Stone 48 to 56 on NH 58       CHURU       Regular       150       Open       CC       35       35       1225       0       0       Draw of tots       0       30       55 <tr< td=""><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></tr<>				-											
114         KM Stone 434 to 444 on NH 11         CHURU         Regular         150         Open         CC         35         122         25         10         Bidding         30         5           115         New Sadajur Spepaso on NH 52         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         55           116         ON NH 52 Churu City Pepasos         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         55           116         ON NH 52 Churu City Pepasos         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         55           119         Etherside between Km Stone 48 to 56 on NH 58         CHURU         Regular         100         SC Cc1         CF         35         35         1225         0         0         Draw of Lots         0         33           120         Village: Ohoplaylay, Tehsi: Bdasar on SH 93         CHURU         Regular         150         Open         CC         35	_														
115         New Sadabur Byegass on NH 52         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           116         ON H45 2Churu City Byegass         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           117         Within 4 Km either side of Ratanpura Bus Stand on NH52         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           118         Within 12 Km on NH52 towards Sadalpur from Jhunpa Border         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           120         Village: bholgalitya, Tehil: Bidsar on SH 93         CHURU         Regular         100         SC CC 1         CF         35         35         1225         25         10         Bidding         30         5           120         Within 5 Km sone 75 to 35 on NH 58 (for Loburs Bus Stand         CHURU         Regular				-									-		
115         ON NH 52 Churu City Syrpass         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           117         Within 4 Km either side of Ratanpura Bus Stand on NH52         CHURU         Regular         150         Open         DC         35         35         1225         25         75         Draw of Lots         15         5           118         Within 12 Km on NH52 towards Sadalpur from Jhunpa Border         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           119         Etherside between Km Stone 48 to 56 on NH 58         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           120         Village: Dholpalitya, Tehsi: Bidasaro nSH 93         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           121         Within 5 Kms ofthe side on NH58 (fratehpur-Sujaparth)         CHURU         Reg	115				150		CC	35	35	1225	25	10		30	
111       (Between Churu-Rajgarh)       CHURU       Regular       150       Open       CC       35       35       1225       25       75       Draw of Lots       15       35         118       Within 12 Km on NH52 towards Sadalpur from Jhunpa Border       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       55         119       Eitherside between Km Stone 48 to 56 on NH 58       CHURU       Regular       100       SCC       35       35       1225       0       0       Draw of Lots       0       33         120       Within 5 Km seither side on NH58 from Lodhsar Bus Stand       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       55         122       Between Km Stone 25 to 35 on NH 58 (Fatehpur-Sujangarh)       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       55         122       Between Km Stone 25 to 35 on NH 58 (Fatehpur-Sujangarh)       CHURU       Regular       150       Open       DC       35       35       1225       25 <t< td=""><td></td><td>ON NH 52 Churu City Byepass</td><td></td><td></td><td></td><td></td><td>CC</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>		ON NH 52 Churu City Byepass					CC								
119         Eitherside between Km Stone 48 to 56 on NH 58         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           120         Village: Dholpaliya, Tehsil: Bidasar on SH 93         CHURU         Regular         100         SC CC 1         CFS         35         35         1225         0         0         Draw of Lots         0         33           121         Within 5 Km seither side on NH58 from Lodhsar Bus Stand         CHURU         Regular         150         OBC CC 1         DC         35         35         1225         25         75         Draw of Lots         15         4           122         Between Km Stone 25 to 35 on NH 58 (Fatehpur-Sujangarh)         CHURU         Regular         100         SC         CFS         35         35         1225         25         10         Bidding         30         5           123         Within 5 Km s on Taranagar - Churu Road (Sh 36) from SH-6 Intersection         CHURU         Regular         150         Open         DC         35         35         1225         25         75         Draw of Lots         0         33           124         Within 6 Km from Collectorate Circle	117	(Between Churu-Rajgarh)		-											
120       Village: Dholpaliya, Tehsil: Bidasar on SH 93       CHURU       Regular       100       SC CC 1       CFS       35       35       1225       0       0       Draw of Lots       0       33         121       Within 5 Kms either side on NH58 from Lodhsar Bus Stand       CHURU       Regular       150       0BC CC 1       DC       35       35       1225       25       75       Draw of Lots       15       4         122       Between Km Stone 25 to 35 on NH 58 (Fatehpur-Sujangarh)       CHURU       Regular       150       Open       CC       35       35       1225       25       10       Bidding       30       5         123       Within 5 Km son Taranagar - Churu Road (Sh 36) from SH-6 Intersection       CHURU       Regular       150       Open       CC       35       35       1225       0       0       Draw of Lots       0       3         124       Within 6 Km from Collectorate Circle (Churu City) towards Lapur on Churu-Jaipur Road (Oid NH 65)       CHURU       Regular       100       OBC       DC       35       35       1225       25       75       Draw of Lots       15       4         124       Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa Road)       CHURU       Regular       100													-		5
L2         Between Km Stone 25 to 35 on NH 58 (Fatehpur-Sujangarh)         CHURU         Regular         150         Open         CC         35         35         1225         25         10         Bidding         30         5           123         Within 5 Kms on Taranagar - Churu Road (Sh 36) from SH-6         CHURU         Regular         100         SC         CFS         35         35         1225         0         0         Draw of Lots         0         33           124         Within 6 Km from Collectorate Circle (Churu City) towards Laipur on Churu-Jaipur Road (Old NH 65)         CHURU         Regular         150         Open         DC         35         35         1225         25         75         Draw of Lots         15         5           125         Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa CHURU         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15         4           126         Between Km Stone 75 to 83 on SH 36 (Taranagar - Sahawa CHURU         Regular         100         SC         CFS         35         125         0         0         Draw of Lots         15         4           126         Between Km Stone 75 to 83 on SH 36 (Taranagar - Sahawa															
123         Within 5 Kms on Taranagar - Churu Road (Sh 36) from SH-6         CHURU         Regular         100         SC         CFS         35         1225         0         0         Draw of Lots         0         3           124         Within 5 Kms on Taranagar - Churu Road (Sh 36) from SH-6         CHURU         Regular         150         Open         DC         35         35         1225         0         0         Draw of Lots         0         3           124         Within 5 Kms on Taranagar - Churu Road (Sh 36) from SH-6         CHURU         Regular         150         Open         DC         35         35         1225         25         75         Draw of Lots         15         5           124         Within 6 Kms from Collectorate Circle (Churu City) towards Jaipur on Churu-Jaipur Road (Old NH 65)         CHURU         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15         4           126         Between Km Stone 75 to 83 on SH 36 (Taranagar - Sahawa Road)         CHURU         Regular         100         OBC         DC         20         20         400         25         45         Draw of Lots         15         4           127         On Lik	121	Within 5 Kms either side on NH58 from Lodhsar Bus Stand	CHURU	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
123       Intersection       CHURU       Regular       100       SC       CFS       35       35       1225       0       0       Draw of Lots       0       3         124       Within 6 Km from Collectorate Circle (Churu City) towards Intersection       CHURU       Regular       150       Open       DC       35       35       1225       25       75       Draw of Lots       15       5         125       Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa Road)       CHURU       Regular       100       OBC       DC       35       35       1225       25       60       Draw of Lots       15       4         126       Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa Road)       CHURU       Regular       100       OBC       DC       35       35       1225       0       0       Draw of Lots       0       3         127       On Likhmewala Road within Raisinghnagar WML       CHURU       Regular       100       OBC       DC       20       20       400       25       45       Draw of Lots       0       3         129       Kn Stone 122-0 on SH 6A (Sawai-Kalu Road)       CHURU       Regular       100       Open CC1       DC       35       1225       0	122	Between Km Stone 25 to 35 on NH 58 (Fatehpur-Sujangarh)	CHURU	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5
124         Within 6 Km from Collectorate Circle (Churu City) towards Jaipur on Churu-Jaipur Road (Old NH 65)         CHURU         Regular         150         Open         DC         35         35         1225         25         75         Draw of Lots         15         5           125         Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa Road)         CHURU         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15         4           126         Between Km Stone 75 to 83 on SH 36 (Taranagar - Sahawa Road)         CHURU         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15         4           126         Between Km Stone 75 to 83 on SH 36 (Taranagar - Sahawa Gad)         CHURU         Regular         100         OBC         DC         20         400         25         45         Draw of Lots         0         33           127         On Likhmewala Road within Raisinghnagar WML         CHURU         Regular         100         ST         CFS         35         125         0         0         Draw of Lots         15         4           128         Mitsmissone 12-20 on SH 6A (Saw	123		CHURU	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Jappur on churul-Japur kool (Jol NH 65)         CHURU         Regular         100         OBC         DC         35         1225         C         60         Draw of Lots         15         4           125         Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa Road)         CHURU         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15         4           126         Between Km Stone 75 to 83 on SH 36 (Taranagar - Sahawa Road)         CHURU         Regular         100         SC         CFS         35         35         1225         0         0         Draw of Lots         0         33           127         On Likhmewala Road within Raisinghnagar WML         CHURU         Regular         100         OBC         DC         20         400         25         45         Draw of Lots         15         4           128         Retween Km Stone 237-243 on SH 7         CHURU         Regular         100         OBC         DC         35         1225         0         0         Draw of Lots         15         5           129         Km Stone 12-20 on SH 6A (Sawai-Kalu Road)         CHURU         Regular         100         OBC         CC	124	Within 6 Km from Collectorate Circle (Churu City) towards	CHURU	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
Road)         Road)         Road         Road)         Road         Regular         100         SC         CFS         35         1225         0         0         Draw of Lots         0         3           127         On Likhmewala Road within Raisinghnagar WML         CHURU         Regular         100         OBC         DC         20         400         25         45         Draw of Lots         0         3           128         Between Km Stone 272-043 on SH 7         CHURU         Regular         100         Open CC 1         DC         35         1225         0         0         Draw of Lots         0         33           129         Kn Stone 12-20 on SH 6A (Sawai-Kalu Road)         CHURU         Regular         100         Open CC 1         DC         35         1225         25         60         Draw of Lots         15         5           130         Within 5 Kms on Churu-Bissau Road (SH 37) from NH52         CHURU         Regular         100 <t< td=""><td></td><td>Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>		Between Km Stone 72 to 78 on SH 36 (Taranagar - Sahawa													
120         Road)         CHURU         Regular         100         SC         CFS         35         125         0         0         Draw fLots         0         5           127         On Likhmewala Road within Asinghnagar WML         CHURU         Regular         100         OBC         DC         20         400         25         45         Draw of Lots         15         4           128         Between Km Stone 237-243 on SH 7         CHURU         Regular         100         ST         CFS         35         1225         0         0         Draw of Lots         15         4           129         Km Stone 12-20 on SH 6A (Sawai-Kalu Road)         CHURU         Regular         100         Open CC 1         DC         35         35         1225         25         60         Draw of Lots         15         5           130         Within 5 Kms on Churu-Bissau Road (SH 37) from NH52         CHURU         Regular         100         OBC         CC         35         35         1225         25         10         Bidding         30         4           131         Within 5 Kms on Churu-Bissau Road (SH 37) from NH52         CHURU         Regular         100         SC         CFS         35         35 <td></td>															
128         Between Km Stone 237-243 on SH 7         CHURU         Regular         100         ST         CFS         35         35         1225         0         0         Draw of Lots         0         33           129         Km Stone 12-20 on SH 6A (Sawai-Kalu Road)         CHURU         Regular         100         Open CC 1         DC         35         35         1225         25         60         Draw of Lots         15         5           130         Within 5 Kms on Churu-Bissau Road (SH 37) from NH52 Intersection         CHURU         Regular         100         OBC         CC         35         35         1225         25         60         Draw of Lots         15         5           131         Within 5 Kms ton 198 to 205 on SH 6 (Taranagar - Sadalpur         CHURU         Regular         100         SC         CFS         35         35         1225         0         0         Draw of Lots         0         3           131         Within 5 Km Stone 198 to 205 on SH 6 (Taranagar - Sadalpur         CHURU         Regular         100         Open         CC         35         35         1225         0         0         Draw of Lots         0         3           132         Between Km Stone 198 to 205 on SH 6 (Taranagar - Sadalpu		Road)													3
130         Within 5 Kms on Churu-Bissau Road (SH 37) from NH52         CHURU         Regular         100         OBC         CC         35         35         1225         25         10         Bidding         30         4           131         Within 5 Kms on SH 20         CHURU         Regular         100         SC         CFS         35         35         1225         25         10         Bidding         30         4           131         Within 5 Kms on SH 20         CHURU         Regular         100         SC         CFS         35         35         1225         0         0         Draw of Lots         0         33           132         Between Km Stone 198 to 205 on SH 6 (Taranagar - Sadalpur         CHURU         Regular         100         Open         CC         35         35         1225         25         10         Bidding         30         5	128	Between Km Stone 237-243 on SH 7	CHURU	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
Intersection         CHURU         Regular         100         SC         CFS         35         35         1225         0         0         Draw of Lots         0         3           131         Village Charwas on SH 20         CHURU         Regular         100         SC         CFS         35         35         1225         0         0         Draw of Lots         0         3           132         Between Km Stone 198 to 205 on SH 6 (Taranagar - Sadalpur         CHURU         Regular         100         Open         CC         35         35         1225         25         10         Bidding         30         5		Within 5 Kms on Churu-Bissau Road (SH 37) from NH52													4
	131	Village Charwas on SH 20		-									-		3
	132	Between Km Stone 198 to 205 on SH 6 (Taranagar - Sadalpur Road)	CHURU	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
133	Either side on Sujangarh Byepass NH 58 (Salasar-Sujangarh)	CHURU	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5
134 135	Km Stone 30-35 on SH 36 (Churu-Taranagar Road) KM Stone 101 to 108 on SH 6 Sardarshar Bikaner Road	CHURU CHURU	Regular Regular	100 100	ST OBC	CFS DC	35 35	35 35	1225 1225	0 25	0 60	Draw of Lots Draw of Lots	0 15	3
136 137	Km stone 10. 150-160 on SH-6 Kms Stone 118-122 on SH 6 (Sardarshar-Bikaner Road)	CHURU CHURU	Regular Regular	100	Open Open	DC DC	35	35	1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
137 138 139	Village Dadrewa on SH 6 (Taranagar-Sadalpur)	CHURU CHURU	Regular	100	SC	CFS	35	35	1225	0 25	0	Draw of Lots	0 30	3
140	Km Stone 32-37 on SH 6A (Sawai-Kalu Road) Village Gogasar on SH 7	CHURU	Regular Regular	100	Open SC	CC CFS	35	35	1225	0	0	Bidding Draw of Lots	0	3
141	Within 4 kms on Sardarshar-Bikaner Road from Paryavaran Circle on SH-7	CHURU	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
142	Village Padihara on SH 7C Within 5Km on Churu Bhaleri Road (SH 69) from SH-6	CHURU	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
143 144	intersection at Bhaleri Ratangarh Town within Nagarpalika City Limit	CHURU	Regular Regular	100	Open Open	DC DC	35 20	35 20	1225 400	25 25	45	Draw of Lots Draw of Lots	15 15	5
145	Within 3 Kms either side on SH 6 from Taranagar-Sahwa Road Intersection at Taranagar	CHURU	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
146	Within 4 Kms from Ambedkar Circle on Sadalpur-Taranagar	CHURU	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
147	Road (SH 6) Between Km Stone 296-302 on SH 7	CHURU	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
148 149	Between Km Stone 18-26 on SH 69 Churu-Bhaleri Road Between Kms Stone 50-53 on SH 20 (Bidasar-Nokha Road)	CHURU	Regular Regular	100 100	Open CC 2 Open	DC DC	35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
150	Village Katar on Bidasar-Nokha Road SH 20	CHURU	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
151 152	Between KM stone No. 293 -298 on SH-7 Village Bandhnau on SH 6 (Sardarshar-Bikaner Road)	CHURU CHURU	Regular Regular	100 100	Open Open	DC CC	35 35	35 35	1225 1225	25 25	60 10	Draw of Lots Bidding	15 30	5
153 154	Village Bhadasar on SH 6 KM Stone 108 to 114 on SH 6 Sardarshar Bikaner Road	CHURU CHURU	Regular Regular	100 100	Open Open	CC DC	35 35	35 35	1225 1225	25 25	10 60	Bidding Draw of Lots	30 15	5
155	Within 6 Kms on Bidasar-Nokha Road from Bidasar Bus Stand	CHURU	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
156	Between Km Stone 230-236 on SH 7	CHURU	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
157 158	Km Stone 18-24 on SH 6A (Sawai-Kalu Road) Village Chainpura (MDR 18) Rajgarh-Sidhmukh Road (Tehsil:	CHURU	Regular Rural	100 50	SC ST	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
159	Sujangarh) Village Harasar, Teh: Sujangarh	CHURU	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
160 161	Village Dudhwakhara Tehsil: Churu Village Jeeli, Teh: Sujangarh	CHURU CHURU	Rural Rural	50 50	ST Open	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2 4
162	Within 3Kms from NH11 Intersection on Sarkna Sati Road at Ratangarh	CHURU	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
163 164	Village Sahawa Tehsil: Taranagar Village Lachharsar, Tehsil: Ratangarh, Churu	CHURU CHURU	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12	30 0	Draw of Lots Draw of Lots	5	3
165	Village Lalgarh, Teh: Sujangarh	CHURU	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
166 167	Within 6 Kms on Sahwa-Tidiyasar Road from SH 36 Intersection Village: Ghadsisar, Tehsil: Sardarshar	CHURU CHURU	Rural Rural	50 50	OBC Open	DC CC	35 35	35 35	1225 1225	12 12	30 5	Draw of Lots Bidding	5 10	3
168	Village Bhojasar on Sadasar-Mahajan Road (Tehsil: Sardarshar)	CHURU	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
169 170	Kms Stone 0 to 5 (MDR 18) Rajgarh-Sidhmukh Road Village Bhaseena, Teh: Sujangarh (Sujangarh - Lalgarh Road)	CHURU	Rural Rural	50 50	ST OBC	CFS DC	35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0 5	2
170	Village Charla Tehsil: Sujangarh	CHURU	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
172 173	Village Lodhsar, Teh: Sujangarh Village Kanuta tehsil: Sujangarh	CHURU CHURU	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
174 175	Village Rajpura, Tehsil: Taranagar Village Parewara (Tehsil: Bidasar)	CHURU CHURU	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
176	Village Luhara on Sandwa-Ganora Road (Tehsil: Sujangarh)	CHURU	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
177	Within 5 km from Bidasar Bus Stand On Bidasar-Alsar Road	CHURU	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
178	Village Bairasar Bara, Tehsil: Rajgarh	CHURU	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
179 180	Village Ragha Bari, Tehsil: Rajgarh Within 5 Km from SH 7 intersection on Sardharshar - Churu	CHURU	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
180	Road Within 6 kms on Sardarshar-Churu Road from SH7 Intersection	CHURU	Rural	50	OBC	DC	35	35	1225	12	30		5	3
	at Sardarshar Within 5 kms from Pankha Circle on Churu-Bhaleri Road											Draw of Lots	-	
182	towards Bhaleri Village Satyun on MDR 97 (Taranagar-Rajpura Road) (Tehsil:	CHURU	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
183	Taranagar ) In between Km Stone 86 and Km Stone 97 on SH-22, Mahawa	CHURU	Rural	50	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
184	Hindaun Bypass	DAUSA	Regular	100	OBC	CC	35	35	1225	25	10	Bidding	30	4
185	In Between Kilometer stone 146 and Kilometer stone 150 on SH- 25 Mega Highway	DAUSA	Regular	100	Open	CC	35	35	1225	25	10	Bidding	30	5
186	Within 10 KMs from Railway Crossing at Mandawar LHS Towards Mahawa on SH-35	DAUSA	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
187	Within 5 KM either side of Senthal Police Station on SH 55	DAUSA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
188	Within 5 KM from Mahwa Crossing to Mandawar LHS towards Mandawar	DAUSA	Regular	100	Open	CC	35	35	1225	25	10	Bidding	30	5
189	Within 2 KM from Malakheda Intersection towards Laxmangarh on SH 44	DAUSA	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
190	Mandawari on Gangapur to Lalsot Road Between KM Stone 118 to 125 , from Agra to Jaipur Highway	DAUSA	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
191	LHS . NH 21	DAUSA	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
192	Within 1 KM from Govt Hospital , Dausa City , Within Municipal Limits ,	DAUSA	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
193 194	Village Peechupara Khurd on Alwar to Bandikui SH Within 5 KM from Thanagazi Crossing towards Ajabgarh on SH	DAUSA	Regular Regular	100	Open OBC	DC DC	35	35 35	1225 1225	25	60 60	Draw of Lots Draw of Lots	15	5
	52 Between KM Stone 189 to 186 , from Jaipur to Agra Highway		-											
195	LHS . NH 21 In between Km Stone 92 and Km Stone 95 LHS of Jaipur- Agra	DAUSA	Regular	150	Open	cc	35	45	1575	25	10	Bidding	30	5
196 197	Road (NH 21) towards Agra. on NH 21 LHS from Jaipur KMS 136 to 139	DAUSA	Regular Regular	150 150	Open Open	CC CC	35 35	45 45	1575 1575	25	10	Bidding	30 30	5
197	Within 2 KM from Sainthal Flyover LHS on NH 148 Towards	DAUSA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
199	Manoharpur from Dausa, WIThin WML BETEEEN KM STONE 147 to 143 NH 21. LHS from Dausa to	DAUSA	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
200	Jaipur LHS from Dausa to Jaipur on NH 21 . KMS 182 to 178 . LHS from	DAUSA	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
200	Dausa to Jaipur On Dausa Bypass,NH 21A (Jaipur-Lalsot Road)	DAUSA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
202	Between KM Stone 139- 142 on NH 21 RHS from Jaipur to Agra	DAUSA	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged • the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
203 204	Lalsot Within Municipal Limits Bandikui Within Municipal Limits	DAUSA DAUSA	Regular Regular	100 100	Open OBC	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 4
205	Within 5 KM from From Bapi Junction on NH 148 towards	DAUSA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
206	Dausa on National Highway Within 10 KM from Sainthal Flyover LHS on NH 148 Towards Manoharpur from Dausa , Outside Municipal Limits	DAUSA	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
207	Village - Salempura on NH-148 (Dausa-Lalsot Road) Villa Gudha Katla on MDR 48 betwee KM stone 31 and 28 LHS	DAUSA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
208	towards Dausa Vill Malwas on NaNgal Rajawatan to Jaipur Road	DAUSA	Rural Rural	50 50	Open SC	DC CFS	35 35	35 35	1225 1225	12	30 0	Draw of Lots Draw of Lots	5	4
210 211	Village Aluda	DAUSA DAUSA	Rural	50 50	OBC	DC DC	35	35	1225	12	30 30	Draw of Lots Draw of Lots	5	3 4
212	Village Nagwas , Tehsil Baswa Village Balahera, on Bandikui Mundawar Road	DAUSA	Rural Rural	50	Open OBC	DC	35	35	1225	12 12	30	Draw of Lots	5	3
213 214	Anywhere in Hanumangarh WWL Sangaria within Nagarpalika City Limit	HANUMANGARH	Regular Regular	100 100	SC SC	CFS CFS	20 20	20 20	400 400	0	0	Draw of Lots Draw of Lots	0	3
215 216	Bhadra City within Nagarpalika City Limit Village Durjana on Nohar-Sahwa Road	HANUMANGARH HANUMANGARH	Regular Regular	100 100	OBC OBC	CC DC	20 35	20 35	400 1225	25 25	10 60	Bidding Draw of Lots	30 15	4 4
217 218	Anywhere in Hanumangarh Junction WML Anywhere in RICCO Industrial Area Hanumangarh	HANUMANGARH HANUMANGARH	Regular Regular	100 100	Open Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
219 220	Tibbi within Nagarpalika City Limit Nohar City within Nagarpalika City Limit	HANUMANGARH HANUMANGARH	Regular Regular	100	OBC Open	DC	20	20	400	25 25	45	Draw of Lots Draw of Lots	15	4
221	Either side on Hanumangarh Byepass, Hanumangarh	HANUMANGARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
222	Either side on Road Connecting Hanumangarh Town to Hanumangarh Junction	HANUMANGARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
223	Between Km Stone 310-315 (Near Shergarh) on SH 7 Within 4 Kms on Hanumangarh-Ganganagar Road (SH 36) from	HANUMANGARH	Regular Regular	100	Open CC 2 OBC CC 1	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
225	NH54 intersection at Pakka Sarna Hanumangarh Town WML	HANUMANGARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
226 227	Anywhere in Hanumangarh WML Between Km Stone 345-354 on SH 7	HANUMANGARH HANUMANGARH	Regular Regular	100 100	Open ST PH	DC CFS	20 35	20 35	400 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
228	Kms Stone 45 to 50 on New NH 54 Between Pakka Sarna & Goluwala	HANUMANGARH	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
229	Within 3 Km Either Side on NH 62 from NH 54 Intersection at	HANUMANGARH	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
230	Kenchiyan Within 5 kms from NH 62 intersection on Kenchiya-Goluwala	HANUMANGARH	Regular	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
231	Road Kms Stone 38 to 45 on New NH 54 Between Jhandawali & Pakka Sarna	HANUMANGARH	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5
232	Within 8 kms from Maharaja Agrasen Circle (Hanumangarh Jn) Towards Pakkasarna on new NH 54	HANUMANGARH	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
233	Between Km Stone 416-422 on SH 7	HANUMANGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
234	Within 5KMs towards Kenchiyan on Goluwala - Kenchia Road from Goluwala police Station	HANUMANGARH	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
235	Between Kms Stone 124 to 132 on SH 36 (Rawatsar to Nohar)	HANUMANGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
236 237	Purabsar on SH 7 Km Stone 394 to 399 on SH 7 (Kolha)	HANUMANGARH HANUMANGARH	Regular Regular	100 100	SC Open	CFS DC	35 35	35 35	1225 1225	0 25	0 60	Draw of Lots Draw of Lots	0 15	3
238	Within 5 kms on Shergarh - Ellanabad Road (SH 36) from SH 7 Crossing	HANUMANGARH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
239	Km Stone 401-409 on SH 7 (Starting in front of Rajvi palace)	HANUMANGARH	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
240 241	Between Km Stone 329-339 on SH 7 Village Dholipal on Sadulshar-Hanumangarh Road (SH 7A)	HANUMANGARH	Regular Regular	100	Open SC	CC CFS	35 35	35 35	1225 1225	25	10 0	Bidding Draw of Lots	30 0	5
242	Between Km Stone No. 110-116 on SH 36 ( Bhukarka-Nohar	HANUMANGARH	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
242	Road) Between Km Stone 20 to 26 on SH7 A (Hanumangarh Jn-	HANUMANGARH	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
244	Sadulshar Road) Km Stone 98-106 on SH 36	HANUMANGARH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
245 246	Hanumangarh Junction Between Km Stone 338-348 on SH 7	HANUMANGARH HANUMANGARH	Regular Regular	100 100	Open SC CC 1	DC CFS	20 35	20 35	400 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
247 248	Village Phephana (Tehsil Nohar) Village Malsisar Teh: Bhadra	HANUMANGARH HANUMANGARH	Rural Rural	50 50	ST CC 1 ST	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
249 250	Village Mirzawali on MDR 102 (Tehsil: Tibbi) Village Ramsara on Nohar-Sirsa Road	HANUMANGARH	Rural	50 50	OBC PH SC PH	DC	35	35	1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
251	Village Sirangsar (Tehsil Nohar)	HANUMANGARH	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
252 253	Between Kms Stone 98 to 105 on MDR 18 ( Nohar to Goga Medi) Village Phiropi (Tobril: Phadra)	HANUMANGARH	Rural	50 50	Open	DC	35 35	35	1225 1225	12	30 30	Draw of Lots	5	4
253 254	Village Bhirani (Tehsil: Bhadra) Chak 4 JW (Tehsil: Pillibanga)	HANUMANGARH	Rural Rural	50 50	Open CC 1 OBC	DC DC	35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3
255	Within 4 kms on Nohar - Brahmanwasi Road from SH 36 Intersection	HANUMANGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
256 257	Between Km Stone 38 to 40 on MDR 18 (Bhadra to Hisar) Within 3 Kms either side on Sangaria-Tibbi Road (MDR 102)	HANUMANGARH	Rural Rural	50 50	Open ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
257	from Hanumangarh-Rainia Road Intersection Between Km Stone 54 to 60 on MDR 18 (Bhadra to Sadulpur)	HANUMANGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
259 260	Either side on Hanumangarh Byepass, Hanumangarh	HANUMANGARH HANUMANGARH	Rural Rural	50 50	Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots	5	4
261	Either Side on Nohar-Hisar Byepass at Bhadra (MDR 18) Village Khodan (Tehsil: Pilibanga)	HANUMANGARH	Rural	50	Open OBC CC 1	DC	35	35	1225	12	30	Draw of Lots Draw of Lots	5	3
262 263	Village Topriya on SH 36 Village: Chak Hira Singhwala, Tehsil: Sangaria on Sangaria-	HANUMANGARH	Rural Rural	50 50	ST CC 1 Open PH	CFS DC	35 35	35 35	1225 1225	0	0 30	Draw of Lots Draw of Lots	0	2
264	Sadulshar Road Village Masitawali (Tehsil: Tibbi)	HANUMANGARH	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
265	Either side on Road Connecting Hanumangarh Town to Hanumangarh Junction	HANUMANGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
266 267	Village Bhukarka , (Teh: Nohar) Village Jakhrawali (Rawatsar-Suratgarh Road)	HANUMANGARH HANUMANGARH	Rural Rural	50 50	SC Open	CFS CC	35 35	35 35	1225 1225	0 12	0	Draw of Lots Bidding	0 10	2 4
268 269	Village Jasana, Teh: Nohar Hanumangarh	HANUMANGARH HANUMANGARH	Rural Rural	50 50	OBC Open	DC DC	35	35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3 4
270 271	Village Peerkamria (Tehsil: Tibbi )	HANUMANGARH	Rural	50	Open OBC	DC DC DC	35	35	1225	12 12 12	30 30 30	Draw of Lots Draw of Lots Draw of Lots	5	4 4 3
272	Village Surewala (Tehsil - Tibbi) Village: Nyolaki, Tehsil: Nohar	HANUMANGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
273 274	Village: Rodawali on Hanumangarh-Sadulshar Road Within 4 Kms from Chohilanwali Bus Stand towards Pilibanga on Rawatsar-Pilibanga Road.	HANUMANGARH HANUMANGARH	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
275	Within 4 kms on Bhadra Hisar Road from Bhadra Byepass-MDR- 76 Intersection	HANUMANGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
276 277	Win 5 kms on Rawatsar Pilibanga Road from SH-7 Intersection at Lakhuwali Village Meharwala (Tehsil: Tibbi)	HANUMANGARH	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
211	vinage menarwara (rensil: HUUI)		nuidi	00	30	Cr3	رد	رد	1223	v	v	DIGW OF LOUS	0	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
278	Within 4 Kms. From Panditawali Busstand towards Pilibanga (On Rawatsar- Pilibanga Road)	HANUMANGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
279 280	Village Ninan (Tehsil: Bhadra) Within 4 Kms on Sangaria-Tibbi Road (MDR 102) from SH7	HANUMANGARH	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
281	Intersection Village Jhandawali, Hanumangarh	HANUMANGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
282 283	Village Surawali, Tehsil: Pilibanga Within 4 kms on Bhadra Sirsa Road from Bhadra Byepass-MDR-	HANUMANGARH	Rural Rural	50 50	SC Open CC 1	CFS DC	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
284	66 Intersection Within 6 Kms on Nohar-Sondi Road from SH 36 Intersection in	HANUMANGARH	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
285	Nohar Village Bhanai (Tehsil: Bhadra)	HANUMANGARH	Rural	50	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
286 287	Village Sikrodi on MDR 18 (Tehsil: Bhadra) Anywhere in Phulera WML	HANUMANGARH	Rural Regular	50 100	Open SC	DC CFS	35 20	35 20	1225 400	12 0	30 0	Draw of Lots Draw of Lots	5	4
288 289	Anywhere in Shahpura WML In Villlage Lunetha on Dausa - Manoharpura Super Highway	JAIPUR	Regular Regular	100	SC SC	CFS CFS	20 35	20 35	400 1225	0	0	Draw of Lots Draw of Lots	0	3
290	Between Dayarampura & Kanota on NH 11	JAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
291	Within 4 Kms of Intersection of Toonga -Lalsot Road on SH-24	JAIPUR	Regular	100	SC DRC DH	CFS	35	35	1225	0	0	Draw of Lots	0	3
292 293	Between Aandhi & Raisar on NH 148 (RHS) Within 1 Km on either side of intersection of Prabhudayal Marg	JAIPUR	Regular Regular	150 150	OBC PH ST	DC CFS	35 20	35 20	1225 400	25 0	75	Draw of Lots Draw of Lots	15 0	4
294	with Airport Road Between Gandhipath West & Kalwar Road Intersection on 200	JAIPUR	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
295	ft Underpass on Service Road On SH-2, Between Km Stone 97 to Km Stone 101 on Phagi Dudu	JAIPUR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
296	Road ON LHS while going from Jaipur to Kota between KM Stone NO	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
297	25 to 30 on Old NH 12. ON LHS while going from Jaipur to Kota between KM Stone NO	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
298	30 to 35 on Old NH 12. Anywhere in Jhotwara on Roads wider than or equal to 80 feet	JAIPUR	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
299	On Ring Road between Jairajpura & Vatika	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
300	ON LHS while going from Jaipur to Kota between KM Stone NO 35 to 40 on Old NH 12.	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
301	ON LHS while going from Delhi to Jaipur between KM Stone 25 to 30 on NH-248	JAIPUR	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
302	ON PHAGI -MALPURA ROAD WITH IN KM STONE 42 TO 48	JAIPUR	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
303	Within 3 Kms of L.M.S Circle On Vande Matram Marg, Muhana Mandi Jaipur	JAIPUR	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
304	ON LHS while going from Jaipur to Kota between KM Stone NO 40 to 45 on Old NH 12.	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
305	ON LHS while going from Jaipur to Kota between KM Stone NO 50 to 55 on Old NH 12.	JAIPUR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
306	On LHS while going from Kota to Jaipur between KM Stone No 30 to 25 on Old NH 12.	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
307	ON Gautam Marg Vaishali Nagar,Within 2 Kms of Intersection of Gautam Marg Vaishali Nagar with Khatipura Road	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
308	On Gandhi Path Vaishali Nagar Between Vijay Dwar and 200 Feet Ajmer Byepass	JAIPUR	Regular	150	OBC	DC	18	18	324	25	60	Draw of Lots	15	4
309	ON LHS while going from Delhi to Jaipur between KM Stone 5 to 10 on NH-248	JAIPUR	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
310	On LHS while going from Kota to Jaipur between KM Stone No 35 to 30 on Old NH 12.	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
311	Within 2 Kms on either side of Bombay Hospital Jagatpura on Mahal Road	JAIPUR	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
312	On 160 Feet Sector Road opp Akshayapatra temple Jagatpura ,Within 2 Kms of intersection of Goner Road with the 160 Feet Sector Road & on RHS while going from Goner Road to Akshyapatra Temple	JAIPUR	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
313	On LHS while going from Kota to Jaipur between KM Stone No 40 to 35 on Old NH 12.	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
314 315	Within 2 Kms of Malpura Gate on Digi-Malpura Road On LHS while going from Kota to Jaipur between KM Stone No	JAIPUR	Regular Regular	150 150	Open Open CC 1	CC DC	20 35	20 45	400 1575	25 25	10	Bidding Draw of Lots	30 15	5
316	45 to 40 on Old NH 12. On New Sanganer Road ,between Intersection of B2 Byepass with New Sanganer Road & Mansarovar Metro Station	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
317	Between Gujar ki Thadi & Ridhi Siddhi Chouraha	JAIPUR	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
318	On Vaishali Marg RHS (Between 200 feet Underpass on Vaishali Marg to Vaishali Circle)	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
319 320	On Sheopur Road Within 4 Kms of intersection of Shoepur Road with Tonk Road Within 2 Km from Intersection of NH-48 Delhi Jaipur Stretch & Conditional Human Intersection	JAIPUR	Regular Regular	150 150	OBC ST	DC CFS	20 20	20 20	400 400	25 0	60 0	Draw of Lots Draw of Lots	15 0	4
321	Gandhipath towards Lalarpura On NH-52, Between Km Stone 254 to 256 on LHS while moving	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
322	from Jaipur to Sikar On Queens Road Vaishali Nagar Jaipur	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
323	On Vaishali Marg LHS (Between 200 feet Underpass on Vaishali Marg to Vaishali Circle)	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
324 325	Revenue Village Nindola, Thesil Chomu on SH-37C Revenue Village Shankarpura, Tehsil Phagi on SH-2	JAIPUR JAIPUR	Regular Regular	100 100	OBC CC 1 ST CC 1	DC CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots Draw of Lots	15 0	4
326	On LHS while going from Kota to Jaipur between KM Stone No 50 to 45 on Old NH 12.	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
327	On RHS while going from B2 Byepass to Diggi Malpura ,On New Sanganer Road In & Within 2 Kms of Intersection of B2 Byepass with New Sanganer Road towards Diggi Malpura	JAIPUR	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5
328	On Tonk Road between Intersection of Tonk Road with B-2 Byepass and Sanganer Flyover	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
329	On LHS while going from Kota to Jaipur between KM Stone No 55 to 50 on Old NH 12.	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
330	Within 2 Kms of Saipura Gram Panchyat on Jamwa Ramgarh Road.	JAIPUR	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
331 332	Between Khatipura Flyover & Jhotwara Flyover Anywhere in RIICO Kaladera Industrial Area	JAIPUR JAIPUR	Regular Regular	150 100	Open OBC	DC DC	20 35	20 35	400 1225	25 25	60 45	Draw of Lots Draw of Lots	15 15	5
333	Between Mansarovar Metro Station and Main Ajmer Road 200	JAIPUR	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
	Between Mansarovar Metro Station and Main Ajmer Road 200 Feet Byepass	JAIT UN	neguidi	10	open		20	20	-00	رے ۔	10	bioung	50	ر

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 ST PH ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
334	On Tonk Road between Intersection of Sanganer Flyover & Sitapura Flyover	JAIPUR	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
335 336	Village Rupahedi on Kotkhavada to Toonga Road On Haldighati Marg(RHS-while going from Tonk Road towards Mahal Road), Within 2 Kms of intersections of Tonk Road with Haldighati Marg towards Mahal Road	JAIPUR	Regular Regular	100 150	Open Open	DC DC	35 20	35 20	1225 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
337	Within 2 Kms on either side of intersection of RTO Office Jagatpura Road with Kho Nagorian Road,On Kho Nagorian Road	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
338	On NH-48, Between Km Stone 278 to 280 on RHS while moving from Ajmer to Jaipur	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
339	Between Kamla Devi Budia and Rajkiye School Ajmer Road to Mansarovar Metro Station	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
340 341	On roads wider than or equal to 80 feet Anywhere in Mansarovar ,Jaipur Anywhere in Adarsh Nagar(Jaipur City)	JAIPUR	Regular Regular	150 150	OBC Open	DC DC	20 20	20 20	400 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	4
342	Revenue Village Jatwara on NH 21 LHS Jaipur towards Agra	JAIPUR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
343	Anywhere in Sector-16 Pratap Nagar Jaipur On Road Connecting Nirman Nagar To Ajmer Road (KINGS	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
344	ROAD) On Service Lane ,between Khirni Phatak & intersection of NH-52	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
345 346	& Sikar Road (LHS) On NH-48, Between Km Stone 330 to 336 onLHS while moving	JAIPUR	Regular Regular	150 150	OBC Open	DC DC	20 35	20 45	400 1575	25	75	Draw of Lots Draw of Lots	15	4
347	from Jaipur to Ajmer On service Lane,between Gandhi Path (LHS)& Khirni Phatak	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
347	(LHS) ANYWHERE IN MURLIPURA, (JAIPUR CITY)	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
349	On Service Lane ,between Khirni Phatak & intersection of NH-52 & Sikar Road (RHS)	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
350	On service Lane, between Heerapura Circle to Gandhi Path West (RHS)	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
351 352	On Ajmer Road Within 2 Kms of Elements Mall DCM Revenue Village Phagi, Tehsil Phagi on SH-2 / SH-12	JAIPUR JAIPUR	Regular Regular	150 100	OBC Open	DC DC	20 35	20 35	400 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	4 5
353	BETWEEN SHASTRI NAGAR CIRCLE TO CENTRAL SPINE, VIDYADHAR NAGAR	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
354	On Any Road wider than or equal to 80 feet in Indira Gandhi Nagar Sector 11	JAIPUR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
355	On Kothun-Lalsot Road ,Within 5 Kms on Intersection of NH-11 & Kothun -Lalsot Road (SH23)	JAIPUR	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
356	Between Mahatma Gandhi Hospital & Apex College on Goner Road	JAIPUR	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
357	On Benad road, between 200 feet bypass road and Sarna doongar	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
358 359	ON VKI Road No 14 Between Toonga & Akhaipura on SH-24	JAIPUR JAIPUR	Regular Regular	150 100	Open SC CC 1	DC CFS	20 35	20 35	400 1225	25 0	60 0	Draw of Lots Draw of Lots	15 0	5
360	ON LHS while going from Delhi to Jaipur between KM Stone 15 to 20 on NH-248	JAIPUR	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
361	Anywhere in Prithviraj Nagar Ward No-34	JAIPUR	Regular	150	Open	22	20	20	400	25	10	Bidding	30	5
	On New Ramgarh Road Between Ramgarh Mor & Amer Road Within 4 Kms on either side of Khatipura Railway Crossing on	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
363 364	Goner Road ON VKI Road No 9	JAIPUR	Regular Regular	100 150	Open Open	DC CC	20 20	20 20	400 400	25 25	45 10	Draw of Lots Bidding	15 30	5
365	On Devgaon to Bassi Road between Devgaon & Bassi Within 3 Km from Intersection of NH-48 Delhi Jaipur Stretch &	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
366	Sirsi Road on Sirsi Road	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
367 368	On Toonga to Lawan Road (SH-2) between Toonga & Lawan On Khatipura Road ,Within 2 Kms of Khatipura Tiraha	JAIPUR	Regular Regular	100 150	Open Open	DC DC	35 20	35 20	1225 400	25	60 60	Draw of Lots Draw of Lots	15 15	5
369	Within 4 Kms of Intersection of Toonga -Lalsot Road on SH-24	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
370	On Devgaon to Toonga Road between Devgaon & Toonga	JAIPUR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
371	On Amrapali Marg Between Amrapali Circle and 200 feet underpass on Amrapali Marg.	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
372	Within 4 Kms on either side of SBI Chitori on road connecting Banskho to Old NH 21 (Jaipur-Agra Road)	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
373	Between Tholai & Jamwa Ramgarh on SH-55	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
374	On Rana Sanga Marg In & within 2 kms of intersection of Rana Sanga Marg with Mahal Road towards Pratap Nagar Sector 19 ON LHS while going from Jaipur to Bhilwara ,between KM Stone	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
375	5 to 7 on SH-12	JAIPUR	Regular	100	Open	cc	35	35	1225	25	10	Bidding	30	5
376	On Road connecting CBI Phatak to Mahal Road (Road No.7) Between Hirapura Circle & Chomu Puliya on 200 ft Underpass	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
377 378	on Service Road On NH-248A, Between Km Stone 20 to 24	JAIPUR	Regular Regular	150 150	OBC Open	DC CC	20 35	20 35	400 1225	25 25	60 10	Draw of Lots Bidding	15 30	4
379	Between KM Stone 82 to 86 on SH-2 on RHS while moving from Phagi to Chaksu	JAIPUR	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
380	In Sidhartnagar ,On 80 ft road connecting State Hanger Road and Airport Road	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
381 382	On Moti Dungri Road ON LHS while going from Dausa to Jaipur Between KM Stone	JAIPUR	Regular Regular	150 150	Open OBC	DC CC	20 35	20 45	400 1575	25 25	60 10	Draw of Lots Bidding	15 30	5
383	190 to 194 on Old NH 21 On Rampura Road Between Kesar Chouraha & Sanganer	JAIPUR	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
383	Railway Crossing On LHS while going from Kundanpura Railway Crossing Jagatpura to CBI Railway Phatak (Meena Marg), between	JAIPUR	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
385	Kundanpura Railway crossing Jagatpura & CBI Railway Crossing Between Aandhi & Raisar on NH 148 (LHS)	JAIPUR	Regular	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
386	On NH-48, Between Km Stone 312 to 316 on RHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
387 388	Between Manoharpur & Bobari on NH 148 Between Bobari & Raisar on NH 148	JAIPUR JAIPUR	Regular Regular	150 150	Open Open	DC CC	35 35	35 35	1225 1225	25 25	75 10	Draw of Lots Bidding	15 30	5
389	Within 2 Kms of Jhotwara Police Station on Kamani Road	JAIPUR	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
390	On NH 148 ,Within 5 Kms of intersection of SH-55 with NH 148	JAIPUR	Regular	150	OBC	CC	35	35	1225	25	10	Bidding	30	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
391	Village Doonga Ka Bas on SH 52 (Chilpali Mod to Pratapgarh Road)	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
392	On B-2 Bypass within 2 KM of Intersection of Tonk Road & B2 Bypass	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
393	On Patrakar Colony Marg,Within 2 Kms of Baba Paradise Marriage Garden towards Dholai	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
394 395	Village Beelpur on NH-11C Anywhere in Bajaj Nagar on Road Wider than or equal to 80	JAIPUR	Regular Regular	150 150	OBC Open	CC DC	35 20	35 20	1225 400	25 25	10 60	Bidding Draw of Lots	30 15	4
	feet Kotputli Within Municipal Limits	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
397	ON LHS while going from Delhi to Jaipur between KM Stone 10 to 15 on NH-248	JAIPUR	Regular	150	OBC CC 1	сс	35	45	1575	25	10	Bidding	30	4
398	On Rana Sanga Marg,Within 4 Kms on Either Side of Narayana Hospital Sector 28 Pratap Nagar	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
399	In Village Kalipahadi Charanwas on SH-52 (Tala Mod to Pratapgarh Road)	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
400 401	Ramnagariya on any road wider than or equal to 80 feet In Vidhyadharnagar Sector-7	JAIPUR JAIPUR	Regular Regular	150 150	Open OBC	DC DC	20 20	20 20	400 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	5 4
402	On Sikar Road between Pani Pech to Chomu Pulia On Sikar Road between Chomu Pulia to intersection of Delhi	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
403	Road with Sikar Road	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
404	Anywhere in Ambabari on Road Wider than or equal to 80 feet	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
405	ON LHS while going from Jaipur to delhi between KM Stone 30 to 25 on NH-248	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
406	On Roads wider than or equal to 80 feet within 4 Kms of Kanwatia Hospital Circle	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
407	Anywhere in Pratapnagar Sector - 17 on Roads wider than or equal to 80 feet	JAIPUR	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
408	ON LHS while going from Jaipur to delhi between KM Stone 25 to 20 on NH-248	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
409	Between Sidhi Vinayak Circle & Galta gate ON LHS while going from Jaipur to delhi between KM Stone 20	JAIPUR	Regular Regular	150 150	Open OBC	DC DC	20 35	20 45	400 1575	25	60 75	Draw of Lots Draw of Lots	15	5
410	to 15 on NH-248 Anywhere in Nirman Nagar on Roads wider than or equal to 80	JAIPUR		150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	feet Anywhere in Shyam Nagar on Roads wider than or equal to 80		Regular								-			
412	feet ON LHS while going from Jaipur to delhi between KM Stone 15	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
413	to 10 on NH-248 Anywhere in Mansarovar on Roads wider than or equal to 80	JAIPUR	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
414	feet Anywhere in Malviyanagar on Roads wider than or equal to 80	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
415	feet	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	ON LHS while going from Jaipur to delhi between KM Stone 10 to 5 on NH-248	JAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
417	On Muhana Mandi Road between Diggi Malpura Road & Jaipur Ring Road	JAIPUR	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
	Village Renwal Kishangarah On SH 8 A ON LHS while going from Jaipur to Kota between KM Stone NO	JAIPUR	Regular Regular	100 150	SC Open CC 1	CFS DC	35 35	35 45	1225 1575	0 25	0 75	Draw of Lots Draw of Lots	0	5
420	45 to 50 on Old NH 12. Within 4 Km from Niwaru Military Station gate interection	JAIPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	towards Lalchandpura on Niwaru Road Khorashyamdas, Amber	JAIPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
422	On service Lane, between Gandhi Path (RHS)& Khirni Phatak (RHS)	JAIPUR	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
423	On NH-248A, Between Km Stone 10 to 15 Anywhere in Shastri Nagar on roads wider than or equal to 80	JAIPUR	Regular Regular	150 150	OBC SC	CC CFS	35 20	35 20	1225 400	25	10 0	Bidding Draw of Lots	30 0	4
	ft. On NH-48, Between Km Stone 150 to 155 on LHS while moving													5
425	from Jaipur to Delhi On NH-48, Between Km Stone 150 to 155 on RHS while moving	JAIPUR	Regular Regular	150 150	Open OBC	CC DC	35	45 45	1575 1575	25 25	10 75	Bidding Draw of Lots	30 15	4
420	from Jaipur to Delhi On NH-48, Between Km Stone 155 to 160 on LHS while moving													
427	from Jaipur to Delhi On NH-48, Between Km Stone 194 to 200 on RHS while moving	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
428	from Jaipur to Delhi ON LHS while going from Delhi to Jaipur between KM Stone 22	JAIPUR	Regular	150	Open	cc	35	45	1575	25	10	Bidding	30	5
429	to 25 on NH-248 On NH-48, Between KM Stone 160 to 164 on RHS while moving	JAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
430	from Delhi to Jaipur On NH-48, Between KM Stone 160 to 162 on LHS while moving	JAIPUR	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
431	from Delhi to Jaipur On NH-48, Between KM Stone 188 to 194 on LHS while moving	JAIPUR	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
432	from Delhi to Jaipur On NH-48, Between KM Stone 188 to 194 on RHS while moving On NH-48, Between KM Stone 188 to 194 on RHS while moving	JAIPUR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
455	from Delhi to Jaipur	JAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
434	On NH-48, Between Km Stone 155 to 160 on RHS while moving from Jaipur to Delhi	JAIPUR	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
435	On NH-48, Between Km Stone 194 to 200 on LHS while moving from Jaipur to Delhi	JAIPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
436	On NH-48, Between KM Stone 200 to 208 on LHS while moving from Delhi to Jaipur	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
437	On NH-48, Between KM Stone 200 to 208 on RHS while moving from Delhi to Jaipur	JAIPUR	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
438	On NH-48, Between KM Stone 212 to 220 on LHS while moving from Delhi to Jaipur	JAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
439	On NH-48, Between KM Stone 222 to 230 on LHS while moving from Delhi to Jaipur	JAIPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
440	On NH-48, Between KM Stone 222 to 230 on RHS while moving from Delhi to Jaipur	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
441	from Ajmer to Jaipur	JAIPUR	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
442	On any Road with width 80 ft & above except on Mahal Road in Jagatpura Area	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
443	On NH-48, Between Km Stone 296 to 304 on LHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
	On NH-48, Between Km Stone 296 to 304 on RHS while moving	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	from Jaipur to Ajmer Within 4 Kms from Government Health Centre Narheda towards	JAIPUR	Rogular	100	OBC	DC	35	25	1225	25	60	Draw of Late	15	4
440	Neema Ka Thana on Kotputli to Neem Ka Thana Road	JAIPUN	Regular	100	OBC	DC	دد	35	1225	25	UU	Draw of Lots	15	+

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the n Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC SC CC-1 SC PH ST ST CC-1	7		8		9a Estimated working	9b Estimated fund required	10	11	12
			Regular / Rural	MS+HSD in Kls	ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	capital requirement for operation of RO	development of infrastructure at RO	Draw of Lots / Bidding		
446	On NH-48, Between Km Stone 306 to 310 on RHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
447	On NH-48, Between Km Stone 306 to 310 on LHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
448	On NH-48, Between Km Stone 322 to 324 on RHS while moving from Ajmer to Jaipur	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
449	On NH-48, Between Km Stone 330 to 336 on RHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
450	On service Lane, between Heerapura Circle to Gandhi Path West (LHS)	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
451	On NH-52, Between Km Stone 263 to 270 on LHS while moving from Jaipur to Sikar	JAIPUR	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
452	On NH-48, Between Km Stone 340 to 346 on RHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
453	On NH-48, Between Km Stone 345 to 347 on LHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
454	On NH-52, Betwee Km Stone 258 to 270 on LHS while moving from Sikar to Jaipur	JAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
455	On NH-52, Between Km Stone 248 to 254 on LHS while moving from Jaipur to Sikar	JAIPUR	Regular	150	OBC	CC	35	45	1575	25 25	10 45	Bidding	30	4
456 457	Anywhere in Navalgarh Municipal Area On NH-52, Between Km Stone 248 to 252 on LHS while moving	JAIPUR	Regular Regular	100 150	Open Open CC 1	DC DC	20 35	20 45	400 1575	25	75	Draw of Lots Draw of Lots	15 15	5
458	from Sikar to Jaipur On NH-52, Between Km Stone 252 to 257 on LHS while moving from Silver to Jainur	JAIPUR	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
459	from Sikar to Jaipur On NH-48, Between Km Stone 336 to 339	JAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
460	On NH-52, Between Km Stone 280 to 284 on LHS while moving from Sikar to Jaipur	JAIPUR	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
461	On NH-52, Between Km Stone 280 to 284 on RHS while moving from Sikar to Jaipur	JAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
462	Kotputli Within Municipal Limits (on NH-48) In Village Jaipura tehsil Sanganer On 80 ft Road between	JAIPUR	Regular Regular	100 150	OBC ST	CC CFS	20 20	20 20	400	25 0	10 0	Bidding Draw of Lots	30 0	4
464	Meena Marg & SKIT College Jagatpura Between Hirapura Circle & Gandhi Path West on 200 ft	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
465	Underpass on Service Road Jaipur Within Municipal Limits	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
466 467	Jaipur Within Municipal Limits (Ward 15 & 16) Jaipur Within Municipal Limits (On Kalwar Road from NH-48	JAIPUR	Regular Regular	150 150	OBC Open	DC CC	20 20	20 20	400 400	25 25	60 10	Draw of Lots Bidding	15 30	4 5
468	Intersection towards Kalwar) Revenue Village Madhorajpura, Tehsil Phagi on SH-2	JAIPUR	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
469	Within 2 Km from Intersection of NH-48 Delhi Jaipur Stretch & Niwaru Road on Niwaru Road	JAIPUR	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
470	Within 3 Km from Intersection of NH-48 Delhi Jaipur Stretch & Gandhi Path West Road on Gandhi Path West Road	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
471	Within 4 KM from Intersection of Underpass of Jaipur Delhi Road NH-48 & Kalwar Road towards Jaipur to Kalwar Road	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
472	Anywhere in Sitapura RIICO Industrial Area On Vaishali Marg West, Within 2 KM from Underpass of NH-48	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
473 474	Jaipur Delhi Stretch towards Bajri Mandi Revenue Village Gulab Bari, Thesil Shahpura on SH-37	JAIPUR	Regular Regular	150 100	Open OBC	DC DC	20 35	20 35	400	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
475	In Between Jagatpura & Paldi Meena on Jagatpura Paldi Meena Road	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
476 477	On Jaipur to Jobner SH-90, Km Stone 31 to Km Stone 35 On Jaipur to Jobner SH-90, Km Stone 34 to Km Stone 39	JAIPUR JAIPUR	Regular Regular	100 100	Open Open	CC DC	35 35	35 35	1225 1225	25 25	10 60	Bidding Draw of Lots	30 15	5
478	Revenue Village Kalwaniyon Ka Bas, Tehsil Shahpura on SH-37	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
479 480	On SH-8B, Between Km Stone 10 to 14 Revenue Gori Ka Bas, Tehsil Chomu on SH-19	JAIPUR JAIPUR	Regular Regular	100 100	Open Open CC 1	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
481	Revenue Tankarda, Tehsil Chomu on Chomu Kaladera Road	JAIPUR	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
482	Revenue Village Bhojpura Kalan, Tehsil Phulera on SH-2C	JAIPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
483	Between KM Stone 82 to 86 on SH-2 on LHS while moving from Phagi to Chaksu	JAIPUR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
484	On SH-2, Between Km Stone 94 to Km Stone 98 on Phagi Dudu Road	JAIPUR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
485	Revenue Village Khejroli, Thesil Chomu on SH-37C Within 2 Km from Intersection of NH-48 Delhi Jaipur Stretch &	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
486 487	Khirni Phatak towards Kanakpura On NH-248A, Between Km Stone 2 to 6	JAIPUR	Regular Regular	150 150	Open ST	CC CFS	20 35	20 35	400	25 0	10 0	Bidding Draw of Lots	30 0	5
487	Chomu Within Municipal Limits (Between Sharma Hospital to Barala Hospital on RHS while moving from Jaipur to Chomu)	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
489	Revenue Village Nimera, Tehsil Phagi on SH-12 On NH-48, Between KM Stone 162 to 164 on LHS while moving	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
490 491	from Delhi to Jaipur Revenue Village Pachkodiya, Thesil Phulera on SH-8A / SH-2C	JAIPUR	Regular Regular	150	Open ST PH	DC CFS	35 35	45 35	1575 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	5
491	Shahpura Within Municipal Limits (on NH-48)	JAIPUR	Regular	100	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
493	Within 3 Km from Vedant Mahavidyalaya,Mukandpura-II towards Raithal on Rampura Raithal Road	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
494 495	Phulera Within Municipal Limits Revenue Village Tyod, Tehsil Phulera on SH-2	JAIPUR JAIPUR	Regular Regular	100 100	Open OBC	CC DC	20 35	20 35	400 1225	25 25	10 60	Bidding Draw of Lots	30 15	5 4
496	Within 3 Kms from Nimeda Police Chowki towards Phagi on Jaipur Malpura Road	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
497	Within 3 Kms from The Jaipur Central Co-operative bank Jalsu towards Rampura Dabadi	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
498	Within 4 Km from Intersection of NH-48 & SH-8B towards Chitwadi on SH-8B	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
499	On NH-48, Between Km Stone 312 to 316 on LHS while moving from Jaipur to Ajmer	JAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
500	Within 4 Kms from HDFC bank branch Narheda towards Kotputli on Neem Ka Thana to Kotputli Road	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
501	Within 4 Kms from Shrimati Koshalya Devi Agrawal Girls School Village Jahota on Jalsu to Rampura Dabadi Road	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
502	Within 5 Km from NH-52 Intersection with SH-37, towards Samod on SH-37	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
503	Within 5 Kms from Intersection of Delhi to Jaipur Road & Kotputli Mansaur Road on Kotputli Mansaur Road	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
_			_			_	_	_						

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged / the llicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
504	Within 8 Kms from intersection of Underpass of Jaipur to Sikar Road & Ajitgarh Road on Chomu to Ajitgarh Road	JAIPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
505 506	Anywhere in RIICO Renwal Industrial Area Bagru Within Municipal Limits	JAIPUR JAIPUR	Regular Regular	100 100	Open CC 1 OBC	DC DC	35 20	35 20	1225 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
507	Between Ashiana Rangoli Garden and NH-48 Intersection on Sirsi Road	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
508 509	Within 3 Km from Ashiana Rangoli Garden on Sirsi Road towards Sirsi Chomu Within Municipal Limits	JAIPUR JAIPUR	Regular Regular	100 100	ST Open	CFS DC	20 20	20 20	400 400	0 25	0 45	Draw of Lots Draw of Lots	0 15	3
510	Chomu Within Municipal Limits (Between Sharma Hospital to Barala Hospital on LHS while moving from Jaipur to Chomu)	JAIPUR	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
511 512	Kishangarh Renwal Within Municipal Limits Jobner Within Municipal Limits	JAIPUR JAIPUR	Regular Regular	100	Open Open	DC DC	20	20	400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
513 514	Revenue Village Naraina, Tehsil Phulera on SH-2 Jaipur Within Municipal Limits	JAIPUR JAIPUR	Regular Regular	100 150	SC CC 1 OBC CC 1	CFS DC	35 20	35 20	1225 400	0 25	0 60	Draw of Lots Draw of Lots	0 15	3 4
515	On Jobner Bypass Road, District Jaipur	JAIPUR	Regular	100	Open Open PH	DC	35	35	1225 400	25 25	45 60	Draw of Lots	15 15	5
516 517	Anywhere in Chitrakoot on Roads wider than or equal to 80 feet Revenue Village Shyosinghpura, Thesil Phulera	JAIPUR	Regular Regular	150 100	Open PH SC	DC CFS	20 35	20 35	400 1225	0	60 0	Draw of Lots Draw of Lots	15 0	5
518 519	Sambhar Within Municipal Limits Viratnagar Within Municipal Limits	JAIPUR JAIPUR	Regular Regular	100 100	OBC Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	4
520	Shahpura Within Municipal Limits Within 4 KM from Intersection of Jaipur to Delhi Highway NH-48	JAIPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
521	KBhankrota towards Nimera     Within 2 KM from Ashiana Umang towards Mahindra World City	JAIPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
522	(SEZ) Within 2 KM from Urban Village by Galaxy towards Bagru on	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
523 524	250 Feet SEZ Road Between Ashiana Umang & Intersection with NH-48 , in Jaipur	JAIPUR	Regular Regular	100	Open Open	DC DC	35 20	35 20	1225 400	25 25	45	Draw of Lots Draw of Lots	15 15	5
525	Within 3 Km from Intersection of NH-48 Delhi Ajmer Stretch & Jaisinghpura Road on Jaisinghpura road	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
526	Village Surajpura On Ring Road between Vatika & Phagi	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
527	Within 3 KM from Shree Krishna Gausala Jobner towards Boraj on Jobner Boraj Road	JAIPUR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
528 529	Within 3 KM from Urban Village by Galaxy towards Muhana on 250 Feet SEZ Road Within 4 KM from Intersection of Jaipur to Delhi Highway NH-48 & New Loha Mandi Road VKI on New Loha Mandi Road towards	JAIPUR	Regular Regular	100	Open CC 1 OBC	DC DC	35	35	1225	25	45	Draw of Lots Draw of Lots	15	5
	Ninder		Regulai											
530	Within Shahpura Municipal limits on Devan Road Shahpura	JAIPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
531	Kotputli Within Municipal Limits (on Neem ka Thana Road) Within 4 KM from Intersection of Jaipur to Delhi Highway NH-48	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
532	& Bhankrota on Bhankrota Sirsi Road	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
533	Anywhere in RIICO Bagru Industrial Area including Extension I, II	JAIPUR	Regular	100	Open	CC	35	35	1225	25	10	Bidding	30	5
534 535	Jaipur Within Municipal Limits On NH-48, Between Km Stone 322 to 324 on LHS while moving	JAIPUR	Regular Regular	150 150	ST OBC	CFS DC	20 35	20 45	400 1575	0 25	0 75	Draw of Lots Draw of Lots	0	3
536	from Ajmer to Jaipur Anywhere in RIICO Sarna Doongar Industrial Area	JAIPUR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
537 538	Jaipur Within Municipal Limits Jaipur Within Municipal Limits	JAIPUR JAIPUR	Regular Regular	150 150	SC OBC	CFS DC	20 20	20 20	400 400	0 25	0 60	Draw of Lots Draw of Lots	0 15	3 4
539	Revenue Village Mangalwada, Tehsil Mauzamabad on SH 37-A	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
540 541	Norangpura, Phulera Within 3 Km from Hirapura Cirle on NH-48 (Within Municipal	JAIPUR	Regular	100 150	Open Open CC 1	CC DC	35 20	35 20	1225 400	25 25	10 60	Bidding Draw of Lots	30 15	5
541	Limits) Within 5 Km of Toonga Bus Stand on SH24	JAIPUR	Regular Regular	100	SC SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
543	On Nayla Road within 2 km of intersection of SH-55 with Nayla Road	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
544	On SH-55, within 5 Km of intersection of NH-248 with SH-55	JAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
545 546	Chaksu WML On Diggi Malpura Road within 1 km on eitherside of	JAIPUR	Regular Regular	100 100	SC Open	CFS CC	20 20	20 20	400 400	0 25	0	Draw of Lots Bidding	0 30	3
547	intersection of Shikarpura road with Diggi Malpura Road Anywhere in Jagatpura on Road greater than or equal to 80 feet	JAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
548	width Anywhere in RICCO Industrial Area Bassi	JAIPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
549 550	Sewa, Mauzamabad Within 2 KM from Atal Seva Kendra Khora Bisal on Khora Bisal to Chatarpura Road	JAIPUR	Regular Regular	100 100	OBC ST	DC CFS	35 35	35 35	1225 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	4
551	to Chatarpura Road On LHS while going from Jaipur to Dausha between KM Stone 220 to 224 on Old NH 21 (Within Municipal Limits)	JAIPUR	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
552	Within 4 KM from intersection of NH-52 at Jairampura Road towards Jairampura	JAIPUR	Regular	100	Open CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
553	Within 4 Km from Intersection of NH-48 Delhi Ajmer Stretch & Mahapura Road on Mahapura road towards Mahindra SEZ	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
554	On Karni Palace Road, Within 2 KM from Underpass of NH-48 Jaipur Delhi Stretch	JAIPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
555	Revenue Village Palri Parsa, Tehsil Sanganer (Within JDA Limits)	JAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
556	Anywhere in Pratapnagar Sector - 18 on Roads wider than or equal to 80 feet On Mahal Road Between Jagatpura Flyover & Haldighati	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
557	Chourha Chourha Anywhere in Pratapnagar Sector - 19 on Roads wider than or	JAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
558	equal to 80 feet Revenue Village Bishangarh Tehsil Shahpura on Manoharpura	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
559	Revenue village bisnangarn Tensil Snanpura on Manonarpura Bishangarh Link Road Revenue Village Surana, Tehsil Shahpura on Monharpur Khora	JAIPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
560 561	Road Revenue Village Med Tehsil Viratnagar	JAIPUR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
562 563	Revenue Village Jalsoo, Thesil Amber Revenue Village Anantpura, Tehsil Chomu	JAIPUR	Rural	50 50	OBC OBC	CC DC	35	35 35	1225	12	5 30	Bidding Draw of Lots	10 5	3
564	Within 4 Km On MDR 25 from NH-48 Intersection at Kotputli towards Bansur	JAIPUR	Rural	50	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
565	IN VILLAGE KANOTA, FROM KANOTA THANA TO RAMSINGHPURA PHATAK .	JAIPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
			I		I				<u> </u>					

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be ar by	nce to ranged / the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
566	On 250 feet SEZ Road connecting Muhana to Neota ,Within 2 Kms of Intersection of Ring Road with 250 Feet SEZ Road.	JAIPUR	Rural	50	OBC	сс	35	35	1225	12	5	Bidding	10	3
567	Within 2 Kms of Mahatma Gandhi Hospital Jaipur towards Ramchandpura on Goner Road.	JAIPUR	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
568 569	Between Shivdaspura Tiraha & Padampura on road connecting Shivdaspura to Padampura Village Booj on Chanwandia to Newar Road	JAIPUR	Rural Rural	50 50	Open OBC	CC DC	35 35	35 35	1225 1225	12	5 30	Bidding Draw of Lots	10 5	4
570	Either side on Kendriya Vihar 2 Road in Jagatpura connecting Mahal Road & VIT Road (Jeerota)	JAIPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
571	Within 5 Kms of Ramchandpura Mod ,On road connecting RIICO Industrial Area & Goner	JAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
572	Anywhere in RIICO Industrial Area Kukas On VIT Road ,Within 4 Kms of Vivekananda Institute of	JAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
573	Technology Jagatpura	JAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
574	ON SUMEL ROAD , WITH IN 4 KM FROM AGRA ROAD -SUMEL ROAD CROSSING TOWARDS LN MITTAL PUBLIC SCHOOL. Within 2 Kms of JNU Hospital On Road Kho-Nogariyan to	JAIPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
575 576	Luniyawas VILLAGE BHATERI , DAUSA-CHAKSHU ROAD	JAIPUR	Rural Rural	50 50	Open Open CC 1	CC DC	35 35	35 35	1225 1225	12	5 30	Bidding Draw of Lots	10 5	4
577	VILLAGE BHATERT, DAUSA-CHAKSHU ROAD Village Chandlai on Shivdaspura to Teetriya Road In Village Anoppura On Road Connecting Jamwa Ramgarh to	JAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
578	Raisar	JAIPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
579	Within 5 Kms of SBI Hajiwala towards Diggi Malpura Road On Shikarpura Road ,Between Diggi-Malpura Road & Vatika	JAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
580	Road In & within 4 Kms of PWD Office Devgaon on Devgaon to Bassi	JAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
581 582	Road ON Vijay Marg Between Goner Road & Mahal Road	JAIPUR	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
583	LHS while going from Bhankrota to Jaisinghpura ,On Jaisinghpura Road towards Muhana ,In & Between Intersection of 200 Feet Ajmer Byepass with Jaisinghpur Road & Jaisinghpura Gram Panchayat	JAIPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
584 585	Village Panchpahadi on Paragpura to Narayanpur Road Revenue Village Badhal, Thesil Phulera	JAIPUR JAIPUR	Rural Rural	50 50	OBC Open	DC CC	35 35	35 35	1225 1225	12 12	30 5	Draw of Lots Bidding	5 10	3 4
586	Revenue Village Chetawala on Rajawas To Khorashyamdaspura Road, Tehsil-Amber	JAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
587	Revenue Village Jhalra, Tehsil Kishangarh Renwal on Rampura Raithal Road	JAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
588 589	Revenue Village Mori, Tehsil Amber Revenue Village Maheshwas Khurd, Tehsil-Amber	JAIPUR JAIPUR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 4
590	Revenue Village Kanwarpura, Thesil Phulera on Bobas Road	JAIPUR	Rural	50	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
591 592	Revenue Village Marwa, Tehsil Dudu on MDR 85 Revenue Village Udaipuriya, Tehsil Chomu	JAIPUR JAIPUR	Rural Rural	50 50	OBC CC 1 Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3 4
593 594	Revenue Village Sakhoon, Tehsil Maujamabad Revenue Village Karansar, Tehsil Sambhar	JAIPUR JAIPUR	Rural Rural	50 50	Open PH SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
595 596	Revenue Village Doongri, Thesil Phulera Within 5 Km from SH-12 Intersection at Chittora Road towards Chittora	JAIPUR	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
597 598	Revenue Village Bobas, Thesil Dudu Revenue Village Jaitpura, Thesil Phulera	JAIPUR JAIPUR	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
599	Revenue Village Ghumanpura, Tehsil Phulera on MDR 59	JAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
600 601	Revenue Village Ugariyawas, Thesil Dudu Revenue Village Boraj, Thesil Dudu	JAIPUR JAIPUR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
602 603	Revenue Village Kachroda, Thesil Dudu Revenue Village Kachroda, Thesil Dudu Revenue Village Hingoniya, Thesil Phulera	JAIPUR	Rural	50 50	OBC ST	DC CFS	35	35	1225	12	30 0	Draw of Lots Draw of Lots Draw of Lots	5	3
604 605	Revenue Village Dhanota, Thesil Shahpura Revenue Village Bilandarpur Tehsil Shahpura	JAIPUR	Rural	50 50	Open Open CC 1	DC	35	35	1225	12 12	30 30	Draw of Lots Draw of Lots Draw of Lots	5	4
606 607	Revenue Village Achhojai, Tehsil Amber Revenue Village Achhojai, Tehsil Amber Revenue Village Beri, Tehsil Kotputli	JAIPUR	Rural	50	OBC SC	DC DC CFS	35	35	1225	12 12 0	30 30 0	Draw of Lots Draw of Lots Draw of Lots	5	3
608	Revenue Village Koojota, Tehsil Kotputli Govardhpura to Koojota Mod	JAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
609	Revenue Village Sawarda, Tehsil Maujamabad on MDR 85	JAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
610	Within 2 KM from Balaji Mandir Ghoriwara towards Jhunjhunu	JHUNJHUNU	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
611	On Sh-13 Pilani Chirawa road between KM stone 141 to 147	JHUNJHUNU	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
612 613	Anywhere on NH-709 within Jhunjhunu District limits On Madawa road WML of Jhunjhunu	JHUNJHUNU JHUNJHUNU	Regular Regular	150 100	OBC ST	DC CFS	35 20	35 20	1225 400	25 0	75 0	Draw of Lots Draw of Lots	15 0	4
614	On Sh-37 Udaipurwati circle/Sikar mod to 6KM towards Sikar	JHUNJHUNU	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
615	On Sh-37 from Jhunjhunu Railway crossing towards Gudha Gaur ji Within 5 KM	JHUNJHUNU	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
616	On SH-37 from Jhunjhunu road T point Udaipurwati towards Khandela up to KM Stone 97	JHUNJHUNU	Regular	100	ST SC PH	CFS CFS	35	35	1225 400	0	0	Draw of Lots	0	3
617 618	On Sikar-Jhunjhunu Road WML of Navalgarh From Baggad Nagarpalika office towards Kasimpur road within 5	UNUHUNU	Regular Regular	100 100	SC PH Open PH	DC	20 35	20 35	400	25	45	Draw of Lots Draw of Lots	0 15	3
619	KM Bhorki on Gudha-Navalgarh road	JHUNJHUNU	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
620 621	In Barwasi on Navalgarh-Jakhal Road From Nand Kishor Bagdodiya circle, Mukangarh towards	UNUHUNU	Regular Regular	100	ST SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
622 623	Laxmangarh upto 4 KM 3 KMs From Balaji Stand towards Chhavsari On Ihunihunu rood Within Chirawa Municiple Limite	JHUNJHUNU UNUHINUHI	Regular	100 100	ST SC	CFS CFS	35 20	35 20	1225 400	0	0	Draw of Lots	0	3
624	On Jhunjhunu road Within Chirawa Municiple Limits WML of Udaipurwati	JHUNJHUNU	Regular Regular	100	SC	CFS	20	20	400 400	0	0	Draw of Lots Draw of Lots	0	3
625 626	On Badagaon- Rajota road 3 Kms from intersection from SH-37 towards Rajota	UNUHUNUHL	Regular Regular	100 100	SC CC 1 SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
626	From Nizampur mod to Khetri Nagar bus stop In Bagora on Khandela-Udaipurwati road	JHUNJHUNU	Regular Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
628	On Sh-37 Jhunjhunu-Gudha road between KM stone 148 to 154 On SH-37 from Shahid Mushtakhan circle towards Churu with in	JHUNJHUNU	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
629 630	Un SH-37 from Shahid Mushtakhan circle towards Churu with in limits of Jhunjhunu District Within 2 KM from Khetri Bus Stand towards Singhana	илингилнг	Regular Regular	100	Open OBC	DC DC	35 35	35 35	1225 1225	25 25	60 45	Draw of Lots Draw of Lots	15 15	5
631	On Sh-41 in between KM stone 51 to 62 (Jhunjhunu- Malsisar road)	UNUHUNUHU	Regular	100	ST	CFS	35	35	1225	0	43	Draw of Lots	0	3
632	From CKRDM Nursing college, Dighal towards Jhunjhunu upto	JHUNJHUNU	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
L	Jhunjhunu Railway crossing at SH-8		I	I	i	ı	I	ı	I	l	I	1	1	J

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
633 634	WML of Surajgarh On Chairawa-Sultana road from Jhanjhot circle upto Starting	UNUHUNUHU	Regular Regular	100	Open OBC	DC DC	20 35	20 35	400	25	45	Draw of Lots Draw of Lots	15	5
635	intersection of Sultana bypass and village village road On Road no.3 Jhunjhunu City between Peeru singh Circle to	JHUNJHUNU	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
636	Agrsen circle Anywhere in Pilani Municipal Area	JHUNJHUNU	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
637 638	On SH-8 Surajgarh- Chirawa road between 103 to 108 In Village Chhapoli on Udaipurwati-Chala road SH-37B	JHUNJHUNU JHUNJHUNU	Regular Regular	100 100	OBC CC 1 ST CC 1	DC CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots Draw of Lots	15 0	4 3
639	On NH-11 Singhana- Narnaul Raod in Village Pacheri Kalan	JHUNJHUNU	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
640 641	Anywhere in Jhunjhunu RIICO area On NH-11 Jhunjhunu-Mandawa road in village Durana	JHUNJHUNU JHUNJHUNU	Regular Regular	100 150	ST Open	CFS DC	35 35	35 35	1225 1225	0 25	0 75	Draw of Lots Draw of Lots	0 15	3
642	Within 3 KM from RIICO Manda Main Road Intersection towards Chomu on Renwal to Chomu Road	JAIPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
643	Within 5 KM from Mali Ashram Navalgarh towards Golayana	JHUNJHUNU	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
644 645	WML of Baggad In Badau, on Badau- Nangali road, district Jhunjhunu	JHUNJHUNU JHUNJHUNU	Regular Regular	100 100	SC Open	CFS DC	20 35	20 35	400 1225	0 25	0 45	Draw of Lots Draw of Lots	0	3
646	In Baggad WML On Jhunjhunu- Chirawa road NH-11	JHUNJHUNU	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
647	On Pilani to Beri road from Gaushala upto Bishanpur Balaji Mandir	JHUNJHUNU	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
648 649	In village Abusar on NH-11 From Agrsen Circle towards Mandrela WML of Jhunjhunu	JHUNJHUNU	Regular Regular	150 100	SC Open	CFS DC	35 20	35 20	1225 400	0 25	0 45	Draw of Lots Draw of Lots	0	3
650	Anywhere in Mandawa Municipal Limits	JHUNJHUNU	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
651 652	WML of Chirawa Within 8 KM from Agrsen Circle Jhunjhunu towards Chirawa on	илингилнг	Regular Regular	100	Open Open	DC DC	20 35	20 35	400 1225	25 25	45 75	Draw of Lots Draw of Lots	15 15	5
653	NH- 11 Within Municipal limit of Bisau	JHUNJHUNU	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
654	Within 3 Km on NH-11 from Hotel Desert N Dunes towards Fatehpur	JHUNJHUNU	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
655	Anywhere in industrial area Chirawa	JHUNJHUNU	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
656 657	In village Panchyat Papurna on Sh-13 Khetri-Neemkathana Road In Islampur on Islampur-Gudha road	JHUNJHUNU	Regular Regular	100	Open SC	DC CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots Draw of Lots	15 0	5
658	On SH-37 from Jawahar memorial School Udaipurwati to 6 KM	JHUNJHUNU	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
659	towards Jhunjhunu In Revenue village Lakhu on NH-11	JHUNJHUNU	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
660	On SH-37, 2 KM from Dholakhera bus stand towards Udaipurwati	JHUNJHUNU	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
661	Between KM Stone 16 to 18 on RHS while going from Balwantpura to Titalwad Mod	JHUNJHUNU	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
662 663	On Mandawa- Bisau road in between KM stone 4 to 15 In village Dada Fatehpura on Khetri-Nijampur road	JHUNJHUNU JHUNJHUNU	Rural Rural	50 50	Open ST PH	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
664 665	In Village Nooan On Bisau-Ramgarh Road in Village Mahansar	JHUNJHUNU JHUNJHUNU	Rural Rural	50 50	OBC PH Open	DC CC	35 35	35 35	1225 1225	12 12	30 5	Draw of Lots Bidding	5 10	3
666	On Bisau Malsisar road in Village Gangiyasar On Suraigarh Buhana road Upto 6 KM from Suraigarh Railway	JHUNJHUNU	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
667	crossing towards Buhana From Balwantpura- Chelasi Railway crossing towards	JHUNJHUNU	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
668	Mukandgarh up to KM stone 38 On Malsisar Taranagar road in village Tamkor	JHUNJHUNU	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
669 670	Village Narhar	JHUNJHUNU JHUNJHUNU	Rural Rural	50 50	Open SC	DC CFS	35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
671 672	Village Jasrapur, District Jhunjhunu From Jalpali Mod upto including Village Mau on SH-37	JHUNJHUNU SIKAR	Rural Regular	50 100	Open CC 1 ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4 3
673	On SH-8 ,Chirawa- Loharu road ,within Surajgarh municipal limits	SIKAR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
674	On NH-52 From Rashidpura toll towards Laxmangarh within 4 KM on Left Hand side	SIKAR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
675	On NH-52 from Makrana Raj hotel to Bhairu Ji mod Ringas left hand side	SIKAR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
676	On Ranisati road Sikar City From Cine Mall to Choudhary Charan Singh Circle	SIKAR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
677	Within Municipal Limits of Laxmangarh On SH-7 Sikar-Dhod road 5 KM from intersection with NH-52	SIKAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
678	towards Dhod Within 10 KM on NH-52 from Do Janti Balaji tample towards	SIKAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
679 680	Ramgarh Shekhawati on left hand side On Patan by pass	SIKAR	Regular Regular	150 100	ST OBC	CFS DC	35 35	45 35	1575 1225	0 25	0 45	Draw of Lots Draw of Lots	0 15	3
681	From Kalyan Circle towards Jaipur road up to municipal limits of Sikar	SIKAR	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
682	Village Nechhwa on SH-7	SIKAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
683	On LHS Ramgarh Salasar road from intersection of NH-52 and NH-58 upto 5 KMs	SIKAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
684	Sikar to Ringas NH-52 between KM stone no. 342 to 332 anyside of road	SIKAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
685	On SH-37B from Patan bypass towards Kotputli upto limits of Sikar District	SIKAR	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
686 687	Anywhere in Khatushyamji WML On Khatu-Madha road	SIKAR SIKAR	Regular Regular	100 100	ST ST PH	CFS CFS	20 35	20 35	400 1225	0	0	Draw of Lots Draw of Lots	0	3
688 689	In Kochhor on Danta Road Anywhere in Ringas Industrial Area	SIKAR SIKAR	Regular Regular	100 100	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
690	On Laxmangarh-Bidasar road from Bidasar stand Laxmangarh to 6 Kms	SIKAR	Regular	100	Open PH	DC	35	35	1225	25	45	Draw of Lots	15	5
691 692	On Jaipur-Jhunjhunu Bypass WML of Sikar Anywhere in Sikar WML	SIKAR SIKAR	Regular Regular	100 100	SC SC	CFS CFS	20 20	20 20	400 400	0	0	Draw of Lots Draw of Lots	0	3
693	In Nyorana on Neemkathan-Patan road On NH-11 fatehpur towards Ratangarh road between KM ston	SIKAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
694	410 to 413	SIKAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
695	On Sh-13 in between Kanwat and Thoi ( Both Village included)	SIKAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
696	On Sh-8A from Rajiv Circle to Danta road in Ramgarh village	SIKAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
697 698	In village Karanpur on Khud-danta road SH-8A Anywhere in Neem Ka Thana industrial Area	SIKAR SIKAR	Regular Regular	100 100	OBC Open	DC DC	35 20	35 20	1225 400	25 25	60 45	Draw of Lots Draw of Lots	15 15	4
699	Within 2 KM on Nimera road from Srimadhopur Bypass intersection	SIKAR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
700	On NH-52 From KM Stone 385 to 390 any side of Road On Sikar Salasar road from Salasar bus stand towards Salasar	SIKAR	Regular Regular	150 100	OBC Open	DC DC	35 20	45 20	1575 400	25 25	75	Draw of Lots Draw of Lots	15 15	4
701	WML of Sikar On SH-20 Nani Nechwa road between KM stone 27 to 33	SIKAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
703	Anywhere RIICO industrial area Ajitgarh	SIKAR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
704	In village Panchyat Maonda Khurd Sh-13 Khetri-Neemkathana Road	SIKAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
705 706	On Sh-8A in Danta village (Gram Panchyat) on Neemkathana- Chala road in Industrial area Neemkathana	SIKAR	Regular Regular	100	Open Open	DC DC	35 20	35 20	1225 400	25 25	60 45	Draw of Lots Draw of Lots	15 15	5
707	in Village Kadamba ka bas on Dujod Khur road Sh-8A	SIKAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
708 709	On Piprali road WML of Sikar Anywhere in Ramgarh Industrial Area	SIKAR SIKAR	Regular Regular	100 100	SC Open	CFS DC	20 35	20 35	400 1225	0 25	0 45	Draw of Lots Draw of Lots	0 15	3
710 711	On NH-52 From Rashidpura toll towards Sikar within 6 KM on Left Hand side In Village Khadara on SH-37B Neemkathana Bypass	SIKAR	Regular Regular	150 100	Open Open	DC DC	35 35	45 35	1575 1225	25 25	75 60	Draw of Lots Draw of Lots	15 15	5
712 713	WML of Khandela WML of Shandela	SIKAR SIKAR	Regular Regular	100 100 100	Open OBC	DC DC DC	20	20 20	400	25	45	Draw of Lots Draw of Lots Draw of Lots	15 15 15	5
714	On NH-58 Fatehpur-Salasar road between KM stone 10 to 16	SIKAR	Regular	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
715	On Khandela- Palsana road from intersection with SH-37 upto 5	SIKAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
716	KM On NH-52 Sikar Bypass	SIKAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
717	On NH-52 KM stone 306 to 311 Ringas- Sikar road on left side	SIKAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
718 719	in Village Tarpura on Sikar to Jhunjhunu SH-8 Left hand side Jorawar Nagar, Tehsil Srimadhopur	SIKAR	Regular Regular	100 100	OBC Open	DC DC	35 35	35 35	1225 1225	25 25	60 45	Draw of Lots Draw of Lots	15 15	4
720	On Palsana bypass NH-52 left side towards Sikar	SIKAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
721	On NH-52 Sikar to Lakshmangarh between KM stone 356 to 361 left hand side	SIKAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
722 723	On NH-52 Ramgarh to Fatehpur from Gyan Bharti international school towards fatehpur up to 4 KM Within Muncipal limit of Ringas	SIKAR	Regular Regular	150 100	Open SC PH	CC CFS	35 20	45 20	1575 400	25 0	10	Bidding Draw of Lots	30 0	5
724	WML of Fatehpur	SIKAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5 4
725 726	In Mordunga on Losal-Salasar road On NH-58 Fatehpur-Salasar road between KM stone 17 to 21	SIKAR	Regular Regular	100 150	OBC Open	DC DC	35 35	35 35	1225 1225	25 25	45 75	Draw of Lots Draw of Lots	15 15	5
727	On NH-52 from Akhepura toll towards Sikar within 5 KM Left	SIKAR	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
728	hand side On NH-52 from Bhairu Ji mod Ringas towards Govindgarh upto	SIKAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
729	KM stone 288 left hand side Within Municipal limits of Losal	SIKAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
730 731	WML of Ramgarh Shekhawati From Railway crossing Srimadhopur upto Village Jalpali	SIKAR SIKAR	Regular Regular	100 100	SC Open	CFS DC	20 20	20 20	400 400	0 25	0 45	Draw of Lots Draw of Lots	0 15	3
732	On NH-52 from KM Stone 322 to 328 Ringas to Sikar on Right hand side	SIKAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
733	Anywhere in RIICO area Khandela Upto 6 KM from Khandela Bus stand circle towards Udaipurwati	SIKAR	Regular Regular	100 100	ST Open	CFS DC	35 35	35 35	1225 1225	0 25	0 45	Draw of Lots Draw of Lots	0	3
735	In Village Govardhanpura on NH-52 Left hand side towards	SIKAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
736	Ringas to Palsana On NH-58 in Revenue village Karnga Chota Left hand side while	SIKAR	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
737	moving from Fatehpur towards Salasar Within 5 KM from fatehpur railway underpass towards	SIKAR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
738	Mandawa WML of Neemkathana	SIKAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
739	On RHS Ramgarh Salasar road from intersection of NH-52 and NH-58 upto 5 KMs	SIKAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
740	Tehsil Srimadhopur, Srimadhopur to Sihori road between KM Stone no. 10 to 14	SIKAR	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
741 742	In Village Malikpur on Srimadhopur- Malikpur road Village Lamiya on Pachar- Khatu Road	SIKAR SIKAR	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
743	From Chala to Khandela via Choukdi between KM stone no. 52 to 45	SIKAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
744	On Nani Salasar Road 6 KM from Intersection with NH-52 towards Salasar	SIKAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
745	Anywhere in revenue village Dudhwa in Danta Ramgarh Tehsil	SIKAR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
746 747	In Village Ganwari, Tehsil Neem Ka Thana In village hathideh, tehsil Srimadhopur	SIKAR SIKAR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
748 749	On Khuri-Dadiya road between KM stone 5 to 8 Anywhere in Suratgarh WML	SIKAR SRI GANGANAGAR	Rural Regular	50 100	OBC SC	CC CFS	35 20	35 20	1225 400	12 0	5	Bidding Draw of Lots	10 0	3
750 751	Anywhere in RICCO Agro Food Park Sri Ganganagar Within 10 kms from Indira Circle (Suratgarh) on NH 62 towards	SRI GANGANAGAR	Regular Regular	100 150	Open ST	DC CFS	35 35	35 35	1225 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
752	Bikaner Kesrisinghpur within Nagarpalika Limit	SRI GANGANAGAR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
753 754	Village Banwala, Sri Ganaganagr-Sadulshar Road (SH 7B) Raisinghnagar within Nagarpalika City Limit	SRI GANGANAGAR SRI GANGANAGAR	Regular Regular	100 100	SC CC 1 SC	CFS CFS	35 20	35 20	1225 400	0	0	Draw of Lots Draw of Lots	0	3
755	Either Side on road connecting Chahal Chowk & Padampur Road (SH 3) in Sri Ganaganagar City	SRI GANGANAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
756	Anywhere in RICCO Industrial Area (Udhyog Vihar) Sri ganganagar	SRI GANGANAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
757	Within 5 Km from Shiv Chowk on Sri Ganganagar - Bikaner Road	SRI GANGANAGAR	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
758	Between Shiv Chowk & RICCO Udhyog Vihar Gate on Sri Ganganagar-Hanumangarh Road	SRI GANGANAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
759	On SSB Road Sri ganganagar City between Sukharia Circle & NH62 Intersection	SRI GANGANAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
760 761	Sri Ganganagar City within Nagar Parishad Limit Between KM 187-192, NH-62 ( Sriganganagar-Suratgarh Road)	SRI GANGANAGAR	Regular Regular	100 150	Open SC	DC CFS	20 35	20 35	400 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
762	Within 3 km on Lalgarh-Ganganagar road from Lalgarh Bus	SRI GANGANAGAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
763	Stand Anupgarh within Nagarpalika City Limit	SRI GANGANAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
764	In between road connecting Ambedkar Chowk & Railway Station at Anupgarh Town	SRI GANGANAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
765 766	Km Stone 170 to 173 on SH 3 (Rojdi) Within 2 Kms from Bhagat Singh Circle on Padampur-Sri	SRI GANGANAGAR	Regular Regular	100 100	ST Open	CFS DC	35 20	35 20	1225 400	0 25	0 45	Draw of Lots Draw of Lots	0	3
767	Karanpur Road Between Koda Chowk & Padampur Bye Pass on Sriganganagar-	SRI GANGANAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
768	Padampur road Sri Vijaynagar within Nagarpalika City Limit	SRI GANGANAGAR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
769 770	Suratgarh within Nagarpalika City Limit Eitherside on new Gajsinghpur Byepass	SRI GANGANAGAR SRI GANGANAGAR	Regular Regular	100 100	Open Open	DC DC	20 35	20 35	400 1225	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 5
771	Within 5 kms on Sri Ganganagar-Sadulshar Road SH 7B from NH62 intersection	SRI GANGANAGAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
772	Between Paliwala Bus Stop & Har Prabhu Asra on NH 62	SRI GANGANAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

I         C	S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Image: Note of the section o	1	2	3	Regular /	MS+HSD	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC CC-1 OPEN CC-1 OPEN CC-2	CC / DC /	Frontage		Area	Estimated working capital requirement for operation	Estimated fund required for development of infrastructure at	Draw of Lots /	11	12
Image         Description         Description <thdescripion< th=""> <thdescription< th=""> <thdes< td=""><td>773</td><td></td><td>SRI GANGANAGAR</td><td>Regular</td><td>100</td><td>Open CC 1</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>25</td><td>60</td><td>Draw of Lots</td><td>15</td><td>5</td></thdes<></thdescription<></thdescripion<>	773		SRI GANGANAGAR	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
17201800180019001															
179         Concer No. 19. No. 19. Concer No. 19. No. 19. 19. 19. 19. 19. 19. 19. 19. 19. 19															
Image         Image <th< td=""><td>778</td><td>Between KM 125-135, NH-62 ( Suratgarh-Sriganganagar Road)</td><td>SRI GANGANAGAR</td><td>Regular</td><td>150</td><td>Open</td><td>сс</td><td>35</td><td>35</td><td>1225</td><td>25</td><td>10</td><td>Bidding</td><td>30</td><td>5</td></th<>	778	Between KM 125-135, NH-62 ( Suratgarh-Sriganganagar Road)	SRI GANGANAGAR	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5
Image         Image <th< td=""><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td></th<>				-									-		
100         0000000000         0000000000         00000000000         000000000000000000000000000000000000		Bhagat Singh Chowk at Sri Karanpur		-											
Image         Description         Descripion         Description															
Image and the second of the second													-		
TM         Mage         M		Kesrisinghpur Road)													
model         constrained         constrained <th< td=""><td>785</td><td>Village: Rattewala on SH 3 Tehsil: Padampur</td><td>SRI GANGANAGAR</td><td>Regular</td><td>100</td><td>Open</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>25</td><td>60</td><td>Draw of Lots</td><td>15</td><td>5</td></th<>	785	Village: Rattewala on SH 3 Tehsil: Padampur	SRI GANGANAGAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
The         Description interrugent registery operations of a partial set of the partial set of		Union Tiraha													
Process         Productional of Section 2011         Productional of Section 2011         Productional of Section 2011         Productional Section 2011         Production 2011         Pr	788	Sadulshahar within Nagarpalika City Limit	SRI GANGANAGAR	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
12.         19.0         0.00         C         18.0         19.0         19.0         0.00         C         18.0         19.0         19.0         0.00         C         18.0         19.0         19.0         0.00         19.0															
PP         Exact by Date C B BS Digger MD B DS         SH B MARKMARK         Fund         SH B         PC         PC         SH B         PC	791	э CHAK 5GB Near Jetsar (Tehsil: Vijaynagar)										30			
The No Sun Superspace         Dis Macheman In Summary International of Language         Dis Macheman International Superspace															
Image in the start process of subgrager         966 AMALAMAM         Func         900         000         913         915         910	794	CHAK 5A, Sri Ganganagar	SRI GANGANAGAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Type         Unique UBE standards and and and allocal         Standards and and and allocal         Standards and and allocal         Standards and allocal         Standallocal         Standards and allocal			SRI GANGANAGAR		50		DC		35	1225		30		-	
Diff         Diff <thdif< th="">         Diff         Diff         D</thdif<>	_													-	÷
Lab.         Number Case and approximation from the ST General Part of the ST Sector															
Bits         Bits         State State Number         State															
Both         Number operator in strongeness character from strongeness         Bits Generator in the strongeness         Bits Genestrongeness         B						-									
BR         Unique 1 DOC (Tehds Open and Tehd Sugges)         Still Advanced Merid         Fund         So         Open         DC         SS         JZS         JZ         JZ        JZ        JZ         JZ<															
BBN         Wings boxaur (Theils Longan)         SME (AddAldAdd         Fund         SO         Open         DC         SS         122         30         Dere dros         S         44           BN         Wings brane (Tredis Longan)         SME (AddAldAdd         Fund         SO         Open         C         SS         15         125         12         30         Dere dros         S         Add           BN         Wings brane (Tredis Longan)         SME (AddAldAdd         Fund         30         Open         C         15         15         125         0         0         Dere dros         5         4           BN         Wings Consum (Tredi Long Angen)         SME (AddAldAdd         Fund         30         Open         C         15         15         15         125         0         0         Open (CS         15         15         125         12         30         Orace dros         5         4           BN         Wines Longan (Tredis Longan)         SME (AddAldAdd         Fund         10         Open         C         15         15         125         12         30         Orace dros         5         4           BN         Wines Longan (Tredis Longa)         SME (AddAldAdd <td>806</td> <td>Village Rajyisar (Tehsil: Suratgarh)</td> <td></td>	806	Village Rajyisar (Tehsil: Suratgarh)													
Bit         White 1 we submit we will prove that Will prove th	808	Village Somasar (Tehsil: Suratgarh)													
BB         Undge: EAM (Tek. Anogenh)         BB GMGAMAGM         Brain         50         Open         CC         18         125         12         5         BBdm         10         4           41         Winh 3         Doward Si Kazanger on Gajohghur Sintano and Si Kazanger on Gajohghur Sintano and Sintano Anogentano and Sintano and Sintano Anogenta anogenta and Sintano	810	Within 3 kms eitherside on Srivijayanagr-Raisinghnagar Road from Salempur-Jetsar (Bajuwalla) road intersection		Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots		
Bits         Bits         Bits         State         Lizit         Lizit <thlizit< th=""> <thlizit< th=""> <thlizit< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></thlizit<></thlizit<></thlizit<>															
Anno. Bumologruc Gharana Road         Sin GANGANAGAR         Nural         So         Open         DC         35         35         1125         112         30         Draw of Lots         5         4           Bit         Within Strom Radie Charana Road form Ref fibradar         Sin GANGANAGAR         Rural         50         Open         DC         35         35         1225         12         30         Draw of Lots         5         3           Bit         Within Strom Road         Sin GANGANAGAR         Rural         50         Open         DC         35         35         1225         12         30         Draw of Lots         5         4           Bit         Sing GANGANAGAR         Rural         50         Open         DC         35         35         1225         12         30         Draw of Lots         5         4           Bit         Within Strom Stranger Thermal Road from RH 62         Sin GANGANAGAR         Rural         50         Open         DC         35         1225         12         30         Draw of Lots         5         4           Bit         Within Strom Stranger Sing Chrice on Padamour-Si         Sin GANGANAGAR         Rural         50         Open         DC         35	813	Road from Zorawarpura Railway Station Underpass	SRI GANGANAGAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
BAS         Interaction         SNI DARAGADAGAN         Rural         SOI         Open         DC         As         L25         L27         L30         Draw of Lots         S           B45         Within StressCition on Raising/Pargur- SNI DARAGANAGAN         Rural         SO         Open         DC         35         35         L22         L30         Draw of Lots         S         4           B404/Baurunangeh-Aungeh Road Intersection         SII GANGANAGAN         Rural         SO         Open         DC         35         35         L22         L30         Draw of Lots         S         4           B404/Baurunangeh-Aungeh Road Intersection         SII GANGANAGAN         Rural         SO         Open         DC         35         155         L32         L30         Draw of Lots         S         4           B404/Baurunangeh-Aungeh Road         SII GANGANAGAN         Rural         SO         Open         DC         35         135         L325         L2         30         Draw of Lots         S         4           B41         VIIIge SZM. or Padurpur-Lstar Road         SII GANGANAGAN         Rural         SO         Open         CC         15         15         L22         30         Draw of Lots         5	814	Ramsinghpur-Gharsana Road	SRI GANGANAGAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Bit         Singlegar Road         Find         Singlegar Road         Singlegar	815	Intersection	SRI GANGANAGAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
ability         served/tearmanagent haugingent maniferment from NH 62 intervection         SRI GANGAMAGAR         Rural         50         Open         DC         35         35         125         12         30         Draw of Lots         5         4           818         Within Stom Sortgarth Terminal Road from NH 62 intervection         SRI GANGAMAGAR         Rural         50         Open         DC         35         35         122         30         Draw of Lots         5         4           819         Within Trans from Singer Singh Circle on Padampur Sin Karangun Road         SRI GANGAMAGAR         Rural         50         Open         DC         35         35         122         30         Draw of Lots         5         4           821         Village Sandargaft Tells: stratgarh         SRI GANGAMAGAR         Rural         50         OBC         DC         35         35         122         30         Draw of Lots         5         3           823         Within S from Singer Sandard Free Stratgarh         SRI GANGAMAGAR         Rural         50         OBC         DC         35         35         1225         0         D         Draw of Lots         5         3           824         Within Stom Sontagrinthroup Cole Stom Sin Singer Sandard Singer Sandaro	816	SriVijaynagar Road	SRI GANGANAGAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
ass         intersection         ass         ass <t< td=""><td>817</td><td>SH94(Hanumangarh-Anupgarh Road) Intersection</td><td>SRI GANGANAGAR</td><td>Rural</td><td>50</td><td>Open</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>12</td><td>30</td><td>Draw of Lots</td><td>5</td><td>4</td></t<>	817	SH94(Hanumangarh-Anupgarh Road) Intersection	SRI GANGANAGAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
ass         Karangur Road         Strangur Road         Strangur Road         Strangur Road         Strangur Road         Res         Strangur Road         <		intersection	SRI GANGANAGAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
B21         Village Standargahl, Teh: Surdigahl)         SRI GANGANAGAR         Rural         50         SC         C7S         35         35         1225         0         0         Draw of Lots         0         2           822         Village Stand.org Admony-testre Road         SRI GANGANAGAR         Rural         50         OC         0         Draw of Lots         0         Draw of Lots         0         2           823         intersection         Remainshiptur-tupit         SRI GANGANAGAR         Rural         50         OC         35         35         1225         0         0         Draw of Lots         5         3           824         Within 6 kms on Ramsinghpur-tupit Road from NH 94         SRI GANGANAGAR         Rural         50         OBc         CC         35         35         1225         12         30         Draw of Lots         5         4           826         Withine funs on Ramsinghpur-tupit         SRI GANGANAGAR         Rural         50         Open CC1         DC         35         35         1225         0         0         Draw of Lots         5         4           826         Withine Kinston Ramsinghpur-testing Regular         150         OPE         CC         35         35	819	Karanpur Road													
Within 5 Hms on Bird/wav-Udsyapur Godaran Road from NH 62         SRI GANGANAGAR         Rural         50         SC         CrS         35         35         1225         0         0         Draw of Lots         0         2           821         intersection         mitersection         SRI GANGANAGAR         Rural         50         OBC         C         35         35         1225         12         30         Draw of Lots         5         3           822         Kin Stone 12-15 on St Vilgingar- Read         SRI GANGANAGAR         Rural         50         Open CC1         DC         35         35         1225         0         D         Draw of Lots         5         4           826         Wilding Ehandmar Tehlin Vilgingar         SRI GANGANAGAR         Rural         50         Open CC1         DC         35         35         1225         0         D         Draw of Lots         0         2           827         BETWEEN MSTORE 12720 ON NH-68         BAAMER         Regular         150         OPFN         CC         35         35         1225         0         D         Draw of Lots         0         35           828         BETWEEN MSTORE 124-132 ON NH-68         BAAMER         Regular         150	821	Village Sardargarh (Teh: Suratgarh)	SRI GANGANAGAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Intersection         Intersection<		Within 5 kms on Birdhwal-Udayapur Godaran Road from NH 62													
bit         intersection at Ramsinghour         bit         Outwork NAM         Nural         50         Otec         0.0         53         1225         122         50         Orlaw fulls         5         4           B25         Km Store 12-15 on St Nighragar Radinghnagar Road         SRI GANGANAGAR         Rural         50         Open CC1         DC         35         35         1225         12         0         0         Draw of Lots         0         2           827         BETWEEN KM STONE 137-200 ON NH-68         BARMER         Regular         150         OPEN         CC         35         35         1225         10         BIDDING         30         55           828         BETWEEN KM STONE 137-113 ON NH-68         BARMER         Regular         150         OPEN         CC         35         35         1225         25         75         Draw of Lots         10         3           843         BETWEEN KM STONE 142-132 ON NH-68         BARMER         Regular         150         OPEN         CC         35         35         1225         25         75         Draw of Lots         15         45           828         BETWEEN KM STONE 142-132 ON NH-68         BARMER         Regular         150		intersection													
B2C         Village Dhandhra Teshit: Vignengar         SRI GANGANAGAR         Run         50         SCC C1         CFS         35         35         1225         0         0         Draw of Lots         0         33           B27         BETWEEN KMSTONE 197-200 ON NH-68         BARMER         Regular         150         OC         CFS         35         35         1225         0         0         Draw of Lots         0         33           B28         BETWEEN KM STONE 110-113 ON NH-68         BARMER         Regular         150         OFE         35         35         1225         0         0         Draw of Lots         0         33           B30         BETWEEN KM STONE 124-128 ON NH-68         BARMER         Regular         150         OPEN         DCC         35         35         1225         25         75         Draw of Lots         15         44           B32         BETWEEN KM STONE 140-147 ON NH-68         BARMER         Regular         150         OPEN         DCC         35         35         1225         25         75         Draw of Lots         0         33           B33         BETWEEN KM STONE 140-147 ON NH-68         BARMER         Regular         150         OPEN         CC		intersection at Ramsinghpur	SRI GANGANAGAR		50		DC					30			4
B22         BETWEEN KM STONE 110-113 ON NH-68         BARMER         Regular         150         OPEN         CC         35         35         1225         25         10         BIDDING         30         5           829         BETWEEN KM STONE 114-118 ON NH-68         BARMER         Regular         150         OFFN         DC         35         35         1225         0         0         Draw of Lots         0         35           830         BETWEEN KM STONE 75-85 ON NH-68         BARMER         Regular         150         OBC         DC         35         35         1225         25         75         Draw of Lots         15         44           832         BETWEEN KM STONE 140-147 ON NH-68         BARMER         Regular         150         OPEN         DC         35         35         1225         0         0         Draw of Lots         0         33           833         BETWEEN KM STONE 140-147 ON NH-68         BARMER         Regular         150         SFPH         CFS         35         35         1225         0         0         Draw of Lots         0         33           833         MISALMER ROAD, BARMER WML         BARMER         Regular         150         OPEN         CC	826	Village Dhandhra Tehsil: Vijaynagar				SC CC 1	CFS					0	Draw of Lots		
830         BETWEEN KM STONE 126-132 ON NH -68         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         4           832         BETWEEN KM STONE 124-126 ON NH-68         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         155           833         BETWEEN KM STONE 124-126 ON NH-68         BARMER         Regular         150         OPEN         DC         35         35         1225         0         0         Draw of Lots         10         33           843         JASO F BUVEEN KM STONE 148-150 ON NH-68[BARMER-         BARMER         Regular         150         OPEN         CC         20         400         25         10         Bidding         30         4           835         RHS BEWEEN KM STONE 148-150 ON NH-68[BARMER-         BARMER         Regular         150         OPEN         CC         20         400         25         10         Bidding         30         5           836         BETWEEN KM STONE 148-150 ON NH-68         BARMER         Regular         150         OPEN         CC         20	828	BETWEEN KM STONE 110- 113 ON NH -68	BARMER	Regular	150	OPEN	CC	35	35	1225	25		BIDDING	30	5
B32         BETWEEN KM STONE 124-126 ON NH-68         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           833         BETWEEN KM STONE 140-147 ON NH-68         BARMER         Regular         150         ST PH         CFS         35         35         1225         0         0         Draw of Lots         0         3           834         HS OF BEWEEN KM STONE 148-150 ON NH-68(BARMER- LIASALMER ROAD), BARMER WML         BARMER         Regular         150         OPEN         CC         20         400         25         10         Bidding         30         4           835         JASALMER ROAD), BARMER WML         BARMER         Regular         150         OPEN         CC         20         400         25         10         Bidding         30         5           836         BETWEEN KM STONE 149-97 ON NH-68         BARMER         Regular         150         OPEN         CC         35         35         1225         25         10         Bidding         30         5           837         BETWEEN KM STONE 149-97 ON NH-68         BARMER         Regular         150         OPEN         CC	830	BETWEEN KM STONE 126-132 ON NH -68	BARMER	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
B34         LHS OF BEWEEN KM STONE 148-150 ON NH -68(BARMER- LAISALMER WALL         BARMER         Regular         150         OBC PH         CC         20         400         25         10         Bidding         30         4           835         RNS BWEEN KM STONE 148-150 ON NH -68(BARMER- LAISALMER ROAD) IN BARMER WALL         BARMER         Regular         150         OPEN         CC         20         400         25         10         Bidding         30         4           835         RNS DWEEN KM STONE 148-150 ON NH -68(BARMER- LAISALMER ROAD) IN BARMER WALL         BARMER         Regular         150         OPEN         CC         20         400         25         10         Bidding         30         5           836         BETWEEN KM STONE 148-150 ON NH -68(BARMER- IAISALMER RAGULA) IN BARMER WALL         BARMER         Regular         150         OPEN         CC         23         35         1225         25         75         Draw of Lots         15         4           838         BETWEEN KM STONE 54.9 ON NH -68         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         0         33           840         BETWEEN KM STONE 54.0 ON NH -52 E         BAR	832	BETWEEN KM STONE 124-126 ON NH-68	BARMER	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
B35         RHS BEWEEN KM STONE 148-150 ON NH -68(BARMER- JAISALMER ROAD) IN BARMER WAL         BARMER         Regular         150         OPEN         CC         20         400         25         10         Bidding         30         5           B36         BETWEEN KM STONE 148-150 ON NH -68         BARMER         Regular         150         OPEN         CC         35         35         1225         25         10         Bidding         30         5           B37         BETWEEN KM STONE 149-197 ON NH -68         BARMER         Regular         150         OBC         DC         35         35         1225         25         75         Draw of Lots         15         4           B38         BETWEEN KM STONE 5.8 ON NH-25         BARMER         Regular         150         OPEN         DC         35         35         1225         0         0         Draw of Lots         15         5           B40         BETWEEN KM STONE 5.8 ON NH-25E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           840         BETWEEN KM STONE 300 NH -68         BARMER         Regular         150         OPEN	-	LHS OF BEWEEN KM STONE 148-150 ON NH -68(BARMER-													
B36         BETWEEN KM STONE 156-159 ON NH-68         BARMER         Regular         150         OPEN         CC         35         35         1225         25         10         Bidding         30         55           837         BETWEEN KM STONE 156-159 ON NH-68         BARMER         Regular         150         OBC         DC         35         35         1225         25         75         Draw of Lots         15         4           838         BETWEEN KM STONE 2-50 NH-25 E         BARMER         Regular         150         OC         GC         75         Draw of Lots         0         33           839         BETWEEN KM STONE 5-8 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           840         BETWEEN KM STONE 5-8 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         4           841         BETWEEN KM STONE 100- 109 ON NH-58         BARMER         Regular         150         OPEN         DC         35         35         1225         0 </td <td>835</td> <td>RHS BEWEEN KM STONE 148-150 ON NH -68(BARMER-</td> <td>BARMER</td> <td>Regular</td> <td>150</td> <td>OPEN</td> <td>сс</td> <td>20</td> <td>20</td> <td>400</td> <td>25</td> <td>10</td> <td>Bidding</td> <td>30</td> <td>5</td>	835	RHS BEWEEN KM STONE 148-150 ON NH -68(BARMER-	BARMER	Regular	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
B38         BETWEEN KM STONE 2-5 ON NH-25 E         BARMER         Regular         150         SC         CFS         35         35         1225         0         0         Draw of Lots         0         33           839         BETWEEN KM STONE 2-5 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         55           840         BETWEEN KM STONE 9-11 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           841         BETWEEN KM STONE 100- 109 ON NH -68         BARMER         Regular         150         OBC         DC         35         35         1225         25         75         Draw of Lots         15         4           842         BETWEEN KM STONE 21-25 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         0         0         Draw of Lots         0         33           843         BETWEEN KM STONE 21-25 ON NH-25 E         BARMER         Regular         150         OPEN         <	_	BETWEEN KM STONE 156-159 ON NH-68											•		-
840         BETWEEN KM STONE 9-11 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           841         BETWEEN KM STONE 10-0 NN H-68         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         4           842         BETWEEN KM STONE 12-5 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         0         0         Draw of Lots         0         3           843         BETWEEN KM STONE 26-28 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           844         BETWEEN KM STONE 26-28 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           844         BETWEEN KM STONE 30-5 ON NH-25 E         BARMER         Regular         150         OPEN <td< td=""><td>838</td><td>BETWEEN KM STONE 2-5 ON NH-25 E</td><td>BARMER</td><td>Regular</td><td>150</td><td>SC</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td>Draw of Lots</td><td>0</td><td>3</td></td<>	838	BETWEEN KM STONE 2-5 ON NH-25 E	BARMER	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
842         BETWEEN KM STONE 21-25 ON NH-25 E         BARMER         Regular         150         ST         CFS         35         35         1225         0         0         Draw of Lots         0         33           843         BETWEEN KM STONE 21-25 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         55           844         BETWEEN KM STONE 61-70 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         55           845         BETWEEN KM STONE 30-30 N H-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           846         BETWEEN KM STONE 30-30 N H-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           846         BETWEEN KM STONE 225-234 ON NH-68         BARMER         Regular         150         OPC	840	BETWEEN KM STONE 9-11 ON NH-25 E	BARMER	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
844         BETWEEN KM STONE 61-70 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           845         BETWEEN KM STONE 30.35 ON NH-25 E         BARMER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           846         BETWEEN KMS 201 - 204 ON NH-68         BARMER         Regular         150         OBC         CC         35         35         1225         25         75         Draw of Lots         15         5           847         BETWEEN KMS 201 - 204 ON NH-68         BARMER         Regular         150         OBC         CC         35         35         1225         25         10         Bidding         30         4           847         BETWEEN KM STONE 232-234 ON NH-68         BARMER         Regular         150         SC         CFS         35         35         1225         0         0         Draw of Lots         0         33           848         BETWEEN KM STONE 234-24 ON NH-68         BARMER         Regular         150         Open CC 1         D	842	BETWEEN KM STONE 21-25 ON NH-25 E	BARMER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
846         BETWEEN KMS 201 - 204 ON NH-68         BARMER         Regular         150         OBC         CC         35         35         1225         25         10         Bidding         30         44           847         BETWEEN KM STONE 225-234 ON NH -68         BARMER         Regular         150         SC         CFS         35         35         1225         0         0         Draw of Lots         0         33           848         BETWEEN KM STONE 234-246 ON NH-68         BARMER         Regular         150         Open CC1         DC         35         35         1225         25         75         Draw of Lots         0         33	844	BETWEEN KM STONE 61-70 ON NH-25 E	BARMER	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
848         BETWEEN KM STONE 234-246 ON NH-68         BARMER         Regular         150         Open CC 1         DC         35         1225         25         75         Draw of Lots         15         5	846	BETWEEN KMS 201 - 204 ON NH-68	BARMER	Regular	150	OBC	CC	35	35	1225	25	10	Bidding	30	4
	848				150	Open CC 1	DC	35	35	1225	25	75		15	5
BST/MEEN KM/STORE 103-114 ON NH-25 E         BAR/MER         Regular         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5	_	BETWEEN KM STONE 175185 ON NH-68													

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 ST PH ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
851 852	BETWEEN KM STONE 186-194 ON NH-68 BETWEEN KM STONE 84-92 ON NH-25 E	BARMER BARMER	Regular Regular	150 150	ST OPEN	CFS DC	35 35	35 35	1225 1225	0 25	0 75	Draw of Lots Draw of Lots	0 15	3
853 854	BETWEEN KMS 170-175 ON NH 68 BETWEEN KM STONE 75-78 ON NH-25	BARMER BARMER	Regular Regular	150 150	OBC OPEN	DC CC	35 35	35 35	1225 1225	25 25	75 10	Draw of Lots BIDDING	15 30	4
855 856	BETWEEN KMS 160-170 ON NH-68 BETWEEN KM STONE 204-219 ON NH-68	BARMER BARMER	Regular Regular	150 150	OPEN SC CC 1	DC CFS	35 35	35 35	1225 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	5
857	BETWEEN KM STONE 44-48 ON NH-25 BETWEEN KM STONE 1-6 ON NH 25 LHS BARMER JODHPUR	BARMER	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
858 859	ROAD, IN BARMER WML BETWEEN KM STONE 50-58 ON NH-25	BARMER	Regular Regular	150 150	OPEN Open PH	CC DC	20 35	20 35	400 1225	25 25	10 75	Bidding Draw of Lots	30 15	5
860 861	BETWEEN KM STONE 64-70 ON NH-25	BARMER BARMER	Regular Regular	150 150	SC OBC	CFS DC	35	35	1225	0	0 75	Draw of Lots Draw of Lots Draw of Lots	0 15	3 4
862	BETWEEN KM STONE 7-14 ON NH-25 BETWEEN KM STONE 1-6 ON NH 25 RHS BARMER JODHPUR	BARMER	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
863	ROAD, IN BARMER WML BETWEEN KM STONE 25-28 ON NH-25	BARMER	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
864 865	BETWEEN KM STONE 29 -32 ON NH-25 BETWEEN KM STONE 70-74 ON NH-25	BARMER BARMER	Regular Regular	150 150	SC OPEN	CFS DC	35 35	35 35	1225 1225	0 25	0 75	Draw of Lots Draw of Lots	0 15	3 5
866 867	BETWEEN KM STONE 78-82 ON NH-25 BETWEEN KM STONE 82-86 ON NH-25	BARMER BARMER	Regular Regular	150 150	OPEN OPEN	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5 5
868 869	BETWEEN KM STONE 86-91 ON NH-25 BETWEEN KMS 110-115 ON NH 25	BARMER BARMER	Regular Regular	150 150	OBC ST	DC CFS	35 35	35 35	1225 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	4 3
870 871	BETWEEN KM STONE 91-96 OM NH-25 BETWEEN KM STONE 103-110 ON NH -25	BARMER BARMER	Regular Regular	150 150	OPEN Open CC 1	CC	35	35	1225	25 25	10 75	Bidding Draw of Lots	30 15	5
872 873	BETWEEN KMS 115-120 ON NH 25	BARMER BARMER	Regular Regular	150	OBC SC	DC DC CFS	35	35	1225	25	75	Draw of Lots Draw of Lots Draw of Lots	15 0	4 3
874	BETWEEN KMS 120-125 ON NH 25 BETWEEN KM STONE 98-102 ON NH 25	BARMER	Regular	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
875 876	BETWEEN KMS 125-130 ON NH 25 VILLAGE SANAWADA NH68	BARMER BARMER	Regular Regular	150 150	OBC OPEN	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	4 5
877 878	BETWEEN KM STONE 7- 16 ON NH 325 BETWEEN KM STONE 17-21 ON NH 325	BARMER BARMER	Regular Regular	150 150	OPEN ST	DC CFS	35 35	35 35	1225 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	5
879 880	BETWEEN KMS 1 TO 5 ON NH 325 BETWEEN KMS 130-134 ON NH 25	BARMER BARMER	Regular Regular	150 150	OBC OPEN	CC DC	35 35	35 35	1225 1225	25 25	10 75	Bidding Draw of Lots	30 15	4 5
881 882	BETWEEN KM STONE 22-29 ON NH 325 BETWEEN KM STONE 30-35 ON NH 325	BARMER BARMER	Regular Regular	150 150	OPEN SC	DC CFS	35 35	35 35	1225 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	5
883 884	BETWEEN KM STONE 37-40 ON NH 325 BETWEEN KM STONE 41-43 ON NH 325	BARMER BARMER	Regular Regular	150 150	OBC OPEN	DC DC	35	35	1225 1225	25 25	75	Draw of Lots Draw of Lots	15 15	4
885	BETWEEN KM STONE 39-52 ON NH 325	BARMER	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
886 887	PROPSED BYEPASS OF VILLAGE MAVDI ( NH 325 ) VILLAGE MAVDI TO MOKALSAR CHORAHA ON NH 325	BARMER BARMER	Regular Regular	150 150	OBC OPEN	DC CC	35 35	35 35	1225 1225	25 25	75 10	Draw of Lots Bidding	15 30	4 5
888 889	PROPOSED MOKALSAR BYEPASS( NH 325) PRPOSED VILLAGE SIWANA BYEPASS( NH 325)	BARMER BARMER	Regular Regular	150 150	OPEN OBC	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5 4
890	WITH IN 5KM FROM INTERSACTON OF SH 28 AND SH 16 TOWARDS BAGORA ON SH 16 (SINDHARI- BAGORA ROAD)	BARMER	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
891	BARMER CITY - WITHIN 4 KM FROM SINDHRI CHOURAHA TOWARDS SINDHRI ON SH 40	BARMER	Regular	100	OBC	CC	35	35	1225	25	10	Bidding	30	4
892 893	SINDHARI TO VILLAGE SARNAU ON SH16 ON NH 325 WITH IN BALOTRA WML	BARMER BARMER	Regular Regular	100 100	SC OPEN	CFS DC	35 20	35 20	1225 400	0 25	0 45	Draw of Lots Draw of Lots	0 15	3
894 895	BETWEEN KMS 226 TO 231 ON SH 28 VILLAGE BHIYAD TO SHERGARH SHIV ROAD ON SH 65	BARMER BARMER	Regular Regular	100 100	OPEN OBC	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
896	UPTO 5 KM FROM GOVT PRIMARY HEALTH CENTRE MUNGERIA ON GARDRA ROAD ROAD SH 65	BARMER	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
897 898	BARMER-SINDHARI ROAD WITH IN BARMER WML BETWEEN KM STONE 33-40 ON NH 25	BARMER BARMER	Regular Regular	100 150	OBC SC PH	DC CFS	20 35	20 35	400 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	4
899 900	BARMER WML ON ANY MAIN RAOD	BARMER BARMER	REGULAR	100	OPEN OBC	CC DC	20	20	400 400	25	10 45	Bidding Draw of Lots	30 15	5 4
901	BARMER-MAHABAR ROAD WITH IN BARMER WML BARMER-MUNABAV ROAD WITH IN BARMER WML	BARMER	Regular Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
902 903	BARMER - GEHOON ROAD WITH IN BARMER WML BARMER-JODHPUR ROAD WITH IN BARMER WML	BARMER BARMER	Regular Regular	100 100	OBC OPEN	DC CC	20 20	20 20	400 400	25 25	45 10	Draw of Lots Bidding	15 30	4 5
904 905	BETWEEN KM STONE 118-126 ON NH -68 BARMER-SANCHORE ROAD WITH IN BARMER WML	BARMER BARMER	Regular Regular	150 100	SC OPEN	CFS DC	35 20	35 20	1225 400	0 25	0 45	Draw of Lots Draw of Lots	0 15	3 5
906		BARMER	Regular	100	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
907 908	BETWEEN KMS 17-20 ON SH-66 (KALYANPUR- SAMDHARI) BALOTRA-BAGUNDI ROAD WITH IN BALOTRA WML	BARMER	Regular Regular	100 100	SC OPEN	CFS CC	35 20	35 20	1225 400	0 25	0	Draw of Lots Bidding	0 30	3 5
909 910	BALOTRA -PACHPADRA ROAD WITH IN BALOTRA WML BALOTRA TO SAMDHARI ROAD UP TO 10 KM BALOTRA	BARMER BARMER	Regular Regular	100	OPEN OBC	CC DC	20 35	20	400	25 25	10 60	Bidding Draw of Lots	30 15	5
911	UPTO TO 5 KM TOWARDS BIKANER FROM KELANKOT TOLL PLAZA ON SH 28	BARMER	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
912 913	UP TO 5KM SINDHARI- BAGORA ROAD ON SH-16 BALOTRA TO BAGUNDI SH28A	BARMER BARMER	Regular Regular	100 100	OPEN OPEN	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
914	BALOTRA-NAKODA JI ROAD WITH IN BALOTRA WML	BARMER	Regular	100	OBC CC 1	CC	20	20	400	25	10	Bidding	30	4
915 916	REVENUE VILLAGE NOKHRA, IN TEHSIL GUDAMALANI VILLAGE SERVA TO VILLAGE DHANAU MDR 17	BARMER BARMER	Rural Rural	50 50	Open OBC	DC CC	35 35	35 35	1225 1225	12 12	30 5	Draw of Lots Bidding	5 10	4
917 918	VILLAGE PACHPADRA VILLAGE JASOL TEHSIL PACHPADRA	BARMER BARMER	Rural Rural	50 50	Open Open	CC DC	35 35	35 35	1225 1225	12 12	5 30	Bidding Draw of Lots	10 5	4 4
919 920	VILLAGE KANOD TEHSIL BAYTOO VILLAGE KAMOIPURA ON BHADRESH KAMOIPURA ROAD	BARMER BARMER	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5 5	3 4
921	UP TO 5KM FROM VILLAGE BHIMADA ON BHIMDA BAYATU ROAD	BARMER	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
922 923	VILLAGE NAGARDA, TEHSIL-SHEO VILLAGE MOKALSAR TEHSIL SIWANA	BARMER BARMER	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5 0	3
924	UP TO SKM FROM FORM DHORIMANNA ON DHORIMANNA GUDAMALANI ROAD	BARMER	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
925 926	KONARA, TEHSIL- CHOHTAN VILLAGE GARAL TEHSIL BARMER	BARMER BARMER	Rural Rural	50 50	ST Open	CFS DC	35 35	35 35	1225 1225	0	0 30	Draw of Lots Draw of Lots	0	2 4
926	BETWEEN KMSTONE 48 TO 45 (RHS) ON SH -6A WHILE MOVING	BIKANER	REGULAR	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
928	FROM KALOO TO SARDARSHEHAR BETWEEN JAGGASAR AND TANWARWLA UPTO 3 KM FROM TANWARWLA ON DANTOUR TO JAGGASAR ROAD ON SH 94	BIKANER	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
929	BETWEEN MODIYAN PHANATA AND GORU WITHIN 3KM FROM MODIYA PHANTA ON DANTOUR TO GODU ROAD ON SH 94	BIKANER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
930	B/W OLD KM STONE 41-43 ON OLD NH15, RHS, WHILE MOVING FROM BIKANER TO PHALODI	BIKANER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
931	BETWEEN KMS 10 KM TO 25 KM ON BIKANER -JAISALMER ROAD (OLD NH-15)	BIKANER	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
932	WITHIN NOKHA WML ON ANY MAIN ROAD WITHIN 2 KM FROM GANGAHSAHAR OLD BUS STAND	BIKANER	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
933	TOWARDS DESHNOK (LHS)ON BIKANER NOKHA ROAD	BIKANER	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CPH OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
934	WITHIN 2 KM FROM CHARKADA PHANTA LHS TOWARDS NOKHA ON NH 62	BIKANER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
935	WITHIN 3 KM FROM DESHNOK RAILWAY PHATA LHS ON DESHNOK TO BIKANER ROAD HIGHWAY TOWARDS BIKANER	BIKANER	REGULAR	150	OBC	сс	35	35	1225	25	10	BIDDING	30	4
936	B/W ARJUNSAR AND MAHAJAN ON NH 62	BIKANER	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
937 938	ON ANY MAIN ROAD IN TRANSPORT NAGAR BIKANER WITHIN 2KM FROM RANI BAZAAR OVERBRIDGE ON SURAJ	BIKANER	REGULAR	150 150	OPEN OPEN	DC CC	20 20	20 20	400 400	25 25	60 10	Draw of Lots BIDDING	15 30	5
939	TALKIES ROAD IN BIKANER CITY BETWEEN KMSTONE 460 TO 470 ON NH 11 WHILE MOVING	BIKANER	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
940	FROM BIKANER TO JAIPUR ON MAIN ROAD CONNECTING JAIPUR ROAD (NEAR HALDIRAM KA PYAAU) AND JODHPUR BYPASS (NH 62), WITHIN BIKANER WML	BIKANER	REGULAR	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
941	B/W KMSTONE 215-217 LHS ON OLD NH 89 WHILE MOVING FROM NOKHA TO BIKANER	BIKANER	REGULAR	150	OBC	сс	35	35	1225	25	10	BIDDING	30	4
942	FROM NORHA TO BIKANER WITHIN 5 KM FROM LUNKARANSAR POLICE THANA ON NH 62 TOWARDS BIKANER	BIKANER	REGULAR	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
943	BETWEEN KMSTONE 34 TO 36 LHS, WHILE MOVING FROM	BIKANER	REGULAR	150	OPEN	сс	35	45	1575	25	10	BIDDING	30	5
944	KOLAYAT TO BIKANER , OLD NH 15 BETWEEN KMSTONE 4 AND 6 LHS WHILE MOVING FROM	BIKANER	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
945	CHATTARGARH TO BIKANER ON SH-3 BETWEEN KM STONE 535 TO 545 ON BIKANER JAIPUR ROAD ON	BIKANER	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
946	NH 11 ON MAIN ROAD FROM SHIV BARI CHOURAHA TOWARDS	BIKANER	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
947	JODHPUR BYPASS, BIKANER CITY WITHIN 3 KM FROM SHAEED CAPTAIN CHANDRA CHOUDHARY CIRCLE TOWARDS SOFIA SCHOOL -(LHS), ON JAIPUR ROAD, BIKANER CITY	BIKANER	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
948	BIKANER BYPASS ON NH-11 CONNECTING SRI GANGANAGR ROAD TO JAIPUR ROAD	BIKANER	REGULAR	150	Open CC 2	DC	35	35	1225	25	75	Draw of Lots	15	5
949	BETWEEN DUNGARGARH AND KITTASAR ON NH 11	BIKANER	REGULAR	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
950 951	WITHIN 3 KM FROM PUGAL PHANTA LHS ON SH 3 BETWEEN ARYA HOSPITAL AND PAWAN PURI POST OFFICE ,	BIKANER	REGULAR	100 150	OPEN OPEN	DC DC	35 20	35 20	1225 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
952	BIKANER WML WITHIN 2 KM FROM AMBEDKAR CIRCLE, BIKANER WML	BIKANER	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
953	WITHIN 3 KM FROM TECHRI PHANTA LHS WHILE MOVING FROM BIKANER TO PHALODI ON OLD NH 15	BIKANER	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
954 955	WITHIN NOKHA WML ON RORA ROAD BETWEEN CIRCUIT HOUSE AND NEXA SHOWROOM (RHS),	BIKANER	REGULAR	100 150	OPEN OPEN	DC DC	20 20	20 20	400	25 25	45 60	Draw of Lots Draw of Lots	15 15	5
	TOWARDS JAIPUR WITHIN BIKANER WML BETWEEN JNV POLICE THANA AND SOFIA SCHOOL ON MAIN										60			
956	ROAD, BIKANER WML B/W SOFIA SCHOOL AND VAISHNO DHAM TEMPLE (LHS),	BIKANER	REGULAR	150	OBC	DC	20	20	400	25		Draw of Lots	15	4
957	TOWARDS JAIPUR WITHIN BIKANER WML	BIKANER	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
958 959	ON ANY MAIN ROAD IN GANGASEHAR BIKANER, BIKANER WML WITHIN 2 KM FROM MURTI CIRCLE, BIKANER WML	BIKANER	REGULAR	150 150	OPEN OBC	DC DC	20 20	20 20	400 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
960 961	BETWEEN GUSAISAR AND SHERUNA ON NH 11 BETWEEN SHERUNA AND LAKHASAR ON NH 11	BIKANER BIKANER	REGULAR	150 150	Open CC 1 SC	DC CFS	35	35	1225	25 0	75 0	Draw of Lots Draw of Lots	15	5
962	BETWEEN LAKHASAR AND DUNGARGARH ON NH 11	BIKANER	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
963	BETWEEN KMSTONE NO: 18 TO 24 ON BIKANER -NAPASAR BETWEEN GANGANAGR CHAURAHA AND RSRTC BUST STAND	BIKANER	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
964 965	BIKANER, BIKANER WML BETWEEN KMSTONE 203 TO 210 ON OLD NH 89 ON NOKHA- NAGAUR ROAD	BIKANER	REGULAR	150 150	OPEN OBC	DC DC	20 35	20 35	400 1225	25 25	60 75	Draw of Lots Draw of Lots	15 15	5
966	ON NOKHA-NAGAUR NH-89 ROAD, BETWEEN KM STONE NO. 224 TO 230 ON RIGHT HAND SIDE WHILE GOING FROM NOKHA	BIKANER	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
967	TO BIKANER WITHIN 2 KM FROM PANCH BATTI CIRCLE, BIKANER WML	BIKANER	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
968	MUKTA PRASAD NAGAR/COLONY ON ANY MAIN ROAD, BIKANER CITY	BIKANER	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
969	ON ANY MAIN ROAD IN JAY NARAYAN VYAS COLONY, BIKANER CITY	BIKANER	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
970	ON BIKANER-SHOBASAR SH-3 ROAD , BETWEEN RAILWAY FATAK AND SHOBASAR CHAURAHA	BIKANER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
971	ON ANY MAIN ROAD BETWEEN SADUL GANJ AND PAWAN PURI, BIKANER CITY FROM POOGAL CHOURAHA TOWARDS RAILWAY	BIKANER	REGULAR	150	OPEN	сс	20	20	400	25	10	BIDDING	30	5
972	FACINF FOURIE CHOURAIDE TOWARDS NALEWAT FATAK/FLYOVER (LHS) ON BIKANER SHOBASAR ROAD, BIKANER CITY BETWEEN KMSTONE 23-30 RHS WHILE MOVING FROM BIKANER	BIKANER	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
973 974	TO PHALODI ON OLD NH15 BETWEEN MALKISAR AND MAHAJAN ON NH 62	BIKANER	REGULAR	150 150	OBC PH SC PH	DC CFS	35 35	45 35	1575 1225	25 0	75	Draw of Lots Draw of Lots	15 0	4
975	BETWEEN KMSTONE 12-15 (RHS) ON NH 11 WHILE MOVING FROM BIKANER TO JAIPUR	BIKANER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
976 977	BETWEEN BHAMATSAR AND RASISAR (RHS) WHILE MOVING FROM NOKHA TO BIKANER ON OLD NH 89 BETWEEN RSRTC BUS STAND AND KANASAR BYPASS TIRAHA	BIKANER	REGULAR	150 150	OBC OPEN	DC DC	35 20	35 20	1225 400	25 25	75 60	Draw of Lots Draw of Lots	15 15	4
977	WITHIN BIKANER WML BETWEEN SHIV BARI CHOURAHA TO CHALANA HOSPITAL ON	BIKANER	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
978	RIGHT HAND SIDE, BIKANER CITY WITHIN 10 KM FROM NOKHRA ON EITHER SIDE ON OLD NH 15	BIKANER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	4
980	ON MAIN ROAD FROM GANGANGAR CHOURAHA TO GANGA	BIKANER	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
981	SINGH UNIVERSITY, BIKANER WML BETWEEN BAMANWALI AND DHIRERAN ON NH 62	BIKANER	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
982 983	BETWEEN DHIRERAN AND HANSERAN ON NH 62 BETWEEN PALANA RAILWAY PHATAK AND PALANA TIRAHA	BIKANER	REGULAR	150 150	OBC OPEN	DC DC	35	35	1225	25 25	75	Draw of Lots	15 15	4
983	WHILE MOVING FROM NOKHA TO BIKANER ON OLD NH 89 BETWEEN KMSTONE 15 TO 17 ON DUNGARHARH TO BIDASAR ROAD	BIKANER	REGULAR	150	OPEN Open CC 1	DC	35	35	1225 1225	25	60	Draw of Lots Draw of Lots	15	5
985	WITIN BIKANER WML ON ANY MAIN ROAD BETWEEN NATHUSAR GATE AND KARMISAR ROAD ON MAIN	BIKANER	REGULAR	150	OBC	CC	35	35	1225	25	10	BIDDING	30	4
986	ROAD, BIKANER CITY	BIKANER	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
987 988	WITHIN 5 KM FROM LUNKARANSAR POLICE THANA ON NH 62 TOWARDS SURATGARH BETWEEN JAMSAR AND BAMANWALI ON NH 62	BIKANER	REGULAR	150 150	OPEN ST	DC CFS	35 35	35 35	1225 1225	25 0	75	Draw of Lots Draw of Lots	15 0	5
989	BETWEEN JAMSAR AND BAMANWALI ON NH 62 WITHIN DUNGARGARH WML ON ANY MAIN ROAD WITHIN 3 KMS FROM DUNGARGARH CIRCLE ON NH 11	BIKANER	REGULAR	150	OPEN	DC	20	35 20	400	25	45	Draw of Lots Draw of Lots	15	5
990	WITHIN 3 KMS FROM DUNGARGARH CIRCLE ON NH 11 TOWARDS BIKANER	BIKANER	REGULAR	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC COBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
991	BETWEEN PALANA RAILWAY PHATAK AND DESHNOK MAIN RAILWAY CROSSING WHILE MOVING FROM NOKHA TO BIKANER ON OLD NH 89	BIKANER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
992	WITHIN 5 KM FROM DIYATRA ON EITHER SIDE ON OLD NH 15	BIKANER	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
993	WITHIN 1 KMS FROM KHAJUWALA MAIN CIRCLE ON EITHER SIDE ON RAAVLA - DANTORE BRO ROAD	BIKANER	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
994 995	WITHIN 5 KM FROM 931 RD TOWARDS RANJEETPURA WITHIN 2 KM FROM RANJEETPURA POLICE CHOWKI TOWARDS	BIKANER	Regular RURAL	100 50	ST Open	CFS CC	35 35	35 35	1225 1225	0	0	Draw of Lots Bidding	0	3
996	GODU ON RIGHT HAND SIDE WITHIN 2 KM FROM GARABDESAR VILLAGE ON MAIN ROAD, LUNKARANSAR TEHSIL	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
997	WITHIN 2 KM FROM RANJEETPURA CIRCLE TOWARDS CHARANWALA ON LEFT HAND SIDE	BIKANER	RURAL	50	Open	сс	35	35	1225	12	5	Bidding	10	4
998	BETWEEN KMSTONE NO 11 TO 13 (LHS) ON BARSALPUR- BHURASAR ROAD WHILE GOING FROM BARSALPUR TO BHURASAR	BIKANER	RURAL	50	Open	сс	35	35	1225	12	5	Bidding	10	4
999	WITH 5 KM FROM RAWALA TOWARDS RANJEETPURA ON RAWALA -RANJEETPURA ROAD	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1000	RD682 (TEHSIL: PUGAL) WITHIN 5 KM FROM RAWALA BUS STAND TOWARDS	BIKANER	RURAL	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
1002	BARSALPUR WITHIN 10 KM FROM KHAJUWALA ON 365 HEAD ROAD	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1003	BETWEEN GIGASAR AND NAPASAR ON MAIN ROAD WITHIN 3 KM FROM AWA VILLAGE TOWARDS PUGAL ON MAIN	BIKANER	RURAL	50 50	Open CC 2 OBC CC 1	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
1005	ROAD, CHATTERGARH TEHSIL WITHIN 4 KM FROM UPNI TOWARDS BANA ON MAIN ROAD	BIKANER	RURAL	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
1006	BETWEEN SAWATSAR AND LIKHMISAR ON ON SAWATSAR LIKHMISAR ROAD	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1007	BETWEEN SUDSAR AND SHERUNA ON MAIN ROAD WITHIN 3 KM FROM DELI TALAI PHANTA TOWARDS RD 710	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1008	(LHS), TEHSIL - PUGAL WITHIN 2 KM FROM MAIN BUS STAND IN VILLAGE PUNRASAR,	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1009	SRI DUNGARGARH TEHSIL WITHIN 5 KM ON MAIN ROAD FROM VILLAGE 465 RD	BIKANER	RURAL	50	ST	CFS DC	35	35	1225	0	0 30	Draw of Lots	0	2
1010	TOWARDS BIRDWAL, CHATTERGARH TEHSIL WITHIN 3 KM FROM MUKAM BUS STAND ON MAIN ROAD ,	BIKANER	RURAL	50 50	Open OBC	DC	35 35	35 35	1225 1225	12	30	Draw of Lots Draw of Lots	5	3
1011	NOKHA TEHSIL WITHIN 3 KM FROM KAPOORISAR BUS STAND ON MAIN ROAD ,	BIKANER	RURAL	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1012	LUNKARANSAR TEHSIL WITHIN 3 KM FROM MALKISAR BUS STAND ON MAIN ROAD ,	BIKANER	RURAL	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1015	LUNKARANSAR TEHSIL WITHIN 2 KM FROM BALLAR VILLAGE TOWARDS BARSALPUR	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1015	ON MAIN ROAD, KHAJUWALA TEHSIL ON MAIN ROAD BETWEEN JAMSAR AND NOORSAR PHANTA	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1016	WITHIN 2 KM FROM DIYATRA VILLAGE ON MAIN ROAD, KOLAYAT TEHSIL	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1017	WITHIN 2 KM FROM RANER VILLAGE ON MAIN ROAD, CHATTERGARH TEHSIL	BIKANER	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1018	WITHIN 2 KM FROM KHARBARA VILLAGE ON MAIN ROAD, CHATTERGARH TEHSIL	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1019	WITHIN 2 KM FROM BHIKHNERA VILLAGE ON MAIN ROAD, CHATTERGARH TEHSIL	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1020	WITHIN 2 KM FROM JASWANTSAR VILLAGE ON MAIN ROAD,LUNKARANSAR TEHSIL	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1021	WITHIN 2 KM FROM SURNANA VILLAGE ON MAIN ROAD, LUNKARANSAR TEHSIL	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1022	WITHIN 2 KM FROM DELANA BADA VILLAGE ON MAIN ROAD, LUNKARANSAR TEHSIL	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1023	WITHIN 2 KM FROM UDANA VILLAGE ON MAIN ROAD, LUNKARANSAR TEHSIL	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1024	WITHIN 2 KM FROM HANSERAN VILLAGE ON MAIN ROAD, LUNKARANSAR TEHSIL	BIKANER	RURAL	50	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
1025	WITHIN 2 KM FROM ASRASAR VILLAGE ON MAIN ROAD, LUNKARANSAR TEHSIL	BIKANER	RURAL	50	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
1026	WITHIN 2 KM FROM JAITPUR VILLAGE ON MAIN ROAD, LUNKARANSAR TEHSIL WITHIN 2 KM FROM RAMBAGH VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1027	UNKARANSAR TEHSIL WITHIN 2 KM FROM MIHRIYA VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1028	LUNKARANSAR TEHSIL WITHIN 2 KM FROM CHATTERGARH VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1029	CHATTERGARH TEHSIL WITHIN 2 KM FROM MOTIGARH VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	Open ST	DC	35	35	1225	12	30	Draw of Lots	5	4
1030 1031	CHATTERGARH TEHSIL WITHIN 2 KM FROM DHIRERAN VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50 50	ST Open	CFS DC	35 35	35 35	1225	0	0 30	Draw of Lots Draw of Lots	0	2
1031	LUNKARANSAR TEHSIL WITHIN 2 KM FROM SAHAJRASAR VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1032	LUNKARANSAR TEHSIL WITHIN 2 KM FROM SEHSIWALA VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1034	LUNKARANSAR TEHSIL WITHIN 2 KM FROM BHADERAN VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1035	LUNKARANSAR TEHSIL WITHIN 2 KM FROM AMARPURA VILLAGE ON MAIN ROAD, PUGAL TEHSIL	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1036	PUGAL TEHSIL WITHIN 2 KM FROM GIRAJSAR VILLAGE ON MAIN ROAD, KOLAYAT TEHSIL	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1037	WITHIN 2 KM FROM PANWARWALA VILLAGE ON MAIN ROAD, KOLAYAT TEHSIL	BIKANER	RURAL	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1038	WITHIN 5 KM FROM PANCHU ON PANCHU NOKHA ROAD WITHIN 2 KM FROM LIKHMISAR VILLAGE ON MAIN ROAD, SRI	BIKANER	RURAL	50	OBC	CC	35	35	1225	12	5	Bidding	10	3
1039	DUNGARGARH TEHSIL WITHIN 2 KM FROM BHANE KA GAON VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1040 1041	KOLAYAT TEHSIL WITHIN 2 KM FROM NAGRASAR VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	Open	DC DC	35	35	1225	12	30	Draw of Lots	5	4
1041	KOLAYAT TEHSIL WITHIN 2 KM FROM KHINDASAR VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50 50	Open OBC	DC	35 35	35 35	1225	12	30 30	Draw of Lots Draw of Lots	5	3
1042	KOLAYAT TEHSIL WITHIN 2 KM FROM BADHNU VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	ST	CFS	35	35	1225	0	30	Draw of Lots	0	2
10/3	BIKANER TEHSIL	2000020	AL		5.	0.0				Ť	Ÿ	2.2.0 0. 2013	Ĭ	-

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1044	WITHIN 2 KM FROM SUJASAR VILLAGE ON MAIN ROAD, BIKANER TEHSIL	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1045	WITHIN 2 KM FROM KANWLISAR VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	Open	сс	35	35	1225	12	5	Bidding	10	4
1046	NOKHA TEHSIL WITHIN 2 KM FROM PHOOLEJI VILLAGE ON MAIN ROAD,	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	LUNKARANSAR TEHSIL WITHIN 2 KM FROM JANGLOO VILLAGE ON MAIN ROAD,													
1047	NOKHA TEHSIL WITHIN 2 KM FROM SARUNDA VILLAGE ON MAIN ROAD	BIKANER	RURAL	50	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1048	TOWARDS TANTWAS, NOKHA TEHSIL	BIKANER	RURAL	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
1049	WITHIN 2 KM FROM MOMASAR VILLAGE ON MAIN ROAD, SRI DUNGARGARH TEHSIL	BIKANER	RURAL	50	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4
1050	WITHIN 2 KM FROM ALADIN KA BERA VILLAGE ON MAIN ROAD, KHAJUWALA TEHSIL	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1051	BETWEEN VILLAGE KHARWALE AND CHHATERGARH WITHIN 2 KMS FROM SARUNDA VILLAGE ON MAIN ROAD	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1052	TOWARDS SADHUNA, TEHSIL NOKHA WITHIN 4 KMS FROM VILLAGE KHEENDASAR TOWARDS	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1053	KOLAYAT	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1054	WITHIN 3 KM FROM AAKASAR VILLAGE ON MAIN ROAD, KOLAYAT TEHSIL	BIKANER	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1055	WITHIN 3 KM FROM JAI SINGH DESAR MAGRA ON MAIN ROAD, NOKHA TEHSIL	BIKANER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1056	WITH 2 KM FROM VILLAGE- SEORA ANY MAIN ROAD, TEHSIL - KOLAYAT	BIKANER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1057	WITHIN POKARAN WML ON POKARAN TO JODHPUR ROAD RHS	JAISALMER	REGULAR	100	OPEN	сс	20	20	400	25	10	BIDDING	30	5
1058	BETWEEN KM STONE 200-202 RHS ON OLD NH 15 PHALODI TO POKARAN ROAD	JAISALMER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1059	BETWEEN KM STONE 316-310 RHS ON NH 11 WHILE MOVING	JAISALMER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1060	FROM JAISALMER TO POKARAN WITHIN JAISALMER WML ON ANY MAIN ROAD IN TRANSPORT	JAISALMER	REGULAR	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
	NAGAR KM STONE 170 TO KM 175 ON SH-40 (PHALSUND-POKHRAN					CFS							-	
1061	ROAD) WITHIN 10 KMS FROM MORANI TOLL PLAZA TOWARDS	JAISALMER	REGULAR	100	ST CC 1		35	35	1225	0	0	Draw of Lots	0	3
1062 1063	JODHPUR ON NH- 125 JAISALMER WML ON ANY MAIN ROAD	JAISALMER	REGULAR	150 100	ST OPEN	CFS DC	35 20	35 20	1225 400	0	0 45	Draw of Lots Draw of Lots	0	3
1064	BETWEEN KM STONE 255-260 ON OLD NH 15 ON POKARAN TO	JAISALMER	REGULAR	150	ST	CFS	35	35	1225	0		Draw of Lots	0	3
1065	JAISALMER ROAD BETWEEN KM STONE 264-266 ON OLD NH 15 ON POKARAN TO	JAISALMER	REGULAR	150	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
1066	JAISALMER ROAD KM STONE 174 TO KM 178 ON SH-40 (PHALSUND-POKHRAN	JAISALMER	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1067	ROAD) WITHIN 2KM FROM HANUMAN CIRCLE TOWARDS RAMGARH	JAISALMER	REGULAR	100	OPEN	сс	20	20	400	25	10	BIDDING	30	5
	ON RHS WITHIN JAISALMER WML BETWEEN KMSTONE 178 TO 181 ON SH-40 (POKRAN BARMER	JAISALMER	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1069	ROAD) BETWEEN KM STONE 276-280 ON OLD NH 15 ON POKARAN TO	JAISALMER	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1005	JAISALMER ROAD UPTO 4 KMS FROM LATHI BUS STAND ON EITHER SIDE ON NH-													-
1070	15, BETWEEN KMSTONE 291 TO 295 ON OLD NH-15	JAISALMER	REGULAR	150 150	Open PH OBC	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5
1072	BETWEEN KM STONE 270-275 ON OLD NH 15 ON POKARAN TO JAISALMER ROAD	JAISALMER	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1073	BETWEEN KM STONE 2 AND 4 ON JAISALMER BARMER ROAD OLD NH 15	JAISALMER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1074	BETWEEN KM STONE 64-66 LHS ON JAISALMER BARMER ROAD NH 68	JAISALMER	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1075	WITININ 2 KM FROM POKARAN ON POKARAN TO JAISALMER ROAD WITHIN POKARAN WML	JAISALMER	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1076	WITHIN 3KM FROM SANGAD VILLAGE TOWARDS JAISALMER (RHS) ON NH 68	JAISALMER	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1077	JAISALMER BARMER ROAD (NH-15) FROM 17 KM TO 25 KM	JAISALMER	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1078	FROM KM STONE 44 TO 45 ON NH-68 (JAISALMER- BARMER	JAISALMER	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1079	ROAD) WITHIN JAISALMER WML ON JAISLAMER TO SAM ROAD	JAISALMER	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1080	BETWEEN KM STONE 281-290 ON OLD NH 15 ON POKARAN TO JAISALMER ROAD	JAISALMER	REGULAR	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
1081	WITHIN 3KM FROM FATEHGARH ON EITHER SIDE ON NH 68	JAISALMER	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1082	WITHIN 5 KMS FROM POKARAN RAILWAY STAION TOWARDS RAMDEVRA	JAISALMER	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
1083	WITHIN 2 KMS ON EITHER SIDE FROM RAMGARH BUS STAND ON RAMGARH - JAISALMER ROAD	JAISALMER	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1084	BETWEEN RAMGARH & SONU ON JAISALMER - RAMGARH ROAD	JAISALMER	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
1085	WITHIN 5 KMS FROM SAM TOWARDS JAISALMER WITIN 4 KMS FROM TANNOT MATA MANDIR ON RAMGARH	JAISALMER	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
1086 1087	ROAD WITHIN 3 KM FROM RAJMETHAI TOWARDS BANDHEWA	JAISALMER	Regular RURAL	100 50	Open OBC	DC DC	35 35	35 35	1225 1225	25 12	45 30	Draw of Lots Draw of Lots	15 5	5
1089 1089	VILLAGE KHUHRI, TEHSIL- JAISALMER 95 RD SLD JAWAHAR NAGAR,TEHSIL-JAISALMER	JAISALMER	RURAL	50 50 50	Open OBC	DC DC	35 35	35 35	1225	12	30 30 30	Draw of Lots Draw of Lots	5	4 3
	WITHIN 5 KM FROM 113 RD TOWADS 192 RD	JAISALMER	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1091	BETWEEN KMS 7 TO KMS 11 WHILE MOVING FROM POKARAN TO SANKRA	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1092	WITHIN 10 KM FROM PHALSUND BUS STAND TOWARDS JODHPUR	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1093	WITHIN 3 KM FROM 1120 HEAD TOWARDS BIKAMPUR ON RIGHT HAND SIDE	JAISALMER	RURAL	50	Open	СС	35	35	1225	12	5	Bidding	10	4
1094	WITHIN 3 KM FROM VILLAGE JALUWALA TOWARDS 15 PULI ON RIGHT HAND SIDE	JAISALMER	RURAL	50	Open	сс	35	35	1225	12	5	Bidding	10	4
1095 1096	Sanu (Either Side Upto 5 Km On Bro Road) WITHIN 3 KM FROM RATARIYA TOWARDS SHETRAWA	JAISALMER JAISALMER	Rural RURAL	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 4
1097	BETWEEN KM STONE 8 TO 5 ON RAMDEVRA DUDHIYA ROAD	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1098	WITHIN 5 KM FROM NACHNA BUS STAND TOWARDS BHAREWALA	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1099	WITHIN 2 KM FROM NACHNA BUSTAND TOWARDS RAMDEVRA	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1100	WITHIN 3 KM ON BOTH SIDES FROM SONU ON JAISALMER - RAMGARH ROAD	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
				1	1		1						1	

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1101	WITHIN 3KM FROM SUTHARWALA CIRCLE TOWARDS 113 RD	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1102	WITHIN 2 KM FROM NOKH VILLAGE TOWARDS BAP ON MAIN	JAISALMER	RURAL	50	Open	СС	35	35	1225	12	5	Bidding	10	4
1103	ROAD, POKARAN TEHSIL WITHIN 2 KM FROM MANDHA VILLAGE ON MAIN ROAD,	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1104	JAISALMER TEHSIL WITHIN 3 KM FROM BHADASAR VILLAGE ON MAIN ROAD,	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1105	JAISALMER TEHSIL WITHIN 3 KM FROM RANAO VILLAGE ON MAIN ROAD,	JAISALMER	RURAL	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1106	JAISALMER TEHSIL WITHIN 3 KM FROM MOKAL VILLAGE ON MAIN ROAD,	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1100	JAISALMER TEHSIL WITHIN 3 KM FROM MYAJLAR VILLAGE ON MAIN ROAD,	JAISALMER	RURAL	50		DC	35	35	1225	12	30	Draw of Lots	5	4
	JAISALMER TEHSIL WITHIN 3 KM FROM BHAISARA VILLAGE ON MAIN ROAD,				Open								-	
1108	POKARAN TEHSIL WITHIN 3 KM FROM KANOD VILLAGE ON MAIN ROAD,	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1109	JAISALMER TEHSIL WITHIN 3 KM FROM RAMA VILLAGE ON MAIN ROAD,	JAISALMER	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1110	FATEHGARH TEHSIL	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1111	WITHIN 3 KM FROM TANOT VILLAGE ON MAIN ROAD, JAISALMER TEHSIL	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1112	WITHIN 3 KM FROM BHAKHRI VILLAGE ON MAIN ROAD, POKARAN TEHSIL	JAISALMER	RURAL	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1113	WITHIN 2 KM FROM BHAREWALA VILLAGE ON MAIN ROAD, JAISALMER TEHSIL	JAISALMER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1114	WITHIN 3 KM FROM NERAN VILLAGE ON MAIN ROAD, SANKRA TEHSIL	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1115	WITHIN 3 KM FROM GHANTIALI VILLAGE ON MAIN ROAD, JAISALMER TEHSIL	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1116	BETWEEN KMSTONE 5 TO 10 ON MOOLANA CHANDAN ROAD	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1117	BETWEEN DWARA AND CHANDAN ON MAIN ROAD	JAISALMER	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1118	VILLAGE KHURI, UPTO 2 KMS FROM BUS STAND ON JAISALMER ROAD	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1119	WITHIN 5 KM FROM VILLAGE BALA TOWARDS BHAREWALA ON RIGHT HAND SIDE	JAISALMER	RURAL	50	Open	СС	35	35	1225	12	5	Bidding	10	4
1120 1121	BETWEEN KM STONE 117-120 ON NH 325 BETWEEN KM STONE 91-95 ON NH 325	JALORE	Regular Regular	150 150	SC ST	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
1122 1123	BETWEEN KM STONE 108-111 ON NH 325 BETWEEN KM STONE 104-108 ON NH 325	JALORE	Regular Regular	150 150	OPEN OPEN	CC CC	35 35	35 35	1225 1225	25 25	10 10	Bidding Bidding	30 30	5
1124	VILLAGE SIVADA TO VILLAGE RANODAR ON NH 68 WITHIN 3 KMS ON EITHER SIDE FROM VILLLAGE NARSANA ON	JALORE	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1125 1126	NH 325 BETWEEN KM STONE 84-88 ON NH 325	JALORE	Regular Regular	150 150	OPEN SC	DC CFS	35 35	35 35	1225 1225	25	75	Draw of Lots Draw of Lots	15	5
1120 1127 1128	BETWEEN KM STONE 04 00 ON MI 325 BETWEEN KM STONE 101-104 ON NH 325 BETWEEN KM STONE 121-130 ON NH 325	JALORE	Regular Regular	150 150	OBC Open CC 1	DC	35	35 35	1225	25 25	75	Draw of Lots Draw of Lots	15 15	4
1128	UPTO 3 KM FROM DEEDWA BUS STAND TOWARDS GANDHAV	JALORE	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1130	ON NH-68 FROM KM STONE 25 TO KM STONE 30 ON SH-31 (JALORE-	JALORE	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1131	BHINMAL ROAD) FROM KM STONE 40 TO 44 ON SH- 38 (RAMSIN-KALANDRI	JALORE	Regular	100	OPEN	сс	35	35	1225	25	10	BIDDING	30	5
1132	ROAD) JALORE BISHANGARH ROAD (WITHIN JALORE WML)	JALORE	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1133	BETWEEN KMS 40-45 ON SH-11 SANCHORE - RANIWARA ROAD	JALORE	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1134	FROM KM STONE 50 TO 55 ON SH- 11 (SANCHORE-BADGAON ROAD)	JALORE	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1135	BETWEEN KMS 10-20 ON SH16 (FROM KESHWANA TO JALORE)	JALORE	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1136	RAJKIYA ADARSH UCCHYA MADHYAMIK VIDLAYA MANDWALA TO BISHANGARH	JALORE	Regular	100	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
1137	TO BISHANGARH UPTO 3 KM FROM NOSRA POLICE TAHNA ON SH-64 BHADRAJUN TO AHORE ROAD	JALORE	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1138	BHADRAJUN TO AHORE ROAD BETWEEN KMS 46-50 ON SH-11 (RANIWARA - BADGAON ROAD)	JALORE	Regular	100	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1139	BETWEEN KMS 62-65 ON SH-11 (RANIWARA - BAMANWADA	JALORE	Regular	100	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1140	ROAD) BETWEEN KMS 32-36 ON SH-11 (RANIWARA - SANCHORE ROAD)	JALORE	Regular	100	OBC	сс	35	35	1225	25	10	BIDDING	30	4
1140	VILLAGE NEEMBLA SUB TEHSIL BHADRAJUN ON SH-64	JALORE	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1142	ON ROAD CONNECTING RSRTC BUS STAND JALORE TO OLD CHUNGI NAKA JUNCTION PARTING ROADS TO SH 16 & SH38	JALORE	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1143	WITHIN 2 KM FROM RAMSIN GOVERNMENT BUS STAND ON JALORE BHINMAL ROAD SH-31	JALORE	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1144	SANCHORE BHICHAWADI ROAD WITH IN SANCHORE WML	JALORE	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1145	UPLTO 3 KM FROM SAYALA BUS STAND TOWARDS VALERA ON SH-16	JALORE	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1146 1147	VILLAGE DHANPUR ON SH-38( JALORE BHINMAL ROAD) BETWEEN KMS 39-41 ON RAMSIN TO SIROHI ROAD SH-38	JALORE	Regular Regular	100 100	ST OPEN	CFS DC	35 35	35 35	1225 1225	0 25	0 60	Draw of Lots Draw of Lots	0 15	3
1147	UPTO 5KM FROM RSRTC BUS STAND JALORE TOWARDS SANFARA ON SH-16	JALORE	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1149	UMEDABAD BUS STAND (CHAMPALAL VISHRAM GRIHA ) TO	JALORE	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1150	ELANA UPTO 5 KM UPTO 4 KM FROM BAGRA BUS STAND ON JALORE BHINMAL	JALORE	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1151	ROAD SH-31 SANCHORE-RANIWARA WITH IN SANCHORE WML	JALORE	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1152 1153	SANCHORE-BARMER ROAD WITH IN SANCHORE WML UPTO 2 KM FROM MANDOLI JANANI SWASTHYA KENDRA ON	JALORE	Regular Regular	100	OPEN SC	DC CFS	20 35	20 35	400 1225	25	45 0	Draw of Lots Draw of Lots	15 0	5
1154	JALORE BHINMAL ROAD SH-31 BHINMAL -DASPAN ROAD WITH BHINMAL WML	JALORE	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1155 1156	BHINMAL -SANCHORE WITH IN BHINMAL WML BHINMAL-JASWANPURA WITH IN BHINMAL WML	JALORE JALORE	Regular Regular	100 100	OPEN OBC PH	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 4
1157 1158	JALORE WML ON ANY MAIN ROAD SACNHORE WML ON ANY MAIN RAOD	JALORE	Regular Regular	100 100	OPEN OPEN	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 5
1159	UPTO 3 KM FROM POLICE CHOWKI MANDOLI ON RAMSIN MANDOLI ROAD SH-38	JALORE	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1160	JALORE- AHORE ROAD WITH IN JALORE WML	JALORE	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1161	UP TO 2 KM ON UP-SWASTHYA BHARUDI ON SH-31 JALORE BHINMAL ROAD	JALORE	Regular	100	OBC	CC	35	35	1225	25	10	Bidding	30	4
1162	SACNHOR TO GUJRAT BORDER ON NH 168 A	JALORE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged • the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 ST PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
1163	UPTO 3 KM FROM PRATHAMIK VIDHLAYA SATHO TOWARDS BAGRA	JALORE	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1164	VILLAGE SURANA TEHSIL JALORE	JALORE	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1165 1166	VILLAGE CHANDPURA, TEHSIL RANIWARA UPTO 3 KM FROM GOVERNMENT HOSPITAL SARAT ON BAGRA	JALORE	Rural Rural	50 50	SC Open CC 1	CFS DC	35	35 35	1225 1225	0	0 30	Draw of Lots Draw of Lots	0 5	2
1167	TO BAKHRA ROAD VILLAGE CHATWARA TO VILLAGE GOLWADA	JALORE	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1168	UPTO 3 KM FROM GOVT HOSPITAL SIYANA TOWARDS SIROHI ON SIYANA TO SIROHI ROAD	JALORE	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1169	BETWEEN KM STONE 82 TO 84 ON MDR-17A (SANCHORE BICHAWADI ROAD)	JALORE	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
1170 1171	VILLAGE BAWARLA, TEHSIL SANCHORE, VILLAGE SANTHU, TEHSIL-JALORE	JALORE	Rural Rural	50 50	Open SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
1172	UPTO 3 KM FROM UTKRIST UCCHYA MADHYAMIK VIDLAYA RAJPURA ON MALWARA- JASWANTPURA ROAD	JALORE	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1173 1174	VILLAGE GUNA BALOTAN TEHSIL AHORE UPTO 3 KM FROM SILASAN TAVIDAR 4 RASTA ON RANIWARA	JALORE	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
1174	CHATWADA ROAD UPTO 3 KM FROM BAKHRA ROAD RAILWAY STATION TOWARDS	JALORE		50		DC	35		1225	12	30	Draw of Lots	5	4
1175	VILLAGE BAKHRA ON SAYALA BAKHRA ROAD BETWEEN KM STONE 38-40 MDR 17	JALORE	Rural Rural	50	Open OBC	CC	35	35	1225	12	30	Bidding	5 10	4
1177	UPTO 4 KM FROM JAKHRI GOVT HOSPITAL TOWARDS RANIWARA ON RANIWARA JAKHRI ROAD	JALORE	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1178	SURAVA (ON SURAVA-MAGRAVA ROAD) DISTRICT JALORE	JALORE	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1179	VILLAGE SAYLA TO UMEDABAD UPTO 3 KM FROM RANIWARA- SANCHORE RAILWAY CROSSING	JALORE	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1180	TO JAKHRI ROAD FROM BHADAWASIYA OVERBRIDGE TO RAM SAGAR CHOURAHA	JALORE	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1181	ON RHS)	JODHPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1182	JODHPUR CITY - ITI CHOWK TO NEW POWER HOUSE ROAD Between KMS 114 to 116 on NH-125 on LHS while going from	JODHPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1183	Jodhpur to Dechu (Old NH-114) Between KMS 103-108 (RHS) on NH-11 (OLD NH-15) FROM	JODHPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1184	KOLAYAT TO BAAP	JODHPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1185	BETWEEN KMSTONE 70 TO 73 ON PHALODI TO JODHPUR ROAD ON 5H-61	JODHPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1186	FROM KHARIA MITHAPUR TOWARDS JAITARAN ON NH-112 UPTO JODHPUR DISTRICT BORDER	JODHPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1187 1188	FROM PICHIAK TO KHARIA MITHAPUR ON NH-112 BETWEEN KM STONE 20 TO 25 ON NH125	JODHPUR JODHPUR	REGULAR	150 150	OPEN OBC	DC DC	35 35	45 35	1575 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5 4
1189	WITHIN 3 KMS OF DALIBAI CROSING TOWARDS JHANWAR	JODHPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1190 1191	ON NH-112 BETWEEN KM STONE 85 TO 90 UPTO 3 KM FROM AKHILIYA CIRCLE TOWARDS SOORSAGAR IN JODHPUR WML FROM MATA KA THAN TO RAM SAGAR CHOURAHA ON LHS IN	JODHPUR	REGULAR	150 150	OPEN OPEN	CC CC	35	45	1575 324	25	10	Bidding	30 30	5
1192 1193	JODHPUR CITY AIMMS TO SANGARIYA CIRCLE IN JODHPUR CITY	JODHPUR	REGULAR	150 150	OBC ST	DC CFS	20 20	20 20	400 400	25	60 0	Draw of Lots Draw of Lots	15 0	4
1194	FROM SARAN NAGAR PHATA UP TO MATA KA THAN ON RHS JODHPUR CITY	JODHPUR	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
1195	FROM SHATABDI CIRCLE TO JHALAMAND CIRCLE RHS JODHPUR	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1196	ON NH-62 BETWEEN KM STONE 290 TO 295 ON LHS FROM BHADAWASIYA OVERBRIDGE TO RAM SAGAR	JODHPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1197 1198	CHOURAHA ON LHS BETWEEN KMS 4 TO 10 ON SH-21	JODHPUR	REGULAR	150 100	SC OPEN	CFS DC	20 35	20 35	400	0	0 60	Draw of Lots Draw of Lots	0	3
1199	FROM SHATABDI CIRCLE TO JIET COLLEGE ON NH-62 (LHS WHILE MOVING FROM JODHPUR TO PALI)	JODHPUR	REGULAR	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
1200	JODHPUR	JODHPUR	REGULAR	150	OPEN	DC	18	18	324	25	60	Draw of Lots	15	5
1201	RATNADA CIRCLE TO HOTEL INDANA PALACE ROAD JODHPUR CITY	JODHPUR	REGULAR	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
1202 1203	FROM SHIKARGARH UPTO DANGIAWAS BYEPASS	JODHPUR JODHPUR	REGULAR	150 150	ST OBC	CFS DC	20 35	20 45	400 1575	0 25	0 75	Draw of Lots Draw of Lots	0	3 4
1204	ON NH-62 BETWEEN KM STONE 290 TO 295 ON RHS BETWEEN KM STONE 10 TO 20 ON NH125 FROM ARNA ZHARNA CROSSING TO CHOPASNI ROAD	JODHPUR	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots Draw of Lots	15	5
1205	CROSSING ON BYE PASS ROAD ON RHS	JODHPUR	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1206 1207	BETWEEN KMS 155-160 ON JODHPUR -BARMER ROAD (NH-25)	JODHPUR	REGULAR	150 150	SC OBC	CFS DC	35 35	35 45	1225 1575	0	0	Draw of Lots Draw of Lots	0	3
1207	ON NH-62 BETWEEN KM STONE 285 TO 290 ON LHS BETWEEN KMS 165-170 ON JODHPUR -BARMER ROAD (NH-25)	JODHPUR	REGULAR	150	OPEN	DC	35	45 35	1225	25	75	Draw of Lots	15	5
1209	BETWEEN KM STONE 25 TO 30 ON NH125	JODHPUR	REGULAR	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
1210	ON RHS FROM INTERSECTION OF BYEPASS AND SH61 UPTO KHEJRLI ON SH61 DETWEEN KM STONE 20 TO 25 ON NH125	JODHPUR	REGULAR	100 150	OBC SC	DC CFS	35 35	35 35	1225 1225	25	60	Draw of Lots	15	4
1211 1212	BETWEEN KM STONE 30 TO 35 ON NH125 JODHPUR CITY PAL LINK ROAD	JODHPUR JODHPUR	REGULAR	150	OPEN	DC	20	20	400	0 25	0 60	Draw of Lots Draw of Lots	0 15 20	3
1213 1214	FROM PANCHBATTI CIRCLE TO CIRCUIT HOUSE BASNI INDUSTRIAL AREA, JODHPUR CITY	JODHPUR JODHPUR	REGULAR	150 150	OPEN OBC	CC DC	20	20	400	25	10 60	Bidding Draw of Lots	30 15	5 4
1215 1216	BETWEEN KM STONE 35 TO 40 ON NH125 FROM SARAN NAGAR PHATA UP TO MATA KA THAN ON LHS	JODHPUR JODHPUR	REGULAR	150 150	ST OPEN	CFS DC	35 20	35 20	1225 400	0 25	0 60	Draw of Lots Draw of Lots	0	3 5
1217	ON CHOPASANI ROAD FROM AKHILIYA CIRCLE TO BYEPASS ROAD JODHPUR	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1218 1219	GEETA BHAVAN ROAD JODHPUR FROM MATA KA THAN TO RAM SAGAR CHOURAHA ON RHS	JODHPUR	REGULAR	150 150	OBC OPEN	DC DC	20 20	20 20	400	25 25	60 60	Draw of Lots Draw of Lots	15 15	4
1220	BETWEEN KM STONE 40 TO 45 ON NH125	JODHPUR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1221 1222	FROM KAKANI TO NIMBLA ON NH 62 ON RHS	JODHPUR	REGULAR REGULAR	150 150	Open CC 2 OBC CC 1	DC DC	35 35	45 35	1575 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5
	FROM DPS CIRCLE TO SANGARIA CIRCLE ON BYPASS ROAD WITHIN 10 KMS FROM SHATABADI CIRCLE TOWARDS													
1223	DANGIAWAS ON BYE PASS ROAD ON RHS FROM MATA KA THAN UPTO 9TH MILE ON NAGAUR BYE PASS	JODHPUR	REGULAR	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1224 1225	ROAD FROM KAKANI TO NIMBLA ON LHS ON NH62	JODHPUR	REGULAR	150 150	SC OBC	CFS DC	20 35	20 45	400 1575	0 25	0 75	Draw of Lots Draw of Lots	0	3
1226	PAOTA C ROAD OR RTO ROAD IN JODHPUR CITY FROM DPS CIRCLE TO PAL BALAJI TEMPLE ON LHS ON PAL ROAD	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1227	JODHPUR FROM SHATABDI CIRCLE TO SANGARIA CIRCLE ON BYPASS ROAD	JODHPUR	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
1228	ON LHS JODHPUR	JODHPUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged • the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
1229	WITHIN 10 KMS FROM SHATABADI CIRCLE TOWARDS DANGIAWAS ON BYE PASS ROAD ON LHS	JODHPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1230	RATANADA CIRCLE TO BHADUR SINGH ENCLAVE JODHPUR CITY	JODHPUR	REGULAR	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
1231	FROM PAOTA CIRCE TO MAHAMANDIR CHORAHA JODHPUR CITY	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1232	GAUSHALA ROAD JODHPUR CITY	JODHPUR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1233	FROM JHALAMAND CIRCLE UPTO BYEPASS ON GUDA ROAD	JODHPUR	REGULAR	150	SC OPEN	CFS CC	20	20	400	0	0	Draw of Lots	0	3
1234 1235	BETWEEN KMS 150-155 ON JODHPUR -BARMER ROAD (NH-25) BENAN TO RIYA ON SH 21	JODHPUR	REGULAR	100	Open CC 1	DC	35 35	35 35	1225 1225	25 25	10 60	Bidding Draw of Lots	30 15	5
1236	FROM DPS CIRCLE TO DALIBAI MANDIR CROSSING ON BYPASS ROAD ON RHS	JODHPUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1237	KAKELAO TO GUDA BISHNOI ON SH 68 BETWEEN AMRITA DEVI PARK CROSSING TO JHALAMAND	JODHPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1238	FROM DPS CIRCLE TO PAL BALAJI TEMPLE ON RHS ON PAL	JODHPUR	REGULAR	150	OPEN	cc	20	20	400	25	10	Bidding	30	5
1239	ROAD JODHPUR CITY ON LHS FROM INTERSECTION OF BYEPASS AND SH61 UPTO	JODHPUR	REGULAR	150	OPEN	cc	20	20	400	25	10	Bidding	30	5
1240	KHEJRLI ON SH61 BETWEEN RIKTIYA BHERUJI CROSSING TO AMRITA DEVI PARK	JODHPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1241 1242	JODHPUR CITY CHOPASANI ROAD JODHPUR	JODHPUR	REGULAR	150 150	OPEN ST	CC CFS	20 20	20 20	400 400	25 0	10	Bidding Draw of Lots	30 0	5
1242	JODHPUR CITY-FROM MUDIT MANSION TO ITI CHOWK FRIM AIIMS TO ANDARAM CIRCLE JODHPUR CITY	JODHPUR JODHPUR	REGULAR	150 150	OPEN OBC	CC	20 20 20	20 20 20	400 400	25	10 10	Bidding	30 30	5 4
1244 1245	NEW POWER HOUSE TO ROTARY CIRCLE - JODHPUR CITY	JODHPUR	REGULAR	150	OPEN	CC CC	20	20	400	25	10	Bidding	30	5
1246	WITHIN 10 KMS OF DANGIYAWAS BYEPASS TOWARDS JODHPUR ON BYEPASS ON LHS FROM SHATABDI CIRCLE TO JHALAMAND CIRCLE LHS JODHPUR	JODHPUR	REGULAR	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1247	FROM SHATABDI CIRCLE TO JHALAMAND CIRCLE LHS JODHPUR CITY	JODHPUR	REGULAR	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
1248	JODHPUR CITY WITHIN MUNICIPAL LIMITS ON ANY MAIN ROAD	JODHPUR	REGULAR	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
1249 1250	BHAVI ON JODHPUR JAIPUR ROAD ON NH-62 BETWEEN KM STONE 285 TO 290 ON RHS	JODHPUR JODHPUR	REGULAR	100 150	OPEN OBC	DC DC	30 35	30 45	900 1575	25 25	45 75	Draw of Lots Draw of Lots	15 15	5 4
1251	WITHIN 7 KM ON SH-68 FROM NH-62 INTERSECTION AT KAKANI TOWARDS LUNI	JODHPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1252	FROM MATA KA THAN TO BHADHWASIYA ( ON 80 FT ROAD)	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1253 1254	JODHPUR CITY OLYMPIC ROAD FROM DPS CIRCLE TO DALIBAI MANDIR CROSSING ON BYPASS	JODHPUR	REGULAR	150 150	OPEN OBC	DC DC	20 35	20 35	400 1225	25 25	60 75	Draw of Lots Draw of Lots	15 15	5
1255	ROAD LHS FROM DPS CIRCLE TO BORANADA ON JODHPUR -BARMER ROAD	JODHPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1256	(NH-25) JODHPUR CITY POLICE LINE ROAD	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1257	ON NH-112 BETWEEN KM STONE 50 TO 60 (LHS ON BILADA TO JODHPUR)	JODHPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1258	CHOPASANI HOUSING BOARD ROAD UPTO DALIBAI MANDIR	JODHPUR	REGULAR	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
1259	FROM BHANDU TO BORANADA ON JODHPUR -BARMER ROAD (NH-25)	JODHPUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1260 1261	PIPAR CITY - WITHIN MUNICIPAL LIMITS FROM DALIBAI MANDIR TO CHOPASNI ROAD CROSSING ON BYE	JODHPUR	REGULAR	100 150	SC Open CC 1	CFS DC	20 35	20 35	400 1225	0 25	0	Draw of Lots Draw of Lots	0	3
1262	PASS ROAD RHS FROM FIDUSAR CHOPAD TO NEW JAISALMER BYPASS ON NH-	JODHPUR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1263	125 UPTO KM STONE 10 (WITHIN MUNICIPAL LIMITS) FROM JIET COLLEGE TO SHATABDI CIRCLE ON NH-62 (LHS	JODHPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1203	WHILE MOVING FROM PALI TO JODHPUR) ON NH-112 BETWEEN KM STONE 95 TO 100	JODHPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1265	ON NH-112 BETWEEN KM STONE 60 TO 70 (LHS ON BILADA TO JODHPUR)	JODHPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1266	FROM KRISHI MANDI CIRCLE TO BHADWASIYA JODHPUR FROM DALIBAI MANDIR TO CHOPASNI ROAD CROSSING ON BYE	JODHPUR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1267 1268	PASS ROAD LHS FROM CIRCUIT HOUSE TO BANAD ROAD JODHPUR CITY	JODHPUR	REGULAR	150 150	OPEN OPEN	CC DC	35 20	35 20	1225 400	25 25	10 60	Bidding Draw of Lots	30 15	5
1269	WITHIN 10 KMS OF DANGIYAWAS BYEPASS TOWARDS JODHPUR ON BYEPASS ON RHS	JODHPUR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1270 1271	JODHPUR CITY (RESIDENCY ROAD)	JODHPUR JODHPUR	REGULAR	150 150	OBC CC 1 OPEN	DC DC	35 20	45 20	1575 400	25 25	75 60	Draw of Lots Draw of Lots	15 15	4
1272	ON NH-112 BETWEEN KM STONE 80 TO 85 BILARA - WITHIN MUNICIPAL LIMITS	JODHPUR JODHPUR	REGULAR	150 150	Open PH SC	DC CFS	35	45	1575 400	25 0	75 0	Draw of Lots Draw of Lots Draw of Lots	15 0	5
1273	ON NH-112 BETWEEN KM STONE 90 TO 95 JODHPUR RICCO AREA PHASE 2	JODHPUR JODHPUR	REGULAR	150 150	OBC	DC	35	45	1575 400	25 25	75 60	Draw of Lots Draw of Lots Draw of Lots	15 15	4 5
1275	ON NH-112 BETWEEN KM STONE 75 TO 80 ON NH-112 BETWEEN KM STONE 100 TO 105	JODHPUR JODHPUR	REGULAR	150 150	OBC	DC DC CFS	35	45	1575	25	75	Draw of Lots Draw of Lots Draw of Lots	15 15 0	4 3
1278	ON NH-112 BEI WEEN KM STONE 100 TO 105 ON NH-112 BETWEEN KM STONE 105 TO 110	JODHPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1279	FROM MAHAMANDIR TO MANDORE CIRCLE JODHPUR CITY	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1280	BETWEEN AMRITA DEVI PARK CROSSING TO JHALAMAND CIRCLE ON RHS IN JODHPUR CITY	JODHPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1281 1282	ON NH-112 BETWEEN KM STONE 115 TO 120 ON NH-112 BETWEEN KM STONE 70 TO 75	JODHPUR JODHPUR	REGULAR REGULAR	150 150	OBC ST	DC CFS	35 35	45	1575 1575	25 0	75 0	Draw of Lots Draw of Lots	15 0	4 3
1283 1284	ON NH-112 BETWEEN KM STONE 110 TO 115 BETWEEN KMS 160-165 ON JODHPUR -BARMER ROAD (NH-25)	JODHPUR	REGULAR	150 150	OPEN Open CC 1	CC DC	35 35	45 35	1575 1225	25 25	10 75	Bidding Draw of Lots	30 15	5
1285	FROM JIET COLLEGE TO KAKANI ON NH-62 ON LHS	JODHPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1286 1287	BETWEEN KMSTONE 136 TO 141 ON NH 125 (OLD NH 114) BETWEEN KM STONE 99 TO 102 ON SH28 FROM SHERGARH TO	JODHPUR	Regular Regular	150 100	SC OPEN	CFS CC	35 35	45 35	1575 1225	0	0	Draw of Lots Bidding	0	3
1288	BALOTRA ROAD BETWEEN KMSTONE 104 TO 109 ON MATHANIA BYPASS ON SH-	JODHPUR	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
1288	61 BETWEEN KMSTONE 63 TO 73 ON PHALODI TO NAGAUR ROAD	JODHPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1290	ON SH-19 BETWEEN KM STONE 24 TO 28 ON SH 28	JODHPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1291 1292	BETWEEN KM STONE 143 TO 148 ON SH-28 FROM KM STONE NO. 96 TO 102 ON SH-61 (OSIAN-JODHPUR	JODHPUR	Regular	100	ST OBC	CFS DC	35	35 35	1225 1225	0	0 60	Draw of Lots	0	3
1292	ROAD) UP TO 10 KM FROM OSIAN MATA MANDIR TOWARDS PHALODI	JODHPUR	Regular	100	OBC OPEN	DC	35 35	35	1225	25	60	Draw of Lots Draw of Lots	15	4
1293	ON OSIAN-PHALODI ROAD BETWEEN KMSTONE 73 TO 77 ON NH 125 (OLD NH 114)	JODHPUR	Regular Regular	100	OPEN	CC	35	45	1225	25	60 10	Bidding	15 30	5
1295	BETWEEN KMSTONE 114 TO 116 ON NH 125 ON RHS WHILE GOING FROM JODHPUR TO DECHU (OLD NH 114)	JODHPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1296	BETWEEN KMSTONE 228 TO 232 ON NH 62 (OLD NH 65)	JODHPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	B	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1297 1298	BETWEEN KMSTONE 77 TO 82 ON NH 125 (OLD NH 114)	JODHPUR JODHPUR	Regular	150 150	OPEN OPEN	DC CC	35 35	45 45	1575 1575	25 25	75 10	Draw of Lots Bidding	15 30	5
1298	BETWEEN KMSTONE 105 TO 110 ON NH 125 (OLD NH 114) BETWEEN KMSTONE 232 TO 237 ON NH 62 ON LHS (OLD NH	JODHPUR	Regular Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	4
1300	65) BETWEEN KMSTONE 232 TO 237 ON NH 62 ON RHS (OLD NH 65)	JODHPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1301	BETWEEN KMSTONE 117 TO 121 ON NH 125 FROM JODHPUR	JODHPUR	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1302	TO DECHU ON LHS (OLD NH 114) BETWEEN KMSTONE 98 TO 103 ON NH 11 (OLD NH 15)	JODHPUR	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1303	BETWEEN KMSTONE 266 TO 270 ON NH 62 (OLD NH 65) BETWEEN KMSTONE 58 TO 61 ON PHALODI TO JODHPUR ROAD	JODHPUR	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
1304 1305	ON 5H-61 BETWEEN KMSTONE 117 TO 122 ON NH 11 (OLD NH 15) FROM	JODHPUR	Regular Regular	100	ST OPEN	CFS DC	35 35	35 45	1225 1575	0 25	0 75	Draw of Lots Draw of Lots	0	3
1206	KOLAYAT TO BAP ON RHS BETWEEN KMSTONE 120 TO 124 ON NH 11 (OLD NH 15) FROM		Pogular	150	OPEN	СС	35	45	1575	25	10	Pidding	20	5
1306	KOLAYAT TO BAP ON LHS FROM AIKA BHATIA CHORAHA (INTERSECTION OF NH-11 & SH-	JODHPUR	Regular	150				45	1575		10	Bidding	30	
1307	28) TO CHUNGI NAKA IN PHALODI TOWN	JODHPUR	Regular	100	OBC	CC	20	20	400	25	10	Bidding	30	4
1308 1309	BETWEEN KMSTONE 150 TO 155 ON NH 11 (OLD NH 15) BETWEEN KMS 103-108 ON NH-11 (OLD NH-15) LHS FROM	JODHPUR	Regular	150 150	OPEN SC	DC CFS	35	45 45	1575 1575	25 0	75	Draw of Lots Draw of Lots	15 0	5
1309	KOLAYAT TO BAAP BETWEEN KMSTONE 82 TO 87 ON NH 125 (OLD NH 114)	JODHPUR	Regular Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots Draw of Lots	15	3
1311	BETWEEN KMSTONE 136 TO 141 ON NH 125 (OLD NH 114)	JODHPUR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1312 1313	BETWEEN KMSTONE 168 TO 173 ON NH 11 (OLD NH 15) BETWEEN KMSTONE 251 TO 255 ON NH 62 (OLD NH 65)	JODHPUR JODHPUR	Regular Regular	150 150	OPEN ST	CC CFS	35 35	45 45	1575 1575	25 0	10 0	Bidding Draw of Lots	30 0	5
1314	NEAR VILLAGE CHABA (WITHIN 3 KM FROM CHABA CROSSING TOWARDS SHERGARH ON SH-40)	JODHPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1315	PHALODI WML ON ANY MAIN ROAD	JODHPUR	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1316 1317	PHALODI RAILWAY STATION TO JODHPUR CHAURAHA BETWEEN KMSTONE 112 TO 117 ON NH 11 (OLD NH 15)	JODHPUR JODHPUR	Regular Regular	100 150	OPEN SC	DC CFS	20 35	20 45	400 1575	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
1318	BETWEEN KMSTONE 190 TO 195 ON NH 11 (OLD NH 15) KHARIA KHANGAR TO JODHPUR ROAD (UP TO 4 KM FROM	JODHPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1319	ULTRATECH CEMENT LTD, KHARIA KHANGAR TOWARDS JODHPUR)	JODHPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1320	BETWEEN KMSTONE 271 TO 276 ON NH 62 (OLD NH 65) FROM NAGAUR TOWARDS JODHPUR ON RHS	JODHPUR	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
1321	EITHER SIDE UPTO 3 KMS FROM VILLAGE CHABA ON SH-65	JODHPUR	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1322	(PHALSUND- SHERGARH ROAD) BETWEEN KMSTONE 108 TO 112 ON NH 11 (OLD NH 15)	JODHPUR	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1323	UP TO 4 KM FROM OSIAN MATA MANDIR TOWARDS JODHPUR ON OSIAN-JODHPUR ROAD	JODHPUR	Regular	100	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1324	BETWEEN KMS 12 TO 18 ON SH-61 PHALODI - JODHPUR ROAD	JODHPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1325	BETWEEN KMSTONE 280 TO 285 ON NH 62 (OLD NH 65)	JODHPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1326	PHALODI NAGARPALIKA CIRCLE TO NAGAUR CHAURAHA BETWEEN KMSTONE 47 TO 50 ON PHALODI TO JODHPUR ROAD	JODHPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1327	ON SH-61	JODHPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1328 1329	BETWEEN KMSTONE 163 TO 168 ON NH 11 (OLD NH 15) BETWEEN KMSTONE 247 TO 251 ON NH 62 (OLD NH 65)	JODHPUR JODHPUR	Regular Regular	150 150	OPEN OBC	CC DC	35 35	45 45	1575 1575	25 25	10 75	Bidding Draw of Lots	30 15	5 4
1330	BETWEEN KM STONE 137 TO 141 ON SH 28 FROM ARNA ZHARNA CROSSING TO CHOPASNI ROAD	JODHPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1331	CROSSING ON BYE PASS ROAD ON LHS	JODHPUR	REGULAR	150	Open PH	DC	35	35	1225	25	75	Draw of Lots	15	5
1332	WITHIN 3 KMS OF SANGARIYA CIRCLE TOWARDS SALAWAS	JODHPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1333	REVENUE VILLAGE SODHON KI DHANNI ON SOORSAGAR TO BEROO ROAD	JODHPUR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1334	FROM VIDHYASHRAM INTERNATIONAL SCHOOL TO ITC	JODHPUR	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1335	WELCOM HOTEL JHALAMAND TO GUDA BISHNOI	JODHPUR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1336	UPTO 4 KMS FROM FIDUSAR CHOPAD TOWARDS TINWARI ON MDR 104	JODHPUR	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1337	REVENUE VILLAGE SALVAKALAN	JODHPUR	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1338 1339	BHAVI TO RAVAR ROAD BHAVI TO SILARI ROAD	JODHPUR JODHPUR	RURAL	50 50	ST OBC	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2
1340 1341	VILLAGE KHAWASPURA, TEHSIL- PIPAR CITY	JODHPUR	RURAL	50 50	Open Open	DC DC	35	35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4 4
1341	CHOKHAN VILLAGE ON DALI BAI MANDIR TO JHANWAR ROAD ,	JODHPUR	RURAL	50	SC	CFS	35	35	1225	0	30	Draw of Lots	0	2
1343	VILLAGE PALASANI, TEHSIL- JODHPUR	JODHPUR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1344	BETWEEN KM STONE 77 TO 80 ON TINWARI TO BALESAR ROAD (ON MDR-104) VILLAGE BELWA	JODHPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1345	(ON MDR-104) VILLAGE BELWA UP TO 5 KM FROM OSIAN MATA MANDIR TOWARDS TINWARI ON OSIAN TO TINWARI ROAD	JODHPUR	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1346	BETWEEN KM STONE 17 TO 21 ON MDR-104 VILLAGE NARWA	JODHPUR	Rural	50	OBC	СС	35	35	1225	12	5	Bidding	10	3
1347	VILLAGE KHUDIYALA ON TINWARI TO BALESAR ROAD (ON MDR-	JODHPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1348	104) WITHIN 3 KM FROM DEWATOO PHANTA, TEHSIL BALESAR	JODHPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1349	JAKHAN TO KAPOORIYA PHANTA, TEHSIL OSSIAN KM STONE 3 TO 6	JODHPUR	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
1350	BETWEEN KMSTONE 65 TO 68 ON CHAMU TO DECHU ROAD	JODHPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1351	VILLAGE GAGGARI ON TINWARI TO BALESAR ROAD (ON MDR- 104)	JODHPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1352	BETWEEN KMSTONE 2 TO 5 ON ASOP TO NAGAUR ROAD BETWEEN KMSTONE 6 TO 9 ON LOHAWAT TO SHAITAN SINGH	JODHPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1353	NAGAR ROAD	JODHPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1354	BETWEEN KMSTONE 23 TO 26 ON RAIMALWARA TO KANWAR JI KI KHEJRI ROAD, TEHSIL OSSIAN	JODHPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1355	KANWAR JI KI KHEJRI TO KAPOORIYA ROAD, TEHSIL OSSIAN KM STONE 25 TO 28	JODHPUR	Rural	50	Open	СС	35	35	1225	12	5	Bidding	10	4
1356 1357	VILLAGE BHOJASAR, TEHSIL PHALODI	JODHPUR	Rural Rural	50 50	SC CC 1	CFS	35	35	1225 1225	0	0	Draw of Lots	0	2 4
1357	VILLAGE DHELANA, TESHIL PHALODI VILLAGE KANODIYA PUROHITAN, TEHSIL BALESAR	JODHPUR JODHPUR	Rural	50 50	Open CC 2 OBC CC 1	DC DC	35 35	35 35	1225	12 12	30 30	Draw of Lots Draw of Lots	5	3
1359	BETWEEN KM STONE 30 TO 34 ON MDR-104 TINWARI TO BALWARA ROAD	JODHPUR	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
1360	REVEUNE VILLAGE BALARWA ON MDR-104	JODHPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1361	BETWEEN KMSTONE 5 TO 8 ON SIHRA TO SEKHASAR ROAD	JODHPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1362 1363	VILLAGE PALRI, TESHIL BHOPALGARH VILLAGE CHANDRAKH, TEHSIL OSIAN	JODHPUR JODHPUR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
1364	VILLAGE ARTIYA, TESHIL BHOPALGARH	JODHPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

No.         No. <th>S. No</th> <th>Name Of Location</th> <th>Revenue District</th> <th>Type of RO</th> <th>Estimated monthly Sales Potential #</th> <th>Category</th> <th>Type of Site *</th> <th>M.)/</th> <th>Minimum imension (i Area of the in Sq. M.). *</th> <th>site</th> <th>be ar by</th> <th>nce to ranged the licant</th> <th>Mode of Selection</th> <th>Fixed Fee / Minimum Bid amount</th> <th>Security Deposit</th>	S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Image         Image <th< th=""><th></th><th>2</th><th></th><th>Regular / Rural</th><th>MS+HSD in Kls</th><th>SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN OPEN CC-2</th><th>CC / DC / CFS</th><th></th><th>Depth</th><th></th><th>Estimated working capital requirement for operation</th><th>Estimated fund required for development of infrastructure at RO</th><th>Draw of Lots /</th><th>11</th><th>12</th></th<>		2		Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN OPEN CC-2	CC / DC / CFS		Depth		Estimated working capital requirement for operation	Estimated fund required for development of infrastructure at RO	Draw of Lots /	11	12
Disp         Disp <thdisp< th="">         Disp         Disp         <thd< th=""><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th>2 4</th></thd<></thdisp<>															2 4
Image         Image <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>4 3</td></th<>															4 3
International mate norma         Jerraria         Kara Lange         Kara Lange       <	1369	VILLAGE THOB, TEHSIL- OSIAN	JODHPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2 4
1212         121 <td></td> <td>-</td> <td>4</td>														-	4
Dis         Disc         Dis         Dis <thdis< td="" th<=""><td>1372</td><td>REVENUE VILLAGE TENA ON BALESAR TO SHERGARH ROAD</td><td>JODHPUR</td><td>Rural</td><td>50</td><td>OBC</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>12</td><td>30</td><td>Draw of Lots</td><td>5</td><td>3</td></thdis<>	1372	REVENUE VILLAGE TENA ON BALESAR TO SHERGARH ROAD	JODHPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
Diss         Diss <thdiss< th="">         Diss         Diss         <thd< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>2 4</td></thd<></thdiss<>															2 4
177.         178.         188.         178.         188.         178.         188.         178.         188.         178.         188.         178.         188.         178.         188.         178.         188.         188.         188. <th< td=""><td>1375</td><td>VILLAGE GAJSINGHPURA, TEHSIL BHOPALGARH</td><td>JODHPUR</td><td>Rural</td><td>50</td><td>Open</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>12</td><td>30</td><td>Draw of Lots</td><td>5</td><td>4 3</td></th<>	1375	VILLAGE GAJSINGHPURA, TEHSIL BHOPALGARH	JODHPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4 3
121         121 <td>1377</td> <td>Village Kinjari, Tehsil Osian</td> <td>JODHPUR</td> <td>Rural</td> <td>50</td> <td>Open</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>12</td> <td>30</td> <td>Draw of Lots</td> <td>5</td> <td>4</td>	1377	Village Kinjari, Tehsil Osian	JODHPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Image         Open Mode         Action         Cont											-			-	2 4
Image         Display in product organization         Display in product organin product organization         Display in product organ	1380	VILLAGE PADIYAL, TEHSIL PHALODI	JODHPUR		50	OBC	DC	35	35	1225	12	30	Draw of Lots		3
11.100         11.100         0.000/00         Nucl         100         0.000         100		ON TINWARI TO CHERAI ROAD												-	4
18:         Model Missing Mires Resolution         COMPUT         Marg         19         COM         CC         15         3         1000         Marg         1000           11:         Marge Mires         Marge         Marge Mires         <	1383	VILLAGE CHHEELA, TEHSIL PHALODI	JODHPUR	Rural	50	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	2
131         132         133         133         133         133         133         133         133         133         133         133         133         133         133         133         133         133         133         133         133 <td></td> <td></td> <td></td> <td></td> <td>50</td> <td></td> <td>DC</td> <td></td> <td>35</td> <td>1225</td> <td></td> <td>30</td> <td></td> <td></td> <td>4 4</td>					50		DC		35	1225		30			4 4
1999         NATION MATCH COLUMA COULD TOWARD NO. (2004)         NO.0011         FEELING         100         OPF         CT         20         20         40         9         0															3
International Reservation         Description         Description <thdescripti< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>3</td></thdescripti<>															3
IDEAD         IDEAD <th< td=""><td>1389</td><td></td><td>NAGAUR</td><td>REGULAR</td><td>100</td><td>OPEN</td><td>сс</td><td>20</td><td>20</td><td>400</td><td>25</td><td>10</td><td>BIDDING</td><td>30</td><td>5</td></th<>	1389		NAGAUR	REGULAR	100	OPEN	сс	20	20	400	25	10	BIDDING	30	5
131         132         132         133         134         134         134         135         136         136         136         136         135         136         135         136 <td>1300</td> <td></td> <td></td> <td></td> <td>100</td> <td>OBC</td> <td></td> <td>20</td> <td></td> <td></td> <td>25</td> <td>10</td> <td></td> <td>30</td> <td>4</td>	1300				100	OBC		20			25	10		30	4
Dist         Disk         Disk <thdisk< th="">         Disk         Disk         <thd< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></thd<></thdisk<>															
111         111         DAIR ROM EXCRAC OFCAL MAGADER TOWARDS RECT         MADARE         HEADAR         130         DEC.         23         23         240         15         130         BERDER         150           119         Addres CYT         MADARE MAL         MEDARE         MEDARE         150 <td></td> <td>65-A</td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>5</td>		65-A				-									5
119.         DMS. Set TO ANS. 44.0 M MARE IN [1106 MOM MALARE]         MALAR         PECUAR         100         OPF         CC         15         D         230         PS         120         MARAR         91           1191         DATE COMMA MALON SCIENCE MOM MALAN         MEGUAR         PECUAR         PEEUUR         PEUUR         PEUUR		2 KM FROM ROTARY CIRCLE IN NAGAUR TOWARDS RIICO													4
Link Carbon         Link Carbon <thlink carbon<="" th=""> <thlink carbon<="" th=""></thlink></thlink>	1394	KMS 146 TO KMS 148 ON NH 89 ( RHS FROM NAGAUR TO	NAGAUR	REGULAR	150	OPEN	CC.	35	35	1225	25	10	Bidding	30	5
1379         Chi Minguesti         1000         1000         1000         1000         1000         1000         1000         1000           139         Chi Minguesti         Machan         Miccolan         1000         1000         1000         1000           139         Chi Minguesti         Machan         Miccolan         1000         1000         1000         1000         1000           1390         Miccolan         Machan         Miccolan         10000         10000         10000         10													-		
1.97         NUMER PROCESS ON 95 11 (MAGAIR PHADDI RADI)         NAGAIR         NUMER PROCESS ON 95 11 (MAGAIR PHADDI RADI)         NAGAIR         NAGAIR         100         ON         C         0         0         0         Description           139         NUMER PROCESS ON 95 11 (MAGAIR PHADDI RADI)         NAGAIR         NAGAIR         100         OPE         123         0.0         D         Description         0           139         NUME PROCESS ON 95 11 (MAGAIR PROCESS ON 95 11															5
Line         MAR TR DOLARS 80 OWNERD (LIS FROM MAGAUR TO)         NAGAUR         INGUAR         SO OPEN         CC         IS         L25         L25         L20         MAGAUR         MECULAR	1396		NAGAUR	REGULAR	100	OBC	CC	20	20	400	25	10	BIDDING	30	4
LIPB         AMAGUR         REGURA         130         OPEN         CC         135         125         125         120         Modeling         130           1480         MAR BET MAS NO M M34         MAGURA         MAGURA         130         OPEN         CC         135         1225         25         130         BBOING         30           1480         MAR BET MAS NO M M34         MAGURA         MAGURA         130         OPEN         CC         135         132         125         130         BBOING         30           1480         MAS STO MAS STO MA M34         MAGURA         MAGURA         120         OPEN         CC         135         131         1225         25         10         BBOING         30           1480         MAS STO MAS 140 M M34         MAGURA         100         OPEN         CC         135         135         1225         25         10         BBOING         30           1480         MAS STO MAS 140 M M34         MAGURA         MGOLA         100         OPEN         CC         135         135         1225         20         0         Demode 130         10           1480         MMAS STO MAS 140 M M344         MAGURA         MGOLA <t< td=""><td>1397</td><td></td><td>NAGAUR</td><td>REGULAR</td><td>100</td><td>ST</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td>Draw of Lots</td><td>0</td><td>3</td></t<>	1397		NAGAUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1400         MAGAUR         REGURA         190         ORC         CC         38         18         122         25         100         BRODRE         100           100         MARAUNO COSSING LANUT OVANDES         NAGAUR         INGULA         100         SC         C5         20         20         400         0         0         Devard Loss         0           100         REGURA         110         OPFN         CC         35         35         1225         25         100         BRODRE         30           100         REGURA         110         OPFN         CC         35         35         1225         25         00         Devard Loss         100           100         REGURA         100         OFFN         CC         35         35         1225         25         00         Devard Loss         100           100         INTERS IN INTERS IN INTERS INCOMINGALINITON         MAGURA         REGURA         100         OFFN         CC         35         35         1225         10         BEODING         30           100         MEDIN INTERS INCOMINGALINATION         MAGURA         REGURA         100         OFFN         CC         35         35	1398		NAGAUR	REGULAR	150	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
Line         Start PROM ANALINAY COSSNE LARNUT TO MARKING         NAGAUR         PEGULAR         100         5C         C75         20         20         400         0         Derw FL (n)         0           100         DOGS LAT TO MAS IN MIS (LIG PROM MAGUR TO MAGURA TO AND MIS (LIG PROM MAGUR TO PEGULAR TO MAS IN MIS (LIG PROM MAGUR TO MAGURA TO AND SOLVER)         NAGUR FLEGULAR         100         OPEN         CC         35         35         1225         25         10         BRODRE         0           100         DOGS LAT TO MAS IND MIS MULAR AMER ROD DECENSIONAL         MAGUR FLEGULAR         100         OPEN         CC         35         35         1225         25         60         Draw of Lics         15           104         MAS INT DAM SINCE STOM MAGUR TO TOMAGUE REVARTABLE (INFERNAL MAGUR TO MAGURA TO MAS INTO MAS INTO MAS INTO MAGUR TO MAGURA TO MAS INTO MAS INTO MAS INTO MAGUR TO MAGURA TO MAS INTO MAS INTO MAS INTO MAGUR TO MAGURA TO MAS INTO MAS INTO MAS INTO MAGUR TO MAGURA TO MAGURA TO MAGURA TO MAGURA TO MAS INTO MAS INTO MARTAL TO MAGUR TO MAGURA TRACETARIA MAGUR ATO MAGURA TO MAGURA TRACETARIA MAGURA TO MAGURA TO MAGURA TRACETARIA MAGUA AMERTACTIVIM MIRTAL MAGURA TRACETARIA MAGUA AMERTACTIVIM MIRTAL MAGURA TRACETARIA MAGURA TO MAGURA TO MAGURA TRACETARIA MAGUA AMERTACTIVIM MIRTAL MAGURA TRACETARIA MAGURA TO MAGURA TO MAGURA TRACETARIA MAGUA AMERTACTIVIM MIRTAL MAGURA TRACETARIA MAGUA AMERTAC													•		5 4
International and transmission and the second and transmission and t		3KM FROM RAILWAY CROSSING LADNU TOWARDS													3
Loss         MUMBOR         MUMBOR <td>1402</td> <td>KMS 144 TO KMS 146 ON NH 89 (LHS FROM NAGAUR TO</td> <td>NAGAUR</td> <td>REGULAR</td> <td>150</td> <td>OPEN</td> <td>СС</td> <td>35</td> <td>35</td> <td>1225</td> <td>25</td> <td>10</td> <td>BIDDING</td> <td>30</td> <td>5</td>	1402	KMS 144 TO KMS 146 ON NH 89 (LHS FROM NAGAUR TO	NAGAUR	REGULAR	150	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
Law         TOWARD DEFENDMAN         NAMADR         RECOURT         LOD         Solution         Solution <ths< td=""><td>1403</td><td>KMS 91 TO KMS 93 ON NH 89 NAGAUR AJMER ROAD</td><td></td><td></td><td>150</td><td>OPEN</td><td>СС</td><td>35</td><td>35</td><td>1225</td><td>25</td><td>10</td><td>BIDDING</td><td>30</td><td>5</td></ths<>	1403	KMS 91 TO KMS 93 ON NH 89 NAGAUR AJMER ROAD			150	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
1465         MAS 126 TO LMA 120 N M SE (INS FROM MAGURITO LAS 124 TO AM 27 ON NE 80 (US FROM MAGURITO MAGURIT MAS 124 TO AM 27 ON NE 80 (US FROM MAGURITO MAGURIT MAS 124 TO AM 27 ON NE 80 (US FROM MAETA TO MAGURIT MAS 124 TO AM 27 ON NE 80 (US FROM MAETA TO MAGURIT MAS 124 TO AM 27 ON NE 80 (US FROM MAETA TO MAGURIT MAS 124 TO AM 27 ON NE 80 (US FROM MAETA TO MAGURIT MAGURITA MAGURI	1404		NAGAUR	REGULAR	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
LANS U.         LANS U. <t< td=""><td></td><td></td><td>NAGAUR</td><td></td><td></td><td></td><td></td><td></td><td>35</td><td></td><td></td><td></td><td></td><td></td><td>3</td></t<>			NAGAUR						35						3
Lab         MAGAUR         NAGAUR         NUMBER         Column         Lab         Cal         35         Lab	1406	LADNU )	NAGAUR	REGULAR	150	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
LAB         OTV MAL         NAGAUR         REGULA         LO         UC         ZO         ZO         EV         C         ZO         EV          EV         EV         <	1407	NAGAUR )	NAGAUR	REGULAR	150	OPEN	сс	35	35	1225	25	10	BIDDING	30	5
JPTO 3 KM FROM MAULASA: TOSHINA ROAD JUNCTION         NAGAUR         REGULAR         100         ST         CF         35         35         1225         0         0         Draw of Lots         15           1410         INTERNOM MAULASA: TOSHINA.         MAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1411         RETWINK MS 4T OK MS 50 NARS SANUTA         NAGAUR         REGULAR         150         OPEN         CC         35         35         1225         25         100         BIDOING         30           1414         INFOR GOGAMANT THRUE HUDS TOWARDS KANUTA         NAGAUR         REGULAR         100         OPEN         CC         35         35         1225         0         0         Draw of Lots         0           1416         MASS TO NIK 3160 ON IN 438         MAGAUR         REGULAR         100         OPEN         CC         35         35         1225         25         00         Draw of Lots         15           1417         MLAG GUNSALTIO JAKERAON BADI KINTU-DEGANA ROAD         NAGAUR         REGULAR         100         OPEN         CC         35         35         1225         25	1408		NAGAUR	REGULAR	100	OBC	СС	20	20	400	25	10	BIDDING	30	4
1410         TOWARDS TOSHINA.         NAGAUR         REGULAR         100         ST         CFS         35         35         1225         0         0         Draw of lots         0           1311         EFFERM KMS St TO KMS 70 NS H 63         NAGAUR         REGULAR         150         OPC         35         35         1225         25         60         Draw of lots         15           1412         KMSTONE 62 TO KMSTONE 64 ON NH 89         NAGAUR         REGULAR         150         OPC         CC         35         35         1225         25         10         BIDONG         30           1413         KMTONE 62 TO KMSTON 50 NS H 39         NAGAUR         REGULAR         150         OPC         CC         35         35         1225         0         0         Draw of lots         0           1414         KMS STO MS 100 NH 458         NAGAUR         REGULAR         100         OPC         CC         35         35         1225         25         10         BIDONG         30           1414         KMS STO MS 100 NH 458         NAGAUR         REGULAR         100         OPC         CC         35         35         1225         25         10         BIDONG         30         15	1409	2 KM FROM PARBATSAR TEHSIL OFFICE IN PARBATSAR WML	NAGAUR	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1411       EFTVEEN MAS 91 OX MS 97 OX 91 G3       NAGAUR       REGULAR       100       OPR       DC       35       35       1225       25       60       Draw oftots       030         1412       MASTOR & C2 TOX MSTOR 64 ON NH 89       NAGAUR       REGULAR       150       OPC       25       35       1225       25       10       BIDDING       30         1414       MASTOR S27 ON SH23       NAGAUR       REGULAR       100       SC       75       35       352       1225       0       0       Draw oftots       0         1414       MASS 20 TO MS 22       NAGAUR       REGULAR       100       SC       75       35       1225       25       10       Bidding       30         1415       SETVERM MS 153 TO MAS 100 NH ASS       NAGAUR       REGULAR       100       OPRN       DC       35       35       1225       25       60       Draw of Lots       15         1417       VILLAG GUNSALI TO MARTA RADA       NAGAUR       REGULAR       100       OPCN       DC       35       35       1225       25       10       BiDDing       30       124         1418       MS ATO KMS 27 ON H14 58       NAGAUR       REGULAR       100       OPCN	1410		NAGAUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1413         ON NESD.         150         OPEN         CC         35         35         1225         25         10         BIDING         30           1413         KMS 520 ON SH 39         NAGAUR         REGULAR         100         SC         C75         35         35         1225         0         0         Draw of Lots         0           1415         BETWER MS 1530 ON H 458         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         0           1416         KMS 4 TO KMS 7 ON SH 23         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1417         VILLAG GUNSALITO JAKHRA ON BADI KHATU-DEGANA ROAD         NAGAUR         REGULAR         100         SC         C75         35         1225         25         60         Draw of Lots         0           1418         KMS 37 DO NH 32         NAGAUR         REGULAR         100         SC         C75         35         1225         25         60         Draw of Lots         0           1420         KMS 70 D NH 36         G		BETWEEN KMS 94 TO KMS 97 ON SH 63													5
DN NH 58)         NAGAUR         REGULAR         100         SC         CFS         35         35         1225         0         0         Draw of Lots         0           1414         KKS 270 ON SH 39         NAGAUR         REGULAR         100         OEC         CC         35         35         1225         25         10         Bidding         30           1415         KKS 70 ON SH 32         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1417         VILAG GUNSALTO LAKHERA ON BADI KHATU-DEGANA ROAD         NAGAUR         REGULAR         100         Open CC 1         DC         35         35         1225         25         10         BIDDING         30           1418         KKM S TO KMS 32 ON NH 458         NAGAUR         REGULAR         100         SC         CC         35         35         1225         25         10         BIDDING         30           1420         KKM S TO KMS 32 ON NH 458         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         10         BIDDING         30         1242		4 KM FROM GOGAMADI TEMPLE HUDAS TOWARDS KANUTA													4 5
1416         KMS 4 TO KMS 7 ON SH21A         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1417         VILLAG GUNSALI TO JAKHERA ON BADI KHATU -DEGANA ROAD         NAGAUR         REGULAR         100         Open CC 1         DC         35         35         1225         25         60         Draw of Lots         15           1418         KKAS 34 TO KMS 37 ON NH 458         NAGAUR         REGULAR         100         SC         C75         35         35         1225         25         60         Draw of Lots         0           1420         KMS 37 ON SH 86 (GOTAN TO MERTA ROAD)         NAGAUR         REGULAR         100         OPEN         CC         35         35         1225         25         60         Draw of Lots         15           1421         KMS 10 TO KMS 73 ON SH 7         NAGAUR         REGULAR         100         OPEN         CC         35         35         1225         25         60         Draw of Lots         15           1422         KMS 70 TO KMS 73 ON SH 7         NAGAUR         REGULAR         100         OPEN         CC         35         35         1225         25 </td <td>1414</td> <td>KMS 268 TO KMS 270 ON SH 39</td> <td>NAGAUR</td> <td>REGULAR</td> <td>100</td> <td>SC</td> <td>CFS</td> <td>35</td> <td>35</td> <td>1225</td> <td>0</td> <td>0</td> <td>Draw of Lots</td> <td>0</td> <td>3</td>	1414	KMS 268 TO KMS 270 ON SH 39	NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1417         VILLAG GUNSALI TO JAKHERA ON BADI KHATU-DEGANA ROAD         NAGAUR         REGULAR         100         Open CC 1         DC         35         35         1225         25         60         Draw of Lots         15           1418         XMS 34 TO KMS 37 ON NH 458         NAGAUR         REGULAR         150         OBC         CC         35         35         1225         25         10         BIDDING         30           1419         BETAN ON SH 21         NAGAUR         REGULAR         100         SC         CFS         35         1225         25         60         Draw of Lots         10           1420         KMS 17 TO KMS 20 ON SH 86 (GOTAN TO MERTA ROAD)         NAGAUR         REGULAR         100         OPEN         DC         35         125         25         60         Draw of Lots         10           1422         KMS 81 TO KMS 30 ON SH 97         NAGAUR         REGULAR         100         OBC         DC         35         125         25         60         Draw of Lots         0           1423         4 KM FROM AMARPURA TEMPLE TOWARDS DEH ON NH 58.         NAGAUR         REGULAR         150         OPEN         CC         35         35         1225         25         60         Draw of Lo															4
1419         BETAN ON SH-21         NAGAUR         REGULAR         100         SC         CFS         35         1225         0         0         Draw of Lots         10           1420         KMS 17 TO KMS 20 ON SH 86 (GOAND MERTA ROAD)         NAGAUR         REGULAR         100         OPEN         CC         35         35         1225         25         60         Draw of Lots         10           1421         KMS 17 TO KMS 20 ON SH 86 (GOAND MERTA ROAD)         NAGAUR         REGULAR         150         OPEN         CC         35         35         1225         25         60         Draw of Lots         15           1422         KMS 70 TO KMS 73 ON SH 7         NAGAUR         REGULAR         150         OE         35         35         1225         25         60         Draw of Lots         15           1424         KMS 140 ON NH 458         NAGAUR         REGULAR         150         OPEN         CC         35         35         1225         25         10         BIDDING         30           1425         BETWEEN VILLAGE TARNAU TO SANU ON SH 60         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots															5
1420         KMS 17 TO KMS 20 ON SH 8G (GOTAN TO MERTA ROAD)         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1421         KMS 81 TO KMS 83 ON NH 89 (NAGAUR AJMER ROAD)         NAGAUR         REGULAR         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15           1421         KMS 70 TO KMS 33 ON SH 7         NAGAUR         REGULAR         100         OBC         DC         35         35         1225         25         60         Draw of Lots         15           1423         4 KM FROM AMARPURA TEMPLE TOWARDS DEH ON NH 58.         NAGAUR         REGULAR         150         OFEN         CC         35         35         1225         25         10         BIDDING         30           1424         KMS 146 TO KMS 149 ON NH 458         NAGAUR         REGULAR         150         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1426         BETWEEN VILLAGE TARNAU TO JAVAL ON DIDWANA NAGAUR         REGULAR         150         OPEN         DC         35         135         1225 </td <td></td> <td>4</td>															4
1422         KMS 70 TO KMS 73 ON SH 7         NAGAUR         REGULAR         100         OBC         DC         35         1225         25         60         Draw of Lots         15           1423         4 KM FROM AMARPURA TEMPLE TOWARDS DEH ON NH 58.         NAGAUR         REGULAR         150         ST         CFS         35         1225         0         0         Draw of Lots         0           1424         KMS 146 TO KMS 149 ON NH 458         NAGAUR         REGULAR         150         OPEN         CC         35         35         1225         25         10         BIDDING         30           1425         BETWEEN VILLAGE TARNAU TO SANU ON SH 60         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1426         BETWEEN VILLAGE TARNAU TO JAVAL ON DIDWANA NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1427         BETWEEN KILAGE TARNAU TO JAVAL ON DIDWANA NAGAUR         REGULAR         150         OPEN         DC         35         35         1225         25         75         Draw of Lots	1420	KMS 17 TO KMS 20 ON SH 86 ( GOTAN TO MERTA ROAD)	NAGAUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	3
1423       4 KM FROM AMARPURA TEMPLE TOWARDS DEH ON NH 58.       NAGAUR       REGULAR       150       ST       CFS       35       125       0       0       Draw of Lots       0         1424       KMS 146 TO KMS 149 ON NH 458       NAGAUR       REGULAR       150       OPEN       CC       35       35       1225       25       10       BIDDING       30         1425       BETWEEN VILLAGE TARNAU TO SANUL ON SH 60       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15         1426       BETWEEN VILLAGE TARNAU TO JAYAL ON DIDWANA NAGAUR       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15         1427       BETWEEN VILLAGE TARNAU TO JAYAL ON DIDWANA NAGAUR       REGULAR       150       OBCC C1       DC       35       1225       25       75       Draw of Lots       15         1428       KMS 217 TO KMS 22 ON NH 458       NAGAUR       REGULAR       150       OBCC C1       DC       35       1225       25       75       Draw of Lots       15         1428       KMS 57 TO KMS 69 ON SH 90 (NAWA JOBNER NGAUR RADAD <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>5 4</td></td<>															5 4
1425         BETWEEN VILLAGE TARNAU TO SANJU ON SH 60         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1426         BETWEEN VILLAGE TARNAU TO JAYAL ON DIDWANA NAGAUR         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1427         BETWEEN KIM STONE 22 TO KMS 26 ON NH 458.         NAGAUR         REGULAR         150         OBC CC 1         DC         35         35         1225         25         75         Draw of Lots         15           1428         KMS 217 TO KMS 22 ON NH 458.         NAGAUR         REGULAR         150         STC C1         CF         35         35         1225         25         75         Draw of Lots         15           1429         KMS 517 OKMS 80 ON NH 458         NAGAUR         REGULAR         150         OPEN         DC         35         35         1225         25         10         Draw of Lots         15           1430         KMS 517 OKMS 69 ON SH 90 (NAWA JOBNER ROAD)         NAGAUR         REGULAR         100         OBC         25         35         1225<															3
1426         BETWEEN VILLAGE TARNAU TO JAYAL ON DIDWANA NAGAUR         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1427         BETWEEN KM STONE 22 TO KMS 26 ON NH 458.         NAGAUR         REGULAR         150         OBC CC1         DC         35         35         1225         25         75         Draw of Lots         15           1428         KMS 217 DK MS 220 ON NH 62         NAGAUR         REGULAR         150         OBC CC1         DC         35         35         1225         0         0         Draw of Lots         0           1429         KMS 73 TO KMS 80 ON NH 458         NAGAUR         REGULAR         150         Open PH         DC         35         35         1225         25         75         Draw of Lots         15           1430         KMS 67 TO KMS 69 ON NH 490 (MAWA JOBNER ROAD)         NAGAUR         REGULAR         150         Open PH         DC         35         35         1225         25         75         Draw of Lots         15           1431         KMS 67 TO KMS 54 ON NH 89 ALMER NAGAUR ROAD         NAGAUR         REGULAR         100         OE         CFS         35 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td>5</td></td<>											-				5
ROAD         NAGAUR         REGULAR         150         OBC CC1         DC         35         1225         25         75         Draw of Lots         15           1427         BETWEEN KM STON E 22 TO KMS 26 ON NH 458         NAGAUR         REGULAR         150         OBC CC1         DC         35         35         1225         25         75         Draw of Lots         0           1428         KMS 217 DK MS 220 ON NH 428         NAGAUR         REGULAR         150         Open PH         DC         35         35         1225         0         0         Draw of Lots         0           1430         KMS 57 TO KMS 69 ON SH 490 (NAWA JOBNER ROAD)         NAGAUR         REGULAR         100         OBC         CC         35         35         1225         25         75         Draw of Lots         15           1431         KMS 50 TO KMS 54 ON NH 89 (NAWA JOBNER ROAD)         NAGAUR         REGULAR         100         OBC         CC         35         35         1225         25         75         Draw of Lots         15           1432         BETWEEN KMS 60 TO KMS 54 ON SH-60         NAGAUR         REGULAR         100         SC         CFS         35         1225         25         60         Draw of Lots		BETWEEN VILLAGE TARNAU TO JAYAL ON DIDWANA NAGAUR													5
1428         KMS 217 DK KMS 222 ON NH 62         NAGAUR         REGULAR         150         ST CC 1         CFS         35         1225         0         0         Draw of Lots         0           1429         KMS 75 TO KMS 80 ON NH 458         NAGAUR         REGULAR         150         Open PH         DC         35         35         1225         25         75         Draw of Lots         15           1430         KMS 75 TO KMS 60 ON SH 490 (NAWA JOBNER ROAD)         NAGAUR         REGULAR         100         OBC         CC         35         35         1225         25         75         Draw of Lots         15           1431         KMS 50 TO KMS 54 ON NH 89 (NAWA JOBNER ROAD)         NAGAUR         REGULAR         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15           1432         BETWEEN KMS 60 - KMS 64 ON SH-60         NAGAUR         REGULAR         100         SC         CFS         35         1225         25         0         0         Draw of Lots         15           1433         BETWEEN KMS 67 TO KMS 100 N SH 22         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25	1427		NAGAUR	REGULAR	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
1430       KMS 67 TO KMS 69 ON SH 90 ( NAWA JOBNER ROAD)       NAGAUR       REGULAR       100       OBC       CC       35       35       1225       25       10       Bidding       30         1431       KMS 50 TO KMS 54 ON NH 89 AIMER NAGAUR ROAD       NAGAUR       REGULAR       150       OPEN       DC       35       35       1225       25       75       Draw of Lots       15         1432       BETWEEN KMS 60 TO KMS 54 ON NH 89 AIMER NAGAUR ROAD       NAGAUR       REGULAR       100       SC       CFS       35       1225       25       75       Draw of Lots       0         1433       BETWEEN KMS 60 TO KMS 51 ON SH-60       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       0         1433       BETWEEN KMS 60 TO KMS 51 ON SH-60       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15         1434       VILLAGE: CAGWANA TEHSIL: NAGAUR ON NAGAUR DIDWANA       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15       1435 <t< td=""><td></td><td>KMS 217 TO KMS 222 ON NH 62</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>3</td></t<>		KMS 217 TO KMS 222 ON NH 62													3
1432       BETWEEN KMS 60 - KMS 64 ON SH-60       NAGAUR       REGULAR       100       SC       CFS       35       35       1225       0       0       Draw of Lots       0         1433       BETWEEN KMS 67 TO KMS 71 ON SH 2C       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15         1434       VILLAGE : GAGWANA TENL: NAGAUR ON NAGAUR DIDWANA ROAD       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15         1435       BETWEEN KMS 220 TO KMS 223 ON SH 87       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15         1436       KMS 179 TO 181 ON NH 89 (LHS FROM NAGUR TO BIKANER)       NAGAUR       REGULAR       100       OPEN       DC       35       35       1225       25       60       Draw of Lots       15         1437       KMS 100 ON NH 89 (LHS FROM NAGUR TO BIKANER)       NAGAUR       REGULAR       150       OPEN       CC       35       35       1225       25       100       BIDDING       30         1438<	1430	KMS 67 TO KMS 69 ON SH 90 ( NAWA JOBNER ROAD )	NAGAUR	REGULAR	100	OBC	CC	35	35	1225	25	10	Bidding	30	4 5
1434         VILLAGE : GAGWANA TEHSIL: NAGAUR ON NAGAUR DIDWANA ROAD         NAGAUR         REGULAR         100         OBC         DC         35         35         1225         25         600         Draw of Lots         15           1435         BETWEEN KMS 220 TO KMS 223 ON SH 87         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         600         Draw of Lots         15           1436         BETWEEN KMS 220 TO KMS 223 ON SH 87         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         600         Draw of Lots         15           1436         KMS 179 TO 181 ON NH 89         (LHS FROM NAGUR TO BIKANER)         NAGAUR         REGULAR         150         OPEN         CC         35         35         1225         25         100         BIDDING         300           1437         KMS 90 TO KMS 100 ON NH 458         NAGAUR         REGULAR         150         ST         CFS         35         125         0         0         Draw of Lots         0           1438         KMS 130 TO KMS 135 ON NH 89 NAGAUR - AJMER ROAD)         NAGAUR         REGULAR         150         OBC         CC         35	1432	BETWEEN KMS 60 - KMS 64 ON SH-60	NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
ROAD         ROAD         REGULAR         100         OPEN         DC         5         6         Draw of Lots         15           1435         BETWEEN KMS 220 TO KMS 223 ON SH 87         NAGAUR         REGULAR         100         OPEN         DC         35         35         1225         25         60         Draw of Lots         15           1436         KMS 179 TO 181 ON NH 89         (LHS FROM NAGUR TO BIKANER)         NAGAUR         REGULAR         150         OPEN         CC         35         35         1225         25         100         BIDDING         30           1437         KMS 90 TO KMS 100 ON NH 458         NAGAUR         REGULAR         150         ST         CFS         35         125         0         0         Draw of Lots         0           1438         KMS 130 TO KMS 135 ON NH 89 NAGAUR - AJMER ROAD)         NAGAUR         REGULAR         150         OBC         CC         35         125         0         0         Draw of Lots         0		VILLAGE : GAGWANA TEHSIL: NAGAUR ON NAGAUR DIDWANA													5
1436       KMS 179 TO 181 ON NH 89 (LHS FROM NAGUR TO BIKANER)       NAGAUR       REGULAR       150       OPEN       CC       35       35       1225       25       10       BIDDING       30         1437       KMS 90 TO KMS 100 ON NH 458       NAGAUR       REGULAR       150       ST       CFS       35       35       1225       0       0       Draw of Lots       0         1438       KMS 130 TO KMS 135 ON NH 89 NAGAUR - AJMER ROAD)       NAGAUR       REGULAR       150       OBC       CC       35       35       1225       0       0       Draw of Lots       0		ROAD													4
1438 KMS 130 TO KMS 135 ON NH 89 NAGAUR - AJMER ROAD) NAGAUR REGULAR 150 OBC CC 35 35 1225 25 10 BIDDING 30															5
															3
															5
1440         KMS 100 TO KMS 107 ON NH 458         NAGAUR         REGULAR         150         Open CC1         DC         35         125         25         75         Draw of Lots         15		, ,													5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the n Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CPH OPEN CC-2 OPEN CC-2 OPEN CC-2 OPEN CC-2	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1441 1442	BORAWAR ON SH 2B KMS 41 TO KMS 44 ON NH 458	NAGAUR	REGULAR	100 150	OPEN PH SC OBC	CFS DC	35 35	35 35	1225 1225	0 25	0 75	Draw of Lots Draw of Lots	0	3
1442	BETWEEN KMS 27 TO KMS 30 ON SH 21A	NAGAUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1444	KMS 133 TO KMS 136 ON SH 19 ( NAGAUR PHALODI ROAD )	NAGAUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1445 1446	KMS 107 TO KMS 110 ON SH 7 KMS 211 - KMS 217 ON NH 65 (NEW NH 62)	NAGAUR	REGULAR	100 150	OBC SC	DC CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots Draw of Lots	15 0	4 3
1447 1448	BETWEEN KMS 95 TO KMS 98 ON NH 89 ( NEW NH 58) BETWEEN KMS 171 TO KMS 174 ON NH 89 ( NEW NH 62 )	NAGAUR NAGAUR	REGULAR	150 150	OPEN OPEN	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5 5
1449 1450	2 KM FROM MERTA JAIL MAIN GATE IN MERTA CITY WML KMS 110 TO KMS 117 ON NH 458	NAGAUR	REGULAR REGULAR	100 150	OBC ST	CC CFS	20 35	20 35	400 1225	25	10 0	Bidding Draw of Lots	30 0	4 3
1451	3 KM FROM INTERSECTION OF RING ROAD AND NAGORE TAUSAR FIRODH ROAD ON NAGAUR RING ROAD	NAGAUR	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1452 1453	KMS 135 TO KMS 138 ON NH 458 KMS 80 TO KMS 85 ON NH 458	NAGAUR	REGULAR	150 150	OPEN OBC	DC CC	35 35	35 35	1225 1225	25 25	75 10	Draw of Lots BIDDING	15 30	5
1454	UPTO 6 KM FROM NH 458-NH 58 JUNCTION IN LAMPOLAI	NAGAUR	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
1455	TOWARDS IDWA KMS 176 TO KMS 178 ON NH 89 ( NAGAUR BIKANER ROAD)	NAGAUR	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1456	BETWEEN JHAKHERA TO KIRODA ON SH 65 A	NAGAUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1457	2 KM FROM WATER WORKS CHUARAHA ( PHED OFFICE GATE ) TOWARDS TAUSAR IN NAGAUR WML	NAGAUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1458	KMS 206 TO KMS 208 ON NH 65 ( NEW NH 62 ,NAGAUR JODHPUR ROAD)	NAGAUR	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
1459 1460	KM STONE 199 TO KM STONE 203 ON NH-62 KMS 274 TO KMS 278 ON SH 39	NAGAUR	REGULAR	150 100	ST OBC	CFS DC	35 35	35 35	1225 1225	0 25	0 60	Draw of Lots Draw of Lots	0 15	3 4
1460	WITHIN 3 KM FROM VIJAY BALLAV CHOURAHA TOWARDS	NAGAUR	REGULAR	100	OPEN	cc	20	20	400	25	10	BIDDING	30	5
1462	LADNU IN NAGAUR WML 2 KM FROM DEGANA RAILWAY STATION ON DEGANA AJMER	NAGAUR	REGULAR	100	OPEN	сс	20	20	400	25	10	BIDDING	30	5
1463	ROAD IN DEGANA WML UPTO 6 KM FROM BUTATI BUS STAND TOWARDS REN ON NH 89	NAGAUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1464	BETWEEN KMS 78 TO KMS 81 ON SH 60	NAGAUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1465 1466	NAGAUR CITY WML ON ANY MAIN ROAD KMS 120 TO KMS 125 ON NH 458	NAGAUR	REGULAR REGULAR	100 150	OPEN Open CC 1	DC DC	20 35	20 35	400 1225	25 25	45 75	Draw of Lots Draw of Lots	15 15	5
1467	BETWEEN KMS 86 TO KMS 88 ON NH 458	NAGAUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1468	UPTO 5 KMS FROM TEHSILDAR OFFICE, JAYEL TOWARDS DIDWANA ON SH 60	NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1469 1470	MERTA CITY_WML ON ANY MAIN ROAD KMS 85 TO KMS 88 ON NH 89	NAGAUR NAGAUR	REGULAR REGULAR	100 150	OPEN OPEN	DC DC	20 35	20 35	400 1225	25 25	45 75	Draw of Lots Draw of Lots	15 15	5 5
1471 1472	KMS 52 TO KMS 55 ON NH 458 KMS 102 TO KMS 106 ON NH 89	NAGAUR	REGULAR REGULAR	150 150	OBC ST	DC CFS	35 35	35 35	1225 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	4 3
1473 1474	PARBATSAR WML ON ANY MAIN ROAD DIDWANA WML ON ANY MAIN ROAD	NAGAUR	REGULAR	100 100	OPEN OPEN	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
1475 1476	KUCHERA BYEPASS ON NH 89 DEGANA WML ON ANY MAIN ROAD	NAGAUR	REGULAR	150 150	OBC OPEN	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	4
	KMS 95 TO KMS 100 ON NH 58	NAGAUR	REGULAR	150 150 100	SC CC 1 Open CC 2	CFS DC	35 20	35 20	1225 400	0 25	0 45	Draw of Lots Draw of Lots	0	3
1479	2KM FROM MUNDWA CHAURAHA IN NAGAUR WML 3KM FROM DIDWANA BUS STAND IN DIDWANA WML	NAGAUR	REGULAR	100	OBC CC 1	CC	20	20	400	25	10	BIDDING	30	4
1480 1481	KUCHAMAN WML ON ANY MAIN ROAD UPTO 3 KM FROM NH 458-BANTHRI-DIDWANA ROAD	NAGAUR	REGULAR	100 150	OPEN SC	DC CFS	20 35	20 35	400	25	45 0	Draw of Lots	15 0	5
1482	INTERSECTION TOWARDS NIMBIJODHA ON NH-458 KMS 71 TO KMS 74 ON NH 58	NAGAUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1483	LADNU WML ON ANY MAIN ROAD	NAGAUR	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1484 1485	KMS 148 TO KMS 152 ON NH 58 ( NAGAUR LADNUN ROAD) KMS 80 TO KMS 83 ON NH 58	NAGAUR	REGULAR	150 150	OPEN OBC	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5
1486	KMS 101 TO KMS 107 ON NH 58 3KM FROM PEEPLAD BUS STAND TOWARDS PARBATSAR ON SH	NAGAUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1487	21A	NAGAUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1488	2 KM FROM REHMAN GATE TOWARDS DIDWANA CITY IN DIDWANA WML	NAGAUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1489	WITHIN 2 KM FROM RAVINDRA NATH TARGORE SR SECONDARY SCHOOL IN KUCHAMAN WML	NAGAUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1490 1491	KMS 109 TO KMS 115 ON NH 58 2KM FROM AXIS BANK ON KUCHAMAN DIDWANA ROAD IN	NAGAUR	REGULAR	150 100	SC OPEN	CFS DC	35 20	35 20	1225 400	0 25	0	Draw of Lots	0	3
	KUCHAMAN WML 3 KM FROM MANASAR CHOURAHA RAILWAY CROSSING											-		
1492	NAGAUR ON NAGAUR JODHPUR ROAD IN NAGAUR WML	NAGAUR	REGULAR	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1493	VILLAGE : BARANI TEHSIL NAGAUR ON NH 89 ( NEW NH 62) 2 KM FROM GOVERNMENT BANGAUR HOSPITAL IN DIDWANA	NAGAUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1494	WML	NAGAUR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1495	WITHIN 3 KM FROM VIJAY VALLABH CHOURAHA TOWARDS DIDWANA IN NAGAUR WML	NAGAUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1496 1497	KMS 93 TO KMS 97 ON SH 7 BETWEEN KMSTONE 55 TO KM STONE 58 ON NH 89	NAGAUR NAGAUR	REGULAR	100 150	OPEN OBC	DC DC	35 35	35 35	1225 1225	25 25	60 75	Draw of Lots Draw of Lots	15 15	5 4
1498	BETWEEN KMS 186 TO KMS 191 ON NH 89 ( NEW NH 62 NAGAUR BIKANER ROAD )	NAGAUR	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1499	VILLAGE : MANANA TEHSIL: MAKRANA ON BORAWAR TO CHOTI KHATU ROAD	NAGAUR	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1500 1501	KMS 17 TO KMS 21 ON MDR 180 BETWEEN KMS 15 TO 18 ON MDR 24	NAGAUR	RURAL	50 50	OBC ST	CC CFS	35 35	35 35	1225 1225	12 0	5 0	Bidding Draw of Lots	10 0	3
1502 1503	KMS 2 TO KMS 4 ON VILLAGE ROAD 88 5 KM FROM MERTA GOVT COLEGE TOWARDS GOTAN	NAGAUR	RURAL	50 50	Open Open	DC	35	35	1225	12 12	30 30	Draw of Lots Draw of Lots Draw of Lots	5	4 4
1503	VILLAGE : ANWALIYASAR TEHSIL: JAYAL	NAGAUR	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots Draw of Lots	5	4 4
1505	UPTO 2 KM FROM BALAJI TEMPLE (MAKRANA) ON EITHER SIDE OF MAKRANA TO BORAWAR ROAD	NAGAUR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1506 1507	KMS 13 TO KMS 17 ON MDR 191 UPTO 8 KM FROM MERTA GOVT BUS STAND TOWARDS GOTAN	NAGAUR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	ON MDR 58 2KM FROM GOVT COLLEGE DEGANA TOWARDS DEGANA	NAGAUR	RURAL	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots		4
1508	RAILWAY STATION VILLAGE :BIDIYAD TEHSIL: PARBATSAR ON PARBATSAR	NAGAUR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1509	MAKRANA ROAD	NAGAUR	RURAL	50	Open ST	DC	35	35	1225	12	30	Draw of Lots	5	4
1510 1511	VILLAGE : TANWARA , TEHSIL: LADNU VILLAGE : DUGOLI TEHSIL: JAYAL	NAGAUR NAGAUR	RURAL	50 50	ST Open	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0 5	2 4
1512	UPTO 3 KM FROM SCHOOL BABA RAMDEV SIKSHAN SANSTHAN IN VILLAGE BASWANI TOWARDS NAGAUR.	NAGAUR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1513	VILLAGE : CHAPRI ,TEHSIL: MERTA CITY UPTO 4 KM FROM KHINVSAR-MANAKPUR JUNCTION TOWARDS	NAGAUR	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1514 1515	MANAKPUR. VILLAGE : RATAU TEHSIL : LADNUN	NAGAUR	RURAL	50 50	Open SC CC 1	DC CFS	35 35	35 35	1225 1225	12	30 0	Draw of Lots Draw of Lots	5	4
1712	VILLAGE , NATAO TETISIE ; LAUNUN	NAGAUR	NUNAL	50		Cr3	رد		1223	U	U	DIAW OF LOLS	U	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged • the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1516	3KM FROM KHUNKUNA STATION TOWARDS KHARES UPTO 5 KM FROM MDR 180-SH-7D INTERSECTION TOWARDS	NAGAUR	RURAL	50	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1517 1518	SIKAR. VILLAGE : BALDOO TEHSIL : LADNUN	NAGAUR	RURAL	50 50	Open Open PH	DC DC	35 35	35 35	1225 1225	12	30	Draw of Lots Draw of Lots	5	4
1510	VILLAGE : SHERANI ABAD TEHSIL : DIDWANA	NAGAUR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1520	UPTO 3 KM ON EITHER SIDE OF ADARSH RAJKIYA UCHHYA MADHYAMIK VIDYALAYA SUPKA ON MDR 181, DIDWANA TO SIKAR.	NAGAUR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1521 1522	VILLAGE: KHEENVSAR TEHSIL: KHEENVSAR VILLAGE : THANWLA TEHSIL : RIYABADI	NAGAUR NAGAUR	RURAL	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 3
1523 1524	VILLAGE : MOLASAR TEHSIL : DIDWANA VILLAGE : INANA TEHSIL : MUNDWA	NAGAUR	RURAL	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2 4
1525 1526	VILLAGE : TARNAU TEHSIL : JAYAL VILLAGE : KHATU KHURD TEHSIL : DIDWANA	NAGAUR	RURAL	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 4
1527 1528	VILLAGE : KOLIYA TEHSIL : DIDWANA VILLAGE : LADARIYA TEHSIL : DIDWANA	NAGAUR	RURAL	50 50	OBC ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
1529 1530	VILLAGE : KHATU KALAN TEHSIL : JAYAL	NAGAUR	RURAL	50 50	Open Open CC 1	DC DC	35	35	1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 4
1530 1531 1532	VILLAGE : SANKHWAS TEHSIL : MUNDWA VILLAGE : JASNAGAR TEHSIL : RIYABADI	NAGAUR	RURAL	50 50 50	OBC SC	DC DC CFS	35	35	1225	12 12 0	30 30 0	Draw of Lots Draw of Lots Draw of Lots	5	3
1533	VILLAGE : LUNSARA TEHSIL : JAYAL VILLAGE: BUDSOO TEHSIL: MAKRANA	NAGAUR	RURAL	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1534 1535	VILLAGE : BHER TEHSIL : NAGAUR VILLAGE : DANGAWAS TEHSIL : MERTA	NAGAUR	RURAL	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3 4
1536 1537	VILLAGE :PADOOKALAN TEHSIL : RIYABADI VILLAGE : PONDLOO TEHSIL : MERTA	NAGAUR	RURAL	50 50	Open ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
1538 1539	VILLAGE: CHITAWA TEHSIL: KUCHAMAN VILLAGE: LICHANA TEHSIL: NAWA	NAGAUR NAGAUR	RURAL RURAL	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
1540 1541	VILLAGE : SILANWAD TEHSIL : LADNUN VILLAGE : TITRI , TEHSIL : LADNU	NAGAUR NAGAUR	RURAL	50 50	Open SC	DC CFS	35	35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4 2
1542 1543	VILLAGE : RODOO TEHSIL : LADNUN VILLAGE DERATHOO ON SH26	NAGAUR AJMER	RURAL Regular	50 100	OBC	DC CFS	35 35	35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
1544	On NH89 between km stone 29 to 32	AJMER	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1545	On NH79A, Between KM Stone 30 to 34 (RHS from Kishangarh to Nasirabad)	AJMER	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1546	VILLAGE HOKARA ON NH89, DIST AJMER WITHIN 2 KM OF CHUNGI CHOWKI ON SH7E ON LHS WHILE	AJMER	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1547	GOING FROM KISHANGARH TO ARRAIN(OML OF KISHANGARH)	AJMER	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1548 1549	VILLAGE CHOSLA ON KISHANGARH-ARAIN ROAD ON SH7E Within 3 km of Anasagar Police Station on Foysagar road (Ajmer	AJMER	Regular Regular	100 150	OBC Open PH	DC DC	35 20	35 20	1225 400	25	60 60	Draw of Lots Draw of Lots	15	4
1550	WML) Within 2 KM from transport nagar towards krishi mandi on	AJMER	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
1551	beawar Road (Ajmer WML) Between Bikaner Misthan Bhandar vaishali Nagar To Stephen Tiraha On Makarwali Road	AJMER	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
1552 1553	Sarwar WML, District Ajmer WML OF KEKRI , DIST AJMER	AJMER AJMER	Regular Regular	100 100	Open CC 1 OBC	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 4
1554	VILLAGE HANOOTIYA ON BEAWAR TO BIJAYNAGAR ROAD	AJMER	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1555	WITHIN 3KM FROM NEW BUS STAND ON SH7A (MASUDA TO BEAWAR ROAD)	AJMER	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1556	Village sursura on SH7 ( Kishangarh to Roopengarh RD) , Tehsil Roopengarh	AJMER	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1557	Within 500 Mtr of Reliance Fresh on Beawar Road (WML of Ajmer City)	AJMER	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1558 1559	Village chhota lamba on SH7E, tehsil Kishangarh On NH89 between Googhra Village to janana hospital	AJMER AJMER	Regular Regular	100 150	OBC SC	DC CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots Draw of Lots	15 0	4 3
1560	Between Santi Towar and Chaman Choraha on Jaliya Road (Beawar WML)	AJMER	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1561	On NH 8, RHS From Kishangarh Toll Gate towards Jaipur Within Ajmer District Limit	AJMER	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
1562	Between Stephen Tiraha To Lawrence & Mayo Public School On Makarwali Road	AJMER	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1563	On NH8, LHS from Gegal Toll Gate to AAKASHVANI KENDRA	AJMER	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
1564 1565	ON SH 59 VILLAGE ALIPURA, TEHSIL PISAGAN From Old Kota Road Chunginaka towards Kadera (WML of Kekri)	AJMER	Regular Regular	100	Open OBC	DC DC	35 20	35 20	1225 400	25 25	60 45	Draw of Lots Draw of Lots	15	5
-	On Nareli Road, From Gulabwadi Railway Crossing to Badliya					сс								
1566 1567	Chauraha , WML of Ajmer On NH79, Between Balwanta Choraha to Hatundi Tiraha	AJMER	Regular Regular	150 150	Open OBC	CC CC	20 35	20 45	400 1575	25 25	10	Bidding Bidding	30 30	5
1568	Mohammed Ali school ground to NH 8 on ajmer Road but not on NH8, Beawar WML	AJMER	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
1569	Hotel Grand Xenia to Foysagar lake Main Gate (Ajmer WML)	AJMER	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
1570	Between Aryan Public Shool, Lohgal and Jananan Hospital (WML of Ajmer)	AJMER	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
1571	On NH79, Between Balwanta Choraha to Dilwari Choraha	AJMER	Regular	150	OBC	cc	35	45	1575	25	10	Bidding	30	4
1572	ON SH26 WITHIN 10 KM OF SAWAR TIRAHA TOWARDS DEOLI On NH79, Between Kota Choraha and Bandanwara Toll Gate	AJMER	Regular	100	Open	CC	35	35	1225	25	10	Bidding	30	5
1573	(RHS from Ajmer to Bhilwara)	AJMER	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1574 1575	Chang gate to Palliby pass choraha on old highway (Beawar WML) Luv Kush udyan to pushkar ghati, WML of Ajmer city	AJMER	Regular Regular	100 150	Open Open	DC CC	20 20	20 20	400 400	25 25	45 10	Draw of Lots Bidding	15 30	5
1576	ON NH25 WITHIN AJMER DISTRICT LIMIT Between Mayamandir cinema & MDS Tiraha, on Jaipur Road,	AJMER	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1577	RHS while moving from Ajmer to Jaipur	AJMER	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1578	Between KM Stone 21 and 25 on SH39 (Beawar to Bijaynagar) CHUNGI NAKA TO CHANG GATE via KRISHI MANDI BUT NOT ON	AJMER	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
1579	NH8 , BEAWAR WML	AJMER	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1580	Between Aryan Public Shool, Lohgal and Panchsheel Tiraha on Lohagal Road (WML of Ajmer)	AJMER	Regular	150	Open	cc	20	20	400	25	10	Bidding	30	5
1581 1582	WML OF BIJAYNAGAR, DIST AJMER On NH8, LHS from Piplaz toll gate to Old Chungi Naka, Beawar	AJMER	Regular Regular	100 150	Open Open CC 1	DC DC	20 35	20 45	400 1575	25 25	45 75	Draw of Lots Draw of Lots	15	5
1583	Jambeshwar Nagar on Eid Gah Road (WML Ajmer)	AJMER	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1584	Between Bhagat Choraha and Rasbawara tiraha, Beawar WML	AJMER	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1585	Between Favvara Choraha to Martindale Bridge (Ajmer WML)	AJMER	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1586	ON NH79, LHS From Bandawara Toll Gate towards Bhilwara within Aimer District Limit	AJMER	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1587	ON NH79, RHS From Bandawara Toll Gate towards Bhilwara within Ajmer District Limit	AJMER	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1588	Within RIICO industrial Area Beawar	AJMER	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
1589 1590	On NH8, RHS from Piplaz toll gate to Old Chungi Naka, Beawar RASBABRA TIRAHA TO BEAWAR KHAS ON SH59	AJMER	Regular Regular	150 100	Open Open	DC DC	35 35	45 35	1575 1225	25 25	75 60	Draw of Lots Draw of Lots	15 15	5
1591 1592	BETWEEN KM STONE NO. 58 & KM STONE 60 ON SH26 VILLAGE KISHANPURA ON PISANGAN TO PUSHKAR RD	AJMER AJMER	Regular Regular	100 100	Open Open	CC CC	35 35	35 35	1225 1225	25 25	10 10	Bidding Bidding	30 30	5 5
1593	On NH8, RHS from Old Chungi Naka, Beawar to Bhim (Within Aimer District Limits)	AJMER	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1594	WITHIN 5 M OF KHATOLI MOD OF KISHANGARH ROOPENGARH ROAD	AJMER	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1595	WITHIN 3 KM FROM ROOPANGARH CHORAHA ON NARENA JAIPUR ROAD	AJMER	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1596	within 2km from makarana choraha on SH7( kishangarh to roopengarh RD)	AJMER	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1597	Sashtri Nagar on Lohagal Road In Ajmer City	AJMER	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
1598 1599	On Link Road connecting Ajmer Main Road and NH 89 (WML of Pushkar)	AJMER	Regular	100 150	Open Open	DC CC	20 20	20 20	400 400	25 25	45 10	Draw of Lots Bidding	15 30	5
1599	On NH 89, WML of Ajmer Within 1 KM of IOC Colony (Beawar WML) Within 2 KM of 27 Mool Charaba (LHC while moving towards	AJMER	Regular Regular	150	Open Open	CC	20	20	400	25	10	Bidding	30	5
1601	Within 2 KM of 27 Meel Choraha (LHS while moving towards Bijaynagar City), Bijaynagar WML	AJMER	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
1602	Within 2 KM of 27 Meel Choraha (RHS while moving towards Bijaynagar City), Bijaynagar WML	AJMER	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1603 1604	Within 1 KM of Natraj Cinema (Bijay Nagar WML) Within 2 KM of Bheru Darwarja (Bhinay Town)	AJMER AJMER	Regular Regular	100 100	Open Open	DC DC	20 35	20 35	400 1225	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
1605	On NH 8, LHS from Kishangarh Toll Gate to Gegal Toll Gate	AJMER	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
1606	On NH8, LHS from Parbatpura Choraha to HPCL SARADHANA TERMINAL	AJMER	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
1607	On NH8, RHS from Parbatpura Choraha to HPCL SARADHANA TERMINAL	AJMER	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
1608	On NH8, RHS from HPCL SARADHANA TERMINAL to Piplaz Toll Gate	AJMER	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1609	On NH8, LHS from HPCL SARADHANA TERMINAL to Piplaz Toll Gate	AJMER	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1610	Village Ralauta on SH7 ( Kishangarh to Roopengarh RD) , Tehsil kishangarh	AJMER	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1611	Roopengarh choraha on SH7 towards parvatsar within Ajmer dist limit	AJMER	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1612	WITHIN 2KM OF HATUNDI TIRAHA TOWARDS HATUNDI VILLAGE ( AJMER WML)	AJMER	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1613	From Mittal Hospital to Hotel Grand Xenia via Carnewal Cinema (Ajmer WML)	AJMER	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
1614	On NH 79A, Between KM stone 24 & 28 (RHS from Nasirabad to Kishangani)	AJMER	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1615	Between Martindale Bridge to Hantundi Tiraha on Nasirabad Road (Ajmer WML)	AJMER	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1616	Within 2 KM from RK Girls College on Ajmer Road (WML of Kishangarh)	AJMER	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1617	On Kishangarh to Arrain RD within WML of Kishangarh Village Kalidungari, on SH7 ( kishangarh to RoopengarhRD) ,	AJMER	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1618 1619	tehsil Kishangarh Village Surajpura on SH26, tehsil Sarwar	AJMER	Regular Regular	100	OBC ST CC 1	DC CFS	35 35	35 35	1225 1225	25	60 0	Draw of Lots Draw of Lots	15 0	4
1620	WML of Ajmer on NH 8 (LHS from Kishangarh to Beawar) ON NH79, Between Dilwari Circle and Kota Choraha (RHS From	AJMER	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1621	Ajmer to Bhilwara) Between MDS Tiraaha & NH8 intersection on jaipur Road ( Not	AJMER	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1622 1623	on NH-8), Ajmer WML Within Cantonment Board/WML of NASIRABAD	AJMER	Regular Regular	150 100	SC Open	CFS DC	20 20	20 20	400 400	0 25	0 45	Draw of Lots Draw of Lots	0	3
1624	Within 3 km of Government Bus Stand , Ajmer WML	AJMER	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15 0	5
1625 1626	Village Goyala, on SH26, tehsil sarwar Within 2 KM of Old Government Bus Stand (Roopangarh Town)	AJMER	Regular Regular	100	SC Open CC 1	CFS DC	35 35	35 35	1225 1225	0 25	0 45	Draw of Lots Draw of Lots	15	3
1627 1628	BETWEEN KM STONE 27 & 29 ON SH7 Within RIICO industrial Area Makopura, Ajmer	AJMER	Regular	100 150	Open	DC DC	35 20	35 20	1225 400	25 25	60 60	Draw of Lots	15 15	5
1628	Within 2 KM From Sr. Town planner Office towards Kishangarh	AJMER	Regular Regular	150	Open CC 2 Open CC 1	CC	20	20	400	25	10	Draw of Lots Bidding	30	5
1630	on Jaipur Road (Ajmer WML) Between Savitri Tiraha to Regional Engineering College (Ajmer	AJMER	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
1631	WML) BEAWAR CETRAL JAIL TO SHIVPURA ON BEAWAR TO BIJAY	AJMER	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1632	NAGAR ROAD WML of Pushkar	AJMER	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1633	Within Parbatpura Makopura Extension (PPMPE) RIICO industrial Area, Ajmer	AJMER	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
1634 1635	Within 2 KM of Government Hospital (Pisangan Town) On NH 89 Within Ajmer District Limits	AJMER	Regular Regular	100 150	OBC PH Open	DC DC	35 35	35 35	1225 1225	25 25	45 75	Draw of Lots Draw of Lots	15 15	4 5
1636	On NH79, Between Kota Choraha and Bandanwara Toll Gate (LHS from Ajmer to Bhilwara)	AJMER	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1637 1638	Within RIICO industrial Area Kishangarh ON NH79, Between Dilwari Circle and Kota Choraha (LHS From	AJMER	Regular	100 150	SC OBC	CFS DC	20 35	20 45	400 1575	0 25	0	Draw of Lots Draw of Lots	0	3 4
1638 1639	Ajmer to Bhilwara) Within RIICO industrial Area Palra, Ajmer	AJMER	Regular Regular	150	OBC	DC	35 20	45 20	400	25	60	Draw of Lots Draw of Lots	15	4
1640	On NH79A, Between KM Stone 30 to 34 (LHS from Kishangarh to Nasirabad)	AJMER	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1641	Within 2 Km of Global Management Collage towards Panchsheel Nagar, WML of Ajmer	AJMER	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
1642	Within 1 km of Makrana Chauraha towards Kishangarh city, WML of Kishangarh	AJMER	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1643	VILLAGE GOVINDGARGH ON PISANGAN TO PUSHKAR ROAD	AJMER	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1644	Within 1 KM of Housing board (Nasirabad WML/Candtonmend Board)	AJMER	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1645 1646	WML of Kishangarh Within 2 KM of Surajpoll Gate (Masuda Town)	AJMER AJMER	Regular Regular	100 100	Open SC	DC CFS	20 35	20 35	400 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
1647	Within 1 KM of Government Bust Stand (Bhinay Town) On NH 8, LHS From Kishangarh Toll Gate towards Jaipur Within	AJMER	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
1648	Ajmer District Limit	AJMER	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

Image:         Resp         Sec	S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Image: stand black	1	2	3	4	5		7		8	r	9a	9b	10	11	12
ImageNormalNorma				-		SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2	DC /	Frontage	Depth	Area	working capital requirement for operation	fund required for development of infrastructure at	of Lots /		
Link         Link <thlink< th="">         Link         Link         <thl< td=""><td>1640</td><td>On NH79A, Between KM Stone 1 to 20 (RHS from Kishangarh to</td><td>AINAED</td><td>Degular</td><td>150</td><td></td><td>CTC.</td><td>25</td><td>45</td><td>1575</td><td>0</td><td>0</td><td>Draw of Late</td><td>0</td><td>3</td></thl<></thlink<>	1640	On NH79A, Between KM Stone 1 to 20 (RHS from Kishangarh to	AINAED	Degular	150		CTC.	25	45	1575	0	0	Draw of Late	0	3
1100         1200 <th< td=""><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>				-											
Image: Note the set of the set o	1650	On NH 8, RHS from Kishanganj Toll Gate to Gegal Toll Gate	AJMER	Regular	150		DC	35	45				Draw of Lots	15	4
Display <t< td=""><td>1651</td><td></td><td>AJMER</td><td>Regular</td><td>150</td><td>OBC</td><td>DC</td><td>35</td><td>45</td><td>1575</td><td>25</td><td>75</td><td>Draw of Lots</td><td>15</td><td>4</td></t<>	1651		AJMER	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
10001		Nasirabad)												-	3
															4 4
10001		Pansheel Nagar, WML Ajmer	AJMER	Regular	150		DC					60	Draw of Lots	15	5
Image         Analysis         Analysis         Number of the second se															5
Image         Image <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td>÷</td><td>3</td></th<>											-			÷	3
Image         Aname         Aname <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>3</td></th<>															3
Image         Addition         Addition <t< td=""><td></td><td>WITHIN 1KM OF UNIVERSITY CHORAHA ON KAYAD ROAD(OML</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>4</td></t<>		WITHIN 1KM OF UNIVERSITY CHORAHA ON KAYAD ROAD(OML													4
1100         1100         1000 <th< td=""><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>4</td></th<>						-									4
IEE         MARE	1663	VILLAGE BOGLA ON KEKRI TO DEOLI ROAD	AJMER	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
International and the set of the															4 4
Bits         During North North North North North         Adds         Nucl. North North North         Sear (i.e., i.e.,	1666		AJMER	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1000         LULEI         Rescale, Test.         Core         Fig.         TO         TO        TO         TO         TO<	1668	VILLAGE KARKHEDI, TEHSIL Ajmer	AJMER	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1071         Market Neith Network, Tenkes, Adama, Market         Name         First         Sol         DOT         Cl         No														-	4
1875       Control (1)       2000       10000       1000       10000       1000 </td <td></td> <td>3 4</td>															3 4
1637       NULLAG CONSTANTINGS AUTORS AUTORS AUTOR AUTOR       ADVACT       NULL OF CONSTANTINGS AUTORS AUTOR					50		DC					30			3
CHAR         LUNCY         LUNCY <thl< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>4</td></thl<>														-	4
1275         ILLING ALMARE MUNCH MUNCH AND ALMARE         MARE	1676	VILLAGE CHACHIYAWAS , TEHSIL AJMER	AJMER	Rural	50	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
1880         LUAGE MADE MARY 17         AAAR         Aural         Sol         CC         15         13         135         125         12         13         Draw of Los         Sol           1581         VILLAR MADEA, THEL ANDAL         ADATE         Abar         30         000         00         15         13         125         12         30         Draw of Los         5           1581         VILLAR MADEA, THEL ANDAL         ADATE         Abar         30         000         000         100         120         120         120         Draw of Los         5           1581         VILLAR MADEA, THEL ANDAL         ADATE         Abar         30         000         000         100         120         120         120         Draw of Los         5           1581         VILLAR MADEAA, THEL ANDAL         ADATE         Abar         400         00000000														-	4 4
1818.         Hund         50         CK         15         150         12         181         Description         5           180         Hunds Groupsen, Trices, How Server, Trices, Besserve         AAMM         hunds         50         C         15         18         120         120         120         Derver (rinc         5           180         Hunds Groupsen, Trices, Besserve         AAMM         hund         50         C         5         35         123         120         120         Derver (rinc         5           180         Hunds Groupsen, Trices, Borger Aam         AAMM         hund         50         C         5         35         120         120         Derver (rinc         5           180         Hunds Groupsen, Trices, Borger Aam         AAMM         Aam         50         C         5         18         120         C         120         120         Derver (rinc         5         100         Derver (rinc         5         Derver (rinc         100         Derver (rinc         100         Derver (rinc         100         Derver (rinc         100         Derver (rinc															4
11.11         UNLAGE DOLLASH-DD, TUNES 07, UNLES 7, UPDE BENNUM         AMME         Normal         50         OTHE         EX         51         120         121         121         121         121         121         121         121         121         121         121         121         121         121         120         121         120         121         120         121         120         121         120 <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>3</td></th<>														-	3
Inter         UNLAGE         ADDRESS, THESE ROOTING/DEH         ADDRE         Number AND         ODE         Dist         121	1682	VILLAGE AKODIA , TEHSIL KISHANGARH ( NOT ON HIGHWAY)	AJMER	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
Hate         Under Aren, Trogs, appreciated         AMR         Rural         50         Other         50         132         B1         Dave afters         5           168         Markel ALLAGE MARCIA ON MART 2         AMR         Rural         40         ORC         55         55         122         120         Diversity of the second of the s															3
Hart         ULLQG         BARCHAL TOLLAME         AMR         Bural         So         OC         SS         J32         B1         Daw afters         S           Hall         Sungle and State         State         J30         SS         J32         J33         J33         J32         J32         J32         J32         J33         J33         J33         J32         J32         J32         J33         <			AJMER	Rural	50	OBC	DC	35	35	1225	12	30		5	3
1918         Surgapping the Chipson pull Warger Manuel, Do Alporn Yood         AMRR         Rurd         50         5C         C5         55         1225         0         0         Draw of Lets         0           168         Diportic Linux1         Barrer Marker Manuel Marger on Pis-Weit         Barrer Marker Marger District Linux1															3
13.00         Display ALT DWART         Audit R         Rural         100         CC         15         12         12         5         Indiang         100           1200         With 7 XM from NAL GOVING DARK MOQL         BBAAM         Regular         100         57         CFS         20         20         400         0         0         Down of Lots         0           1200         BTVEEN MATCH MON MUQL         BBAAM         Regular         100         ST         CFS         20         400         20         0         0         Down of Lots         0           1200         BTVEEN MATCH MON MUQL         BBAAM         Regular         100         ST         CFS         20         400         22         450         Down of Lots         0           1200         BENEMER MATCH MON MUQL         BBAAM         Regular         100         OC         20         20         400         22         450         Down of Lots         151           1200         BENEMER MON MON MUNL         BBAAM         Regular         100         OC         CC         35         451         122         25         450         Down of Lots         151           1200         BENEMER MON DON HANG (MAAMAN THU </td <td></td> <td>2</td>															2
Different mission works Marging Same Waldi         BABAN         Regular         100         ST         C/S         2.0         400         0         0         Draw dists         0           1691         BETWEEN MS 370K 5 AND 10 ON NH-50 (BAAMA ATRU KOAD)         BAABAN         Regular         100         ST         C/S         155         155         125         0         0         Draw dists         10           1691         Bara MM.         BAABAN         Regular         100         ST         C/S         20         400         0         Draw dists         10           1898         Bara MM.         BadoaN         Regular         100         ST         C/S         20         400         0         Draw dists         0           1898         Bara MM.         Bage MM.         Regular         100         ORC         C/S         15         1225         C/S         0         Draw dists         15           1898         Barewent Mi Store 6 Jan Mi S	1680		AIMER	Rural	50	Open		35	35	1225	12	5	Bidding	10	4
Lans         mononing threader, Manager (basers) MAUL         Dational         Partial         Lans         Lans <thl< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>-</td><td></td><td></td></thl<>												-	-		
1021         Justik Mall,         1024         Justik Mall,         1024         Justik Mall,         1024         Justik         Number of Lines         103         Justik         Number of Lines         103         Justik         Number of Lines         Justik         Number of Lines         Justik         Number of Lines         Justik         Number of Lines         Justik	1690		BARAN	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1969         Baran WAL         BAAAN         Regular         100         ST         075         20         20         400         0         0         Draw of Lots         0           1964         Mid. of Chhara         BAAAN         Regular         100         OEC         20         400         25         45         Draw of Lots         10           1966         Berkeren M Stores E1 S & Start SLA Ant to Sanged Real         BRAAN         Regular         100         OEC         DC         35         35         1225         25         46         Draw of Lots         15           1969         Multin 1 MA from Antana Aru Traba (Anti)         BRAAN         Regular         100         OEC         DC         35         125         25         45         Draw of Lots         15           1969         Multin 1 MA from Antana Aru Traba (Anti)         BRAAN         Regular         150         OBC C1         0C         35         45         157         25         10         Balding         30         15           1960         Berkeren Kin Store 137 to 132 on NH-27, UIS From Shipuri         BAAAN         Regular         150         Open         CC         35         45         157         25         10         Bid	1691	BETWEEN KM STONE 6 AND 10 ON NH-90 (BARAN-ATRU ROAD)	BARAN	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1954         Wr.M. of Chalars         BRAAM         Regular         100         ORC         20         20         400         25         45         Drew of Less         15           1958         Between KN Store 6.1 0n H90         BRAAM         Regular         100         ORC         0C         135         135         1225         0         0         Drew of Less         0           1969         Between KN Store 6.1 0n H90         BRAAM         Regular         100         ORC         0C         135         135         1225         25         45         Drew of Less         15           1607         Mith 1 Sh Trim Antia Attry Titad (Attry)         BRAAM         Regular         100         ORC         0         20         400         25         45         Drew of Less         15           1609         Mith 1 Sh Trim Antion Attry Titad (Attry)         BRAAM         Regular         150         OPen         CC         35         45         157         25         10         Bidding         30           1700         Between Kn Store 137 to 1370 on N+27, UIS from Shippuri         BRAAM         Regular         150         Open         CC         35         45         157         25         10         Bidding															5
166         Retween km stone 52 to 54 on SH - SLA Anta to Sanged Road         BARAN         Regular         100         OBC         DC         35         125         25         60         Draw of Lots         15           1607         Writin 1 SM from Antimum, Antri Trinka Arunj         BARAN         Regular         100         Open C2         DC         35         35         1225         25         45         Draw of Lots         15           1698         Writin 1 SM from Antimum Antri Trinka Arunj         BARAN         Regular         100         Open C2         0C         35         35         1225         25         45         Draw of Lots         15           1699         Writin 1 SW from Antarus Antri Trinka Arunj         BARAN         Regular         150         Open         CC         35         45         157         25         10         Bidding         30           1701         BARAN         Regular         150         Open         CC         35         45         157         25         10         Bidding         30           1701         BARAN         Regular         150         Open         CC         35         45         157         25         10         Bidding         30	1694	WML of Chhabra	BARAN	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
107         Within 1 KM From Antaus Arr Traha (Aru)         BAAAN         Regular         100         Open CC 2         DC         15         35         1225         25         45         Draw of Lots         15           198         Within 2 km from antebdar circle towards Saltude (Baran         BAAAN         Regular         100         OBC         DC         20         400         25         45         Draw of Lots         15           169         Bit Mark TV Trols HA MD 17 DN H-90 (BAANA-ATRU         BAAAN         Regular         150         OBC CC1         DC         35         45         1575         25         10         Bidding         30           170         Between Kin Stone 1310 to 1141, on H+72, USF from Shippuri to Kata         BAAAN         Regular         150         Open         CC         35         45         1575         25         10         Bidding         30           1703         Between Kin Stone 130 to 130 on NH-72, USF from Shippuri to Kata         BAAAAN         Regular         150         Open         CC         35         45         1575         25         10         Bidding         30           1703         Between Kin Stone 1370 to 133 on NH-72, USF from Shippuri to Kata         BAAAAN         Regular         100				-											3 4
159         Within 2 km from ambediar circle fouwards Satabahd [Baran         BARAN         Regular         100         OBC         DC         20         20         400         25         445         Draw of Lots         155           1699         WMM:hit 2 m from ambediar circle fouward Lots         BARAN         Regular         150         OBC CC 1         DC         35         35         1225         25         75         Draw of Lots         155           1700         Between Km Stone 1157 to 1152 on NH-27, LIS From Shitpurt         BARAN         Regular         150         Open         CC         35         45         1575         25         10         Bidding         30         150           1202         Between Km Stone 1206 to 1209 on NH-27, LIS From Shitpurt         BARAN         Regular         150         Open         CC         35         45         1575         25         10         Bidding         30         150           1202         Between Km Stone 1206 to 1209 on NH-27, LIS From Shitpurt         BARAN         Regular         150         OBcc C1         0C         35         45         1575         25         75         Draw of Lots         155           1203         Between Km Stone 1204 to 115         BARAN         Regular </td <td></td> <td>5</td>															5
VMAL         VMAL <th< td=""><td></td><td>Within 2 km from ambedkar circle towards Sahabad (Baran</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>4</td></th<>		Within 2 km from ambedkar circle towards Sahabad (Baran													4
Incolo         Incolo<		BETWEEN KM STONE 14 AND 17 ON NH-90 (BARAN-ATRU						-				-			4
Intro         Shippuri         Instant         Preguar         Iso         Open         CC         35         45         Iso         25         10         Bindang         30           1701         Between Km Stone 135 to 1151, on NH-27, LHS from Shippuri         BARAN         Regular         150         Open         CC         35         45         1575         25         100         Binding         30           1702         Between Km Stone 135 to 1151, on NH-27, LHS from Shippuri         BARAN         Regular         150         Open         CC         35         45         1575         25         100         Binding         30         150           1703         Between Km Stone 137 to 1175 on NH-27, LHS from Kota to         BARAN         Regular         150         OBC         CZ         35         45         157         25         100         Binding         30         150           1705         Between KM Stone 178 S 1182 on NH 27         BARAN         Regular         150         OBC         DC         23         45         157         25         75         Draw of Lots         151           1707         Between KM Stone 1138 (1182 on NH 27         BARAN         Regular         150         Open         CC				-											
Init       to Kota       Ankin       Regular       150       Open       CC       35       45       1575       25       100       Bidding       30         1702       Between Km Stone 1206 to 1200 on NH-27, LHS from Kota to Shupuri       BARAN       Regular       150       Open       CC       35       45       1575       25       100       Bidding       30         1703       Between Km Stone 1171 to 1173 on NH-27, LHS from Kota to Shupuri       BARAN       Regular       150       Open       CC       35       45       1575       25       100       Bidding       30         1704       In Village Kawai on NH 30       BARAN       Regular       100       OBC       DC       25       45       Draw of Lots       15         1705       Wilk LG Antah       BARAN       Regular       150       OBC       DC       25       45       Draw of Lots       15         1707       Between KM Stone 1178 & 1182 on NH 27       BARAN       Regular       150       OBC       DC       20       400       25       45       Draw of Lots       15         1708       Within 1KM from Melkheri Road (Bara WML       BARAN       Regular       150       Open       CC       20		Shivpuri	BARAN	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1/102       to, Kora       is ARAW       Regular       1.50       Open       CC       35       4.5       1.57       2.5       1.0       Bidding       30         1703       Between Km Stone 117 to 1137 on NH-27, LHS from Kota to Shypuri       BARAM       Regular       150       Open       CC       35       45       1575       2.5       1.0       Bidding       30         1703       Between KM Stone 1179 & 1182 on NH 27       BARAM       Regular       100       OPC       DC       2.5       45       Draw of Lots       1.5         1706       Between KM Stone 1179 & 1182 on NH 27       BARAM       Regular       150       OBC       DC       35       35       125       C5       75       Draw of Lots       1.5         1707       Between KM Stone 1179 & 1182 on NH 27       BARAM       Regular       150       OBC       DC       35       35       125       0       0       Draw of Lots       0       0         1708       Within 1 KM from Mekher Chorah an Maikedi Road (Bits from Mekher Chorah an Maikedi Road (Bits from Mekher Chorah an Maikedi Road (Bits from Mekher Chorah an Maikedi Road (Bits)       BARAM       Regular       100       Open       CC       35       45       1575       25       10       Bid	1701	to Kota	BARAN	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
Invol         Between Km Stone 11/2 to 11/3 on NH-27, LHS From Kota to         BARAN         Regular         150         Open         CC         35         45         1575         25         10         Bidding         30           1704         In Village Kawai on NH 90         BARAN         Regular         100         OBC C1         DC         35         35         1225         25         75         Draw of Lots         15           1705         Between KM Stone 11/2 & 1129 & 1	1702		BARAN	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
Shippuri         Shippuri         C <thc< th="">         C         C</thc<>	1703	Between Km Stone 1171 to 1173 on NH-27, LHS From Kota to	BARAN	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
1706       Between KM Stone 1179 & 1182 on NH 27       BARAN       Regular       150       OBC       DC       35       45       1575       25       75       Draw of Lots       0         1707       Between Kalmodya Tiraha and Intersecion of NH 52 on NH 90       BARAN       Regular       150       ST       CFS       35       35       1225       0       0       Draw of Lots       0         1708       Within 1 KM from Melkheri Choraha on Malkhedi Road (RHS from Melkheri Choraha to Melkheri Road) Baran VMUL       BARAN       Regular       100       Open       CC       20       400       25       10       Bidding       30         1708       Between KM Stone 1141 & 1144 on NH 27 (On LHS from Kota to Baran       BARAN       Regular       150       Open       CC       20       400       25       10       Bidding       30         1710       Between KM Stone 1132 & 1132 on NH 27 (On RHS from Kota to Baran)       BARAN       Regular       150       Open       CC       20       400       25       10       Bidding       30         1711       Between KM Stone 1132 & 1132 on NH 27 (On RHS from Kota to Baran to Jhalawar       BARAN       Regular       100       ST       CFS       35       35       1225       0       0		In Village Kawai on NH 90		Regular											4
1707       Between Kalmodiya Tiraha and Intersection of NH 52 on NH 90       BARAN       Regular       150       ST       CFS       35       35       1225       0       0       Draw of Lots       0         1708       Within 1 KM from Melkheri Choraha on Malkhedi Road (RHS from Melkheri Choraha to Melkheri Road) Baran WML       BARAN       Regular       100       Open       CC       20       400       25       10       Bidding       30         1709       Between KM Stone 1141 & 1144 on NH 27 (On LHS from Kota to Shivpuri)       BARAN       Regular       150       Open       CC       35       45       1575       25       10       Bidding       30         1710       Between KM Stone 1132 & 1133 on NH 27 (On LHS from Kota to Baran)       BARAN       Regular       150       Open       CC       20       400       25       10       Bidding       30       20         1711       Between KM Stone 1132 & 1133 on NH 27 (On RHS from Kota to Baran)       BARAN       Regular       100       ST       CFS       35       157       25       10       Bidding       30       20         1712       Between KM Stone 1132 & 1135 on NH 27 (On RHS from Kota to Baran)       BARAN       Regular       100       ST       CFS       35       1575															4
Internal Number Network         Number Network <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>3</td></t<>															3
1/09         Shivpuri)         BARAN         Regular         150         Open         CC         35         45         1575         25         10         Bidding         30           1710         Beween Amdedkar Circle and Eidgah choraha (Chhabra WML)         BARAN         Regular         100         Open         CC         20         400         25         10         Bidding         30           1711         Between KM Stone 1132 & 1135 on NH 27 (On RHS from Kota to Baran)         BARAN         Regular         150         Open         CC         35         45         1575         25         10         Bidding         30           1712         Between KM Stone 1132 & 1135 on NH 27 (On RHS from Kota to Baran)         BARAN         Regular         100         ST         CFS         35         35         1225         0         0         Draw of Lots         0           1712         Between KM Stone 6 to 8 on SH-1 Baran to Jhalawar         BARAN         Regular         100         SC         CFS         20         400         0         0         Draw of Lots         0         0           1714         BETWEEN KM STONE 1210 TO 1228 ON NH-27         BARAN         Regular         100         Open         DC         35         35	1708	Within 1 KM from Melkheri Choraha on Malkhedi Road (RHS	BARAN	-	100		сс				25			30	5
Shippuni)         C	1709		BARAN	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
International state         Internat         International state <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td>-</td><td></td><td>5</td></th<>											-		-		5
1711       Baran)       BARAN       Regular       150       Open       CC       35       45       1575       25       10       Bidding       30         1711       Baran)       BARAN       Regular       100       ST       CFS       35       45       1575       25       10       Draw of Lots       0         1712       BKM.of Mangrol       BARAN       Regular       100       SC       CFS       20       400       0       0       Draw of Lots       0         1714       BETWEEN KM STONE 1210 TO 1228 ON NH-27       BARAN       Regular       150       Open       DC       35       45       1575       25       75       Draw of Lots       15         1715       Within 1 Km of Samudayik Swasthya Kendra Main gate (Chhipabarod town)       BARAN       Regular       100       Open       DC       35       35       1225       25       45       Draw of Lots       15         1716       between km Stone 43-58 on SH51A (Anta -sangod)       BARAN       Regular       100       Open       DC       35       35       1225       25       60       Draw of Lots       15         1717       Mela ground gate to matna tiraha (Baran WML)       BARAN       R				-									-		
1713       WML of Margrol       BARAN       Regular       100       SC       CFS       20       20       400       0       0       Draw of Lots       0         1714       BETWEEN KM STOR 1210 T0 1228 ON NH-27       BARAN       Regular       150       Open       DC       35       45       1575       25       75       Draw of Lots       15         1715       Within 1 km of Samudayik Swasthya Kendra Main gate (Chhipabarod town)       BARAN       Regular       100       Open CC 1       DC       35       35       1225       25       45       Draw of Lots       15         1716       between km stone 43-58 on SH51A (Anta-sangod)       BARAN       Regular       100       Open       DC       35       35       1225       25       60       Draw of Lots       15         1717       Melag round gate to mana tiraha (Baran WML)       BARAN       Regular       100       Open       DC       35       35       1225       25       60       Draw of Lots       15         1717       Melag round gate to mana tiraha (Baran WML)       BARAN       Regular       100       Open       DC       20       20       400       25       45       Draw of Lots       15         1		Baran)		-									-		5
1715         Within 1 km of Samudayik Swasthya Kendra Main gate (Chhipabarod town)         BARAN         Regular         100         Open CC 1         DC         35         35         1225         25         45         Draw of Lots         15           1716         between km stone 43-58 on SH51A (Anta -sangod)         BARAN         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots         15           1717         Mela ground gate to matna tiraha (Baran WML)         BARAN         Regular         100         Open         DC         20         20         400         25         45         Draw of Lots         15           1718         Between Km Stone 1136 to 1140 on NH-27, LHS From Shivpuri to Kota         BARAN         Regular         150         ST         CFS         35         45         1575         0         Draw of Lots         0           1719         Between Km Stone 1136 to 1140 on NH-27, RHS From Shivpuri to Kota         BARAN         Regular         150         ST         CFS         35         45         1575         0         Draw of Lots         0         0           1720         WML of Baran         BARAN         Regular         150         SC         CFS <td>1713</td> <td>WML of Mangrol</td> <td>BARAN</td> <td>Regular</td> <td>100</td> <td>SC</td> <td>CFS</td> <td>20</td> <td>20</td> <td>400</td> <td>0</td> <td>0</td> <td>Draw of Lots</td> <td>0</td> <td>3</td>	1713	WML of Mangrol	BARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1715       (Chhipabarod town)       1215       25       45       Draw of tots       15         1716       between km stone 43-58 on SH51A (Anta-sangod)       BARAN       Regular       100       Open       DC       35       1225       25       45       Draw of tots       15         1716       between km stone 43-58 on SH51A (Anta-sangod)       BARAN       Regular       100       Open       DC       35       35       1225       25       60       Draw of tots       15         1717       Mela ground gate to manta tiraha (Baran WML)       BARAN       Regular       100       Open       DC       20       400       25       45       Draw of tots       15         1718       Between Km Stone 1136 to 1140 on NH-27, LHS From Shivpuri to Kota       BARAN       Regular       150       ST       CFS       35       45       1575       0       0       Draw of tots       0       0         1719       Between Km Stone 1136 to 1140 on NH-27, RHS From Shivpuri to Kota       BARAN       Regular       150       ST       CFS       35       45       1575       0       0       Draw of tots       0       0       0       0       0       0       0       0       0       0															5
1717         Mela ground gate to matna tiraha (Baran WML)         BARAN         Regular         100         Open         DC         20         400         25         45         Draw of Lots         15           1718         Between Km Stone 1136 to 1140 on NH-27, LHS From Shivpuri to Kota         BARAN         Regular         150         ST         CFS         35         45         157         0         Draw of Lots         0         Draw of Lot		(Chhipabarod town)													5
1718         Between Km Stone 1136 to 1140 on NH-27, LHS From Shivpuri to Kota         BARAN         Regular         150         ST         CFS         35         45         1575         0         Draw of Lots         0         Draw of Lots         0           1719         Between Km Stone 1136 to 1140 on NH-27, RHS From Shivpuri to Kota         BARAN         Regular         150         ST         CFS         35         45         1575         0         Draw of Lots         0           1719         Between Km Stone 1136 to 1140 on NH-27, RHS From Shivpuri to Kota         BARAN         Regular         150         ST         CFS         35         45         1575         0         0         Draw of Lots         0           1720         WML of Baran         BARAN         Regular         100         SC         CFS         35         45         1575         0         Draw of Lots         0           1721         Between KM Stone 1150 & 1150 on NH 27         BARAN         Regular         150         SC         CFS         35         45         1575         0         Draw of Lots         0		· • •													5
Between Km Stone 1136 to 1140 on NH-27, RHS From Shivpuri to Kota         BARAN         Regular         150         ST         CFS         35         45         1575         0         Draw of Lots         0           1720         WML of Baran         BARAN         Regular         100         SC         CFS         20         400         0         Draw of Lots         0           1721         Between KM Stone 1150 & 1153 on NH 27         BARAN         Regular         150         SC         CFS         35         45         1575         0         0         Draw of Lots         0		Between Km Stone 1136 to 1140 on NH-27, LHS From Shivpuri													3
to Kota         Centre	1719	Between Km Stone 1136 to 1140 on NH-27, RHS From Shivpuri	BARAN	Regular	150	ST	CES	35	45	1575	0	0	Draw of Lots	0	3
1721         Between KM Stone 1150 & 1153 on NH 27         BARAN         Regular         150         SC         CFS         35         45         1575         0         0         Draw of Lots         0				-											3
	1721	Between KM Stone 1150 & 1153 on NH 27	BARAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
															4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1724	Witin 2 KM from Kendriya Vidhyalay School towards Baran City (Baran WML)	BARAN	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1725 1726	Within 1 KM from Atru Police Station (Atru) Between KM Stone 17 and 26 on NH 90	BARAN BARAN	Regular Regular	100 150	Open Open	DC DC	35 35	35 35	1225 1225	25 25	45 75	Draw of Lots Draw of Lots	15 15	5
1727 1728	BETWEEN KM STONE 1245 TO 1250 ON NH 27 Between KM Stone 76 and 89 on NH 90	BARAN BARAN	Regular Regular	150 150	OBC Open	DC DC	35 35	45 35	1575 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	4
1729 1730	Within 2 km from ambedkar circle (Baran WML) Between KM Stone 85 and 90 on NH 752 (Old NH 90)	BARAN BARAN	Regular Regular	100 150	Open ST	DC CFS	20 35	20 35	400 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
1731	Between KM Stone 1193 to 1203 on NH-27 Within 2 KM From Dholam Choraha towards Lahsoon Mandi	BARAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1732 1733	(Chhipabarod) Village Harnawada Shahji (Not on highway)	BARAN	Regular Rural	100 50	ST PH Open CC 2	CFS DC	35 35	35 35	1225 1225	0	0 30	Draw of Lots Draw of Lots	0	3
1734	Village Mothpur (Not on highway)	BARAN	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1735	BETWEEN KM STONE 3 TO 5 ON MDR 127 ON ANTA TO PACHEL KALAN	BARAN	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
1736 1737	between KM stone 18-26 on MDR( ATRU-khanpur) WITHIN 3 KM FROM SISWALI GOVT HOSPITAL ON SISWALI ANTA	BARAN	Rural Rural	50 50	Open Open	CC DC	35 35	35 35	1225 1225	12	5	Bidding Draw of Lots	10 5	4
1737	ROAD,TEHSIL - MANGROL VILLAGE BADORA TEHSIL ATRU	BARAN	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1739 1740	Village Sarthal (Not on highway) On MDR 127, Between KM Stone 2 to 5	BARAN BARAN	Rural Rural	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2 4
1741 1742	Village Bohat (Not on highway) Village Fatehpur (Not on highway)	BARAN BARAN	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5 0	3
1742	Village Palayatha (Not on highway) Village Danta Tehsil Shahbad	BARAN BARAN	Rural	50 50	OBC SC	DC	35	35	1225	12 0	30 0	Draw of Lots Draw of Lots Draw of Lots	5	3
1745	Village Bargaon (Not on highway)	BARAN	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1746 1747	Village Koyla (Not on highway) WITHIN 2 KM OF NAKA CHUNGI TIRAHA TOWARDS ANTA	BARAN	Rural Rural	50 50	SC Open	CFS CC	35 35	35 35	1225 1225	0	0	Draw of Lots Bidding	0	2
1748	VILLAGE SISWALI VILLAGE KHANDELA TEHSIL KISHANGANJ	BARAN	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1749 1750	WITHIN 2 KM FROM KELWADA POLICE STATION VILLAGE KASBATHANA DIST BARAN (NOT ON NH)	BARAN BARAN	Rural Rural	50 50	SC Open	CFS CC	35 35	35 35	1225 1225	0 12	0	Draw of Lots Bidding	0 10	2 4
1751	BETWEEN KM STONE 4 TO 6 ON MDR 122 BARAN TO SHAHBAD	BARAN	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1752	WITHIN 4 KM OF RAILWAY CROSSING ON CHABRA -GUGOR ROAD	BARAN	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1753	BHANWARGARH ON BHANWARGARH-JETPURA ROAD, TEHSIL -	BARAN	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1754	KISHANGANJ WITHIN 1 KM OF JALWARA HOSPITAL TOWARDS NAHARGARH	BARAN	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
1755	ON BARANA NAHARGARH Village Bamori Kalan (Not on highway)	BARAN	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1756	RHS FROM HOTEL ANOKHI TO SARSON ANUSANDHAN KENDRA ON BHARATPUR BYPASS ROAD	BHARATPUR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
1757	WITHIN 2 KM FROM BHIM NAGAR TIRAHA TOWARDS BHARATPUR ON SH-1	BHARATPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1758	WITHIN 2 KM FROM INDIRA CIRCLE (NAGAR TOWN) TOWARDS KATHOOMAR	BHARATPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1759	WITHIN 2 KM FROM TELEPHONE EXCHANGE (UCCHAIN) TOWARDS RUDAWAL	BHARATPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1760	Within 3 KM FROM SALABAD RAILWAY CROSSING TOWARDS BHARATPUR ON BAYANA - BHARATPUR ROAD	BHARATPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1761	ON SH-1 FROM KM STONE 391 & 393 WITHIN 2KM FROM BHIM NAGAR TIRAHA TOWARDS WEIR	BHARATPUR	Regular	100	ST Open	CFS DC	35	35	1225 1225	0 25	0 60	Draw of Lots	0	3
1762	BHARATPUR CITY (WML)	BHARATPUR	Regular Regular	100	Open	CC	20	20	400	25	10	Draw of Lots Bidding	30	5
1764	Within 2 KM from Kunda Tiraha (Bayana WML) FROM RARAH RAILWAY CROSSING TO UP BORDER ON	BHARATPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1765	BHARATPUR MATHURA ROAD ON SH-14 FROM KM STONE 48 TO 52 ON DEEG TO NAGAR	BHARATPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1766	ROAD	BHARATPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1767	IN BETWEEN KM STONE 95 AND 102 ON NH 21 (OLD NH 11)	BHARATPUR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1768	ON NH-123 BETWEEN KM STONE 61 AND 63 ( IN RAJASHTHAN)	BHARATPUR	Regular	150	Open	СС	35	35	1225	25	10	Bidding	30	5
1769	WITHIN 2 KM FROM NAGAR PALIKA OFFICE (WEIR) TOWARDS BHUSAWAR	BHARATPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1770	IN BETWEEN KM STONE 68 AND 73 ON NH 21 (OLD NH 11) (LHS FROM Agra to Jaipur)	BHARATPUR	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1771	IN BETWEEN KM STONE 74 AND 77 ON NH 21 (OLD NH 11)	BHARATPUR	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1772	ON NH-123 BETWEEN KM STONE 55AND 59 ( IN RAJASHTHAN)	BHARATPUR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1773	IN BETWEEN KM STONE 102 AND 110 ON NH 21 (OLD NH 11) (LHS FROM Agra to Jaipur)	BHARATPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1774	Within 3 KM FROM SEWAR TIRAHA TOWARDS BAYANA	BHARATPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1775	WITH IN 3KM FROM HPCL BHARATPUR DEPOT TOWARDS BHARATPUR ON BHARATPUR MATHURA ROAD	BHARATPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1776	BETWEEN HIRADAS Circle AND SARSON ANUSANDHAN KENDRA (Bharatpur WML)	BHARATPUR	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1777	IN BETWEEN KM STONE 57 AND 67 ON NH 21 (OLD NH 11) (LHS FROM Agra to Jaipur)	BHARATPUR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1778 1779	WML of Nagar WITHIN 3 KM FROM COLLECTOR OFFICE MAIN GATE, WML OF	BHARATPUR	Regular	100	SC	CFS DC	20	20	400	0	0	Draw of Lots	0	3
	BHARATPUR	BHARATPUR	Regular		Open		20	20	400		45	Draw of Lots		
1780	WITHIN 3 KM FROM SARAS CHAURAHA, WML OF BHARATPUR Within 1 KM from MSJ College Gate on Madarpur Road (WML	BHARATPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1781 1782	of Bharatpur )	BHARATPUR	Regular	100	Open	DC DC	20 20	20	400	25 25	45 45	Draw of Lots	15	5
1782	Within 2 KM from Jindal Hospital (WML of Bharatpur) IN BETWEEN KM STONE 44 AND 50 ON NH 21 (OLD NH 11) (LHS	BHARATPUR	Regular Regular	100 150	Open Open	DC	35	20 45	400 1575	25	45 75	Draw of Lots Draw of Lots	15 15	5
1784	FROM Agra to Jaipur) Within Brij RIICO industrial Area (Bharatpur WML)	BHARATPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1785	IN BETWEEN KM STONE 50 AND 55 ON NH 21 (OLD NH 11) (LHS FROM Agra to Jaipur)	BHARATPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1786	WITH IN 3 KM FROM DUMARIYA RAILWAY CROSSING TOWARDS BHARATPUR	BHARATPUR	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1787 1788	Within 2 KM from RBM Hospital (Bharatpur WML) WML of Nadbai	BHARATPUR BHARATPUR	Regular Regular	100 100	SC OBC	CFS DC	20 20	20 20	400 400	0 25	0 45	Draw of Lots Draw of Lots	0 15	3 4
1789	Within 2 KM from Bajariya Choraha (Bharatpur WML)	BHARATPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1790 1791	IN BETWEEN KM STONE 78 AND 82 ON NH 21 (OLD NH 11) WML of WEIR	BHARATPUR	Regular	150 100	SC SC	CFS CFS	35 20	45 20	1575 400	0	0	Draw of Lots Draw of Lots	0	3
1/91	WWIL OF WEIK	BHAKATPUK	Regular	100	SL	UPS	20	20	400	U	U	UT a W OT LOTS	U	3

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC COBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1792 1793	FROM KALI KI BAGICHI TIRAHA TO Kumher Gate Choraha (Bharatpur WML) WML OF KUMHER	BHARATPUR	Regular Regular	100	OBC	DC CFS	20 20	20 20	400 400	25 0	45 0	Draw of Lots Draw of Lots	15 0	4
1794 1795	WITH IN 3KM FROM VIJAY HOSPITAL TOWARDS KUMHER ON BHARATPUR KUMHER ROAD	BHARATPUR	Regular	100	OBC SC	DC	35	35	1225	25	60 0	Draw of Lots Draw of Lots	15 0	4
1795	VILLAGE ASTAVAN TEHSIL KUMHER, BHARATPUR IN BETWEEN KM STONE 57 AND 67 ON NH 21 (OLD NH 11) (RHS FROM Agra to Jaipur)	BHARATPUR	Regular Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1797	ON NH-123 BETWEEN KM STONE 65AND 75 ( IN RAJASHTHAN)	BHARATPUR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1798	IN BETWEEN KM STONE 69 AND 71 ON NH 21 (OLD NH 11) (RHS FROM Agra to Jaipur)	BHARATPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1799 1800	Within 6 KM FROM DEEG FORT ENTRANCE GATE TOWARDS GOVARDHAN ON DEEG - GOVARDHAN ROAD WML of Roopbas	BHARATPUR	Regular Regular	100	OBC Open	DC DC	35 20	35 20	1225 400	25 25	60 45	Draw of Lots Draw of Lots	15 15	4
1801	WINE OF ROOP DATA FROM HIRADAS CIRCLE TO KALI KI BAGICHI TIRAHA (Bharatpur WML)	BHARATPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1802 1803	VILLAGE BAND BARETHA, TEHSIL BAYANA Within 8 KM FROM RUDAWAL BUS STAND ON RUDAWAL -	BHARATPUR	Regular	100 100	OBC	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15	4
1803 1804	BANSI PAHADPUR RAOD ROAD WITHIN 5 KMS FROM KUMHER BUS STAND TOWARDS	BHARATPUR	Regular Regular	100	Open CC 1 OBC	DC	35	35	1225	25	60	Draw of Lots Draw of Lots	15 15	5
1805	BHARATPUR ON SH-14 VILLAGE SEEKARI CHAK NO 1 , TESHIL NAGAR	BHARATPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1806 1807	BETWEEN STATE BANK OF INDIA BRAHMBAD AND VILLAGE NAGLA SOOPA ON BAYANA RUDAWAL ROAD	BHARATPUR	Regular	100	SC PH OBC	CFS DC	35 35	35 35	1225 1225	0	0 60	Draw of Lots Draw of Lots	0	3
1807	VILLAGE SEEKARI CHAK NO 2, TEHSIL NAGAR WITHIN 5 KM FROM CHOKENWADA TIRAHA TOWARDS BHUSAWAR	BHARATPUR	Regular Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1809	IN BETWEEN KM STONE 102 AND 110 ON NH 21 (OLD NH 11) (RHS FROM Agra to Jaipur)	BHARATPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1810	WITH IN 2 KM FROM VIJAY HOSPITAL TOWARDS BHARATPUR ON BHARATPUR MATHURA ROAD	BHARATPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1811	WITHIN 3 KM FROM SHRI BAJRANG POLYTECHNIC COLLEGE TOWARDS KUMHER ON DEEG - KUMHER ROAD	BHARATPUR	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1812	WITH IN 2 KM FROM BHARATPUR BYPASS TIRAHA TOWARDS VIJAY HOSPITAL ON BHARATPUR MATHURA ROAD	BHARATPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1813	WITH IN 3 KM DEEG POLICE STATION TOWARDS NAGAR ON DEEG-NAGAR ROAD	BHARATPUR	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1814	WITHIN 2 KM FROM BPCL PETROL PUMP SHRI RAM HARSHAN PETROLEUM BARI TOWARDS BASERI ON BARI BASERI ROAD	BHARATPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1815 1816	WITHIN 7 KM FROM OLD BUS STAND OF SIKARI TOWN NAGAR ON SIKARI NAGAR ROAD VILLAGE PATHENA TEHSIL WEIR	BHARATPUR	Regular Regular	100	Open CC 1 Open CC 2	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
1817	IN BETWEEN KM STONE 44 AND 55 ON NH 21 (OLD NH 11) (RHS FROM Agra to Jaipur)	BHARATPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1818	WML OF DEEG	BHARATPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1819 1820	Within 2 KM From Kali Ki Bagichi Choraha (WML of Bharatpur ) WML of Bhusawar	BHARATPUR	Regular Regular	100 100	Open Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
1821 1822	WML of Kaman Within RIICO industrial Area, Bayana	BHARATPUR BHARATPUR	Regular Regular	100 100	OBC Open	DC DC	20 35	20 35	400 1225	25 25	45 45	Draw of Lots Draw of Lots	15 15	4
1823 1824	VILLAGE PEEPLA, TEHSIL BHARATPUR VILLAGE KOURER(NOT ON HIGHWAY) , TEHSIL DEEG	BHARATPUR BHARATPUR	Rural Rural	50 50	Open SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
1825 1826	VILLAGE POONCHHRI TEHSIL DEEG VILLAGE GULPARA (NOT ON HIGHWAY) ,TEHSIL NAGAR	BHARATPUR BHARATPUR	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 3
1827	VILLAGE JAGHEENA (NOT ON HIGHWAY), TEHSIL BHARATPUR	BHARATPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1828	FROM VILLAGE SARSAINA TO INTERSECTION ON NH-21 ROAD (TEHSIL WEIR)	BHARATPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1829	BETWEEN BALLABHGARH TO GHATRI VILLAGE , TEHSIL WEIR	BHARATPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1830	VILLAGE VAULKHERA (NOT ON HIGHWAY) ,TEHSIL KAMAN	BHARATPUR	Rural	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
1831 1832	VILLAGE KHAN SURJAPUR(NOT ON HIGHWAY) ,TEHSIL RUPBAS VILLAGE KAREELI (NOT ON HIGHWAY) ,TEHSIL NADBAI	BHARATPUR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
1832	VILLAGE RAREELI (NOT ON HIGHWAT), TENSIL NADBAI VILLGAE PAHARI , TEHSIL PAHARI	BHARATPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1834 1835	VILLAGE GOPALGARH (NOT ON HIGHWAY) ,TEHSIL PAHARI VILLAGE NITHAR (NOT ON HIGHWAY) , TEHSIL WEIR	BHARATPUR	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
1835	VILLAGE ITAMADA (NOT ON HIGHWAY) , TEHSIL WEIR	BHARATPUR BHARATPUR BHARATPUR	Rural	50	Open Open	DC DC DC	35	35	1225	12 12 12	30 30 30	Draw of Lots Draw of Lots Draw of Lots	5	4 4 4
1837	VILLAGE AJAN (NOT ON HIGHWAY) ,TEHSIL KUMHER VILLAGE SALEMPUR KALAN (NOT ON HIGHWAY) , TEHSIL WEIR	BHARATPUR	Rural	50	Open Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1839	VILLAGE SAHSAN , TEHSIL PAHARI	BHARATPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1840 1841	VILLAGE DHORMUI(NOT ON HIGHWAY) , TEHSIL BHARATPUR VILLAGE LALEETA MOODIYA TEHSIL WEIR	BHARATPUR	Rural Rural	50 50	Open CC 1 ST	DC CFS	35 35	35 35	1225 1225	12	30 0	Draw of Lots Draw of Lots	5	4
1842	VILLAGE TUHIYA(NOT ON HIGHWAY),TEHSIL BHARATPUR	BHARATPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1843 1844	VILLAGE KHAN KHERA (NOT ON HIGHWAY) , TEHSIL BAYANA VILLAGE FARSO (NOT ON HIGHWAY) , TEHSIL BAYANA	BHARATPUR	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
1845	BETWEEN VILLAGE KHAN AND DANDOO ON SONKH - KUMHER ROAD	BHARATPUR	Rural	50	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
1846	VILLAGE TAMRER(NOT ON HIGHWAY), TEHSIL KUMHER NH 27 BETWEEN KM STONE 1026 AND 1040, RHS FROM BARAN	BHARATPUR	Rural	50	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1847	TO Udaipur NH 52 BETWEEN KM STONE 180 AND 186, LHS FROM JAIPUR TO	BUNDI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1848 1849	KOTA NH 52 BETWEEN KM STONE 210 AND 216, RHS FROM JAIPUR TO	BUNDI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1849	KOTA NH 52 BETWEEN KM STONE 218 AND 221, LHS FROM JAIPUR TO	BUNDI	Regular	150	OBC CC 1 SC	DC CFS	35	45 45	1575	25	75	Draw of Lots Draw of Lots	15 0	4
1850	KOTA SH 24 (SAWAIMADHOPUR TO INDERGARH) BETWEEN KM	BUNDI	Regular Regular	150	sc	CFS	35	45 35	1575	0	0	Draw of Lots	0	3
1851	STONE 97 AND 99 NH 52 BETWEEN KM STONE 188 AND 190, LHS FROM JAIPUR TO	BUNDI	Regular	100	SC Open	CFS	35	45	1225	25	10	Bidding	30	5
1852	KOTA NH 52 BETWEEN KM STONE 213 AND 217, LHS FROM JAIPUR TO	BUNDI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	30 15	5
1854	KOTA Within 1 KM of Samudayak Swastha Kendra Main Gate (Talera	BUNDI	Regular	100	OBC PH	DC	35	35	1225	25	45	Draw of Lots	15	4
10.54	Town)	501151		100								2.24 01 2013		

B         B	S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the n Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
BARANE ADDE WARDER ADDE ADDE ADDE ADDE ADDE ADDE ADDE	1	2	3	Regular /	MS+HSD	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2	CC / DC /	Frontage	B	Area	Estimated working capital requirement for operation	Estimated fund required for development of infrastructure at	Draw of Lots /	11	12
image         junc         junc        junc        junc <th< td=""><td>1855</td><td>SH 29 (BUNDI TO BIJOLIA) BETWEEN KM STONE 121 TO 123</td><td>BUNDI</td><td>Regular</td><td>100</td><td></td><td>СС</td><td>35</td><td>35</td><td>1225</td><td>25</td><td>10</td><td>Bidding</td><td>30</td><td>5</td></th<>	1855	SH 29 (BUNDI TO BIJOLIA) BETWEEN KM STONE 121 TO 123	BUNDI	Regular	100		СС	35	35	1225	25	10	Bidding	30	5
image:         matrix	1856		BUNDI	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
image         image <t< td=""><td>1857</td><td>BETWEEN KM STONE 208 AND 206 ON NH 52, LHS WHILE</td><td>BUNDI</td><td>Regular</td><td>150</td><td>Open</td><td>сс</td><td>35</td><td>45</td><td>1575</td><td>25</td><td>10</td><td>Bidding</td><td>30</td><td>5</td></t<>	1857	BETWEEN KM STONE 208 AND 206 ON NH 52, LHS WHILE	BUNDI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
image         image <t< td=""><td>1858</td><td></td><td>BUNDI</td><td>Regular</td><td>150</td><td>Open CC 1</td><td>DC</td><td>35</td><td>45</td><td>1575</td><td>25</td><td>75</td><td>Draw of Lots</td><td>15</td><td>5</td></t<>	1858		BUNDI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
Image         Image <t< td=""><td>1859</td><td></td><td>BUNDI</td><td>Regular</td><td>100</td><td>Open</td><td>CC</td><td>35</td><td>35</td><td>1225</td><td>25</td><td>10</td><td>Bidding</td><td>30</td><td>5</td></t<>	1859		BUNDI	Regular	100	Open	CC	35	35	1225	25	10	Bidding	30	5
Indication of the second of the se	1860		BUNDI	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
and matrixerymatrix matrixerymatrix 				-											
image description		HIGHWAY)												-	
matrixmatr		Main Road (Sumerganj Mandi)													
image:matrixmatr		, ,													
10010		148D/NH52											-		
DB         Description of a set o	1867	WML of KESHORAIPATAN	BUNDI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
111111100 </td <td>1869</td> <td>VILLAGE LALPURA ON SH 1</td> <td>BUNDI</td> <td>Regular</td> <td>100</td> <td>SC</td> <td>CFS</td> <td>35</td> <td>35</td> <td>1225</td> <td>0</td> <td>0</td> <td>Draw of Lots</td> <td>0</td> <td>3</td>	1869	VILLAGE LALPURA ON SH 1	BUNDI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
International operational symbol (2000)         International (2000) <thinternational (2000)<="" th="">         International (2000)</thinternational>															
impi															
101010100101000101000 <t< td=""><td>1873</td><td></td><td>BUNDI</td><td>Regular</td><td>150</td><td>Open</td><td>сс</td><td>35</td><td>45</td><td>1575</td><td>25</td><td>10</td><td>Bidding</td><td>30</td><td>5</td></t<>	1873		BUNDI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1770.1140.1140.1000		Within Hatipura RIICO Industrical Area Bundi													
Instrument of the set of t	1876	On NH 148D, Between KM Stone 225 and KM Stone 230	BUNDI	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
10001010101444101444101101	1878	BETWEEN KM STONE 51 & 54 ON SH 29	BUNDI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
13211340134013601	1880	VILLAGE GENDOLI ON SH 37A BUNDI	BUNDI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
International set of		VILLAGE BABAI ON SAWAIMADHOPUR TO INDERGARH ROAD													
Image	1883	BETWEEN KM STONE 24 & 27 ON SH 1	BUNDI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
insert         Local Lasked Lasked Tarley at Figure Action of Tarley Action		TO Udaipur													
Image: Model (and and and and and and and and and and		VILLAGE LESARDA ON SH 34 TEHSIL KESORAIPATAN													
1989         Num of Lakeria         Num of Lakeria <td></td> <td>TO Udaipur</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td>		TO Udaipur										-			
Hard         From Nature 5: School to M152 on Bipping Rood [Lund W1AL]         Humber         Bipping         Disping         Disping <thdisping< th=""> <thdisping< th="">         Disp</thdisping<></thdisping<>	1889	WML of Lakheri	BUNDI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
19.10         Uniform Somanyle Skatca to Nagerfor (MAL of N				-											
Initial and prime inform information (Construction) Market (Const	1892	LHS from Samudyek Swastik Kentra to Nagarfort (WML of			100		DC		20	400					
Basery Station Model (unsigner WMAL)         Bunno         Register         100         Other         other         1300         130         130         1300	1893	Within 1 KM from Indragarh Old Bus Stand on Sumerganj Mandi													
1989         On NH 440, Persoent MS 50ne 235 and LS 50me 24         UPUID         Regular         190         197         197         123 <th< td=""><td></td><td>On NH 148D, Between KM Stone 211 and KM Stone 218</td><td></td><td>Regular</td><td></td><td>OBC</td><td></td><td></td><td></td><td></td><td>25</td><td></td><td>Draw of Lots</td><td></td><td>4</td></th<>		On NH 148D, Between KM Stone 211 and KM Stone 218		Regular		OBC					25		Draw of Lots		4
1499         KDA         100 MU         Negure         1.50         Open         0.50         1.50         1.50         0.50        <		On NH 148D, Between KM Stone 235 and KM Stone 242													
1399       Within 2 kM of tariyal Marriage Garden (Bundi WAIL)       BUNDI       Regular       100       Open       DC       200       200       400       25       45       Draw of Lots       15       5         1300       On NH 1480, Between MA Mone 184 and MM Stone 184       BUNDI       Regular       100       OBC       DC       120       20       400       25       45       Draw of Lots       15       4         1300       On NH 1480, Between MA Mone 184 and MM Stone 184       BUNDI       Regular       100       OBC       DC       20       400       25       45       Draw of Lots       15       4         1300       Within 1 Mor of KARALAN UNUSESHAK KISHI OFFCE       BUNDI       Regular       150       Open       CC       20       400       255       45       Draw of Lots       Draw of Lots       15       5         1300       Within 1 Mor of KARALAN UNUSESHAK KISHI OFFCE       BUNDI       Regular       150       Open       CC       20       20       400       255       45       Draw of Lots       30       5         1300       Kith 2 Morrie Mathine Stel Dana Man Stel Dana	1897		BUNDI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1990         On NH 143B, Between MA Stone 184 of M Stone 186         BUNDI         Regular         100         0 C         20         20         400         225         450         Draw oftots         10           1901         With 15M of MARYALAN UNDESHAK MISH OFFICE         BUNDI         Regular         100         Open         CC         20         20         400         25         450         Draw oftots         15         4           1901         With 15M of KARYALAN UNDESHAK MISH OFFICE         BUNDI         Regular         100         Open         CC         20         400         25         450         Draw oftots         15         4           1901         With 15M of KARYALAN UNDESHAK MISH OFFICE         BUNDI         Regular         150         Open         CC         20         400         25         450         Draw of Lots         150         5           190         NH 27 BETWEEK MASTONE 13A AND 125, RHS FROM AIPURTO         BUNDI         Regular         150         Open         CC         20         400         25         10         Bidding         30         5           405         BETWEEK MASTONE 13A AND 125, RHS FROM AIPURTO         BUNDI         Regular         100         Open         CC         20															
1910         Writhin 1 KM of KAWALAN UPPUICESHAK KRISH OFFICE         BUNDI         Regular         100         Open         CC         20         400         25         100         Bidding         300         5           190         MUX BETWEEN MATONE 100 AND 1052, RES FROM BARAN         BUNDI         Regular         150         Open         DC         35         45         1575         255         75         Draw of Lots         100         30           190         MUX BETWEEN MATONE 100 AND 1052, RES FROM BARAN         BUNDI         Regular         1500         ST         CFS         35         455         1575         0         0         Draw of Lots         0.0         33           190         NF 32 RETWEEN MA STORE 22A and 232, LIES FROM MAPUR TO         BUNDI         Regular         1500         Open         CC         20         400         25         100         Bidding         300         5           1900         NF152 RETWEEN MASTORE 23A and 240, RES FROM JAIPUR TO         BUNDI         Regular         100         Open         CC         20         400         25         100         Bidding         300         5           1900         Writhin 1 KM from Shandor Singh Circle on Naimwa Road         BUNDI         Regular <t< td=""><td>1900</td><td>On NH 148D, Between KM Stone 184 and KM Stone 186</td><td>BUNDI</td><td>Regular</td><td>150</td><td>ST</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td>Draw of Lots</td><td>0</td><td>3</td></t<>	1900	On NH 148D, Between KM Stone 184 and KM Stone 186	BUNDI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
Interview Missener Missen		Within 1 KM of KARYALAYA UPNIDESHAK KRISHI OFFICE													
TO Udaigur         To Udaigur <thto th="" udaigur<="">         To Udaigur         To Udaig</thto>		NH 27 BETWEEN KM STONE 1040 AND 1052, RHS FROM BARAN		-									-		
KOTA         KOTA         Co         Co <th< td=""><td></td><td>NH 52 BETWEEN KM STONE 173 AND 175, RHS FROM JAIPUR TO</td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>		NH 52 BETWEEN KM STONE 173 AND 175, RHS FROM JAIPUR TO		-											
KOTA         KOTA         Image: Constrained and Main Gate (Dhan Mandi)         BUNDI         Regular         100         Open         CC         200         200         250         100         Bidding         300         5           1900         Within 2 KM from Grain Mandi Main Gate (Dhan Mandi)         BUNDI         Regular         150         Open         CC         20         400         25         100         Bidding         300         5           1907         M152 Between KM Stone 23A nd 240, RHS FROM JAUPUR TO (Bundi WAL)         BUNDI         Regular         100         Open         CC         20         400         255         100         Bidding         300         5           1908         Within 1 KM from Bahadoor Singh Circle on Nainwa Road         BUNDI         Regular         100         Open         CC         20         400         255         100         Bidding         300         5           1909         Within 1 KM from Shree Agreesen Sewa Sansthan (Bundi WAL)         BUNDI         Regular         100         Open         CC         20         400         255         100         Bidding         300         5           1910         VILLAGE BAAK KHER ON SH (2EXTA ITAWA ROAD)         BUNDI         Regular         100		NH 52 Between KM Stone 222 And 232 , LHS FROM JAIPUR TO													
towards Bundl (Bundl WML)         toward (		Within 2 KM from Grain Mandi Main Gate (Dhan Mandi)													
Inslawer         Indiawer		NH 52 Between KM Stone 238 And 240, RHS FROM JAIPUR TO													
(Bundi WML)		Within 1 KM from Bahadoor Singh Circle on Nainwa Road													
Initial of the second													-		
Image: Normal state of the state o				-									ů		
IndexIndexRegularIndoRegularIndoOpenDrIndo	1911		BUNDI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1914SH 29 (BUNDI TO BIJOLIA) BETWEEN KM STONE 109 TO 115BUNDIRegular100STCFS3535122500Draw of Lots0331915VILLAGE DEI KHEDA ON SH 33 (LALSOT- KOTA MEGA HIGHWAY)BUNDIRegular100OBCDC3535122525600Draw of Lots1541916SH 29 (KHATGARH TO LAKHERI) BETWEEN KM STONE 62 AND 64BUNDIRegular100OpenDC35351225255600Draw of Lots155551917BUNDI WML : FROM AHINSA CIRCLE TO SECRETARIAT CIRCLEBUNDIRegular100OpenDC2020400255455Draw of Lots155551918BUNDI WML : FROM B MAMBEDKAR CIRCLE TO KARYALAYA UPNIDESHAK KRISHI OFFICE ON SEELOR NOADBUNDIRegular100OpenDC2020400255455Draw of Lots155551919BUNDI WML : FROM BMAMEDKAR CIRCLE TO KARYALAYA UPNIDESHAK KRISHI OFFICE ON SEELOR NOADBUNDIRegular100OpenDC2020400255455Draw of Lots155551919BUNDI WML : FROM BMAMEDKAR CIRCLE TO KARYALAYA UPNIDESHAK KRISHI OFFICE ON SEELOR NOADBUNDIRegular100OpenDC2020400255455Draw of Lots155551919BUNDI WML : FROM BMAMEDKAR CIRCLE TO KARYALAYA 		JAIPUR TO KOTA													
Image: Normal and the state of the stat															
Image: Note of the state o															
1919       BUNDI WML : FROM AHINSA CIRCLE TO SECRETARIAT CIRCLE       BUNDI       Regular       100       Open       DC       20       400       Z5       45       Draw of Lots       15       5         1918       BUNDI WML : FROM AHINSA CIRCLE TO SECRETARIAT CIRCLE       BUNDI       Regular       100       Open       DC       20       400       25       45       Draw of Lots       15       5         1918       BUNDI WML : FROM AHINSA CIRCLE TO KARYALAYA       BUNDI       Regular       100       Open       DC       20       20       400       25       45       Draw of Lots       15       5         1919       BUNDI WML       BUNDI       Regular       100       Open       DC       20       20       400       25       45       Draw of Lots       15       5															
BUNDI WML : FROM B MAMBEDKAR CIRCLE TO KARYALAYA         BUNDI         Regular         100         Open         DC         20         400         25         45         Draw of Lots         15         5           1919         BUNDI WML         BUNDI         Regular         100         Open         DC         20         400         25         45         Draw of Lots         15         5		, ,													
1918         UPNIDESHAK KRISHI OFFICE ON SEELOR ROAD         BUNDI         Regular         100         Open         DC         20         400         25         45         Draw of Lots         15         5           1919         BUNDI WML         BUNDI         Regular         100         Open         DC         20         400         25         45         Draw of Lots         15         5	1917		BUNDI	кegular	100	Upen	DC	20	20	400	25	45	uraw of Lots	15	5
	1918		BUNDI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1720 JST 34 JUELLO IVAINWAJ BELWEEN KINI STONE 55 AND 57 J BUINDE KREDIAL TO UNDER DUCLE UDV UNDER DUCLE 35 1 35 1 325 1 275 1 60 1 Draw of Lots 1 15 1 4		BUNDI WML SH 34 (DEI TO NAINWA) BETWEEN KM STONE 55 AND 57	BUNDI BUNDI	Regular Regular	100 100	Open OBC	DC DC	20 35	20 35	400 1225	25 25	45 60	Draw of Lots Draw of Lots	15 15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
1921 1922	WML INDERGARH VILLAGE NAYAGAON ON SH 1 (LALSOT- KOTA MEGA HIGHWAY)	BUNDI	Regular Regular	100	Open Open CC 1	DC DC	20 35	20 35	400	25 25	45 60	Draw of Lots Draw of Lots	15	5
1923	SH 29B (BUNDI TO SEELOR) BETWEEN KM STONE 1 AND 6	BUNDI	Regular	100	Open cc 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1924	VILLAGE HINDOLI ON OLD NH 12 PASSING THROUGH TOWN HINDOLI	BUNDI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1925 1926	WITHIN 2 KM FROM KOTA BYPASS ON OLD NH-12 VILLAGE RANIPURA TEHSIL HINDOLI	BUNDI BUNDI	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
1927	JHALAJI KA BARAN TO GENDOLI BETWEEN KM STONE 14 AND	BUNDI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1928	KHERI TO SAHAN (INCLUDING BOTH REVENUE VILLAGE), TEHSIL NAINWA	BUNDI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1929 1930	VILLAGE DUGARI TEHSIL NAINWA VILLAGE BARODIYA TEHSIL HINDOLI	BUNDI BUNDI	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 4
1930	Village Mooi Within 1 Km of Pratap Circle Towards Kamleshwar	BUNDI	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1932	Mahadev Temple Tehsil Indergarh VILLAGE JAJWAR ON DOONI-ANWA-NAINWA ROAD (MDR 52)	BUNDI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1933	VILLAGE TEERATH ON MDR-52 TEHSIL BUNDI	BUNDI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1934 1935	VILLAGE HINGONIYA TEHSIL KESHORAIPATAN VILLAGE BATOONDA TEHSIL BUNDI	BUNDI BUNDI	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5 5	4 4
1936 1937	VILLAGE CHHAPWADA TEHSIL BUNDI VILLAGE ALOD TEHSIL HINDOLI	BUNDI BUNDI	Rural Rural	50 50	Open SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4 2
1938 1939	VILLAGE GARDARA TEHSIL BUNDI VILLAGE CHATARGANJ TEHSIL HINDOLI	BUNDI BUNDI	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
1940	VILLAGE CHARAGAN TENSE INDOLI ON MDR 52 BAHADUR SINGH CIRCLE TO MATUNDA CHOURAHA ON BUNDI	BUNDI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1941 1942	NAINWA ROAD (Outside Bundi WML) VILLAGE TOPA TEHSIL HINDOLION MDR 52	BUNDI BUNDI	Rural Rural	50 50	Open Open	CC DC	35 35	35 35	1225 1225	12 12	5	Bidding Draw of Lots	10 5	4
1943	VILLAGE THEEKARDA, TEHSIL HINDOLI (NOT ON NH)	BUNDI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1944 1945	KM STONE 2 TO 5 ON MATUNDA ROAD, BUNDI VILLAGE SATHOOR, TEHSIL HINDOLI (NOT ON NH)	BUNDI BUNDI	Rural Rural	50 50	ST SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
1946 1947	VILLAGE SEELOR ON BUNDI-SEELOR ROAD TEHSIL BUNDI WITHIN 2KM OF VIVEKANAND CIRCLE (DEI), RHS TOWARDS	BUNDI	Rural Rural	50 50	Open Open	DC DC	35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
1948	BANSI KM STONE 7 TO 10 ON MATUNDA ROAD, BUNDI	BUNDI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1949 1950	VILLAGE SUMERGANJ MANDI TEHSIL INDERGARH VILLAGE TALERA TEHSIL BUNDI NOT ON NH 12	BUNDI BUNDI	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
1951 1952	VILLAGE MANGLI TEHSIL HINDOLI BETWEEN KM STONE 7 TO 10 ON SH-43	BUNDI DHOLPUR	Rural Regular	50 100	Open OBC	DC CC	35	35	1225	12	30 10	Draw of Lots Bidding	5 30	4 4
1953 1954	ON NH-123 BETWEEN KM STONE 15 AND 19	DHOLPUR	Regular	150 150	SC OBC	CFS DC	35	35 35	1225	0 25	0 75	Draw of Lots Draw of Lots	0	3 4
1954	ON NH-11B FROM KM STONE 160-163 ON NH-3 BETWEEN KM STONE 35 AND 38 (RHS from Agra to	DHOLPUR	Regular Regular	150	Open	cc	35	45	1225	25	10	Bidding	30	5
1956	Gwalior) ON NH-11B FROM KM STONE 116 TO 118	DHOLPUR	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
1957 1958	ON NH-123 BETWEEN KM STONE 4 AND 6 ON NH-11B FROM KM STONE 167-170	DHOLPUR DHOLPUR	Regular Regular	150 150	SC OBC	CFS DC	35 35	35 35	1225 1225	0 25	0 75	Draw of Lots Draw of Lots	0 15	3 4
1959	ON NH-3 BETWEEN KM STONE 46 AND 48 (LHS From Agra to Gwalior)	DHOLPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1960	Within 2 KM of State Bank of India Sarmathura (Sarmathura Town)	DHOLPUR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
1961	ON NH-11B FROM KM STONE 164-166	DHOLPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1962	In Between Gulab Choraha to Jila Parishad (Dholpur WML)	DHOLPUR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
1963	In Between Railway Station to Jagan Choraha (Dholpur WML) In Between Water Work Choraha to Dholpur Post Office	DHOLPUR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
1964 1965	(Dholpur WML) ON NH-11B FROM KM STONE 129-131	DHOLPUR	Regular Regular	100 150	Open Open	CC CC	20 35	20 35	400 1225	25 25	10	Bidding Bidding	30 30	5
1966 1967	ON NH-11B FROM KM STONE 137-139	DHOLPUR	Regular	150 150	Open	DC DC	35	35	1225	25	75	Draw of Lots	15	5
1968	ON NH-11B FROM KM STONE 152-155 Between Jagdish talkies Tiraha and Pachgaon Police Chauki	DHOLPUR	Regular Regular	100	Open Open	СС	20	20	400	25	10	Draw of Lots Bidding	30	5
1969	(WML Dholpur) Within Odela RIICO Industraial Area (Dholpur WML)	DHOLPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1970 1971	ON NH-123 BETWEEN KM STONE 1 AND 3 Within 2 KM from Bari roadways bus Stand (Bari WML)	DHOLPUR DHOLPUR	Regular Regular	150 100	OBC CC 1 SC	DC CFS	35 20	35 20	1225 400	25 0	75 0	Draw of Lots Draw of Lots	15 0	4 3
1972	WITHIN 3 KM FROM GUMAT POLICE CHOWKI ON BARI SEPAU ROAD	DHOLPUR	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
1973 1974	WML of Rajakhera Within 2 KM of Sepau Police Station (Sepau Town)	DHOLPUR DHOLPUR	Regular Regular	100 100	OBC OBC	DC DC	20 35	20 35	400 1225	25 25	45 45	Draw of Lots Draw of Lots	15 15	4 4
1975 1976	DHOLPUR CITY (WML) WML of Bari	DHOLPUR DHOLPUR	Regular Regular	100 100	Open OBC	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 4
1977 1978	ON NH-11B FROM KM STONE 110-115 WITHIN 3 KM FROM KANCHANPUR POLICE STATION	DHOLPUR	Regular Regular	150 100	OBC OBC	DC DC	35 35	35 35	1225 1225	25 25	75 60	Draw of Lots Draw of Lots	15 15	4
1979	WITHIN 3 KM FROM SEPAU CHOURAHA ON SEPAU - BARI ROAD	DHOLPUR	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1980 1981	ON NH-3 BETWEEN KM STONE 54 AND 59 Within 2 KM of State Bank of India Baseri (Baseri Town)	DHOLPUR	Regular Regular	150 100	Open ST	DC CFS	35 35	45 35	1575 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	5
1981	ON NH-11B FROM KM STONE 172-182	DHOLPUR	Regular	100	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1983	Within Growth Centre RIICO Industraial Area (Dholpur WML)	DHOLPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1984	Between Gulab Bagh Choraha to Sabji Mandi (WML Dholpur)	DHOLPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1985	BETWEEN VILLAGE BASAI NAWAB AND VILLAGE BADRIKA TOWARDS MANIA	DHOLPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1986 1987	VILLAGE JARGA (NOT ON HIGHWAY) ,TEHSIL BASERI VILLAGE ALIGARH( NOT ON HIGHWAY), TEHSIL BARI	DHOLPUR DHOLPUR	Rural Rural	50 50	ST OBC	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2
1988 1989	VILLAGE TAJPUR (NOT ON HIGHWAY) ,TEHSIL BASERI VILLAGE ADAMPUR ( NOT ON HIGHWAY), TEHSIL BARI	DHOLPUR DHOLPUR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 4
1990	VILLAGE BASAI NAWAB (NOT ON HIGHWAY) ,TEHSIL SEPAU	DHOLPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1991	VILLAGE MALANI KHURD (NOT ON HIGHWAY) ,TEHSIL SEPAU	DHOLPUR	Rural	50	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
1992 1993	VILLAGE KOLARI (NOT ON HIGHWAY) ,TEHSIL SEPAU Between KM Stone 346-348 on NH52	DHOLPUR JHALAWAR	Rural Regular	50 150	Open CC 1 ST	DC CFS	35 35	35 45	1225 1575	12 0	30 0	Draw of Lots Draw of Lots	5	4
1993	Between km stone 361-365 on NH52 (RHS from Kota to	JHALAWAR	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
1995	Jhalawar) Between km stone 361-365 on NH52 (LHS from Kota to	JHALAWAR	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1996	Jhalawar) ON HIGHWAY, BETWEEN VILLAGE MOTYA DOONGRI TO	JHALAWAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1997	VILLAGE RICHHWA WITHIN 4 KM FROM MANOHARTHANA BUS STAND TOWARDS	JHALAWAR	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
1.557	AKLERA ON SH37A			100		0.5				Ÿ	Ÿ	2.2.0 0. 20(3	Ĭ	<u> </u>

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CPH OPEN OPEN CC-2 OPEN CC-2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1008	On CH 274, Datum Million Hannanda Chatti and Thackelar		Degular	100	OPEN PH	CEE	25	25	1225	0	0	Draw of Late	0	2
1998 1999	On SH 37A, Between Village Harnawada Shahji and Theekriya	JHALAWAR	Regular	100	SC OBC	CFS DC	35 35	35 35	1225 1225	25	0 60	Draw of Lots Draw of Lots		3
2000	BETWEEN KM STONE 1 & 3 ON SH19B WML of Aklera	JHALAWAR JHALAWAR	Regular Regular	100 100	SC	CFS	20	20	400	0	0	Draw of Lots Draw of Lots	15 0	3
2001	On NH 52 Byepass Within Jhalawar City Between Shubhash Choraha and Sunwasara Tiraha (Gangdhar	JHALAWAR	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
2002	City)	JHALAWAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2003	ON LHS From Mama Bhanja choraha towards Kota (WML of Jhalawar)	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2004	From Khandiya Choraha towards Jhalarapatan (WML of	JHALAWAR	Regular	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
2005	Jhalawar) SDM TIRAHA TO GOPAL GAUSHALA TIRAHA ON BHAWANIMANDI BYPASS (SH 19A on RHS between KM 42 and 431	JHALAWAR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2006	43) ON KHANPUR BYPASS BETWEEN KM STONE 42-44 ON LHS	JHALAWAR	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
2006	FROM BARAN TO JHALAWAR between km stone 368-373 on NH52	JHALAWAR	Regular Regular	100	Open Open	CC	35	35 45	1225	25	10	Bidding	30	5
2007	BETWEEN KM 116 TO 115 ON SH19A, ON RHS FROM	JHALAWAR	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
	DHUDELIYA TO DUG JHALAWAR WML : From Majdoor Choraha to intersection of SH-											-		
2009	1 on Saket Nagar Road	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2010 2011	Jhalawar WML Between KM Stone 345-349 on NH52	JHALAWAR JHALAWAR	Regular Regular	100 150	Open ST	CC CFS	20 35	20 45	400 1575	25 0	10 0	Bidding Draw of Lots	30 0	5
2012	Between KM Stone 101 & 102 on SH 19A, (LHS, From Dug to	JHALAWAR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2013	Bhawanimandi) Between KM Stone 33 to 36 on SH37A (Aklera - Manoharthana	JHALAWAR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2013	Road) WML of Jhalarapatan	JHALAWAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2015	WITHIN 5 KM OF SAROLAKALAN UPTEHSIL OFFICE ON	JHALAWAR	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
2015	SAROLAKALAN ARNIYA ROAD SH 74 between km stone 381-391 on NH52	JHALAWAR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2017	Between Sabji Mandi Choraha and Neelkant Mukti Dham in	JHALAWAR	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
2018	Bhawanimandi On NH 52 WITHIN JHALAWAR DISTRICT	JHALAWAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2019	WITHIN 2 KM FROM GOMTI NAGAR TIRAHA TOWARDS	JHALAWAR	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
2020	RAILWAY UNDERPASS, JHALARAPATAN WML of Pirawa	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2021	Within 2 KM from Saat Dram Choraha (WML of Pirawa) BETWEEN KM STONE 3 & 9 ON SH 89 (MANDAWAR TO BAKANI	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2022	ROAD )	JHALAWAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2023	LADPURIYA TO MP BORDER ON SH 37 A (MANOHARTHANA TO MP)	JHALAWAR	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
2024	Bhawanimandi WML Within 2 KM from Jhalarapatan tehsil office on Bhawanimani	JHALAWAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2025	Road (Jhalarapatan WML)	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2026 2027	On SH 19A, Between Bhawani Mandi and Mahudiya between km stone 392-400 on NH52	JHALAWAR JHALAWAR	Regular Regular	100 150	ST Open	CFS DC	35 35	35 45	1225 1575	0 25	0 75	Draw of Lots Draw of Lots	0 15	3
2028	Within RIICO industrial Area, Bhawanimandi	JHALAWAR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
2029	BETWEEN KM STONE 39 AND 41 ON KHANPUR - BARAN MEGA HIGHWAY	JHALAWAR	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
2030 2031	Within 2 KM From Dug Police Station towards Chomehal (Dug Town) Between km stone 353-358 on NH52	JHALAWAR	Regular Regular	100 150	OBC Open	DC DC	35 35	35 45	1225 1575	25 25	45 75	Draw of Lots Draw of Lots	15 15	4
2031	Within 2 KM from Raipur bus stand in Raipur Town (Not on	JHALAWAR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
2032	Highway) Jhalawar WML	JHALAWAR	Regular	100	SC	CFS	20	20	400	0	45	Draw of Lots	0	3
2034	Within RIICO industrial Area, Jhalawar	JHALAWAR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
2035 2036	WML of Chhabra WML of Antah	BARAN JHALAWAR	Regular Regular	100 100	Open Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 5
2037	JHALAWAR CITY, WITHIN 2 KMS FROM JHALAWAR BUS STAND	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2038	CHAURAHA (NOT ON NH) From Jhalarapatan Police Station towards khedapati hanuman	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	mandir (WML of Jhalarapatan) From Jhalarapatan Police Station towards Jhalawar (WML of													
2039	Jhalarapatan)	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2040	Between Mama Bhanja choraha and Khandiya Choraha (WML of Jhalawar)	JHALAWAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2041 2042	Within 2 KM of Gram Panchayat Bhawan (Bakani Town) WML of Jhalarapatan	JHALAWAR JHALAWAR	Regular Regular	100 100	Open CC 1 Open	DC DC	35 20	35 20	1225 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
2042	Within 2 KM of Krishi Upaj Mandi (Khanpur Town)	JHALAWAR	Regular	100	ST	CFS	35	35	1225	0	45	Draw of Lots Draw of Lots	0	3
2044	ON RHS From Mama Bhanja choraha towards Kota (WML of Jhalawar)	JHALAWAR	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
2045	Within 2 KM of Manoharthan Post Office (Manoharthana Town)	JHALAWAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2046	VILLAGE BARKHEDA , TEHSIL - JHALARAPATAN	JHALAWAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2047	Village Taraj (Not on highway)	JHALAWAR	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
2048 2049	BETWEEN KM STONE 8 TO 10 ON MDR 179 Village Bhalta (Not on highway)	JHALAWAR JHALAWAR	Rural Rural	50 50	Open Open PH	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5 5	4 4
2050	CHHOTI SUNEL, TEHSIL-PIDAWA Between KM Stone 0 to 3 on MDR 179 (Jhalarapatan Sunel	JHALAWAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2051	Road)	JHALAWAR	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
2052	Village Ghatoli (Not on highway)	JHALAWAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2053	BETWEEN KM Stone 6 TO 10 ON JHALRAPATAN -SUNEL ROAD	JHALAWAR	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
2054 2055	Between KM Stone 18 to 21 on MDR 226 CHURELIYA TO MP BORDER	JHALAWAR JHALAWAR	Rural Rural	50 50	OBC OBC CC 1	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3
2056	Village Raipur (Not on highway) BETWEEN KM STONE 4 TO 9 ON SUNEL PIRAWA ROAD ON MDR	JHALAWAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2057	42	JHALAWAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2058 2059	VILLAGE LAHAS DIST. JHALAWAR VILLAGE RATLAI DIST JHALAWAR	JHALAWAR JHALAWAR	Rural Rural	50 50	OBC ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
2060	Village Asnawar (Not on highway)	JHALAWAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2061 2062	village Sumar (Not on highway) Village Panwar (Not on highway)	JHALAWAR JHALAWAR	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
2063	IN BETWEEN KM STONE 356 & 361 ON SH-1 (HINDAUN TO	KARAULI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	GANGAPUR CITY ROAD) FROM BAYANA MOD TOWARDS BAYANA (WML OF HINDAUN													
2064 2065	CITY) Karauli WML	KARAULI	Regular Regular	100 100	Open CC 2 Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
2065	BETWEEN KM STONE 100 & 106 ON NH-11B	KARAULI	Regular	100	OBC	DC	35	35	1225	25	45 75	Draw of Lots Draw of Lots	15	4
2067	VILLAGE GHONSLA ON SH-22, RHS, HINDAUN TO MAHUWA ROAD	KARAULI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
														I

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
2068	BETWEEN KM STONE 45 & 48 ON SH-25 (SIKANDARA TO NADOTI ROAD)	KARAULI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2069	Within 1 km of Todabhim Government hospital,WML Todabhim	KARAULI	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2070	Within 1 km of Todabhim power house,WML Todabhim VILLAGE BALLOOPURA TO VILLAGE RUGGAPURA (INCLUDING	KARAULI	Regular	100	SC PH OBC	CFS CC	20	20	400	0	0	Draw of Lots	0	3
2071 2072	BOTH VILLAGES) ON SH-22 IN BETWEEN KM STONE 69 & 75 ON NH-11B	KARAULI	Regular Regular	100 150	SC	CFS	35 35	35 35	1225 1225	25	0	Bidding Draw of Lots	30 0	3
2073	WITHIN 2 KMS FROM PUNJAB NATIONAL BANK, GUDACHANDRA JI ON SH-25 (SIKANDRA TO NADOTI ROAD)	KARAULI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2074	BETWEEN KM STONE 51 & 54 ON SH-22 (KARAULI TO HINDAUN ROAD)	KARAULI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2075	Between KM Stone 59 & 63 on NH 11B (RHS from Gangapur City to Karauli)	KARAULI	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2076	Between KM Stone 23 & 31 on SH-22 (Karauli to Mandrayal Road)	KARAULI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2077	WITHIN 4 KMS FROM SHRI GANESHAM RESORT TOWARDS KARAULI WITHIN KM STONE 204 & 207 ON SH-25 (SIKANDARA TO	KARAULI	Regular	100	Open	DC CFS	35	35	1225	25 0	60	Draw of Lots	15	5
2078	NADOTI ROAD) BETWEEN KM STONE 383 & 387 ON SH-1 (HINDAUN TO BAYANA	KARAULI	Regular	100	SC		35	35	1225		0	Draw of Lots	0	3
2079	ROAD) WITHIN 5 KMS FROM KARAULI BUS STAND ON SH-22 FROM	KARAULI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2080 2081	KARAULI TO MANDRAYAL ROAD BETWEEN KM STONE 378 TO 380 ON SH 1	KARAULI	Regular Regular	100	Open Open	DC CC	35 35	35 35	1225 1225	25 25	60 10	Draw of Lots Bidding	15 30	5
2082	On Hindaun Karauli Bypass (WML of Hindaun City) Within 1 KM from Surajmal Jatt Stadium main gate towads	KARAULI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2083 2084	Bayana (WML of Hindaun) VIILAGE RODHAI TEHSIL MANDRAYAL ON HIGHWAY)	KARAULI	Regular Regular	100	Open ST	CC CFS	20 35	20 35	400 1225	25	10	Bidding Draw of Lots	30 0	5
2085	From Chaupad Circle to Sunny Resort (WML of Hindaun City)	KARAULI	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2086	Within 2 KM from New Anaj Mandi (WML of Hindaun City)	KARAULI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2087 2088	Within 1 km of karauli city post office,WML karauli VIILAGE Bhankari TEHSIL MANDRAYAL ON HIGHWAY)	KARAULI KARAULI	Regular Regular	100 100	SC ST	CFS CFS	20 35	20 35	400 1225	0	0	Draw of Lots Draw of Lots	0	3
2089	VIILAGE SUROTH TEHSIL HINDAUN ON HIGHWAY ON HINDAUN KARAULI ROAD SH-22 BETWEEN KM STONE 49	KARAULI	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2090 2091	VIILAGE MANDRAYAL TEHSIL MANDRAYAL ON HIGHWAY)	KARAULI	Regular Regular	100 100	ST ST PH	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
2092 2093	Within RIICO industrial Area Hindaun City	KARAULI	Regular Regular	100	SC CC 1 SC	CFS	20	20 35	400	0	0	Draw of Lots Draw of Lots	0	3
2094 2095	Within 1 KM of Hotel Amrit (WML of Karauli) Between KM Stone 86 & 89 on NH 11B	KARAULI	Regular Regular	100	SC ST SC	CFS	20	20	400	0	0	Draw of Lots Draw of Lots Draw of Lots	0	3
2095	Village Manch on NH 11B	KARAULI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2097 2098	Village Mahua Kheda on NH 11B (Karauli to Dholpur Road) Between KM Stone 90 & 95 on NH 11B	KARAULI	Regular Regular	150 150	Open ST	CC CFS	35 35	35 35	1225 1225	25 0	10	Bidding Draw of Lots	30 0	5
2098	WML OF KARAULI CITY FROM KM STONE 85 TOWARDS DHOLPUR ON NH-11B	KARAULI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2100 2101	Within 1 KM from Trilok Chand Stadium, Karauli WML Hindaun City WML	KARAULI KARAULI	Regular Regular	100 100	Open SC	DC CFS	20 20	20 20	400 400	25 0	45 0	Draw of Lots Draw of Lots	15 0	5
2102	Within 2 KM from RSRTC Bus Stand (WML of Karauli)	KARAULI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2103	Village Mahamadpur on NH 11B (Gangapur to Karauli Road)	KARAULI	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2104 2105	IN BETWEEN KM STONE 78 & 83 ON NH-11B (Gangapur to Karauli Road)	KARAULI	Regular	150 100	OBC OBC	DC DC	35	35	1225	25	75	Draw of Lots Draw of Lots	15	4
2105	VIILAGE KHERA TEHSIL HINDAUN ON HIGHWAY VIILAGE DHINDHORA TEHSIL HINDAUN ON HIGHWAY WML OF HINDAUN : FROM ROB CROSSING ON RHS TOWARDS	KARAULI	Regular Regular	100	SC	CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots	15 0	3
2107	MAHUWA ON SH-22	KARAULI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2108 2109	VILLAGE BASERI TO VILLAGE TODOOPURA (INCLUDING BOTH VILLAGES) ON SH-22	KARAULI	Regular Regular	100 100	SC ST	CFS CFS	35 20	35 20	1225 400	0	0	Draw of Lots Draw of Lots	0	3
2109	Karauli WML WITHIN MUNICIPAL LIMITS OF KARAULI CITY ON MANDRAYAL	KARAULI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2111	ROAD Between KM Stone 59 & 63 on NH 11B (LHS from Gangapur City to Karauli)	KARAULI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2112	to Karauli) WITHIN 3KMS FROM HINDAUN RAILWAY STATION TOWARDS BAJNA ON HINDAUN BAJNA ROAD	KARAULI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2113	BAJNA ON HINDAUN BAJNA ROAD FROM GOVT SR SEC SCHOOL TODABHIM TO TODABHIM GHATI ON MEHENDIPUR BALAJI ROAD	KARAULI	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
2114	ON MEHENDIPUR BALAJI ROAD VIILAGE NARAULIDANG TEHSIL SAPOTARA VILLAGE JAHAN NAGAR MORDA ON GUDACHANDRA JI TO	KARAULI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2115 2116	VILLAGE JAHAN NAGAR MORDA ON GUDACHANDRA JI TO NANGAL SHERPUR ROAD VIILAGE TESGAON TEHSIL NADOTI(NOT ON HIGHWAY)	KARAULI	Rural Rural	50 50	SC OBC CC 1	CFS DC	35 35	35 35	1225 1225	0	0 30	Draw of Lots Draw of Lots	0	2
2116	VILAGE TESGAON TEHSIL NADOTI(NOT ON HIGHWAY) ON KARAULI TO KAILADEVI ROAD (WITHIN 6KMS FROM NH-11B INTERSECTION TOWARDS KAILADEVI )	KARAULI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2118	INTERSECTION TOWARDS KAILADEVT) FROM HINDAUN NEW KRISHI UPAJ MANDI TO VILLAGE HARINAGAR ON NANGAL SHERPUR ROAD	KARAULI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2119	HARINAGAR ON NANGAL SHERPUR ROAD ON KURGAO TO KAILADEVI ROAD (WITHIN 4 KMS FROM MDR- 111 INTERSECTION TOWARDS KAILADEVI)	KARAULI	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2120	WITHIN KM STONE 15 & 21 ON SHREE MAHAVIR JI TO NADOTI ROAD	KARAULI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2121	KOAD VILLAGE NORANGABAD ON AKBARPUR TO SHREE MAHAVIR JI ROAD	KARAULI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2122	VILLAGE KARANPUR TEHSIL SAPOTARA WITHIN KM STONE 147 & 151 ON KARAULI TO MASALPUR	KARAULI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2123 2124	ROAD VILLAGE MAHSAWA TEHSIL TODABHIM	KARAULI	Rural Rural	50 50	Open SC PH	DC CFS	35 35	35 35	1225 1225	12	30 0	Draw of Lots Draw of Lots	5	4
2124	VILLAGE MAHSAWA TEHSIL TODABHIM VILLAGE KARIRI GAZIPUR TO VILLAGE JONL TEHSIL TODABHIM	KARAULI	Rural	50	SC PH SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2126	WITHIN KM STONE 22 & 27 ON SHREE MAHAVIR JI TO HINDAUN	KARAULI	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2127	ROAD WITHIN 2 KMS FROM KUSALSINGH BABA MANDIR EAKAT TIRAHA ON HADOTI TO SAROTARA ROAD	KARAULI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2128	TIRAHA ON HADOTI TO SAPOTARA ROAD WITHIN KM STONE 151 & 154 ON SAPOTARA KURGAO ROAD	KARAULI	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2129	VIILAGE Shahar Chandraji TEHSIL NADOTI(NOT ON HIGHWAY)	KARAULI	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
2130	VILLAGE KOTRA DAHAR ON FELIKAPURA TO KOTRI ROAD	KARAULI	Rural	50	ST SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
2131	VIILAGE SOP TEHSIL NADOTI(NOT ON HIGHWAY)	KARAULI	Rural	50	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged • the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 ST PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2132	VIILAGE Gurha Chandraji TEHSIL NADOTI(NOT ON HIGHWAY)	KARAULI	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2133	VILLAGE KHOYLI TO VILLAGE SALAWAD ON NADOTI ROAD, TEHSIL NADOTI	KARAULI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2134 2135	VIILAGE Kemla TEHSIL NADOT(NOT ON HIGHWAY) VILLAGE SALIMPUR TO LAPAVALI ON HINDAUN CITY TO NANGAL SHERPUR ROAD	KARAULI	Rural Rural	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0	0 30	Draw of Lots Draw of Lots	0 5	2
2136	WITHIN KM STONE 0 & 4 ON NADOTI TO SHREE MAHAVIR JI ROAD	KARAULI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2137 2138	VILLAGE BHAINSA ON MDR-63 TEHSIL TODABHIM VILLAGE GENTA ON SH 1 (GENTA ITAWA ROAD)	KARAULI KOTA	Rural Regular	50 100	Open ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4 3
2139	Between Km Stone 15 to 20 on NH 27 On Northern Byepass	КОТА	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2140 2141	VILLAGE MANDANA ON NH-52 ON MANDANA BYEPASS VILLAGE KOLANA ON SH 70	KOTA KOTA	Regular Regular	150 100	Open Open CC 1	CC DC	35 35	45 35	1575 1225	25 25	10 60	Bidding Draw of Lots	30 15	5
2142 2143	Village Bapawarkalan on Highway Within 4 KM From Gandhi Choraha (Sangod) Towards Bapawar	КОТА КОТА	Regular Regular	100	OBC OBC	CC DC	35 35	35 35	1225 1225	25 25	10 60	Bidding Draw of Lots	30 15	4
2143	Between Km Stone 22 to 32 on NH 27 On Northern Byepass	кота	Regular	150	Open CC 1	DC	35	45	1225	25	75	Draw of Lots	15	5
2145	VILLAGE CHANDA ON SH 1	КОТА	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
2146	Within 4 KM From Bhimganj Mandi Police Station (Kota WML)	КОТА	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
2147	NH 27 BETWEEN KM STONE 1102 AND 1105, RHS FROM KOTA TO BARAN NH 27 BETWEEN KM STONE 1096 AND 1098 LHS FROM KOTA	КОТА	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2148 2149	NH 27 BETWEEN KM STONE 1096 AND 1098, LHS FROM KOTA TO BARAN SH 33 (KOTA TO RAWATBHATA) KM STONE 13 AND 20	кота	Regular Regular	150 100	Open Open	CC DC	35 35	45 35	1575 1225	25 25	10 60	Bidding Draw of Lots	30 15	5
2149 2150 2151	VILLAGE DHULET ON SH 74 KOTA WML	КОТА	Regular Regular	100	Open Open	CC CC	35	35	1225 400	25 25 25	10 10	Bidding Bidding	30	5
2151	KOTA WML KOTA WML: WITHIN 1 KM on LHS FROM RAIPURA CHAURAHA TOWARDS DEOLI ARAB	КОТА	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
2153	VILLAGE GURLA ON SH 33 KOTA WML: WITHIN 2KM OF KESHORAIPATAN TIRAHA	KOTA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2154 2155	TOWARDS KAPREN KOTA WML : NANTA TIRAHA TO ABHEDA TIRAHA	КОТА КОТА	Regular Regular	150 150	OBC Open	DC CC	20 20	20	400 400	25 25	60 10	Draw of Lots Bidding	15 30	4
2156	WITHIN 1 KM on RHS FROM AGAMGARH GURUDWARA TOWARDS KOTA ON OLD NH 12	КОТА	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
2157	KOTA WML: FROM CAD CIRCLE TO KESHAVPURA CHAURAHA	КОТА	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
2158 2159	VILLAGE DABADEH ON NEW NH 52 VILLAGE SUKET ON NEW NH 52	КОТА КОТА	Regular Regular	150 150	Open Open	DC CC	35 35	45 45	1575 1575	25 25	75 10	Draw of Lots Bidding	15 30	5
2160	Between Km Stone 10 to 13 on NH 27 On Northern Byepass	КОТА	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2161	NH 52 Between RTO Kota Main Gate to HPCL LPG Plant Mandana, LHS from Kota to Jhalawar	КОТА	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2162 2163	On NH 52: Within 4 km of Gopalpura Tiraha (Distt. Kota) NH 27 BETWEEN KM STONE 1102 AND 1111, LHS FROM KOTA	кота	Regular Regular	150 150	Open CC 1 SC	DC CFS	35 35	45 45	1575 1575	25 0	75	Draw of Lots Draw of Lots	15 0	5
2164	TO BARAN VILLAGE SUKET ON SH 9B	КОТА	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2165	On SH 109, Within 2 KM from Suket tanki choraha towards Bhawanimandi on RHS	КОТА	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
2166	KOTA WML: FROM ANATPURA POLICE STATION TO KOTA UNIVERSITY ON MBS ROAD	КОТА	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
2167 2168	Within 1 km of Baroda Rajasthan Kshetriya Gramin Bank (Within town limits of Itawa) Within 3 KM From Aerodrum on any Road (Kota WML)	КОТА КОТА	Regular Regular	100 150	OBC Open	DC DC	20 20	20 20	400	25 25	45 60	Draw of Lots Draw of Lots	15 15	4
2169	Between Anantpura Police Station and Kota University Main Gate (Kota WML)	КОТА	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
2170	Within 2 KM from Kunhari Choraha towads Badgaon (Kota WML)	КОТА	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
2171	Between Aqua Green water park and Nanta Petrol Pump through Canal Raod (Kota WML)	КОТА	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
2172	VILLAGE BINAYAKA ON SH 70	КОТА	Regular	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
2173 2174	Within 2 KM from Suket Bypass towards bassyhari on NH 52 Between KM 49 to 51 on SH-51	КОТА	Regular Regular	150 100	Open ST	CC CFS	35 35	45 35	1575 1225	25 0	10	Bidding Draw of Lots	30 0	5
2175 2176	Within RIICO industrial Area (Ramganjmandi WML) With 1km of Chechat Police Station (Chechat town)	КОТА КОТА	Regular Regular	100 100	Open OBC	DC DC	20 35	20 35	400 1225	25 25	45 45	Draw of Lots Draw of Lots	15 15	5 4
2177 2178	SH 33 (KOTA TO RAWATBHATA) KM STONE 20 AND 27 Within 2 KM of Rajkiy Ucch Madhymik Vidhyalay Deoli Arab	КОТА КОТА	Regular Regular	100 150	ST Open	CFS CC	35 20	35 20	1225 400	0 25	0	Draw of Lots Bidding	0	3
2178	(WML of Kota) From GANDHI CHAURAHA TOWARDS JOLPA (WML of Sangod)	кота	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2180	Within RIICO industrial Area Ranpur, Kota	KOTA	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
2181 2182	VILLAGE DARAH ON NEW NH 52 From NH 27 towads Rawatbhata on SH 33 (WML of Kota)	КОТА КОТА	Regular Regular	150 150	SC Open	CFS DC	35 20	45 20	1575 400	0 25	0 60	Draw of Lots Draw of Lots	0 15	3
2183	WML RAMGANJMANDI:WITHIN 2 KM OF PANNALAL CHOURAHA	КОТА	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2184 2185	Within 1 km of SBI bank (Pipalda town) WML of Kaithoon Within 1 km of Palaii Mandia Main Cata (Madal town)	KOTA KOTA	Regular Regular	100	OBC Open	DC DC	35 20	35 20	1225 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	4 5
2186 2187 2188	Within 1km of Balaji Mandir Main Gate (Modak town) WML of Ramganj Mandi	KOTA KOTA	Regular Regular	100 100	OBC Open	DC DC CES	35 20 20	35 20 20	1225 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	4 5 3
2188 2189	WML of Sangod Within 1 km of Central Bank of India (Suket town) NH 27 BETWEEN KM STONE 1053 AND 1057, RHS FROM BARAN	KOTA KOTA	Regular Regular	100 100	SC OBC	CFS DC	20 35	20 35	400 1225	0 25	0 45	Draw of Lots Draw of Lots	0 15	3 4
2190	NH 27 BETWEEN KM STONE 1053 AND 1057, RHS FROM BARAN TO Jaipur KOTA WML: FROM DADABARI BADA CHORAHA TO CHOTA	КОТА	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2191	KOTA WML: FROM DADABARI BADA CHORAHA TO CHOTA CHORAHA Within City limit of Kota From Keshoraipatam tiraha on OLD NH	КОТА	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
2192	12 towards Bundi on RHS	КОТА	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
2193 2194	Between Mala Phatak & Chandresal fal Sabji Mandi (Kota WML) VILLAGE BUDHADEET ON SH 37A	КОТА КОТА	Regular Regular	150 100	SC ST CC 1	CFS CFS	20 35	20 35	400	0	0	Draw of Lots Draw of Lots	0	3
2195 2196	KOTA WML: RAIPURA CHAURAHA TO NH 27 Within 3 KM from GHATOTHKACH CIRCLE (Kota WML)	КОТА	Regular Regular	150 150	OBC Open	DC DC	20 20	20 20	400	25 25	60 60	Draw of Lots Draw of Lots Draw of Lots	15 15	4
2197	NH 52 Between KM Stone 237 And 248, , LHS FROM JAIPUR TO Jhalawar	КОТА	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2198	NH 27 BETWEEN KM STONE 1081 AND 1092, LHS FROM KOTA TO BARAN	КОТА	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2199 2200	VILLAGE DIGOD ON SH 70 (KOTA TO ITAWA ROAD) Within 3 KM from Anta Ghar Choraha (Kota WML)	КОТА КОТА	Regular Regular	100 150	Open Open	DC DC	35 20	35 20	1225 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	5 5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ai by	nce to rranged / the llicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2201	Between Aerodrom Circle and Anantpura tiraha (WML of Kota)	КОТА	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
2202	NH 27 BETWEEN KM STONE 1059 AND 1069, LHS FROM BARAN TO Jaipur	КОТА	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2203	NH 52 Between RTO Kota Main Gate to HPCL LPG Plant Mandana, RHS from Kota to Jhalawar	КОТА	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2204 2205	VILLAGE CHECHAT ON SH9A Within RIICO industrial Area, Kota City	KOTA KOTA	Regular Regular	100 150	OBC Open	DC DC	35 20	35 20	1225 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	4
2206	SH 51 (KOTA TO BAPAWAR) BETWEEN 1 KM & 3 KM FROM AJADPURA TIRAHA TOWARDS KOTA	КОТА	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2207	WITHIN 3 KM OF GANESHGANH TIRAHA ON SH 1/ SH 70	КОТА	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2208	Between Aerodrom Circle and Intersecion of NH 27 Via Chambal Gardan (Kota WML)	КОТА	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
2209 2210	VILLAGE DHANWA, TEHSIL DIGOD ON SH 70 Within 1 KM from Astitva Resort, On RHS while moving towards	КОТА КОТА	Regular Regular	100 150	ST Open	CFS DC	35 20	35 20	1225 400	25	0 60	Draw of Lots Draw of Lots	0	3
2210	Kota City (Kota WML) Within 3 KM from Talwandi Circle (Kota WML)	кота	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
2212	Between Km Stone 48 to 50 on SH 51 (Kota to Sangod Road)	КОТА	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2213	SH 51 (KOTA TO BAPAWAR ROAD) BETWEEN KM STONE 44 AND 48	КОТА	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2214	SH 51 (KOTA TO BAPAWAR) WITHIN 3 KM OF DEVLI BUS STAND TOWARDS SANGOD	КОТА	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2215 2216	VILLAGE PAMAKHEDI ON NH 52 DCM Circle to Aerodrom Circle (Kota WML)	KOTA KOTA	Regular Regular	150 150	OBC Open	CC DC	35 20	45 20	1575 400	25 25	10 60	Bidding Draw of Lots	30 15	4
2216	VILLAGE MODAK ON SH9A	KOTA	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2218	NH 27 BETWEEN KM STONE 1059 AND 1069, RHS FROM BARAN TO Jaipur	КОТА	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2219	NH 27 BETWEEN KM STONE 1080 AND 1085, RHS FROM KOTA TO BARAN	КОТА	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2220	NH 27, BETWEEN KM STONE 1088 AND 1086, RHS FROM KOTA TO BARAN	КОТА	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2221	SH 51 (KOTA TO BAPAWAR) BETWEEN NH 27 & CHANDRELOHI RIVER	КОТА	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2222	Between New Bus Stand and Borkheda Tiraha (Kota WML)	КОТА	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
2223 2224	VILLAGE RAJOPA ON SH 70 In Swami Vivekanand Nagar/ R.K. Puram/ Shri Nathpuram, Kota	КОТА КОТА	Regular	100 150	OBC CC 1 Open	DC DC	35 20	35 20	1225 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	4
	WML NH 27 BETWEEN KM STONE 1053 AND 1057, LHS FROM BARAN		Regular											
2225 2226	TO Jaipur Between Anantpur tiraha and DCM Circle (Kota WML)	КОТА КОТА	Regular Regular	150 150	Open Open	DC DC	35 20	45 20	1575 400	25	75 60	Draw of Lots Draw of Lots	15 15	5
2227	VILLAGE MORU KALAN TEHSIL SANGOD WITHIN 3 KM ON RHS FROM RAMGANGMANDI TOWARDS	КОТА	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2228 2229	JULMI	КОТА КОТА	Rural Rural	50 50	Open OBC PH	CC DC	35 35	35 35	1225 1225	12	5 30	Bidding Draw of Lots	10	4
	VILLAGE UDPURA TEHSIL RAMGANJ MANDI VILLAGE KUDAYLA TEHSIL RAMGANJ MANDI	КОТА	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2231	WITHIN 3 KM FROM INTERSECTION OF NORTHERN BYPASS ON KOTA RANGPUR ROAD TOWARDS KOTA	КОТА	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
2232 2233	VILLAGE SATALKHERI TEHSIL RAMGANJ MANDI VILLAGE JULMI TEHSIL RAMGANJ MANDI	KOTA KOTA	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5 5	4 4
2234	WITHIN 1 KM FROM DHULET CORAHA ON KANWAS ROAD	КОТА	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2235 2236	VILLAGE KUMBHKOT TEHSIL RAMGANJ MANDI VILLAGE ASKALI TEHSIL RAMGANJ MANDI	KOTA KOTA	Rural Rural	50 50	SC CC 1 Open CC 1	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2 4
2237 2238	VILLAGE DURJANPURA TEHSIL RAMGANJ MANDI	KOTA KOTA	Rural Rural	50 50	SC Open	CFS DC	35 35	35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2 4
2239	BETWEEN KM STONE 32 AND 33 ON MDR 88 VILLAGE GOYANDA TEHSIL RAMGANJ MANDI	KOTA	Rural	50	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4
2240 2241	VILLAGE AWAN TEHSIL SANGOD VILLAGE UNDWA TEHSIL RAMGANJ MANDI	KOTA KOTA	Rural Rural	50 50	Open ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
2242 2243	VILLAGE SAWAN BHADON TEHSIL SANGOD VILLAGE NEEMOLA TEHSIL PIPALDA	KOTA KOTA	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
2244	VILLAGE NEEMSARA TEHSIL PIPALDA IN BETWEEN KM STONE 340 AND 345 ON SH-1 (GANGAPUR TO	КОТА	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2245	HINDAUN ROAD) WML OF SAWAIMADHOPUR CITY ON CHAUTH KA BARWARA	SAWAI MADHOPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2246 2247	ROAD From Udai Mod towards Hindaun (WML Gangapur City)	SAWAI MADHOPUR SAWAI MADHOPUR	Regular Regular	100	ST Open CC 1	CFS DC	20 20	20 20	400 400	0 25	0 45	Draw of Lots Draw of Lots	0	3
2247	BETWEEN KM STONE 26 TO 30 ON RHS OF SH-24 FROM LALSOT	SAWAI MADHOPUR	Regular	100	ST	CFS	35	35	1225	0	43	Draw of Lots	0	3
2249	TO SAWAI MADHOPUR ROAD VILLAGE KUSTHALA ON NH-116 (ONLY ON KUSTHALA NEW	SAWAI MADHOPUR	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2250	BYPASS ROAD) Within 2 KM from Jyoti Nursing Home on Lalsot Road	SAWAI MADHOPUR	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2251	(Sawaimadhopur WML) IN BETWEEN KM STONE 347 AND 351 ON SH-1 (GANGAPUR TO	SAWAI MADHOPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2251	HINDAUN ROAD) WML OF SAWAIMADHOPUR CITY ON RANTHAMBHORE ROAD	SAWAI MADHOPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	IN BETWEEN KM STONE 4 & 8 ON SH-1 FROM BHAROTI TO		-							0	45			3
2253	GANGAPUR CITY Within 1 KM from Ranthambore Circle (WML of	SAWAI MADHOPUR	Regular	100	SC	CFS	35	35	1225			Draw of Lots	0	
2254 2255	Sawaimadhopur) On Tajpur Raod (WML Gangapur City)	SAWAI MADHOPUR	Regular Regular	100 100	Open Open	CC DC	20 20	20 20	400 400	25 25	10 45	Bidding Draw of Lots	30 15	5
2256	Between KM Stone 18 & 21 on NH 11B (RHS from Lalsot to Gangapur City)	SAWAI MADHOPUR	Regular	150	Open	СС	35	35	1225	25	10	Bidding	30	5
2257	Within RIICO industrial Area Gangapur Within Sawaimadhopur District Limit From KM Stone 53 on NH	SAWAI MADHOPUR	Regular	100	Open CC 2	DC	35	35	1225	25	45	Draw of Lots	15	5
2258 2259	11B towads Karauli Within RIICO industrial Area (WML of Swaimadhopur)	SAWAI MADHOPUR	Regular Regular	150 100	Open CC 1 ST	DC CFS	35 20	35 20	1225 400	25 0	75	Draw of Lots Draw of Lots	15	5
2260	On Sawaimadhopur Raod (WML Gangapur City)	SAWAI MADHOPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2261 2262	Between KM Stone 48 & 50 on NH 11B Within 1 km of Govt.Sr. Sec.school of Bamanwas (Bamanwas	SAWAI MADHOPUR	Regular Regular	150 100	SC ST	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
2263	Town) Between KM Stone 63 & 65 on NH 116	SAWAI MADHOPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2264	Within 3 km from Old truck union Choraha (WML Sawaimodhopur)	SAWAI MADHOPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2265	From Udai Mod towards Karauli (WML Gangapur City) WITHIN 5 KMS FROM GOVT SR SEC SCHOOL CHHAN TOWARDS	SAWAI MADHOPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2266 2267	BODAL ON NH 552 (OLD SH-30) WML GANGAPUR CITY	SAWAI MADHOPUR SAWAI MADHOPUR	Regular Regular	150 100	Open Open	CC DC	35 20	35 20	1225 400	25	10 45	Bidding Draw of Lots	30 15	5
2268	Within 1 km of CHC Khandar (Khandar Town)	SAWAI MADHOPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2269	From Udai Mod towards Nadoti (WML Gangapur City)	SAWAI MADHOPUR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (i Area of the n Sq. M.). *	site	be ar by app	nce to ranged y the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC Cc-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2270	Within 2 KM from Civil Hospital (WML of Sawaimadhopur)	SAWAI MADHOPUR	Regular	100	Open	DC CFS	20	20	400	25	45	Draw of Lots	15	5
2271 2272 2273	Within 1 km of SDM Court (Chauth Ka Barwara town) IN BETWEEN KM STONE 29 & 34 ON NH-11B FROM LALSOT TO GANGAPUR CITY WML OF SAWAIMADHOPUR	SAWAI MADHOPUR SAWAI MADHOPUR SAWAI MADHOPUR	Regular Regular Regular	100 150 100	ST Open Open	DC DC	35 35 20	35 35 20	1225 1225 400	0 25 25	0 75 45	Draw of Lots Draw of Lots Draw of Lots	0 15 15	3 5 5
2274	IN BETWEEN KM STONE 73 & 76 ON SAWAIMADHOPUR TO KOTA ROAD	SAWAI MADHOPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2275	WITHIN 6 KM FROM C.H.C. KHANDAR TOWARDS SAWAIMADHOPUR ON MDR 3	SAWAI MADHOPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2276	Within 2 KMs From Jhadoli Sarai Choraha towards Bamanwas on Bamanwas Sarai Road	SAWAI MADHOPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2277 2278	BETWEEN VILLAGE PIPLDA AND DATULI ON MDR WITHIN 7 KMS FROM SARAS DAIRY MAIN GATE TOWARDS	SAWAI MADHOPUR	Rural Rural	50 50	Open Open	cc cc	35 35	35 35	1225 1225	12	5	Bidding	10	4
2279	TAJPUR ON GANGAPUR TO TAJPUR ROAD VIILAGE JUWAD TEHSHIL SAWAIMADHOPUR NOT ON	SAWAI MADHOPUR	Rural	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
2280	HIGHWAY) BETWEEN KM STONE 14 & 18 ON MDR-182	SAWAI MADHOPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2281 2282	WITHIN 4 KMS FROM RANTHAMBHORE SANCTUARY GATE TOWARDS HADOTI ON MDR-111 WITHIN 3 KMS FROM BARWADA POLICE STATION TOWARDS	SAWAI MADHOPUR	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
2282	SHIWAR ON BARWADA TO SHIWAR ROAD VIILAGE ALIGANJ TEHSHIL GANGAPUR (NOT ON HIGHWAY)	SAWAI MADHOPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2284	IN BETWEEN KM STONE 16 & 19 ON MITRAPURA TO DATWAS	SAWAI MADHOPUR	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
2285	ROAD WITHIN KM STONE 34 & 36 ON MDR 182 (SHIWAR TO	SAWAI MADHOPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2286	SAWAIMADHOPUR ROAD) VIILAGE RANWAL TEHSHIL SAWAIMADHOPUR NOT ON	SAWAI MADHOPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2287	HIGHWAY) VIILAGE MEENAPARA TEHSHIL GANGAPUR (NOT ON HIGHWAY)	SAWAI MADHOPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2288	VILLAGE UDAI KHURD TO VILL PILAUDA ON GANGAPUR CITY TO	SAWAI MADHOPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2289	SHREE MAHAVIRJI ROAD VIILAGE PADANA TEHSHIL SAWAIMADHOPUR NOT ON HIGHWAY)	SAWAI MADHOPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2290	HIGHWAY) WITHIN 2 KMS FROM RAMSINGPURA CHORAHA ON BARNALA TO BICHHOCH ROAD	SAWAI MADHOPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2291	VIILAGE ASTROLI TEHSHIL GANGAPUR (NOT ON HIGHWAY)	SAWAI MADHOPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2292	WITHIN 4 KMS FROM GOVT SR SEC SCHOOL BAMANBAS TOWARDS PIPLAI MOD	SAWAI MADHOPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2293	VILLAGE KHANDAR ON MDR 3 (BAHRAWADA KHURD TO BALER ROAD)	SAWAI MADHOPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2294	VIILAGE DHANOLI TEHSHIL SAWAIMADHOPUR NOT ON HIGHWAY)	SAWAI MADHOPUR	Rural	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
2295	VIILAGE BANDHA TEHSHIL SAWAIMADHOPUR NOT ON HIGHWAY)	SAWAI MADHOPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2296	VIILAGE NANDPURA TEHSHIL GANGAPUR (NOT ON HIGHWAY)	SAWAI MADHOPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2297 2298	VIILAGE MAHUKHURD TEHSHIL GANGAPUR (NOT ON HIGHWAY) VILLAGE BHOORI PAHADI ON MDR-111	SAWAI MADHOPUR	Rural Rural	50 50	Open ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
2298	Within 1 Km from Depot circle on DIET ROAD (Tonk WML)	TONK	Regular	100	OBC	cc	20	20	400	25	10	Bidding	30	4
2300	Within 2 KM from Petrol Pump Choraha (WML Deoli) ON SH12 BETWEEN KM STONE 52 TO 56 ( MALPURA TO JAIPUR	TONK	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2301 2302	RD) WML OF MALPURA, DIST TONK	TONK	Regular Regular	100 100	OBC OBC	DC DC	35 20	35 20	1225 400	25 25	60 45	Draw of Lots Draw of Lots	15 15	4
2303	BETWEEN KM STONE 66 TO 76 ON NH-52 (Old NH 12) (LHS from Jaipur to Kota)	TONK	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
2304	ON SH37A, FROM RATWAI MOD TO SANSKAR ITI COLLAGE	TONK	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2305	ON NH 52 (OId NH 12),BETWEEN KM STONE 112 TO 110,RHS FROM KOTA TO JAIPUR	TONK	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2306	BETWEEN KM STONE 268 TO 270 ON NH -148 D RHS WHILE MOVING HINDOLI TO UNIARA	TONK	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
2307 2308	BETWEEN KM STONE 25 TO 35 on NH -116 Within 1 KM of NH 52/NH 116 intersection, LHS from Kota to	TONK	Regular Regular	150 100	Open Open	DC CC	35 20	35 20	1225 400	25	75 10	Draw of Lots Bidding	15 30	5
2309	Jaipur on Service Road (Tonk WML) BETWEEN DHANNA TALAI TO Government Bus Stand , WML OF TONK	TONK	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2310	WML OF TODARAISINGH	TONK	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2311	Within 2.5 KM from Ahinsha Circle on Jaipur Road (Niwai WML) On RHS, Between Mama Bhanja Masjid to Circuit House (Tonk	TONK	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2312 2313	WML) Niwai WML	TONK	Regular Regular	100 100	Open OBC	CC DC	20 20	20 20	400 400	25 25	10 45	Bidding Draw of Lots	30 15	5
2314	WITHIN 3KM FROM DIGGI MODE TOWARDS DIGGI ON SH117	TONK	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2315	ON SH 37A (MALPURA TO DUDU ROAD) GANWAR TO KERYA MOD	TONK	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2316	VILLAGE BINJARI ON SH 34 (TONK TO NAGARFORT ROAD)	TONK	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2317	BETWEEN KM STONE 66 TO 76 ON NH-52 (Old NH 12) (RHS from Jaipur to Kota)	TONK	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2318	ON SH37A (PACHEVAR TO MALPURA ROAD) BETWEEN KM STONE 27 TO 30	TONK	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2319	Between KM Stone 80 & 90 on NH 52 (Old 12), (RHS from Jaipur to Kota)	TONK	Regular	150	Open	CC DC	35	45	1575	25	10	Bidding	30	5
2320 2321	On Niwai Khandewat Road (Niwai WML) Within 1 KM from Government Bus Stand (Peeplu Town) Between KM Stone 115 to 120 on NH 52 (Old NH 12) (RHS From	TONK	Regular Regular	100 100	OBC OBC	DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	4
2322	Jaiput to Kota) ON NH 52 (Old NH 12) BETWEEN KM STONE 141 TO 148 ,LHS	TONK	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2323	FROM JAIPUR TO KOTA WITHIN 2 KM OF KM STONE 83 ON SH 37A (LHS FROM	TONK	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2324	MALPURA TO CHHAN) WITHIN 2 KM OF KHAREDA SUBSTATION ON SH 37A (RHS FROM	TONK	Regular	100	OBC	CC	35	35	1225	25	10	Bidding	30	4
2325 2326	MALPURA TO CHHAN) VILLAGE RATWAI ON SH116	TONK	Regular Regular	100 100	Open Open	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
2327	Between Krishi Upaj Mandi and Railway Line on Jhilai Road (Niwai WML)	TONK	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged 7 the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2328 2329	Village Kakor on NH 116 Tehsil Uniara Within 2 KM of Main Gate of Banasthali Vidyapith (Banasthali	TONK	Regular	150 100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Town) On LHS, Within 1 KM from Niwai Bus Stand towards Tonk (WML	TONK	Regular		OBC	DC	35	35	1225	25	45	Draw of Lots		
2330 2331	of Niwai) BETWEEN KM 148 AND 150 ON NH 52 (Old NH 12)	TONK	Regular Regular	100 150	Open Open	CC CC	20 35	20 45	400 1575	25 25	10 10	Bidding Bidding	30 30	5
2332	ON NH 52 (Old NH 12),BETWEEN KM STONE 155 TO 165, LHS FROM KOTA TO JAIPUR	TONK	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2333	Between KM Stone 138 & 141 on NH 52 (Old 12), (LHS from Jaipur to Kota)	TONK	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2334	ON NH 52 (Old NH 12) BETWEEN KM STONE 120 TO 125 ,RHS FROM JAIPUR TO KOTA	TONK	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
2335	ON NH52 Between KM Stone 95 and 108 ON NH 52 (Old NH 12) BETWEEN KM STONE 131 TO 133 ,LHS	TONK	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2336 2337	PROM JAIPUR TO KOTA On NH 116, Tonk WML	TONK	Regular Regular	150 100	Open Open CC 2	CC DC	35 20	45 20	1575 400	25 25	10 45	Bidding Draw of Lots	30 15	5
2338	On NH 112, Holk WML On NH 11A Within Tonk District Limits Between KM Stone 21 & 26 on NH 116	TONK	Regular Regular	150 150	OBC CC 1 OBC	DC CC	35	45	1575	25	75	Draw of Lots Bidding	15 30	4 4
2339 2340 2341	Between KM Stone 21 & 26 on NH 116 Deoli WML Within RIICO industrial Area Tonk (Tonk WML)	TONK TONK TONK	Regular Regular	100 100	Open SC	DC CFS	20 20	20 20	400	25 25 0	45 0	Draw of Lots Draw of Lots	30 15 0	4 5 3
2341 2342	Within 1 KM of Bus Stand Choraha (Dooni Town)	TONK	Regular Regular	100	SC Open CC 1	DC	35	35	400 1225	25	45	Draw of Lots Draw of Lots	15	5
2343	Between KM Stone 80 & 90 on NH 52 (Old 12), (LHS from Jaipur to Kota)	TONK	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2344	From Patel Circle to Circuit house on Civil Lines Road (WML of Tonk)	TONK	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2345 2346	ON NH 52 (Old NH 12) BETWEEN KM STONE 115 TO 120 Within RIICO industrial Area Malpura	TONK	Regular Regular	150 100	SC OBC PH	CFS DC	35 35	45 35	1575 1225	0 25	0 45	Draw of Lots Draw of Lots	0	3 4
2347 2348	WML OF TONK UNIARA WML	TONK TONK	Regular Regular	100 100	OBC OBC	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	4
2349	On NH 148D, Between KM Stone 276 and intersection of NH 148D/NH116	TONK	Regular	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
2350	WITHIN 2KM FROM SR. SEC. SCHOOL KALMANDA TOWARDS KADILA	TONK	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2351 2352	VILLAGE PARANA VILLAGE RAJMAHAL	TONK TONK	Rural Rural	50 50	Open CC 1 OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
2353 2354	ODR NO. 17 BETWEEN MILE STONE NO. 14-18 LHS Village Raholi	TONK TONK	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
2355	VILLAGE PALDA ON TONK TO PALDA RD BETWEEN KM STONE 3 TO 6	TONK	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2356 2357	WITHIN 3 KM FROM DIGGI ON KURTHAL ROAD Village Bhagwandaspura on MDR1	TONK TONK	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5 0	3
2358 2359	BYPASS TIRAHA TO NIWAI CITY, OML OF NIWAI VILLAGE CHHAN ,NOT ON HIGHWAY	TONK TONK	Rural Rural	50 50	OBC OBC	DC DC	35	35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3
2355 2360 2361	VILLAGE CHANN, NOT ON HIGHWAY VILLAGE RASOOLPURA NOT ON HIGHWAY DOONI TO ANWA ON MDR 94	TONK	Rural	50	OBC OBC Open	DC DC DC	35	35	1225	12 12 12	30 30 30	Draw of Lots Draw of Lots Draw of Lots	5	3 4
2362	VILLAGE GAHOLD	TONK	Rural	50	OBC	DC	35	35	1225	12 12 12	30	Draw of Lots	5	3
2363 2364	VILLAGE TILANJU , TEHSIL MALPURA VILLAGE NANER,(NOT ON HIGHWAY)	TONK	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3 4
2365	SAROLI MOD TO DOONI POLICE STATION (NOT ON HIGHWAY)	TONK	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2366 2367	VILLAGE CHIKANA VILLAGE NAGAR	TONK	Rural Rural	50 50	ST PH Open	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2 4
2368 2369	VILLAGE DHUANKALAN VILLAGE KOTRI NOT ON HIGHWAY	TONK TONK	Rural Rural	50 50	OBC CC 1 Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5 5	3 4
2370 2371	VILLAGE KAREDA Within 2 KM From village Lohariya, towatds Salumber, on SH-32	TONK BANSWARA	Rural Regular	50 100	SC OBC	CFS DC	35	35 35	1225 1225	0	0 60	Draw of Lots Draw of Lots	0	2
2372	Within 1 KM from Ganoda Bus Stand, towards Banswara on LHS,	BANSWARA	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2372	SH 32 Between KMS 150 to 155 on NH 113, on Ghatol Banswara road	BANSWARA	-	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2373	Within 3 KM from village Sagrod towards Dahod on Banswara		Regular											
	Dahod road on NH 113 Between KMS 180 to 182 on LHS on NH 113 from Banswara	BANSWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2375	towards Dahod	BANSWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2376	Between KMS 130 to 135 on NH 113 on Ghatol Banswara road In Sector 6 of Banswara city on main road of width more than	BANSWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2377	So ft in Banswara City Between KMS 170 to 172 on LHS on NH 113 from Banswara	BANSWARA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2378	towards Dahod Within 5 KM from either side of village Sagrod on Banswara	BANSWARA	Regular	150	Open	cc	35	35	1225	25	10	Bidding	30	5
2379	Dahod Raod NH 113	BANSWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2380	Between KMS 125 to 130 on NH 113 on Ghatol Banswara road Between KMS 164 to 168 on NH 113 on LHS from Dahod	BANSWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2381	Between KMS 164 to 168 on NH 113 on LHS from Dahod towards Nimbahera From Marana Pratap Circle to Sai Mandir on Banswara Ratlam	BANSWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2382	From Marana Pratap Circle to Sai Mandir on Banswara Ratlam Road in Banswara City	BANSWARA	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2383	Between KMS 121 to 125 on NH 113 on Ghatol Banswara road	BANSWARA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2384	Within 1 KM from Karyalaya Sanyukt Nirdeshak Pashupalan Banswara towards Barodia on RHS in Banswara City	BANSWARA	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2385	Between KMS 135 to 140 on NH 113 on Ghatol Banswara road	BANSWARA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2386	Between KMS 145 to 150 on NH 113 on Ghatol Banswara road	BANSWARA	Regular	150	Open CC 2	DC	35	35	1225	25	75	Draw of Lots	15	5
2387	Within 2 KM from Navneet Motors towards Dahod on NH 1113	BANSWARA	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2388	Between KMS 143 to 144 on NH 113 on Ghatol Banswara road	BANSWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2389	Within 2 KM from village Borvat towards Banswara on Banswara Dahod road on NH 113	BANSWARA	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2390	Within 3 KM from village Bhilkua towards Banswara on Banswara Dahod road on NH 113	BANSWARA	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2391	Within Municipal limit of Banswara City on any main road of width more than 60 ft	BANSWARA	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2392	Between KMS 185 to 186 on RHS on NH 113 Within 5 KM from Gujarat Rajasthan Border towards Banswara	BANSWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2393 2394	on Banswara Dahod road on NH 113 Dungarpur to Dahod Bypass village Lodhadungari on RHS	BANSWARA	Regular Regular	150 100	Open Open	DC DC	35 20	35 20	1225 400	25 25	75 45	Draw of Lots Draw of Lots	15 15	5
2394	Dungarpur to Danou bypass village Loonadungari on KHS	DAINOWAKA	negular	100	Open	DC	20	20	400	25	45	DIAW OF LOTS	15	э

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged / the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CPH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2395	Between KMS 155 to 160 on NH 113 on Ghatol Banswara road	BANSWARA	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2396	Within 3 KM from village Borvat towards Dahod on Banswara Dahod road	BANSWARA	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2397	Within 5 KM from either side of Village Talwara towards Partapur on NH 927A	BANSWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2398	on NH 113, Within 2 KM from village Barodia towards	BANSWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2399	Banswara on Banswara Dahod road Between KMS 165 to 170 on NH 113 on Ghatol Banswara road	BANSWARA	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2400	In between KMS 252 to 253 from Banswara towards Dungarpur	BANSWARA	Regular	150	OBC	сс	35	35	1225	25	10	Bidding	30	4
2401	LHS on NH 113 Himalaya Nagar Road to Bluemoon Hotel on Bansawara to	BANSWARA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2401	Udaipur Road on LHS Within 3 KM from village Kalinjara towards Banswara on	BANSWARA	-	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Banswara Dahod road on NH 113 Within 4 KM from village Barodia towards Dahod on Banswara		Regular											
2403	Dahod road on NH 113 Within 4 KM from village Kalinjara towards Dahod on Banswara	BANSWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2404	Dahod road on NH 113 Within 4 KM from village Bhilkua towards Dahod on Banswara	BANSWARA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2405	Dahod road on NH 113	BANSWARA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2406	Within 2 KM from Marana Pratap Circle towards Peeplod in Banswara City	BANSWARA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2407	Between Custom Circle and Government Adarsh Sr Secondary school Kupra in Banswara City	BANSWARA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2408	In Sector 8 of Banswara city on main road of width more than 50 ft in Banswara City	BANSWARA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2409	Within 3 KM from Vidhya Niketan Sr Sec School Mandareshwar towards banswara city on main road	BANSWARA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2410 2411	2 KM from Village Ozariya on Banswara Dahod Road Between KMS 10 to 12 on Bhoyan Kushalgarh Road	BANSWARA BANSWARA	Rural Rural	50 50	Open CC 1 Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
2412	Between Matwala to Sujaji ka Graha on MDR22 Between KMS 23 to 24 on LHS from Mona Dungar towards	BANSWARA	Rural	50	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
2413	Anandpuri village chiklipuna	BANSWARA	Rural	50 50	OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots	5	3
2414 2415	Between Anjana & Arthuna Village on MDR 22 Between Garhi and Anjana on MDR 22	BANSWARA BANSWARA	Rural Rural	50	Open SC	CFS	35	35	1225	0	30	Draw of Lots Draw of Lots	0	2
2416	From Village Chhoti Sarwa to MP border on Bajna Kushalgarh Road	BANSWARA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2417 2418	Within Ghatol town in tehsil Ghatol Kundla Khurd Padla Chauraha to Abapura Road between KMS 4	BANSWARA	Rural Rural	50 50	ST Open	CFS CC	35 35	35 35	1225 1225	0	0	Draw of Lots Bidding	0	2
	to 5 LHS on MDR											-		
2419	Between KMs 6 to 7 on RHS from Ganoda towards Jagpura Within 3 KM from Mangalam Nursing Care Arthuna towards	BANSWARA	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2420 2421	Banswara on MDR 22 In revenue Village Arthuna Tehsil Garhi	BANSWARA	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
2422 2423	In Village Chhaja on main road in tehsil Anadpuri	BANSWARA BANSWARA	Rural	50 50	SC CC 1 OBC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2424	In Village Saredi Badi to NH 927A In Village Metwala and Khoran on MDR 22	BANSWARA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	2
2425 2426	Between Bagidora and Kalinjara on MDR43 betweem km stone 69 to 74 towards Ajmer on NH 79 on RHS	BANSWARA	Rural Regular	50 150	Open SC	DC CFS	35 35	35 45	1225 1575	12 0	30 0	Draw of Lots Draw of Lots	5	4
2427	On NH 79 within Bhilwara WML	BHILWARA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2428 2429	IN VILLAGE JAHAJPUR on NH 148 D Bhilwara City (On Pur Road)	BHILWARA BHILWARA	Regular Regular	150 100	ST Open	CFS CC	35 18	35 18	1225 324	0 25	0 10	Draw of Lots Bidding	0 30	3 5
2430	Within 2 Kms from Sangam School to Chittorgarh on Bhilwara By pass on LHS	BHILWARA	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2431	Within 5 kms from Intersection of NH 79 and Pur road on RHS towards Ajmer, Bhilwara City	BHILWARA	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2432	Between Rajasthan Patrika Office to RTO Office, Pur Road, LHS, Bhilwara City	BHILWARA	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2433	Within 8 kms from Intersection of NH 79 and Ajmer road on	BHILWARA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2434	Basa Ka kheda bypass, Bhilwara City Between Kmstones 140 to 143 on NH 79 on RHS towards	BHILWARA	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
2435	Chittorgarh BIJOLIYA TOWN TOWARDS NATIONAL HIGHWAY	BHILWARA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2436	Within 2 km from Sindari ka Balaji temple towards Chapri, Bhilwara City	BHILWARA	Regular	100	Open	cc	20	20	400	25	10	Bidding	30	5
2437 2438	Haled, Within Bhilwara WML Between Kmstones 174 to 176 on NH 79 on LHS towards	BHILWARA	Regular Regular	100 150	Open ST CC 1	DC CFS	20 35	20 45	400	25	45	Draw of Lots Draw of Lots	15 0	5
2438	Chittorgarh Between Narayani Mata Circle to Kothri River on Sanganer Road				OBC									3
	RHS, Bhilwara WITHIN 2 KMS FROM PALDI CHAURAHA TOWARDS KANWLAS	BHILWARA	Regular	100		DC	20	20	400	25	45	Draw of Lots	15	
2440	ON BHILWARA ASIND ROAD NH 158 Within 2 Kms from Dadidham Mandir towards bridge in	BHILWARA	Regular	150	Open	СС	35	35	1225	25	10	Bidding	30	5
2441 2442	bhilwara city On Gangapur-Raipur Road, Gangapur WML	BHILWARA	Regular Regular	100 100	Open Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
2442 2443	Gangapur WML, on any main road	BHILWARA	Regular Regular	100	SC	CFS	20	20	400	0	45	Draw of Lots Draw of Lots	0	3
2444	Within 1 Kms from Suparshwnath Mandir towards Om birla Cirle, Bhilwara City	BHILWARA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2445 2446	Between km stone 109 to 112 on NH 758 Bhilwara Bus Stand to Sukhadiya Circle, RHS, Bhilwara city	BHILWARA	Regular Regular	150 100	Open Open	DC DC	35 20	45 20	1575 400	25	75 45	Draw of Lots Draw of Lots	15	5
2440	from 27 Mile circle to Gulabpura bus stand, Gulabpura WML	BHILWARA	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
	trom 27 Mile circle to Gulabpura bus stand, Gulabpura WML Within 6 Km from 29 Mile circle, Towards Bhilwara RHS on NH		-									-		
2448	79	BHILWARA	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
2449 2450	Bhilwara Bus Stand to Sukhadiya Circle, LHS, Bhilwara city Gulabpura WML on any main road	BHILWARA	Regular Regular	100	Open Open	DC DC	20 20	20 20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
2450	Mandalgarh WML, on any main Road	BHILWARA	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
2452	Within 4 kms from Ramdham Mandir towards Chittorgarh, Bhilwara city	BHILWARA	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
2453	BETWEEN KMSTONE 150 TO 146 ON NH79 ON LHS FROM CHITTORGARH TO BHILWARA	BHILWARA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2454	Between Kmstones 143 to 149 on NH 79 on RHS towards Chittorgarh	BHILWARA	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
2455	Between Kmstone 76 to 79 from Rajsamand to Bhilwara on NH 758 on RHS	BHILWARA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2456	Within 2 kms from Sadar Police Station Bhilwara towards Mandalgarh	BHILWARA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
L				I	·					ı	1	1	•	

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged • the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
2457	Between KMSTONE 125 to 130 on NH 758 from Bhilwara to Ladpura on LHS	BHILWARA	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2458 2459	Within KM stone 61 to 62 on NH 758 ON LHS Within 2 Kms from Radhakrishna Mandir to Shahpura on SH 12	BHILWARA	Regular Regular	150 100	Open OBC	CC CC	35 35	35 35	1225 1225	25 25	10 10	Bidding	30 30	5
2460	WITHIN 2 KMS FROM GURU GOBIND SINGH CHORAHA, SHASHTI	BHILWARA	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2461	NAGAR,BHILWARA CITY Between Km Stone 156 to 158 on SH 12 from Shahpura to Kekri	BHILWARA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2462	Between Km Stone 14 to 15 on SH 175 from Gangapur to Kareda	BHILWARA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2463 2464	BETWEEN KM STONE 3 TO 7 on NH 148 D Between Kmstones 176 to 180 on NH 79 on RHS towards	BHILWARA	Regular Regular	150 150	Open OBC PH	CC DC	35 35	35 45	1225 1575	25 25	10 75	Bidding Draw of Lots	30 15	5
2465	Chittorgarh Between Kmstone 1006 to 1011 from Kota to Chittogarh on NH	BHILWARA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2466	27 on LHS Within 1 kms from Mangal Pandey Circle towards Haled, WML Philwara	BHILWARA	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2467	Bhilwara Within 5 kms from Jahajpur Chanwandiya Mataji Mandir, on main road	BHILWARA	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2468 2469	Sukhadiya Circle to Bhadalikhera RHS, Bhilwara city Between Iraas to Suwana LHS within WML	BHILWARA BHILWARA	Regular Regular	100 100	Open Open	DC CC	20 20	20 20	400 400	25 25	45 10	Draw of Lots Bidding	15 30	5 5
2470 2471	Sukhadiya Circle to Bhadalikhera LHS, Bhilwara city Between Bemali Chauraha to Jhalampura Chauraha on SH 61 on	BHILWARA	Regular Regular	100 100	OBC Open	DC DC	20 35	20 35	400 1225	25 25	45 60	Draw of Lots Draw of Lots	15 15	4
2471	LHS MANDALGARH WML ON NH 758	BHILWARA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2473 2474	Between Kmstone 70 to 72 from Rajsamand to Bhilwara on NH 758 on RHS	BHILWARA	Regular	150 100	OBC SC	DC CFS	35 20	45 20	1575 400	25 0	75	Draw of Lots Draw of Lots	15 0	4
2474	On Gangapura-Kareda Road, Gangapur WML Between Pur Bypass to Pansal Balaji on 200 feet ring road	BHILWARA	Regular Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2476	Between Kmstones 156 to 161 on NH 79 on RHS towards Chittorgarh	BHILWARA	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2477	Between KMSTONE 106 to 108 on NH 758 from Bhilwara to Ladpura on LHS	BHILWARA	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5
2478	Between Kmstone 61 to 65 from Bhilwara to Rajsamand on NH 758 on LHS	BHILWARA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2479	Between Km Stone 150 to 153 on NH 79 from Bhilwara to Chittorgarh on LHS	BHILWARA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2480	Between Kmstones 183 to 185 on NH 79 on RHS towards Chittorgarh	BHILWARA	Regular	150 150	Open CC 1 OBC	DC DC	35 35	45 35	1575 1225	25 25	75	Draw of Lots	15 15	5
2481 2482	Between Badnor to Mawla on NH 158 Between Km Stone 73 to 75 on NH 158 from Bhilwara to Beawar	BHILWARA	Regular Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots Draw of Lots	15	5
2483	Between kmstone 130 to 132 on NH 148D Between Km Stone 157 to 155 on NH 79 from Chittorgarh to	BHILWARA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2484 2485	Bhilwara on LHS Between Kmstones 176 to 180 on NH 79 on LHS towards	BHILWARA	Regular Regular	150	Open OBC CC 1	DC DC	35 35	45 45	1575 1575	25 25	75	Draw of Lots Draw of Lots	15	5
2485	Chittorgarh Between Kmstone 65 to 72 from Rajsamand to Bhilwara on NH	BHILWARA	Regular	150	Open PH	СС	35	45	1575	25	10	Bidding	30	5
2487	758 on LHS Between Km Stone 6 to 5 NH 79 on LHS from Chittorgarh to	BHILWARA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2488	Ajmer Between Kmstones 156 to 161 on NH 79 on LHS towards Chittorgarh	BHILWARA	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2489	Between Kmstone 58 to 56 from Bhilwara to Rajsamand on NH 758	BHILWARA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2490	Between Kmstones 143 to 149 on NH 79 on LHS towards Chittorgarh	BHILWARA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2491	Within 5 kms from Intersection of NH 79 and Pur road on LHS towards Ajmer, Bhilwara City	BHILWARA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2492 2493	Between Dhuwala to Mor Ka Nimbahera on NH 158 betweem km stone 69 to 74 towards Ajmer on NH 79 on LHS	BHILWARA	Regular Regular	150 150	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
2494	Between Kanechankalan to Arniya Gora on NH 148D	BHILWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2495 2496	Within 6 Km from 29 Mile circle, Towards Ajmer RHS on NH 79 FROM KM STONE 115 TO KM STONE 121 ON NH-148D	BHILWARA	Regular Regular	150 150	ST CC 1 OBC	CFS DC	35 35	45 35	1575 1225	0	0 75	Draw of Lots Draw of Lots	0	3
2497	Within km stone 14 to 15 on NH 148 D on LHS Within 5 kms from Intersection of NH 79 and Pur road on LHS	BHILWARA	Regular	150	OBC	CC	35	35	1225	25	10	Bidding	30	4
2498 2499	towards Chittorgarh, Bhilwara City Within 2 Kms from Jeenmata Mandir to Bijoliya NH 758	BHILWARA	Regular Regular	150 150	SC OBC	CFS CC	35	45 35	1575 1225	0 25	0 10	Draw of Lots Bidding	0 30	3
2500	Within 5 kms from Intersection of NH 79 and Pur road on RHS towards Chittorgarh, Bhilwara City	BHILWARA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2501 2502	Between Km Stone 998 to 1000 On NH-27 Between Kmstones 168 to 170 on NH 79 on RHS towards	BHILWARA	Regular Regular	150 150	Open Open PH	CC CC	35 35	45 45	1575 1575	25 25	10 10	Bidding	30 30	5
2503	Chittorgarh FROM KM STONE 136 TO KM STONE 140 ON NH 148D Between Kmstones 174 to 176 on NH 79 on RHS towards	BHILWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2504	Between Kmstones 1/4 to 1/6 on NH /9 on RHs towards Chittorgarh Between Kmstones 140 to 143 on NH 79 on LHS towards	BHILWARA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2505 2506	Chittorgarh Between Kmstone 158 to 160 towards Ajmer on NH 79	BHILWARA	Regular Regular	150 150	OBC CC 1 OPEN	DC DC	35 35	45 45	1575 1575	25 25	75 75	Draw of Lots Draw of Lots	15 15	4
2507	between km stone 43 to 45 from Shahpura to Kekeri SH12	BHILWARA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
2508	Between Kmstones 168 to 170 on NH 79 on LHS towards Chittorgarh	BHILWARA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2509	Between Km Stone 57 to 58 on MDR 7 from Jahajpur to Deoli on RHS	BHILWARA	Rural	50	Open	CC	35	35	1225	12	5	Bidding	10	4
2510 2511	between kmstone 11 to 12 on MDR 133 towards Bhim between village Amli to village Bagor on amli bagor road	BHILWARA	Rural Rural	50 50	Open ST	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	2
2512	In Village Brahmano ki Sareri on Bhilwara Asind Road, Tehsil Mandal	BHILWARA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2513 2514	Between Km Stone 16 to 15 from Karoi to Bagor on LHS Village Gangapur within WML	BHILWARA BHILWARA	Rural Rural	50 50	Open PH OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
2515	WITHIN 2 KMS FROM BHAGWAN CHAURAHA ON BHILWARA DEVGARH ROAD	BHILWARA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2516 2517	REVENUE VILLAGE sambogarh, TEHSIL ASIND Between Kmstone 40 to 41 on MDR 7 from Triveni Choraha to	BHILWARA	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
2518	Jahajpur LHS VILLAGE AGUCHA ON MDR 10	BHILWARA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2519	Village Badnor on any main road	BHILWARA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

1         2         3         4         5         6         7         8         9a           Image: Second state states	9b Estimated I fund required	10	11	12
Rural in Kls OBC DC / Frontage Depth Area requireme Rural in Kls OBC CC-1 CFS OBC PH OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	for development of	Lots / Bidding		
2520 IN VILLAGE KACHOLA ON MDR 7 BHILWARA Rural 50 Open DC 35 35 1225 12	30	Draw of Lots	5	4
2521         Within 4 kms from Bada Mahua Bus Stand towards Shahpura         BHILWARA         Rural         50         OBC CC 1         DC         35         35         1225         12           2533         bulk use to service to the user         DUILWARA         Rural         50         OBC CC 1         DC         35         35         1225         12	30	Draw of Lots	5	3
2522         Village Hamirgarh, Bhilwara         BHILWARA         Rural         50         Open         DC         35         35         1225         12           2523         between km stone 16 to 18 on LHS on MDR 56 (On Bhilwara- um muther the store 16 to 18 on LHS on MDR 56 (On Bhilwara- the store 16 to 18 on LHS on MDR 56 (On Bhilwara- BHILWARA         Rural         50         Open         DC         35         35         1225         12	30	Draw of Lots	5	4
Kotri road)         Number of the second	30	Draw of Lots	5	4
2525         Within 2 Kms from Hamirgarh Choraha towards Rashmi         BHILWARA         Rural         50         Open         DC         35         35         1225         12	30	Draw of Lots	5	4
2526 within 2 kms from Village Beejoliya bus stand towards NH 27 BHILWARA Rural 50 Open DC 35 35 1225 12	30	Draw of Lots	5	4
2527 Within 2 kms Kotri Old Bus Stand circle to Jahajpur Road on LHS BHILWARA Rural 50 Open DC 35 35 1225 12	30	Draw of Lots	5	4
2528         Within 4 Kms from Koshithal Bus Stand to Mokundha Road         BHILWARA         Rural         50         Open         CC         35         35         1225         12	5	Bidding	10	4
2529         Within 2 km from Tokta Chauraha to Karera on MDR 133         BHILWARA         Rural         50         OBC         DC         35         35         1225         12           xrao         WITHIN 2 KM FROM ASIND PANCHYAT SAMITI CHAURAHA         DWWMANA         DWWMANA<	30	Draw of Lots	5	3
2530 WITHIN 2 KM FROM ASIND PANCHTAL SAMITI CHAUKAHA BHILWARA Rural 50 ST CFS 35 35 1225 0	0	Draw of Lots	0	2
2531 Within 2 Kms from Hanuman Mandir to Bhilwara on MDR 165 BHILWARA Rural 50 OBC CC 35 35 1225 12	5	Bidding	10	3
2532 WITHIN 2 KMS FROM PALRI CHAURAHA ON BHILWARA ASIND BHILWARA Rural 50 OBC DC 35 35 1225 12	30	Draw of Lots	5	3
2533         Within 2 Kms from Hanuman Mandir to Bhilwara on ODR 13         BHILWARA         Rural         50         OBC         CC         35         35         1225         12	5	Bidding	10	3
2534 Within 4 Kms from Bhadsoda Chouraha towards Sanwariya CHITTORGARH Regular 100 Open CC 20 20 400 25	10	Bidding	30	5
2535         Between Km Stone 915 to 920 On NH-27 on RHS         CHITTORGARH         Regular         150         OBC CC 1         DC         35         45         1575         25           xrace         Within 2 Km from RSEB CHORAHA on MANGALWAR-Nimbahera         cmittorgacinu         builto 2 km         cmittorgacinu         cmittorgacinu </td <td>75</td> <td>Draw of Lots</td> <td>15</td> <td>4</td>	75	Draw of Lots	15	4
2536         Within L Min Holm RCD CHONARIA OF WARKAGE	10 45	Bidding Draw of Lots	30	5
2538         Sawa Town Limit         CHITTORGARH         Regular         100         Open         DC         20         20         400         25	45	Draw of Lots	15	5
2539         Chittorgarh WML on any main Road         CHITTORGARH         Regular         100         Open         CC         20         20         400         25           2540         Between Km Stone 940 to 945 On NH-27         CHITTORGARH         Regular         150         OBC PH         DC         35         45         1575         25	10 75	Bidding Draw of Lots	30 15	5 4
2541         BETWEEN KM STONE 225 TO 228 ON NH 79 RHS FROM NEEMUCH TO CHITTORGARH         CHITTORGARH         Regular         150         SC PH         CFS         35         45         1575         0	0	Draw of Lots	0	3
2542 3 kms from Maharana Pratap Chouraha towards Rajsamand, CHITTORGARH Regular 100 Open CC 20 20 400 25	10	Bidding	30	5
2543 3 kms from Maharana Pratap Chouraha towards Udaipur, CHITTORGARH Regular 100 Open DC 20 20 400 25	45	Draw of Lots	15	5
2544 On Karol Road, Kapasan WML CHITTORGARH Regular 100 OBC DC 20 20 400 25	45	Draw of Lots	15	4
CHITORGARH TO NEEMUCH	75	Draw of Lots	15	5
2546         BETWEEN KM STONE 201 TO 204, ON NH 79 LHS, FROM CHITTORGARH TO NEEMUCH         CHITTORGARH         Regular         150         Open         DC         35         45         1575         25	75	Draw of Lots	15	5
2547 A kms from Jala Mana Bus Stand towards Neemuch on Chotti CHITTORGARH Regular 100 Open DC 20 20 400 25	45	Draw of Lots	15	5
2548 4 kms from Clock Tower towards Udaipur on SH 15, Badi Sadri CHITTORGARH Regular 100 Open DC 20 20 400 25	45	Draw of Lots	15	5
2549 Within 5 Kms from Birla Cement Circle towards Kapasan, CHITTORGARH Regular 100 Open CC 20 20 400 25	10	Bidding	30	5
2550 Within 5 Kms from Begun Bus Stand towards Kantundamod CHITTORGARH Regular 100 OBC CC 20 20 400 25	10	Bidding	30	4
2551         BETWEEN KM STONE 222 TO 225 ON NH 79 RHS FROM CHITTORGARH TO NEEMUCH         CHITTORGARH         Regular         150         OBC         DC         35         45         1575         25	75	Draw of Lots	15	4
2552         BETWEEN KM STONE 195 TO 198 ON NH 79 RHS FROM         CHITTORGARH         Regular         150         Open CC 1         DC         35         45         1575         25	75	Draw of Lots	15	5
2EE2 Within 3 KM FROM CHITTORGARH FIRESTATION ON CHITTORGARH Regular 100 SC CES 2E 4E 1575 0	0	Draw of Lots	0	3
2533         CHITTORGARH UDAIPUR ROAD         CHITTORGARH         Regular         100         30         103         43         1373         0           2554         BETWEEN KMSTONE 963 TO 961 ON NH27 ON LHS FROM Kota         CHITTORGARH         Regular         150         OBC         DC         35         45         1575         25	75	Draw of Lots	15	4
to Chittorgam  2555 4 kms from Jala Mana Bus Stand towards Pandera on Udaipur CHITTORGARH Regular 100 ST PH CFS 20 20 400 0	0	Draw of Lots	0	3
Bansi Road, Badi Sadri WML     CHITTORGARH     Regular     100     Open     CC     20     400     25	10	Bidding	30	5
2557         Between Km Stone 975 to 980 On NH-27         CHITTORGARH         Regular         150         OBC         DC         35         45         1575         25           2559         Within 5 Kms from Rithola Chauraha towards udaipur on NH 76         CHITTORGARH         Regular         150         OBC         DC         35         45         1575         25	75	Draw of Lots	15	4
2558 On LHS On LHS Regular 150 Open CC 35 45 15/5 25	10	Bidding	30	5
2559         Detween Km Stone 205 to 910 On NH-27 on LHS         CHITTORGARH         Regular         150         OBC         CC         35         45         1575         25           2560         Between Km Stone 905 to 910 On NH-27 on LHS         CHITTORGARH         Regular         150         OBC         CC         35         45         1575         25	10	Bidding Draw of Lots	30 15	4
2561     70	0	Draw of Lots	0	3
25c2 Within 5 Kms from Bappa Rawal Tiraha towards Kota, CHITTORGARH Regular 100 Onen DC 20 20 400 25	45	Draw of Lots	15	5
2563 Within 5 Kms from Bappa Rawal Tiraha towards Ramganjmandi, CHITTORGARH Regular 100 SC CFS 20 20 400 0	0	Draw of Lots	0	3
Rawatbhata WML         C <thc< th="">         C         <thc< th=""> <t< td=""><td>75</td><td>Draw of Lots</td><td>15</td><td>5</td></t<></thc<></thc<>	75	Draw of Lots	15	5
on NH 79, On RHS 2565 BETWEEN KM STONE 219 TO 222 ON NH 79 LHS FROM CHITTORGARH Regular 150 OBC DC 35 45 1575 25	75	Draw of Lots	15	4
NEEMUCH TO CHITTORGARH         CHITTORGARH         Regular         150         Open         CC         35         45         1575         25	10	Bidding	30	4 5
2567         Within 5 Kms from Bappa Rawal Tiraha towards Gandhisagar, Rawatbhata WML         CHITTORGARH         Regular         100         Open         DC         20         20         400         25           2568         BETWEEN BHILWARA TO CHITTORGARH, FROM KM STONE 172         CHITTORGARH         Regular         150         Open         CC         35         45         1575         25	45	Draw of Lots Bidding	15 30	5
TO 177, ON NH 79         CHITTORGARH         Regular         150         OBC         DC         35         45         1575         25	75	Draw of Lots	15	4
2570 Between Km Stone 950 to 960 On NH-27 CHITTORGARH Regular 150 Open CC 2 DC 35 45 1575 25	75	Draw of Lots	15	5
2571     DEL WILCH WIL STORE 200 (DI VID) 205 (DI VID) 20	75	Draw of Lots Bidding	15 30	4 5
CITY DETWEEN KM STONE 212 TO 216 ON NH 70 LHS EROM				<u> </u>
CHITTORGARH TO NEEMUCH     CHITTORGARH TO NEEMUCH     CHITTORGARH TO NEEMUCH     Retureen Kinstone 1000 to 1006 from Kota to Chittogarb on NH	75	Draw of Lots	15	4
25/4 27 on LHS CHITIOKOAKH Kegular 150 UBL UL 35 45 15/5 25	75	Draw of Lots	15	4
2575 BETWEEN KM STONE 18 TO 19 ON ROLAHERA ROAD, CHITTORGARH Regular 100 Open DC 20 20 400 25	45	Draw of Lots	15	5
2576 WITHIN 4 KMS FROM GOVT. ITI COLLEGE, RAWATBHATA CHITTORGARH Regular 100 SC CFS 20 20 400 0	0	Draw of Lots	0	3
2577         BETWEEN KM STONE 198 TO 204 ON NH 79 LHS FROM CHITTORGARH TO NEEMUCH         CHITTORGARH         Regular         150         SC PH         CFS         35         45         1575         0	0	Draw of Lots	0	3
2578 RASHMI town, within 2 kms from Bakhtawarpura tiraha, on CHITTORGARH Regular 100 Open DC 20 20 400 25	45	Draw of Lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC COBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2579	BETWEEN KM STONE 193 TO 195 ON NH 79 RHS TOWARDS CHITTORGARH	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2580 2581	Udaipur-Chittorgarh Road, Kapasan WML Between Km Stone 925 to 930 On NH-27 on LHS	CHITTORGARH CHITTORGARH	Regular Regular	100 150	SC OBC CC 1	CFS DC	20 35	20 45	400 1575	0 25	0 75	Draw of Lots Draw of Lots	0 15	3 4
2582	Between Km Stone 910 to 915 On NH-27 on LHS Within 5 Kms from Begun Bus Stand towards Chechi, Begun	CHITTORGARH	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
2583 2584	WML Within 5 Kms from Collectorate Circle towards Chanderiya,	CHITTORGARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2584	Chittorgarh WML Between Km Stone 980 to 985 On NH-27	CHITTORGARH	Regular Regular	100 150	Open Open CC 1	DC DC	20 35	20 45	400 1575	25 25	45 75	Draw of Lots Draw of Lots	15 15	5
2586	BETWEEN KM STONE 180 TO 182 ON NH 79 RHS BHILWARA TO CHITTORGARH	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2587	Within 5 Kms from Collectorate Circle towards Nimbahera, Chittorgarh WML	CHITTORGARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2588	Between Km Stone 935 to 940 On NH-27 Within 6 kms from Sighpur Toll Plaza on RHS towards	CHITTORGARH	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
2589	Chittorgarh, SH 9 Within 5 Kms from Collectorate Circle towards Mangalwar,	CHITTORGARH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2590 2591	Chittorgarh WML Between Km Stone 920 to 925 On NH-27 on LHS	CHITTORGARH	Regular Regular	100 150	Open OBC	DC CC	18 35	18 45	324 1575	25 25	45	Draw of Lots Bidding	15 30	5
2591	Within 5 Kms from Mangalwad Chouraha to Chittorgarh on LHS on NH 79	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2593	on NH 79 Within 5 Kms from Mangalwad Chouraha to Chittorgarh on RHS on NH 79	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2594	BETWEEN KM STONE 180 TO 182 ON NH 79 LHS BHILWARA TO	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2595	CHITTORGARH BETWEEN KM STONE 182 TO 185 ON NH 79 LHS BHILWARA TO	CHITTORGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2596	CHITTORGARH Between Km Stone 945 to 950 On NH-27	CHITTORGARH	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
2597	BETWEEN KM STONE 182 TO 185 ON NH 79 RHS BHILWARA TO CHITTORGARH	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2598 2599	Between KM stone 35 to 37 on NH 113 Between Km stone 181 to 182 on NH 79 towards Bhilwara on	CHITTORGARH	Regular Regular	150 150	OBC Open	DC DC	35 35	45 45	1575 1575	25 25	75	Draw of Lots Draw of Lots	15 15	4 5
2600	RHS Within 4 Kms from Virat Hotel and Restaurant on NH 76 on RHS	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2601	towards Udaipur Within 4 Kms from Virat Hotel and Restaurant on NH 76 on LHS	CHITTORGARH		150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2602	towards Udaipur VILLAGE DUNGALA ON MAIN ROAD CHITTORGARH	CHITTORGARH	Regular Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2603	Within 2 Kms from Shabmbhupura Bypass on NH 79 from Chittorgarh to Neemuch on LHS	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2604	Between Km Stone 220 to 218 on NH 79 from Chittorgarh to Neemuch on LHS	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2605	BETWEEN KM STONE 210 TO 212, ON NH 79 LHS , FROM CHITTORGARH TO NEEMUCH	CHITTORGARH	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
2606	BETWEEN KM STONE 222 TO 225 ON NH 79 RHS FROM NEEMUCH TO CHITTORGARH	CHITTORGARH	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
2607	BETWEEN KM STONE 178 TO 180, ON NH 79 RHS, BHILWARA TO CHITTORGARH	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2608	BETWEEN KM STONE 172 TO 177 ON NH 79 RHS BHILWARA TO CHITTORGARH	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2609	Between Km Stone 960 to 965 On NH-27	CHITTORGARH	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2610	Within 5 Km from 29 Mile circle, Towards Ajmer LHS on NH 79 BETWEEN KM STONE 198 TO 204 ON NH 79 LHS FROM	CHITTORGARH	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
2611	NEEMUCH TO CHITTORGARH	CHITTORGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2612	BETWEEN KM STONE 190 TO 192 ON NH 79 LHS FROM CHITTORGARH TO NEEMUCH	CHITTORGARH	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2613	Between kmstone 226 to 229 on NH 79 towards Udaipur on LHS	CHITTORGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2614	BETWEEN KM STONE 225 TO 228 ON NH 79 LHS FROM CHITTORGARH TO NEEMUCH	CHITTORGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2615	With in 6 KM From intersection of NH 27 and Nimbahera Road towards KOTA	CHITTORGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2616	BETWEEN KM STONE 195 TO 198 ON NH 79 RHS FROM CHITTORGARH TO NEEMUCH	CHITTORGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2617	BETWEEN KM STONE 25 TO 32 ON MDR 11 A (MANGALWAR TO NIMBAHERA)	CHITTORGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2618 2619	BETWEEN KM STONE 8 TO 9 ON MDR 182 VILLAGE AKOLA, TEHSHIL BHUPALSAGAR	CHITTORGARH	Rural Rural	50 50	Open SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5 0	4
2620	IN VILLAGE CHIKARDA ON MANGALWAR NIMBAHERA ROAD	CHITTORGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2621 2622	REVENUE VILLAGE RAJGARH, TEHSIL BEGUN VILLAGE BANSI, ON UDAIPUR ROAD, TEHSIL BADI SADRI	CHITTORGARH CHITTORGARH	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5 5	3 4
2623 2624	Village Bassi WITHIN 3 KMS FROM FATEHNAGAR BUS STAND TOWARDS	CHITTORGARH	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
2624	RANAWATO KI SAREDI Village Surpur, Kapasan	CHITTORGARH	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	4
2626	Between KMS 163 to 165 on LHS from Dungarpur towards Kherwara on NH927A	DUNGARPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2627	Between KMS 380 till Ratanpur border, on RHS from Udaipur towards Ahmedabad, on NH 8	DUNGARPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2628 2629	Between KMS 230 to 235, on NH 927A Between KMS 370 to 380, on LHS from Udaipur towards	DUNGARPUR	Regular	150 150	Open SC	DC CFS	35 35	35	1225 1575	25 0	75 0	Draw of Lots	15 0	5
2629	Ahmedabad, NH 8 Between Dhambola and Simalwara, on SH 54	DUNGARPUR	Regular Regular	150	SC Open	DC	35	45 35	1575	25	60	Draw of Lots Draw of Lots	15	3
2631 2632	Within 4 KM from Peeth towards Punawada, on SH 54 Within 4 KM from Aspur towards Dungarpur, on SH-54	DUNGARPUR DUNGARPUR	Regular Regular	100 100	OBC OBC	DC DC	35 35	35 35	1225 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	4 4
2633	Within 3 KM from Village Sabla towards Banswara, on SH 32	DUNGARPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2634	Within 2 KM from either side of Rajkiya Uchh Madhyamik Vidhyalaya Patli Gujreshwar, on Dungarpur Simalwara Road, on SH 54	DUNGARPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2635	Between KMS 58 to 59, on SH54 Dungarpur to Simalwada Road, on LHS	DUNGARPUR	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
2636	Between KMS 110 to 111 on LHS from Udaipur towards Banswara on SH-32	DUNGARPUR	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2637 2638	Between KMS 245 to 250 on NH 927A Between KMS 153 to 155 on LHS from Dungarpur towards	DUNGARPUR	Regular	150 150	SC ST	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
	Kherwara on NH927A	DUNGARPUR	Regular	150	sc	CFS					0		-	
2639	Within Galiyakot town on main road width more than 60 ft	DONGARPUR	Regular	100	SL	CFS	20	20	400	0	U	Draw of Lots	0	3

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2640	Within 2 KM from either side of village Punjpur on SH-54 on Dungarpur Aspur Road	DUNGARPUR	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2641	Between KMS 183 to 190 on NH 927A Between KMS 361 to 363 on LHS from Udaipur towards	DUNGARPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2642	Ahmedabad on NH 8 Between KMS 355 to 358 on RHS from Udaipur Towards	DUNGARPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2643	Ahmedabad on NH 8 Within 2 KM from either side of Gram Panchayat Office Deval	DUNGARPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2644 2645	on NH 927A Kherwara Dungarpur Road Between KMS 220 to 225 on NH 927A	DUNGARPUR	Regular Regular	150 150	ST OBC	CFS DC	35 35	35 35	1225 1225	0 25	0 75	Draw of Lots Draw of Lots	0	3
2646	Within 3 KM from Village Sabla towards Aspur on SH 32 Between KMS 361 to 363 on RHS from Udaipur towards	DUNGARPUR	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
2647 2648	Ahmedabad on NH 8 Between KMS 240 to 245 on NH 927A	DUNGARPUR	Regular Regular	150 150	Open OBC	DC DC	35 35	45 35	1575 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5
2649	Between KMS 225 to 230 on NH 927A	DUNGARPUR	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2650	Within 3 KM from either side of village Punali on SH-54 on Dungarpur Aspur Road	DUNGARPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2651	Between KM Stone 97 to 98 on RHS from Dungarpur towards Sagwara on NH 927A	DUNGARPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2652 2653	Between KMS 235 to 240 on NH 927A Between KMS 363 to 370 on RHS from Udaipur towards	DUNGARPUR	Regular Regular	150 150	OBC Open	DC DC	35 35	35 45	1225 1575	25 25	75 75	Draw of Lots Draw of Lots	15 15	4 5
2654	Ahmedabad Between KMS 175 to 176 on RHS on NH 927A	DUNGARPUR	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
2655 2656	Between KMS 205 to 210 on NH 927A Between KMS 215 to 220 on NH 927A	DUNGARPUR DUNGARPUR	Regular Regular	150 150	Open Open	DC DC	35 35	35 35	1225 1225	25 25	75 75	Draw of Lots Draw of Lots	15 15	5
2657	Between KMS 363 to 370 on LHS from Udaipur towards Ahmedabad on NH 8	DUNGARPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2658	Between KMS 370 to 380 on RHS from Udaipur towards Ahmedabad on NH 8	DUNGARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2659 2660	Between KMS 148 to 152 on NH 927A Within Sagwara City on any main Road	DUNGARPUR DUNGARPUR	Regular Regular	150 100	Open Open	DC CC	35 20	35 20	1225 400	25 25	75 10	Draw of Lots Bidding	15 30	5 5
2661	Within 2 KM from Sagwara Police Station towards Dungarpur	DUNGARPUR	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
2662	Within 2 KM from either side of Dungarpur Railway Station	DUNGARPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2663	Between KMS 195 to 200 on NH 927A	DUNGARPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2664	Within 2 KM from either side of Adarsh Rajkiya Uchh Madhyamik Vidhyalaya Jothripal on Dungarpur Simalwara Road	DUNGARPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2665	on SH 54 Between KMS 177 to 183 on NH 927A	DUNGARPUR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2666	Between KMS 380 till Ratanpur border on LHS from Udaipur towards Ahmedabad on NH 8	DUNGARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2667	Within Municipal Limit of Dungarpur City on any main road of width more than 60 ft	DUNGARPUR	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2668 2669	Between KMS 190 to 195 on NH 927A Between KMS 210 to 215 on NH 927A	DUNGARPUR DUNGARPUR	Regular Regular	150 150	OBC SC	DC CFS	35 35	35 35	1225 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	4
	Between KMS 200 to 205 on NH 927A Within 2 KM from either side of village Mowai on SH-54 on	DUNGARPUR	Regular	150	OBC	DC CFS	35	35 35	1225	25 0	75	Draw of Lots	15 0	4
2671	Dungarpur Aspur Road Within 3 KM from either side of Police Station Kunwa on	DUNGARPUR	Regular	100	ST PH		35		1225			Draw of Lots		
2672 2673	Simalwara Chikhali Road Between KMS 7 to 8 from Sagwara to Aspur Road on RHS	DUNGARPUR	Rural Rural	50 50	OBC OBC	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
2674 2675	Between Badgi and Galiyakot on Main Road Between KMS 101 to 107 on Chikhli Badgi Road	DUNGARPUR DUNGARPUR	Rural Rural	50 50	Open OBC PH	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4 3
2676	Within 3 KM from Either Side of Village Thana on Dungarpur Bichhiwara Road on ODR 7	DUNGARPUR	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
2677	Within 3 KM from either side at Rajkiya Uchh Madhyamik Vidhyalaya Ramsagda ODR-1	DUNGARPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2678	Between KMS 8 to 9 on RHS from Sagwara to Punjpur on ODR-2	DUNGARPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2679	Between Nadiya and Khedasa on Nadiya Galiyakot Road	DUNGARPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2680	Within 2 KM from Baldiya Bus Stand towards Bichhiwara on Dungarpur Bichhiwara road	DUNGARPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2681	Within 2 Km from either side of village Kokapur on Punali Sagwara Road	DUNGARPUR	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
2682 2683	Within 5 KM from Police Station Chitri towards Sagwara Within 2 KM frm either side of village Padwa on Sagwada	DUNGARPUR	Rural Rural	50 50	Open SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
2684	Padwa marg Within 1 KM from Utkarsh Public School Dhandhariya towards	DUNGARPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2685	Kunwa on LHS Within 3 KM from either side of Atal Seva Kendra Khadgda on	DUNGARPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2685	Galiyakot Sagwara Road Within 1 KM from Kadkeshwar Temple towards Sagwara on LHS	DUNGARPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2687	Within 5 KM from Sagwara on Kishanpura Sagwara Road	DUNGARPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2688	Within 3 KM from either side of village Gamdi Ahada on Thana Mevada Road on ODR-1	DUNGARPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2689	Within 4 KM from Adarsh Rajkiya Madhyamik Vidhyalaya Chikhli towards Kunwa	DUNGARPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2690	Between KMSTONE 169 to 173 on NH 458 from Lambiya to Jaitaran on Either Side	PALI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2691	UPTO 2 KM on either side of Vayad on SH 64 Between KMSTONE 624 to 630 on NH 62 from Pali to Keerwa on	PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2692	RHS Between KMSTONE 612 to 616 on NH 62 from Pali to Gundoj on	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2693	LHS Between KMSTONE 608 to 612 on NH 62 from Pali to Gundoj on	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2694	RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2695	Between KMSTONE 630 to 633 on NH 62 from Keerwa to Kenpura on LHS	PALI	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
2696	Between KMSTONE 620 to 624 on NH 62 from Pali to Keerwa on LHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2697	Between KMSTONE 630 to 633 on NH 62 from Keerwa to Kenpura on RHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2698	Between KMSTONE 644 to 648 on NH 62 from Kenpura to Sanderao on LHS	PALI	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
2699	Between KMSTONE 75 to 79 on NH 162 from Chandawal to Bar on LHS	PALI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2700	Between KMSTONE 633 to 637 on NH 62 from Keerwa to Kenpura on LHS	PALI	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
2701	Between KMSTONE 633 to 637 on NH 62 from Keerwa to Kenpura on RHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1		i						1		L		1		اـــــــــــــــــــــــــــــــــــــ

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC SC CC-1	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
2702	Between KMSTONE 328 to 336 on NH 25 from Bar to Beawar on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2703	Between KMSTONE 637 to 640 on NH 62 from Keerwa to Kenpura on RHS	PALI	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
2704	Between KMSTONE 641 to 644 on NH 62 from Kenpura to Sanderao on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2705	Between KMSTONE 54 to 58 on NH 162 from Sojat to Chandawal on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2706	Between KMSTONE 574 to 578 on NH 62 from Rohat to Pali on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2707	UPTO 5 KM from Ras tiraha on Ras-Lambiya Road on NH158	PALI	Regular	150	OBC CC 1	СС	35	35	1225	25	10	Bidding	30	4
2708	Between KMSTONE 673 to 683 on NH 62 from Sumerpur to Palri on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2709	Between KMSTONE 656 to 660 on NH 62 from Sanderao to Sumerpur on RHS	PALI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2710	Between KMSTONE 673 to 683 on NH 62 from Sumerpur to Palri on RHS	PALI	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
2711	Between KMSTONE 648 to 652 on NH 62 from Kenpura to Sanderao on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2712	Between KMSTONE 660 to 664 on NH 62 from Sanderao to Sumerpur on LHS Between KMSTONE 569 to 574 on NH 62 from Rohat to Pali on	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2713 2714	LHS	PALI	Regular Regular	150 100	Open Open CC 1	DC DC	35 20	45 20	1575 400	25 25	75 45	Draw of Lots Draw of Lots	15 15	5
2714	Sadri WML on SH 62 Between KMSTONE 578 to 583 on NH 62 from Rohat to Pali on LHS	PALI	Regular	150	Open CC 1 Open	cc	35	45	1575	25	45	Bidding	30	5
2716	Between KMSTONE 660 to 664 on NH 62 from Sanderao to Sumerour on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2717	Between KMSTONE 50 to 54 on NH 162 from Sojat to Chandawal on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2718	Between KMSTONE 185 to 193 on SH 61 on Sardar Samand - Jadan road	PALI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2719	Within town Limits of Sojat Road on any road width of 60 feet and above	PALI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2720	Between KMSTONE 668 to 672 on NH 62 from Sanderao to Sumerpur on RHS	PALI	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
2721	Between KMSTONE 569 to 574 on NH 62 from Rohat to Pali on RHS	PALI	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
2722	Between KMSTONE 594 to 598 on NH 62 from Gajangarh toll plaza to hotel panihari on LHS	PALI	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
2723	Between KMSTONE 574 to 578 on NH 62 from Rohat to Pali on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2724	Between KMSTONE 29 to 26 on SH 62 from Sojat to Bilara Between KMSTONE 8 to 13 on SH 64 from Rohat to Vayad	PALI	Regular Regular	100	Open Open	CC DC	35	35 35	1225 1225	25	10 60	Bidding Draw of Lots	30 15	5
	Between KMSTONE 07 to 11 on NH 162 from Pali to Jadan on	PALI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2727	LHS Between KMSTONE 11 to 15 on NH 162 from Pali to Jadan on	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2728	LHS Between KMSTONE 67 to 71 on NH 162 from Chandawal to Bar	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2729	on LHS Between KMSTONE 598 to 602 on NH 62 from Gajangarh toll	PALI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2730	plaza to hotel panihari on LHS Between KMSTONE 36 to 42 on NH 162 from Pali to Sojat on	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2731	LHS Between KMSTONE 15 to 20 on NH 162 from Pali to Jadan on	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2732	LHS Between KMSTONE 637 to 640 on NH 62 from Keerwa to Kenpura on LHS	PALI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2733	Takhatgarh WML on any main road having road width of 50 feet	PALI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2734	and above. Between KMSTONE 20 to 24 on NH 162 from Pali to Sojat on LHS	PALI	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
2735	Between KMSTONE 28 to 32 on NH 162 from Pali to Sojat on RHS	PALI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2736	Between KMSTONE 641 to 644 on NH 62 from Kenpura to Sanderao on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2737	Between KMSTONE 58 to 63 on NH 162 from Sojat to Chandawal on LHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2738	Between KMSTONE 590 to 594 on NH 62 from Gajangarh toll plaza to hotel panihari on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2739	Between KMSTONE 42 to 46 on NH 162 from Sojat to Chandawal on LHS	PALI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2740	Sumerpur WML- Upto 4 KM on main road from BPC Pump towards Jaka Nagar.	PALI	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2741	Between KMSTONE 46 to 50 on NH 162 from Sojat to Chandawal on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2742	Between KMSTONE 54 to 58 on NH 162 from Sojat to Chandawal on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2743	Between KMSTONE 63 to 67 on NH 162 from Chandawal to Bar on LHS	PALI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2744	Between KMSTONE 42 to 46 on NH 162 from Sojat to Chandawal on RHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2745	Between KMSTONE 58 to 63 on NH 162 from Sojat to Chandawal on RHS	PALI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2746	Between KMSTONE 649 to 652 on NH 62 from Kenpura to Sanderao on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2747	Between KMSTONE 71 to 75 on NH 162 from Chandawal to Bar on LHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2748	Between KMSTONE 578 to 583 on NH 62 from Rohat to Pali on RHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2749	Between KMSTONE 24 to 28 on NH 162 from Pali to Sojat on LHS Between KMSTONE 2 to 6 on NH 112 from Bar to Jaitaran on	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2750	Between KMSTONE 2 to 6 on NH 112 from Bar to Jaitaran on RHS Between KMSTONE 63 to 67 on NH 162 from Chandawal to Bar	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2751	on RHS Between KMSTONE 320 to 324 on NH 25 from Bar to Beawar on	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2752	LHS Between KMSTONE 324 to 328 on NH 25 from Bar to Beawar on	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2753	RHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

Image: Section of the sectio	S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to rranged / the llicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
10.1	1	2	3		MS+HSD	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2	DC /	Frontage	Depth	Area	Estimated working capital requirement for operation	Estimated fund required for development of infrastructure at	of Lots /	11	12
Image         Order         Diage         Diage <th< td=""><td>2754</td><td></td><td>PALI</td><td>Regular</td><td>150</td><td></td><td>DC</td><td>35</td><td>45</td><td>1575</td><td>25</td><td>75</td><td>Draw of Lots</td><td>15</td><td>5</td></th<>	2754		PALI	Regular	150		DC	35	45	1575	25	75	Draw of Lots	15	5
10 <td>2755</td> <td>on RHS</td> <td>PALI</td> <td>Regular</td> <td>150</td> <td>SC</td> <td>CFS</td> <td>35</td> <td>45</td> <td>1575</td> <td>0</td> <td>0</td> <td>Draw of Lots</td> <td>0</td> <td>3</td>	2755	on RHS	PALI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1111001	2756	LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Math DescriptionDistance of the Control Lating with Claim Bundmark bias DescriptionDistance of the DescriptionDistance of the Description	-	RHS		-									Draw of Lots	0	3
Image         Image         Cale         <		Sanderao on RHS											_	30	5
Image: Sector	-	on RHS									-			15 30	4
Image         Image <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>30</td><td>5</td></th<>													-	30	5
Image: Control life USE         Proc.         Proc	-	Between KMSTONE 177 to 184 on NH 458 from Lambiya to											Draw of Lots	15	5
104. 104. 105. 106. 106. 107. 108. 108. 108. 108. 108. 108. 108. 108		Within 3 KM from Hotel Dreamland on Sanderao- Falna Road on		-									Draw of Lots	0	3
Main backbords contegisanty singure diagonMonoMonoMonoMonoMonoMonoMonoMonoMonoMonoMonoMonoMain Manne Mark Mark SingureMain Main Mark Mark Mark Mark Mark Mark Mark Mark Mark Mark Mark Mark Mark Mark Mark														30	5
1705         a. a		School towards College Road Via Bangar College)											-		
1.768         6.5         1.79 <th1.79< th="">         1.79         1.79         <th1< td=""><td></td><td>on RHS</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>Draw of Lots</td><td>15</td><td>4</td></th1<></th1.79<>		on RHS											Draw of Lots	15	4
1/2011         Cost not and account of account of the set of the se		LHS		-									Draw of Lots	15	5
1.268         Constant Head Performance Fraid Perfor	2767	"Sojat road" and Jojawar	PALI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1.2000         Openal Mode         Low	2768		PALI	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1707         Liss         1707         Lingstant         1701         <	2769		PALI	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
1727         Nangagana Industrial Analyza         PAU         People         100         Open         DC         200         Abor         201         Abore           277         Reverser MAXDE 425 of 60 mN 82 from Smarters to 1974         Participa         Participa         120         Open         DC         38         48         137         D	2770		PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1777         Sourcey and Liky         1740         Legula         1.80         0.90         0.0         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.30         0.400         0.25         0.40         0.257         0.30         0.400         0.25         0.40         0.257         0.400         0.400		Nayagaon Industrial Area, Pali											Draw of Lots Draw of Lots	15 15	5
1771       Back       Oracl       PAL       Regular       Loo       S.       O.S.       O.S. <tho.s.< th="">       O.S.       O.S.</tho.s.<>	2773	Sumerpur on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
T775         Finals w/M. con 3H is 1         PML         Regular         100         Open         O		RHS											Draw of Lots	0	3
1277       main all above.       1278       PAIL       Frequent       100       Open       CC       200       200       240       400       250       100       Badding         278       PAIL MMC on any main road having road width of 50 feet and boxe.       PALL       Regular       100       Open       CC       200       200       400       225       100       Bladding         278       Rev MMC on any main road having road width of 50 feet and boxe.       PALL       Regular       150       CC       C75       33       4.5       1575       0       0       Dia bladding         278       Settive MMSTORE 65 to 660 on NH 52 from Sandera to boxe main road having road width of 50 feet and pALL       PALL       Regular       150       Open       CC       2.0       400       2.5       10.0       Bladding         278       Settive MMSTORE 51 to 30 nm NH 52 from Sandera to boxe main road having road width of 50 feet and pALL       PALL       Regular       100       Open       CC       2.0       4.00       2.5       10.0       Bladding         278       Settive MMSTORE 51 to 30 son NH 52 from Chandwari to Bar       PALL       Regular       1000       Open       CC       2.0       4.00       2.5       10.0       Bladding      <		Falna WML on SH 16											Bidding Draw of Lots	30 15	5
1277       Non- Participant       1280       120		and above.		Regular										30	5
Altronge       Handling       Handling <th< td=""><td></td><td>above.</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>30</td><td>5</td></th<>		above.												30	5
L730       Lis       Lis <thl< td=""><td></td><td>above.</td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td>-</td><td>30</td><td>5</td></thl<>		above.							-				-	30	5
above.         above.         PAU         Regular         150         Open         CC         35         445         1575         25         100         Bidding           2783         Spirt WRL on any main road having road width of 50 feet and bove.         PAU         Regular         150         Open         CC         20         400         255         110         Bidding           2784         PLAU         Regular         150         Open         CC         20         400         225         110         Bidding           2784         PLAU         Regular         150         Open         CC         35         45         1575         2.5         75         Draw of Lot           2785         Summer WLR S0 NB on NH 32 from Pall to Solat on         PAU         Regular         100         Open         CC         20         20         400         2.5         100         Bidding           2786         Summer WLR S0 NB on NH 32 from Pall to Solat on         PAU         Regular         100         Open         CC         35         45         157         2.5         7.5         Draw of Lot           2788         Between KKMSTON 410 14 on NH 132 from Anadwal to Bar         PAU         Regular         100 <td></td> <td>0</td> <td>3</td>														0	3
Summer of units         Summer of units         C        C <thc< th=""> <thc< <="" td=""><td></td><td>above.</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td>30 30</td><td>5</td></thc<></thc<>		above.									-			30 30	5
above.         number of the start of														30	5
on US         on US <th< td=""><td></td><td>Between KMSTONE 83 to 89 on NH 162 from Chandawal to Bar</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>15</td><td>5</td></th<>		Between KMSTONE 83 to 89 on NH 162 from Chandawal to Bar											-	15	5
LHS         PALI         Regular         100         Open         CC         20         400         25         10         Bidding           2786         Sumerpur WML on any main road having road width of 60 feet and above.         PALI         Regular         100         SC         CFS         35         35         1225         0         0         Draw of Lot           2788         Between KMSTONE 71 to 75 on NH 162 from Chandawal to Bar NHS         PALI         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lot           2789         Between KMSTONE 10 to 14 on NH 112 from Bar to Jatran on RHS         PALI         Regular         100         Open         DC         35         45         1575         0         Draw of Lot           2790         Between KMSTONE 64 to 668 on NH 62 from Sanderao to RHS         PALI         Regular         100         Open         DC         35         45         1575         25         60         Draw of Lot           2791         Between KMSTONE 64 to 668 on NH 62 from Sanderao to RHS         PALI         Regular         100         Open         DC         35         45         1575         25         75         Draw of Lot	-	Between KMSTONE 32 to 36 on NH 162 from Pali to Sojat on									-		Draw of Lots	15	5
2787         Revenue village - kantaliya, Tehsil - Marwar Junction on SH 58         PALI         Regular         100         SC         CFS         35         35         1225         0.0         0.0         Draw of the factors           2788         Between KMSTONE 71 to 75 on NH 162 from Chandawal to Bar         PALI         Regular         150         Open         DC         35         45         1575         2.55         7.55         Draw of the factors           2798         Between KMSTONE 71 to 75 on NH 162 from Chandawal to Bar         PALI         Regular         100         Open         DC         35         45         1575         0.0         0.0         Draw of the factors           2799         Between KMSTONE 41 to 14 on NH 112 from Bar to Jaltaran on PALI         Regular         100         Open         DC         35         35         1225         2.50         660         Draw of the factors           2791         Between KMSTONE 42 to 51 on SH 67 from Pali to Somear         PALI         Regular         100         Open         DC         35         45         1375         2.55         7.50         Draw of the factors           2792         Between KMSTONE 42 to 51 on SH 67 from Pali to Sojat on PALI         Regular         100         Open         CC         30		Sumerpur WML on any main road having road width of 60 feet		-										30	5
278         on RHS         150         Open         DC         35         45         1575         25         75         Draw of the constraints           278         Between KMSTONE 10 to 14 on NH 112 from Bar to Jaltaran on NHS         PALL         Regular         150         SC         CFS         35         45         1575         0         0         Draw of the Draw of the Dra	2787		PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
278         Between KMSTONE 10 to 14 on NH 112 from Bar to Jaltaran on RHS         PALI         Regular         150         SC         CFS         35         45         1575         0         0         Draw of Lot:           2290         Between KMSTONE 10 to 14 on NH 112 from Bar to Jaltaran on RHS         PALI         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lot:           2791         Between KMSTONE 64 to 658 on NH 62 from Pali to Somesar         PALI         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lot:           2792         Between KMSTONE 64 to 658 on NH 62 from Sandera to summy un clubs         PALI         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lot:           2793         Between KMSTONE 21 to 24 on NH 62 from Pali to Sojat on RHS         PALI         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lot:           2794         Between KMSTONE 203 to 210 on NH 458 from Jaltaran to Retween KMSTONE 203 to 210 on NH 458 from Jaltaran to Retween KMSTONE 668 to 572 on NH 62 from Sandera to Sumerpur on LHS         PALI	2788		PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2790         Between Sojat City to Chadwas Via Roopawas on SH-58         PALI         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots           2791         Between KMSTONE 42 to 51 on SH 67 from Pali to Somesar         PALI         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots           2792         Between KMSTONE 645 to 658 on NH 62 from Sanderao to some prury on LHS         PALI         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2793         Within town limits of Marwar Junction on any main road having road width of 60 feet and above.         PALI         Regular         100         Open         CC         20         400         25         10         Bidding           2793         Between KMSTONE 201 to 24 on NH 162 from Pali to Sojat on RHS         PALI         Regular         150         OBC         35         45         1575         25         75         Draw of Lots           2794         Between KMSTONE 201 to 210 on NH 458 from Jaitran to Rajour on Ether Side         PALI         Regular         150         OBC         35         35	2789	Between KMSTONE 10 to 14 on NH 112 from Bar to Jaitaran on	PALI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
Product         Between KMSTONE 664 to 668 on NH 62 from Sanderao to Sumerpur on LHS         PALI         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2793         Within town limits of Marwar Junction on any main road having road width of 60 feet and above.         PALI         Regular         100         Open         CC         20         400         25         10         Bidding           2794         Between KMSTONE 21 to 24 on NH 162 from Pali to Sojat on Raipur on Either Side         PALI         Regular         150         OBC PH         DC         35         45         1575         25         75         Draw of Lots           2795         Between KMSTONE 20 to 210 on NH 458 from Jaitaran to Raipur on Either Side         PALI         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2795         Between KMSTONE 203 to 210 on NH 458 from Jaitaran to Sumerpur on LHS         PALI         Regular         150         Open         DC         35         45         1575         25         10         Bidding           2796         Between KMSTONE 23 to 36 on NH 112 from Jaitaran to Bilara         PALI         Regular         150		Between Sojat City to Chadwas Via Roopawas on SH-58											Draw of Lots	15	5
Sumerpur on LHSSumerpur on LHSCCC <thc< th="">C<!--</td--><td>-</td><td>Between KMSTONE 664 to 668 on NH 62 from Sanderao to</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td>15</td><td>5</td></thc<>	-	Between KMSTONE 664 to 668 on NH 62 from Sanderao to									-			15	5
Troad width of 60 feet and above.         Tool		Within town limits of Marwar Junction on any main road having												30	5
RHS         C		Between KMSTONE 21 to 24 on NH 162 from Pali to Sojat on									-		Draw of Lots	15	4
Raipur on Ether Side         PALI         Regular         150         OBC         CC         35         45         1575         25         10         Bidding           2796         Between KMSTONE 668 to 672 on NH 62 from Sanderao to Sumerpur on LHS         PALI         Regular         150         OBC         CC         35         45         1575         25         10         Bidding           2797         Between KMSTONE 32 to 36 on NH 112 from Jaitaran to Bilara 0 LHS         PALI         Regular         150         ST         CFS         35         45         1575         0         0         Draw of Lots           2798         Between KMSTONE 46 to 50 on NH 162 from Sojat to Chandawal on RHS         PALI         Regular         100         OBC         DC         35         45         1575         25         75         Draw of Lots           2799         Saft WHL on SH 16         PALI         Regular         100         OBC         DC         20         400         25         45         Draw of Lots           2800         Between KMSTONE 173 to 177 on NH 458 from Lambiya to Jataran on Either Side         PALI         Regular         150         SC         CFS         35         125         0         0         Draw of Lots		Between KMSTONE 203 to 210 on NH 458 from Jaitaran to											Draw of Lots	15	5
Summerpur on LNS         Summerpur on LNS         C <thc< th="">         C         <thc< th="">         C         <thc< th="">         C         <thc< th="">         C&lt;</thc<></thc<></thc<></thc<>		Between KMSTONE 668 to 672 on NH 62 from Sanderao to									-			30	4
2798         Between KMSTONE 46 to 50 on NH 162 from Sojat to Chandawal on RHS         PALI         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2799         Sadri WML on SH 16         PALI         Regular         100         OBC         DC         20         400         25         45         Draw of Lots           2800         Between Varaval to Bhatund on SH-62         PALI         Regular         100         Open         CC         35         35         1225         25         10         Bidding           2801         Between Varaval to Bhatund on SH-62         PALI         Regular         150         SC         CFS         35         1225         20         0         0           2801         Between KMSTONE 173 to 177 on NH 458 from Lambiya to Jaitaran on Either Side         PALI         Regular         150         SC         CFS         35         1225         0         0         Draw of Lots           2802         Between KMSTONE 652 to 656 on NH 62 from Sanderao to Sumerpur on RHS         PALI         Regular         150         Open         CC         35         45         1575         25         10         Bidding           2803 <td>2797</td> <td>Between KMSTONE 32 to 36 on NH 112 from Jaitaran to Bilara</td> <td>PALI</td> <td></td> <td>150</td> <td>ST</td> <td>CFS</td> <td>35</td> <td>45</td> <td>1575</td> <td>0</td> <td>0</td> <td>Draw of Lots</td> <td>0</td> <td>3</td>	2797	Between KMSTONE 32 to 36 on NH 112 from Jaitaran to Bilara	PALI		150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2799         Sadri WML on SH 16         PALI         Regular         100         OBC         DC         20         400         25         45         Draw of Lots           2800         Between VAraval to Bhatund on SH-62         PALI         Regular         100         OBC         CC         35         1225         25         10         Bidding           2801         Between VARTSONE 173 to 177 on NH 458 from Lambiya to Jaitaran on Either Side         PALI         Regular         150         SC         CF         35         1225         0         Draw of Lots           2803         Between KMSTONE 652 to 656 on NH 62 from Sanderao to Sumerpur on RHS         PALI         Regular         150         Open         CC         35         45         157         25         10         Bidding           2803         Between KMSTONE 652 to 656 on NH 62 from Sanderao to Sumerpur on RHS         PALI         Regular         150         Open         CC         35         45         157         25         10         Bidding           2803         From Sewaro to Lunawa on SH 62         PALI         Regular         100         Open         DC         35         1225         25         60         Draw of Lots           2804         Between KMSTONE 620 to	2798	Between KMSTONE 46 to 50 on NH 162 from Sojat to	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Between KMSTONE 173 to 177 on NH 458 from Lambiya to Jaitaran on Either Side         PALI         Regular         150         SC         CFS         35         1225         0         0         Draw of Lot Data           2801         Between KMSTONE 173 to 177 on NH 458 from Lambiya to Jaitaran on Either Side         PALI         Regular         150         SC         CFS         35         1225         0         0         Draw of Lot           2802         Between KMSTONE 652 to 656 on NH 62 from Sanderao to Sumerpur on RHS         PALI         Regular         150         Open         CC         35         45         1575         25         10         Bidding           2803         From Sewaro to Lunawa on SH 62         PALI         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lot           2804         Between KMSTONE 620 to 624 on NH 62 from Pali to Keerwa on RHS         PALI         Regular         150         Open         CC         35         45         1575         25         100         Bidding		Sadri WML on SH 16											Draw of Lots Bidding	15 30	4
Between KMSTONE 652 to 656 on NH 62 from Sanderao to Sumerpur on RHS         PALI         Regular         150         Open         CC         35         45         1575         25         10         Bidding           2803         From Sewaro to Lunawa on SH 62         PALI         Regular         100         Open         DC         35         45         1575         25         10         Bidding           2804         Between KMSTONE 620 to 624 on NH 62 from Pali to Keerwa on RHS         PALI         Regular         150         Open         DC         35         45         1257         25         60         Draw of Lott		Between KMSTONE 173 to 177 on NH 458 from Lambiya to											Draw of Lots	0	3
2803         From Sewaro to Lunawa on SH 62         PALI         Regular         100         Open         DC         35         1225         25         60         Draw of Lots           2804         Between KMSTONE 620 to 624 on NH 62 from Pali to Keerwa on RHS         PALI         Regular         150         Open         CC         35         45         1575         25         10         Bidding	2802	Between KMSTONE 652 to 656 on NH 62 from Sanderao to	PALI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2804 RHS PALI Regular 150 Open CC 35 45 1575 25 10 Bioding		From Sewaro to Lunawa on SH 62											Draw of Lots	15 30	5
	2805	Within town limit of desuri on Desuri Narlai Road	PALI	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
								1					Draw of Lots Draw of Lots	15 15	5
Between KMSTONE 30 to 42 on NH 162 from Pali to Solation		Between KMSTONE 39 to 42 on NH 162 from Pali to Sojat on											Draw of Lots	0	3

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged • the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2809	Between KMSTONE 195 to 203 on NH 458 from Jaitaran to Raipur on Either Side	PALI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2810	Between KMSTONE 195 to 202 on SH 61 on Jadan- Marwar Junction road	PALI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2811	Upto 4 KM from Bijapur Choraha towards padarla on SH 62	PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2812	Between KMSTONE 50 to 54 on NH 162 from Sojat to Chandawal on RHS	PALI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2813	Sojat WML - Between Sojat City to Sojat Road on SH62	PALI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2814	Between KMSTONE 0 to 7 on SH 32 on Sadri to Ranakpur Road	PALI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2815	Within 2 KM from Nextgen Textile park towards sardar samand on SH 67 on Pali-Sardar Samand road	PALI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2816	Between KMSTONE 79 to 83 on NH 162 from Chandawal to Bar on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2817	Between KMSTONE 210 to 218 on NH 458 from Jaitaran to Raipur on Either Side	PALI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2818	Between KMSTONE 664 to 668 on NH 62 from Sanderao to Sumerpur on RHS	PALI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2819	Between KMSTONE 616 to 620 on NH 62 from Pali to Keerwa on RHS	PALI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2820	Sumerpur WML- Upto 4 KM on main road from BPC Pump towards Jawai bandh.	PALI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2821	Between KMSTONE 102 to 112 on SH 62 on Desuri - Jojawar road	PALI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2822	Between KMSTONE 612 to 616 on NH 62 from Pali to Gundoj on RHS	PALI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2823	UPTO 5 KM from lambiya tiraha on Lambiya- Ras Road on NH 158	PALI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2824	Between KMSTONE 624 to 630 on NH 62 from Pali to Keerwa on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2825	Upto 8 KM from Sanderao towards Takhatgarh on NH325 Between KMSTONE 174 to 182 on SH 61 on Sardar Samand -	PALI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2826	Jadan road	PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2827	Between KMSTONE 616 to 620 on NH 62 from Pali to Keerwa on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2828	Between KMSTONE 6 to 10 on NH 112 from Bar to Jaitaran on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2829	Sumerpur WML- Upto 2 KM on main road from BPC Pump towards Sheoganj.	PALI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2830	Between KMSTONE 2 to 6 on NH 112 from Bar to Jaitaran on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2831	Between KMSTONE 328 to 336 on NH 25 from Bar to Beawar on RHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2832	Between KMSTONE 21 to 25 on SH 64 from Rohat to Vayad	PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2833	Between KMSTONE 604 to 608 on NH 62 from Pali to Gundoj on RHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2834	Between KMSTONE 10 to 14 on NH 112 from Bar to Jaitaran on LHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2835	Between KMSTONE 608 to 612 on NH 62 from Pali to Gundoj on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2836	Upto 3 KM on either side from Jojawar Police station on SH 62	PALI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2837	Between KMSTONE 202 to 214 on SH 61 on Jadan- Marwar Junction road	PALI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2838	Between KMSTONE 0 to 5 on SH 64 from Rohat to Vayad	PALI	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
2839	Within 2 KM on either side from Manda on SH 62 on Sojat road- Jojawar road	PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2840	Between KMSTONE 79 to 83 on NH 162 from Chandawal to Bar on LHS	PALI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2841	Between Seeriyari to Phulad on SH 62 between "Sojat road" and Jojawar	PALI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2842	Between KMSTONE 24 to 28 on NH 162 from Pali to Sojat on RHS	PALI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2843	Within town limit of Rohat on any road of width 60 ft and more	PALI	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2844	Between Dudor to Hemliawas between "Sojat road" and Marwar Junction	PALI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2845 2846	Between Chandawal to Deoli kalan Revenue Village - Dhamli on main road, Tehsil - Marwar	PALI	Rural Rural	50 50	SC ST	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
2846	Junction Between Doongli to Latara, Tehsil -Bali	PALI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2848	Between Desuri To Sonana on Desuri-Sonana-Khetlaji Road	PALI	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2849	Within 3 KM from Balara on Balara-Asarlai Road Within 2 KM on Either Side(One towards Murkasni village and	PALI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2850	other towards Nimbol village ) from the Main gate of Nirmax Cement Plant,Nimbol.	PALI	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
2851 2852	Between Bhanwari to Roopawas, Tehsil - Pali	PALI PALI	Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	3
2852	On Balwan to Perwa road, Village - Bisalpur Upto 4 KMS from Koselao Police station towards Sanderao on	PALI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2854	Koselao - Sanderao Road. Within 3 KM from Bali Court towards Boya on Bali - Boya Road	PALI	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2855	Upto 3 KM from Ras Police station towards karnos village on	PALI	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2856	LHS Upto 2 KM from Khinwara Bus Stand on Khinwara - Tokarla	PALI	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2857	Road Within 3 KM from Takhatgarh Chouraha on sumerpur road	PALI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2858	towards Balupura Between km stone 75 to 79 on NH 113 towards Banswara	PRATAPGARH	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2859 2860	On Banswara road in Pratapgarh City Limits Within 4 kms from Gandhi Circle towards Nimbahera, Choti	PRATAPGARH	Regular	100	Open ST	DC CFS	20 20	20 20	400	25 0	45 0	Draw of Lots	15 0	5
2860	Sadri WML Between km stone 87 to 90 on NH 113 towards Banswara	PRATAPGARH	Regular Regular	100	SI Open PH	DC	35	35	400 1225	25	75	Draw of Lots Draw of Lots	15	3
2862	Within 1 Km from ACB Office Pratapgarh on LHS, Pratapgarh City	PRATAPGARH	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
2863	Between Gandhi Circle to RTO Office, Choti Sadri WML	PRATAPGARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2864	Between km stone 111 to 114 on NH 113 towards Banswara	PRATAPGARH	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
2865	Village Dhamotar on NH 113	PRATAPGARH	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4

1         2         3         4         5         4         7         1	2866 2867 2868 2869	2	3	4				(i			арр	licant	Selection	Minimum Bid amount	Deposit
Photometer in nine din till souch kannaver         PMAMPGAIN         RegAr         100         CC         075         155         102         0         0         Dareer dies           2500         Interace in nine die die antitit in souch kannaver         PMAMPGAIN         RegAr         100         CC         100	2867 2868 2869			Regular /	MS+HSD	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-2	CC / DC /	Frontage		Area	Estimated working capital requirement for operation	Estimated fund required for development of infrastructure at	Draw of Lots /	11	12
1280         Descrete in control 110 and 110 and 110 and 120 and 120         27         28         28         43         125         40         0         Descrete in control 110 and	2868 2869	Between km stone 117 to 120 on NH 113 towards Banswara	PRATAPGARH	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1300         Preserve into the US of NM MAX MAM MARMINE SPRAD CONS         Preserve into         Size         Size <td>2869</td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>0</td> <td>3</td>	2869			-										0	3
Land         Land         PHALAMAM         Registry         Los         S.         S.         Los         Los         Col         Units           2271         MITELIN ADD FEDAR SUDE FMULA MAIL TEMPLES DEPUTAL         FRAALAMAM         Registry         LOS         CC         LS         LS         LSS         LSS </td <td>2870</td> <td>Between km stone 90 to 93 on NH 113 towards Banswara</td> <td></td> <td>0 15</td> <td>3</td>	2870	Between km stone 90 to 93 on NH 113 towards Banswara												0 15	3
1.247         0, row mail 13         1.240         One         0.35         1.35         1.20         2.20         2.20         2.50         7.5         0 main toos           2270         Interseen kn store 201 to 150 on Mi 13 baned harman         PPRAI/FAAMH         Register         1.20         0.76         0.75		14	PRATAPGARH	Regular	100	SC	CFS	35	35	1225	0		Draw of Lots	0	3
1271         Between two tabes (0) 65 out the 111 intervert Between         PMATAPADANI         Regular         100         ST HI         CDS         200         400         0         Draw of Loss           217         Within 54 mode 76 to 88 out the 111 intervert Between         PMATAPADANI         Regular         100         DTF H         CDS         201         400         0         Draw of Loss           2171         Between two love 76 to 88 out the 111 intervert Between         PMATAPADANI         Regular         100         DCC         10         125         125         75         Draw of Loss           2171         Between two love 76 to 88 out the 111 intervert Between         PMATAPADANI         Regular         100         DCC         155         155         122         20         0         Draw of Loss           2171         Between two love 76 to 88 out the 111 intervert Between         PMATAPADANI         Regular         100         Draw of Loss         155         122         22         20         0         0         Draw of Loss           2187         Between two love 76 to 81 into 48 Mode MAMAA         PMATAPADANI         Regular         100         Draw of Loss         155         122         12         100         Draw of Loss         158         1225         1		ON NH 113												15	4
Image: Part of the function of the stands around Device State Name         PRIATABABINE         Registry         100         0.75         20         20         0.00         0         Dever disc           2876         Reference in store 216 state mit 11 towards Resource         PRIATABABINE         100         0.000 (1.0000 (1.000 (1.000 (1.0000 (1.000 (1.000 (1.000 (1.000														15 15	5
Table Between bits bits of the option that 131 loweds harmware         PHATAPGGAM         Regular         130         OBC CC1         DC         35         35         1225         25         75         Derver of Lists           2377         Between house Dis to List On Ans. Nameds Barmware         PHATAPGGAM         Regular         150         Open C1         DC         35         35         1225         25         75         Derver of Lists           2377         Between has tabre 28 to 120 on NI 133 loweds Barmware         PHATAPGGAM         Regular         150         Open C2         DC         185         185         1225         175         Derver of Lists           2380         WITRI 15 SARD MAX COMMAN         Bartaware Name 2010 BARAM TOWARD         PHATAPGGAM         Regular         150         Open C1         DC         185         38         1225         12         Do         Opera of Lists           2380         WITRI 15 Not ADS FRAMMAN COMMART         PHATAPGGAM         Regular         150         Open DC         185         185         185         Do         Opera of Lists         Darw of		Within 4 kms from Gandhi Circle towards Choti Sadri Road,												0	3
2277         between kin store 135 to 136 on NH 131 lower/s banwars         PMADACAM         Regular         150         Open C1         DC         35         125         0         0         Draw of Lts           2278         Between kin store 158 to 115 Nower/s banward         PMADACAM         Regular         100         5         0         0         1225         0         0         Draw of Lts           2280         Michael Kanstore 38 to 115 to 111 Andre Abanward         PMADACAM         Regular         100         57         PH         0         0         Draw of Lts         100 more		Between km stone 79 to 83 on NH 113 towards Banswara												15 15	4 4
Patteren in store 108 to 111 on N1 131 bounds Bannara         PRATARGARH         Regular         150         Dpn C 2         DC         150         D 30         D 40         D         D mare of Lots           2880         WTHIN 5 XX45 (FLOM ANU GAUGA BAUGA ADD SAMAAK TOWARDS         PRATARGARH         Regular         100         ST PH         GTS         130         130         400         0         0         Dow of Lots           2880         MUTHIN 5 XX45 (FLOM ANU GAUGA BLOM TOWARDS         PRATARGARH         Regular         150         OpenC 10         51         135         122         12         30         Doward Lots           2881         Bateween MX5 155 to 155 on USBJP Charachell         Rular Advect         Rular Advect         Rular Advect         150         Open         CC         135         135         1225         12         30         Draw of Lots           2885         Bateween MX5 155 to 155 on USBJP Charachell         Rular Advect         Rular Advect         Rular Advect         150         OPC         155         155         125         07         Draw of Lots           2886         Bateween MX5 115 to 175, mol USBJP Charachell         Rular Advect         Rular Advect         Rular Advect         Rular Advect         Rular Advect         Rular Advect         Rular														15	5
Partner         PRATARCAME         Regular         150         STPH         Cfs         20         400         0         Draw of Loss           2881         Retween thm store SL of an NH 13 Store SL of ASL ANAND Regular         Regular         Store SL of ASL SL of SL														0	3
Jack Law On WALAWARK BALAW ROLL         PRATAPGAIN         Program         150         Open C1         0.5         15         125         25         75         Draw of Lets           2881         Breeven Micro Reg 10 ar 20 min Thi Thar Min Ball Tranz Village         PRATAPGAIN         Rural         50         Open         0C         35         35         1225         12         30         Draw of Lets           2881         Withen Micro Reg 10 ar 20 min Thi Thar Min Ball Tranz Village         PRATAPGAIN         Rural         50         Open         0C         35         35         1225         12         30         Draw of Lets           2884         Withen Micro Sta 10 37: 00 Litigur Agene Road on NH-8         RASAMAND         Regular         150         0CC         15         45         1575         25         75         Draw of Lets           2884         Enterem KKK 515 0 17: 00 Litigur Agene Road on NH-8         RASAMAND         Regular         150         0BCC         155         45         1575         25         75         Draw of Lets           2887         Enterem KKK 515 01: 00 Litigur Agene Road on NH-8         RASAMAND         Regular         150         0BCC         155         45         1575         25         75         Draw of Lets      <				-										15 0	5
Land         on Neemach Protograph Read         PRAIADUM         Burn         S0         Open         DC         35         L25         L2         S0         Draw of Lots           2883         WTITEN KA FORM OCCURED TO MANDUR ROAD INAGE TO A GUIDA         PRAIADORAL         Rural         S0         Open         DC         35         15         122         30         Draw of Lots           2884         Retween KMS 155 to 155 to 124 pur Ajmer Road, on NH-8         RAISMAND         Regular         150         OCC         35         45         1575         25         75         Draw of Lots           2885         Retween KMS 155 to 125, on Udaipur Ajmer Road, on NH-8         RAISMAND         Regular         150         OPC         CC         35         45         1575         25         75         Draw of Lots           2885         Retween KMS 210 21, on Udaipur Ajmer Road on NH-8         RAISMAND         Regular         150         OPC         CC         35         45         1575         25         75         Draw of Lots           2887         Retween KMS 210 123, on Udaipur Ajmer Road on NH-8         RAISMAND         Regular         150         OPC         20         400         25         45         Draw of Lots           2888         <		Between km stone 83 to 87 on NH 113 towards Banswara		-										0 15	3
Labor         PHILATION AGUNA	2882		PRATAPGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2885         Between MAS 165 to 175, on Udajour Ajmer Road, on NH-8         RAJSAMAND         Regular         150         OBC         D         35         45         1575         25         75         Draw of Lots           2886         Between MAS 165 to 175, on Udajour Ajmer Road, on NH-8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2887         Between MAS 185 to 195, on Udajour Jowards Ajmer, RAJSAMAND         Regular         150         OBC         CC         35         45         1575         25         75         Draw of Lots           2888         Between MAS 185 to 195, on Udajour Jowards Ajmer, RAJSAMAND         Regular         100         Open         DC         20         400         25         45         Draw of Lots           2888         Between MAS 185 to 195, on Udajour Jowards Bank, on UKS, on RAJSAMAND         Regular         100         Open         DC         20         400         25         10         Bidding           2898         Within Advice and maximum Cong and maxima and celd         Malasamat Cong and maxima and celd         Toraw of Lots         20         20         400         0         0         Draw of Lots           2898 <td>2883</td> <td></td> <td>PRATAPGARH</td> <td>Rural</td> <td>50</td> <td>Open</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>12</td> <td>30</td> <td>Draw of Lots</td> <td>5</td> <td>4</td>	2883		PRATAPGARH	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Between KMS 211 to 212 on RHS from Udalpur towards Ajmer, on NH-8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Los Bidding           2887         Retween KMS 221 to 212, on RHS from Udaipur towards Ajmer, on NH-8         RAJSAMAND         Regular         150         0EC         CC         35         45         1575         25         10         Bidding           2888         Retween KMS 185 to 195, on Udaipur Ajmer Road on NH-8         RAJSAMAND         Regular         100         Open         DC         35         45         1575         25         75         Draw of Los           2889         From Ja Claski diaurabit sowards Camare Bank, on LHS, on Ajmager Kantol road, Rejeamand City         RAJSAMAND         Regular         100         Open         CC         20         400         25         45         Draw of Los           2890         methan 60 fest         Immidrage Imm	2884	Betweem KMS 155 to 165 on Udaipur Ajmer Road on NH-8	RAJSAMAND	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Less         on HH-8         Industry         Liso         Open         UC         as         4's         Liso         A's	2885		RAJSAMAND	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2287         on NH 8         CNCSMONICO         Regular         130         OBC         CC         33         43         137         23         100         Biolong           2888         Betweem KMS 185 to 19, on Udaipur Angado on NH-8         RAJSAMAND         Regular         150         OBC         DC         35         45         1575         25         75         Draw of Lots           2889         Formal Chask chauraha towards Canara Bank, on LHS, on Rajnagar Cankroli road, Rajsamad QLY.         RAJSAMAND         Regular         100         Open         DC         20         20         400         25         10         Bidding           2890         Within Decegant Norm from Decegant Surgiole towards Bhilwara (II) Obligura Jang, Im unicipall Init.         RAJSAMAND         Regular         100         Open         CC         20         20         400         0         0         Draw of Lots           2893         On Kink and Kin conscription from Decegant Surgiole towards Bhilwara (II) Obligura Jang manu (IQAI)         RAJSAMAND         Regular         100         Open         CC         20         400         25         100         Bidding           2893         On Kol regular Sajamand WM.         RAJSAMAND         Regular         100         Open         CC         20	2886	on NH-8	RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Prom Jal Chakki chauraha towards Canara Bank, on LHS, on Rajnagar Kankroli read, Rajamand City         RAJSAMAND         Regular         100         Open         DC         20         20         400         25         45         Draw of Lots           2890         Within Municipaity Ordan, Rajamand City         RAJSAMAND         Regular         100         Open         CC         20         400         25         10         Bidding           2891         Within Deegart Namicipait Neurofs Surajpole towards         RAJSAMAND         Regular         100         SC         CFS         20         400         0         0         Draw of Lots           2891         Within 2 KM from Saftyagart         RAJSAMAND         Regular         100         Open         CC         20         400         0         0         Draw of Lots           2893         On Ito road in Rajamand WML         RAJSAMAND         Regular         100         Open         CC         20         400         25         10         Bidding           2893         On Ito road in Rajamand WML         RAJSAMAND         Regular         100         Open         CC         20         400         25         10         Bidding           2894         Moth Rajamand         Regular	2887		RAJSAMAND	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
289         Bajnagar Kankoli rod, Bajamand City.         KRASAMAND         Regular         100         Open         UC         200         200         400         25         45         Urav of tots           289         Within Municipality of Nathdwars, on any main road of width more than 40 feet         RAJSAMAND         Regular         100         Open         CC         20         20         400         25         10         Bidding           289         Within ASM from Sardagarh town from Deogarh Surajpole towards         RAJSAMAND         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots           2893         Within 4 SM from Sardagarh town from Deogarh Surajpole towards Karloli, On Sardargarh         RAJSAMAND         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots           284         Within 4 SM from Relay Parthmik Vidylapiay Rajpura on Sardargarh Amet Road on SH 56         RAJSAMAND         Regular         100         Open         CC         20         400         25         10         Bidding           289         Within A SM from Relayer Parthmik Vidylapiay Rajpura on SH SASAMAND         Regular         100         Open         CC	2888		RAJSAMAND	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2290         more than 40 feet         Mode NMAND         Regular         100         Open         CC         20         20         400         23         100         Bailware           289         Within Decays thown from Decagarisariapide towards         RAUSAMAND         Regular         100         SC         GFS         20         400         0         0         Draw of Lots           289         Within A KM from Straighed towards Kankroli, On Sardargarh         RAUSAMAND         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots           2894         Within 2 KM from Rajkya Pratmik Vidhyalaya Rajpura on Sardargarh Amet Road on SH 56         RAUSAMAND         Regular         100         Open         DC         35         135         1225         25         60         Draw of Lots           2898         Within 2 KM from Rajkya Pratmik Vidhyalaya Rajpura on Sardargarh Amet Road on SH 56         RAUSAMAND         Regular         100         Open         CC         20         400         25         100         Bilding           2898         Within 2 KM from Rajkya Pratmik Xidhyalaya Rajpura on Rissamand         RAUSAMAND         Regular         100         Open         CC         35         45         <	2889	Rajnagar Kankroli road, Rajsamand City	RAJSAMAND	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
299         Bhiwara III Dolgura ka nala, in municipal limit         RAUSAWARU         Regular         100         Sc.         CPs         2.0         4.00         0         0         Draw of lots           289         Within 4 XM from Standargarh towards Kankroli, On Sardargarh kankroli road, on SH 56         RAJSAMAND         Regular         100         Open         DC         35         35         1225         2.5         60         Draw of Lots           289         Within 2 XM from Ridge Parthmik Vidhyalaya Rajpura on Sardargarh Amet Road on SH 56         RAJSAMAND         Regular         100         Open         CC         2.0         400         2.5         1.0         Bidding           289         Within 1 XM from Read post office Kankroli towards Krishi Upaj Mandi Rajsamand         RAJSAMAND         Regular         100         Open         CC         2.0         400         2.5         1.0         Bidding           289         Within 1 XM from Read post office Kankroli towards Krishi Upaj Nandi Rajsamand         RAJSAMAND         Regular         100         Open         CC         3.5         1225         2.5         1.0         Bidding           289         Within 1 XM from Read post office Kankroli towards Udajpur 61         RAJSAMAND         Regular         150         OBC         DC         3.		more than 40 feet											-	30	5
2925         Kankroli road, on SH 56         No SamiANU         Regular         100         Open         DC         35         122         23         00         Draw folds           2833         0.00 ft road in Rajsmand WML         RAJSAMAND         Regular         100         Open         CC         20         400         25         10         Bidding           2894         Within 2 KM from Rajkiya Prathmik Vidhyalaya Rajpura on         RAJSAMAND         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots           2895         Within 2 KM from Rajkiya Prathmik Vidhyalaya Rajpura on         RAJSAMAND         Regular         100         Open         CC         20         20         400         25         10         Bidding           2895         Within 1 M Krom Hard post office         Kankoli towards Krishi Upaj         RAJSAMAND         Regular         100         Open         CC         35         35         1225         25         10         Bidding           2896         Between KMS 216 to 218 from Udajpur to Ajmer on NH-8 on         RAJSAMAND         Regular         150         OBC         DC         35         45         1575         25         75         Dra		Bhilwara till Dholpura ka nala, in municipal limit												0	3
2894         Within 2 KM from Rajkiya Prathmik Vidhyalaya Rajpura on Sardargarh Amet Road on SH 56.         RAJSAMAND         Regular         100         Open         DC         35         35         1225         25         60         Draw of Lots           2895         Within 1 KM from Read post office Kankroli towards Krishi Upaj Mandi Rajsamand         RAJSAMAND         Regular         100         Open         CC         20         20         400         25         10         Bidding           2895         Within 1 KM from Read post office Kankroli towards Krishi Upaj Mandi Rajsamand         RajsAMAND         Regular         100         Open         CC         20         400         25         10         Bidding           2896         Between KMS 287 to 288 from Deogarh towards Bhilwara on SH RAJSAMAND         Regular         150         OBC         35         45         1575         25         75         Draw of Lots           2897         Between KMS 216 to 218 from Udaipur to Ajmer on NH-8 on NH8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2898         Within 3 KM from Either side of Chapil Government School on NH-8         RAJSAMAND         Regular         150         SC         CFs <td></td> <td>Kankroli road, on SH 56</td> <td></td> <td>15 30</td> <td>5</td>		Kankroli road, on SH 56												15 30	5
2895Within LM from Head post office Kankroli towards Krishi Upaj Mandi Rajsamad Mandi Rajsamad Mandi Rajsamad Mandi Rajsamad Mandi Rajsamad S28 to 288 from Deogarh towards Bhilwara on SH S10 RAISAMANDRegular100OpenCC202040025100Bidding2896Betweem KMS 28 to 288 from Deogarh towards Bhilwara on SH S11 to 218 from Udaipur to Ajmer on NH-8 on RAISAMANDRegular100OpenCC3545122525100Bidding2897Betweem KMS 216 to 218 from Udaipur to Ajmer on NH-8 on RHSRAISAMANDRegular150OBCDC354515752575Draw of Lots2898Within 4 KM from Bhim Dak Bunglow on LHS towards Udaipur NH-8RAISAMANDRegular150OpenDC354515752575Draw of Lots2899Within 4 KM from Either side of Chapil Government School on NH-8RAISAMANDRegular1100O8CDC20204002545Draw of Lots2900Within Municipality of Amet on any main road of width more than 40 feet.RAISAMANDRegular1100O8CDC354515752575Draw of Lots2901Between KMS 23 to 25 on RHS on Rajsamad Bhilwara road on than 40 feet.RAISAMANDRegular1100OBecDC354515752575Draw of Lots2902Between KMS 248 to 249 on LHS from Udaipur to Ajmer on NH- 8RAISAMANDRegular1100O		Within 2 KM from Rajkiya Prathmik Vidhyalaya Rajpura on												15	5
2896         61         KASAMAND         Regular         100         Open         CC         35         35         1225         25         100         Bidding           2897         RHS         Between KMS 216 to 218 from Udaipur to Ajmer on NH-8 on NHS         RAJSAMAND         Regular         150         0BC         DC         35         45         1575         25         75         Draw of Lots           2898         Within 4 KM from Bihm Dak Bunglow on LHS towards Udaipur on NH8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2899         Within 3 KM from Either side of Chapil Government School on NH-8         RAJSAMAND         Regular         150         SC         CFS         35         45         1575         0         0         Draw of Lots           2900         Within A KM from Either side of Chapil Government School on NH-8         RAJSAMAND         Regular         100         OBC         DC         20         400         25         45         Draw of Lots           2901         Between KMS 23 to 25 on RHS on Rajsamand Bhilwara road on NH 758         RAJSAMAND         Regular         150         OBC         DC         35         45	2895	Within 1 KM from Head post office Kankroli towards Krishi Upaj	RAJSAMAND	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2897RHSRHSAMANDRegular150OBCDC354515752575Draw of Lots2898Within 4 KM from Bhim Dak Bunglow on LHS towards Udaipur NH-8RAISAMANDRegular150OpenDC354515752575Draw of Lots2899Within 3 KM from Either side of Chapli Government School on NH-8RAISAMANDRegular150SCCFS3545157500Draw of Lots2900Within Municipality of Amet on any main road of width more than 40 feetRAISAMANDRegular100OBCDC20204002545Draw of Lots2901Between KMS 23 to 25 on RHS on Rajsamand Bhilwara road on than 40 feetRAISAMANDRegular150OBCDC354515752575Draw of Lots2902Between KMS 248 to 249 on LHS from Udaipur to Ajmer on NH 8RAISAMANDRegular150OpenCC354515752510Bidding2903Rajsamand WML on any main road of width more than 50 ft ftRAISAMANDRegular100OpenCC20204002545100Bidding2904Within Deogarh town on any main road of width more than 50 ft ftRAISAMANDRegular100OpenCC20204002510Bidding2904Within Deogarh town on any main road of width more than 50 ft ftRAISAMANDRegular150<	2896	Betwenn KMS 287 to 288 from Deogarh towards Bhilwara on SH 61	RAJSAMAND	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
2898 on NH8on NH8CharacterizeKAJSAMANDRegular150OpenDC35451575QODraw of Lots2899 NH-8Within 3 KM from Either side of Chapli Government School on than 40 feetRAJSAMANDRegular150SCCFS35451575OODraw of Lots2900 Within Aunicipality of Amet on any main road of width more than 40 feetRAJSAMANDRegular100OBCDC20204002545Draw of Lots2901 NH 758Between KMS 23 to 25 on RHS on Rajsamand Bhilwara road on NH 758RAJSAMANDRegular150OBCDC354515752575Draw of Lots2902 Between KMS 248 to 249 on LHS from Udaipur to Ajmer on NH RRAJSAMANDRegular150OpenCC3545157525100Bidding2903 2904 Rajsamand WML on any main road of width more than 50 ft ftRAJSAMANDRegular100OpenCC20204002545Draw of Lots2904 ftWithin Deogarh town on any main road of width more than 50 ftRAJSAMANDRegular100OpenDC20204002545Draw of Lots2905 getween KMS 145 to 155 on Udaipur Ajmer Road on NH-8RAJSAMANDRegular100OpenDC20204002545Draw of Lots2906 getween KMS 145 to 155 on Udaipur Ajmer Road on NH-8RAJSAMANDRegula	2897		RAJSAMAND	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2899NH-8RHSMMANDRegular1505CCFS354515750000002900thith Municipality of Amet on any main road of width more NH 758RAJSAMANDRegular10008CDC202040025455Draw of Lots2901Betwenn KMS 23 to 25 on RHS on Rajsamand Bhilwara road on NH 758RAJSAMANDRegular15008CDC354515752575Draw of Lots2902Between KMS 248 to 249 on LHS from Udaipur to Ajmer on NH- 8RAJSAMANDRegular1500penCC354515752510Bidding2903Rajsamand WML on any main road of width more than 50 ftRAJSAMANDRegular100OpenCC354515752510Bidding2904Within Deogarh town on any main road of width more than 50 ftRAJSAMANDRegular100OpenDC20204002545Draw of Lots2905Between KMS 145 to 155 on Udaipur Ajmer Road on NH-8RAJSAMANDRegular1500BCDC354515752575Draw of Lots2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular1500BCCC354515752575Draw of Lots2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular1500BCCC35451	2898	on NH8	RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2900than 40 feetRegular100OBCDC20204002545Draw of Lots2901Betwenn KMS 23 to 25 on RHS on Rajsamand Bhilwara road on NH 758RAJSAMANDRegular150OBCDC354515752575Draw of Lots2902Between KMS 248 to 249 on LHS from Udaipur to Ajmer on NH 8RAJSAMANDRegular150OpenCC354515752510Bidding2903Rajsamand WML on any main road of width more than 50 ftRAJSAMANDRegular100OpenCC20204002510Bidding2904Within Deogarh town on any main road of width more than 50 ftRAJSAMANDRegular100OpenDC20204002510Bidding2905Betweem KMS 145 to 155 on Udaipur Ajmer Road on NH-8RAJSAMANDRegular150OBCDC354515752575Draw of Lots2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular150OBCCC354515752575Draw of Lots2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular150OBCCC354515752510Bidding2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular150OBCCC354515752510Bidding <td>2899</td> <td>NH-8</td> <td>RAJSAMAND</td> <td>Regular</td> <td>150</td> <td>SC</td> <td>CFS</td> <td>35</td> <td>45</td> <td>1575</td> <td>0</td> <td>0</td> <td>Draw of Lots</td> <td>0</td> <td>3</td>	2899	NH-8	RAJSAMAND	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2901NH 758CRASMANANDRegular150OBCDC3545157525DFa Works2902Between KMS 248 to 249 on LHS from Udalpur to Ajmer on NHRAJSAMANDRegular150OpenCC3545157525100Bildding2903Rajsamand WML on any main road of width more than 50 ftRAJSAMANDRegular100OpenCC202040025100Bildding2904Within Deogarh town on any main road of width more than 50 ftRAJSAMANDRegular100OpenDC20204002545Draw of Lots2904ftBetween KMS 145 to 155 on Udaipur Ajmer Road on NH-8RAJSAMANDRegular150OBCDC354515752575Draw of Lots2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular150OBCCC3545157525100Bildding2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular150OBCCC3545157525100Bildding	2900	than 40 feet	RAJSAMAND	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2.5028RodsministicRegular1.50OpenCC5.54.51.572.51.0Bidding2903Rajsamand WML on any main road of width more than 50 ftRAJSAMANDRegular100OpenCC2.02.04002.51.0Bidding2904Within Deogarh town on any main road of width more than 50RAJSAMANDRegular100OpenDC2.02.04002.54.5Draw of Lots2905Betweem KMS 145 to 155 on Udaipur Ajmer Road on NH-8RAJSAMANDRegular150OBCDC3.54.515752.57.5Draw of Lots2906Within 2 KM from J K Circle towards Bhilwara on NH 758RAJSAMANDRegular150OBCCC3.54.515752.51.0Bidding	2901	NH 758	RAJSAMAND	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2904       Within Deogarh town on any main road of width more than 50       RAJSAMAND       Regular       100       Open       DC       20       400       25       45       Draw of Lots         2905       Betweem KMS 145 to 155 on Udaipur Ajmer Road on NH-8       RAJSAMAND       Regular       150       OBC       DC       35       45       1575       25       75       Draw of Lots         2906       Within 2 KM from J K Circle towards Bhilwara on NH 758       RAJSAMAND       Regular       150       OBC       CC       35       45       1575       25       75       Draw of Lots         2906       Within 2 KM from J K Circle towards Bhilwara on NH 758       RAJSAMAND       Regular       150       OBC       CC       35       45       1575       25       100       Bidding	2902	8	RAJSAMAND	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
2904         ft         Regular         100         Open         DC         20         20         400         25         45         Draw of Lots           2905         Betweem KMS 145 to 155 on Udaipur Ajmer Road on NH-8         RAJSAMAND         Regular         150         OBC         DC         35         45         1575         25         75         Draw of Lots           2906         Within 2 KM from J K Circle towards Bhilwara on NH 758         RAJSAMAND         Regular         150         OBC         CC         35         45         1575         25         10         Bidding													-	30	5
2906         Within 2 KM from J K Circle towards Bhilwara on NH 758         RAJSAMAND         Regular         150         OBC         CC         35         45         1575         25         10         Bidding		ft												15	5
														15 30	4
230/ Wittinin Keiwa town on any main road of width more than suft KAJSAWAANU Kegular 1UU SC LFS 20 20 400 0 Draw of Lots	2907	Within Kelwa town on any main road of width more than 50 ft	RAJSAMAND	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2908         Within Bhim town on any main road of width more than 50 ft         RAJSAMAND         Regular         100         OBC         DC         20         400         25         45         Draw of Lots														15	4
2909         Betwenn KMS 215 to 225 on either side of NH 8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2910         Betwenn KMS 215 to 225 on LHS on Rajsamand Bhilwara road on Network         RAJSAMAND         Regular         150         SC         CFS         35         45         1575         0         Draw of Lots		Betwenn KMS 23 to 25 on LHS on Rajsamand Bhilwara road on												15 0	5
NH 758         C <thc< th=""> <thc< th=""> <thc< th=""></thc<></thc<></thc<>		Betwenn KMS 16 to 17 on LHS on Rajsamand Bhilwara road on												30	4
NH 758         NH 758<		Bwtween TVS chauraha to JK Circle on 50 feet road											-	15	4
2913         Between KMS 112 to 114 from Udaipur towards Ajmer on LHS         RAJSAMAND         Regular         150         OBC         DC         35         45         1575         25         75         Draw of Lots           2014         Resumers KMS 100 to 00 on Udaipur towards Ajmer on LHS         RAJSAMAND         Regular         150         OBC         DC         35         45         1575         25         75         Draw of Lots           2014         Resumers KMS 100 to 00 on Udaipur towards Ajmer Age         RAJSAMAND         Regular         150         Opon         DC         35         45         1575         25         75         Draw of Lots		on NH-8												15	4
2914         Betweem KMS 80 to 90 on Udaipur Ajmer Road on NH-8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots           2915         Within Sardargarh town on any main road of width more than roft         RAJSAMAND         Regular         100         OBC         DC         20         20         400         25         45         Draw of Lots		Within Sardargarh town on any main road of width more than												15 15	5
2916         Between KMS 100 to112 on Udaipur Ajmer Road on NH-8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots	2916		RAJSAMAND		150	Open	DC	35	45	1575	25		Draw of Lots	15	5
2917         Between KMS 230 to 235 from Udaipur towards Ajmer on NH-8         RAJSAMAND         Regular         150         SC         CFS         35         45         1575         0         Draw of Lots	2917	Betweem KMS 230 to 235 from Udaipur towards Ajmer on NH-8	RAJSAMAND	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
OIL FIS         OIL FIS <t< td=""><td>2918</td><td></td><td>RAJSAMAND</td><td>Regular</td><td>150</td><td>Open</td><td>DC</td><td>35</td><td>45</td><td>1575</td><td>25</td><td>75</td><td>Draw of Lots</td><td>15</td><td>5</td></t<>	2918		RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2919         Betweem KMS 125 to 135 on Udaipur Ajmer Road on NH-8         RAISAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots		Betweem KMS 125 to 135 on Udaipur Ajmer Road on NH-8	RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2920         Between KMS 135 to 145 on Udaipur Ajmer Road on NH-8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots	2919	Betweem KMS 135 to 145 on Udaipur Ajmer Road on NH-8	RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2921         Betwenn KMS 35 to 36 from Amet towards Devgarh on RHS on SH-56         RAJSAMAND         Regular         100         OBC         DC         35         35         1225         25         60         Draw of Lots			RAJSAMAND	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2922         Between KMS 195 to 205 on Udaipur Ajmer Road on NH-8         RAJSAMAND         Regular         150         Open         DC         35         45         1575         25         75         Draw of Lots	2920		RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the n Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2923	Betweem KMS 205 to 216 on Udaipur Ajmer Road on NH-8	RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2924	Betweem KMS 175 to 185 on Udaipur Ajmer Road on NH-8	RAJSAMAND	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2925 2926	Between KMS 4 to 5 on Madri Sardargarh Road, SH 56 Betweem KMS 218 to 228 from Udaipur to Ajmer on NH-8 on	RAJSAMAND	Regular Regular	100 150	OBC Open	DC DC	35 35	35 45	1225 1575	25	60 75	Draw of Lots Draw of Lots	15	4 5
2927	RHS Betwenn KMS 16 to 17 on RHS on Rajsamand Bhilwara road on	RAJSAMAND	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2928	NH 758 Betwenn KMS 32 to 35 on LHS on Rajsamand Bhilwara road on	RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2929	NH 758 Betwenn KMS 32 to 35 on RHS on Rajsamand Bhilwara road on	RAJSAMAND	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
2930	NH 758 Within 1 KM from Anjana Chauraha towards Deogarh on SH 61	RAJSAMAND	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2931	Betweem KMS 90 to 100 on Udaipur Ajmer Road on NH-8	RAJSAMAND	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2932 2933	Within 2 KM from Either Side from Sheth Bansilal Nandlal Nyati Prathmik Swasthya Kendra, Kuraj Within 3 KM from Krishi Upaj Mandi Amet towards Amet	RAJSAMAND	Rural Rural	50 50	OBC SC PH	DC CFS	35 35	35 35	1225 1225	12	30 0	Draw of Lots Draw of Lots	5	3
2933	Within 3 KM from Rajkiya Uchh Madhyamik Vidhyalaya Devpura on LHS Towards Amet on Kelwa Amet Road	RAJSAMAND	Rural	50	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
2935	Within 2 KM from Atal Sewa Kendra Jetpura towards Siyana on RHS	RAJSAMAND	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2936	Within 4 KM from NH-8 towards Nandavat on Bhim Nandavat Road	RAJSAMAND	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2937	Within 5 KM From NH-8 towards Sapol on Sapol Sanwar road	RAJSAMAND	Rural	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
2938	Within 3 KM from Krishi Upaj Mandi Amet towards Kelwa	RAJSAMAND	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2939	Within 2 KM From Rajkiya Uchh Madhyamik Vidhyalay Sapol towards Rajsamand on MDR 36B on RHS	RAJSAMAND	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
2940 2941	In village Khamnor in Khamnor tehsil Within 3 KM from village Sayra towards Kumbhalgarh	RAJSAMAND RAJSAMAND	Rural Rural	50 50	Open OBC	DC CC	35 35	35 35	1225 1225	12 12	30 5	Draw of Lots Bidding	5 10	4 3
2942 2943	Between Kumbhalgarh Quila and village Kelwara	RAJSAMAND	Rural Rural	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
2943	Within 3 KM from Police Station Devgarh towards Kamlighat Revevnue village Dovas	RAJSAMAND	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
2945	Within 5 KM from Nathdwara bus stand on Nathdwara Kumbhalgarh road	RAJSAMAND	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2946	Within 2 KM From Puthol Tiraha towards Rajsamand on MDR 36B on RHS	RAJSAMAND	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2947	Within 3 KM from Kelwa towards Amet on kelwa Amet Road	RAJSAMAND	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2948 2949	Between Km Stone 10 to 12 on ODR 16 towards Gilund Within 5 Km from Kelwara Village on Kelwara to Nathdwara	RAJSAMAND	Rural Rural	50 50	Open Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	4
2949	Road From Swaroopganj to Bhula between Km Stone No. 5 to 17 on	SIROHI	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
2951	NH-927A From Sirohi to Sindhrat between Km Stone No. 198 to 203 on	SIROHI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2952	SH-27 From Paldi(M) to Sirohi between Km Stone No. 698 to 701 on	SIROHI	Regular	150	Open	сгэ	35	45	1575	25	10	Bidding	30	5
2953	NH-62 (Old NH-14) on RHS From Sheoganj to Paldi(M) between Km Stone No. 684 to 687	SIROHI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2954	on NH-62 (Old NH-14) on RHS From Sirohi to Jhadoli between Km Stone No. 718 to 722 on NH-	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2955	62 (Old NH-14) on LHS Sheoganj WML on any main Road	SIROHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2956	From Sheoganj to Paldi(M) between Km Stone No. 693 to 698 on NH-62 (Old NH-14) on RHS	SIROHI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2957	From Paldi(M) to Sirohi between Km Stone No. 703 to 707 on NH-62 (Old NH-14) on LHS	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2958 2959	Abu Road WML on any main Road Talheti Tiraha to Khiwarli (Intersection with NH-27) on Talheti-	SIROHI	Regular Regular	100	Open Open	DC CC	20 20	20 20	400	25 25	45 10	Draw of Lots BIDDING	15 30	5
2960	Khiwarli Road From Sirohi to Jhadoli between Km Stone No. 718 to 723 on NH-	SIROHI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2961	62 (Old NH-14) on RHS From Mawal to Abu Road between km Stone No. 639 to 645 on	SIROHI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2962	NH-27 on RHS From Jhadoli to Ajari between Km Stone No. 730 to 734 on NH- 52 (Old NH 14) on LHS	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2963	62 (Old NH-14) on LHS Manpur tiraha to Talheti Tiraha (talheti) on Mount abu road	SIROHI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2964	From Sirohi to Jhadoli between Km Stone No. 708 to 716 on NH-	SIROHI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2965	62 (Old NH-14) on LHS Within 3 KM from Railway Crossing towards Binani plant on Binani Road, Pindwara	SIROHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2966	From Karoti to Reodar between Km Stone No. 243 to 249 on SH- 27	SIROHI	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2967	From HDFC bank to mlsu collage on kesarpur road, Sheoganj	SIROHI	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2968	From Abu Road to Khiwarli between km Stone No. 648 to 656 on NH-27 on RHS	SIROHI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2969	From sheoganj bus stand to NH-62 intersection From Mawal to Abu Road between km Stone No. 630 to 634 on	SIROHI	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
2970	NH-27 on LHS From Anadra to Karoti between Km Stone No. 237 to 241 on SH-	SIROHI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2971	27 From Khiwarli to swaroopganj between km Stone No. 665 to	SIROHI	Regular	100	Open	CC	35	35	1225	25	10	Bidding	30	5
2972 2973	672 on NH-27 on RHS From Sirohi towards Sindhrat within municipal limits	SIROHI	Regular Regular	150 100	OBC ST	DC CFS	35 20	45 20	1575 400	25 0	75 0	Draw of Lots Draw of Lots	15 0	4
2974	From Jhadoli to Ajari between Km Stone No. 730 to 734 on NH- 62 (Old NH-14) on RHS	SIROHI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2975 2976	Abu Road industrial Area From Sheoganj to Paldi(M) between Km Stone No. 684 to 687	SIROHI	Regular	100 150	SC OBC	CFS DC	20 35	20	400 1575	0	0 75	Draw of Lots	0	3
	on NH-62 (Old NH-14) on LHS From anadra chauraha to Baba Ramdev restaurant on old Sirohi		Regular					45				Draw of Lots		
2977 2978	city bypass From Mandar to Badgaon between Km Stone No. 73 to 75 on	SIROHI	Regular	100	Open Open	DC CC	20 35	20 35	400 1225	25	45	Draw of Lots Bidding	15 30	5
2978	SH-11 From Abu Road to Khiwarli between km Stone No. 656 to 661	SIROHI	Regular	100	Open	DC	35	35 45	1225	25	75	Draw of Lots	30 15	4
2979	on NH-27 on LHS Sirohi WML on any main Road with road width of 80ft and more	SIROHI	Regular Regular	150	ST	CFS	35 20	45 20	400	0	0	Draw of Lots	0	4
2960	Shohi wivit on any main koad with road width of 80ft and more	SINUHI	negular	100	51	UL2	20	20	400	U	U	UI AW UI LOTS	U	3

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the n Sq. M.). *	site	be ar by	nce to ranged / the llicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CPH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	B	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
2981	From Sirohi to Goyali between KM Stone No. 1 to 4 on SH-38	SIROHI	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2982 2983	Swaroopganj WML on any main road From Khiwarli to swaroopganj between km Stone No. 661 to	SIROHI	Regular Regular	100 150	SC CC 1 OBC CC 1	CFS DC	20 35	20 45	400 1575	0 25	0	Draw of Lots Draw of Lots	0	3
2984	665 on NH-27 on LHS From Swaroopganj to Pindwara between km Stone No. 680 to 685 on NH-27 on RHS	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2985	From Khiwarli to swaroopganj between km Stone No. 665 to 672 on NH-27 on LHS	SIROHI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2986	From Mawal to Abu Road between km Stone No. 634 to 639 on NH-27 on RHS	SIROHI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2987 2988	Within 3 kms from Mount Abu toll booth From Swaroopganj to Pindwara between km Stone No. 685 to	SIROHI	Regular Regular	100 150	OBC ST	DC CFS	20 35	20 45	400 1575	25 0	45	Draw of Lots Draw of Lots	15 0	4
2989	690 on NH-27 on LHS From mohbatnagar to gudha between km stone 34 to 37 on SH-	SIROHI	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
2990	38 From Sirohi to Jhadoli between Km Stone No. 708 to 716 on NH- 62 (Old NH 14) on PHS	SIROHI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2991	62 (Old NH-14) on RHS From Swaroopganj to Pindwara between km Stone No. 680 to 685 on NH-27 on LHS	SIROHI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2992	From Sirohi to Jhadoli between Km Stone No. 726 to 729 on NH- 62 (Old NH-14) on LHS	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2993 2994	From Km Stone No. 201 to 204 on SH-62 From Mawal to Abu Road between km Stone No. 634 to 639 on	SIROHI	Regular Regular	100 150	Open OBC	CC DC	35 35	35 45	1225 1575	25 25	10 75	Bidding Draw of Lots	30 15	5
2995	NH-27 on LHS From Swaroopganj to Kodarla between km Stone No. 675 to 680	SIROHI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
2996	on NH-27 on LHS From Pindwara to Udaipur Between Km Stone No. 694 to 703 on NH-27	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
2997	From Sirohi to Jhadoli between Km Stone No. 723 to 728 on NH- 62 (Old NH-14) on RHS	SIROHI	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
2998	From Manpur to Karoti between Km Stone 124 to 121 on SH-11	SIROHI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2999 3000	From Abu Road Bus Stand to Manpur Tiraha, Abu Road At or near kalindri between km stone 27 to 30 on SH 38	SIROHI SIROHI	Regular Regular	100 100	ST ST CC 1	CFS CFS	20 35	20 35	400 1225	0	0	Draw of Lots Draw of Lots	0	3
3001	From Karaoti to Abu Road between Km stone 97 to 104 on SH- 11	SIROHI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3002	From Mawal to Abu Road between km Stone No. 639 to 645 on NH-27 on LHS	SIROHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3003	From Sumerpur to Paldi(M) between Km Stone No. 679 to 684 on NH-62 (Old NH-14) on RHS From Sheoganj to Paldi(M) between Km Stone No. 687 to 692	SIROHI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
3004	From Mandar to Badgaon between Km Stone No. 70 to 73 on	SIROHI	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
3005 3006	SH-11 From Paldi(M) to Sirohi between Km Stone No. 697 to 703 on	SIROHI	Regular Regular	100	OBC CC 1 ST	DC CFS	35	35 45	1225 1575	25 0	60 0	Draw of Lots Draw of Lots	15 0	4
3007	NH-62 (Old NH-14) on LHS Pindwara WML on any main road	SIROHI	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
3008	From Sirohi to Jhadoli between Km Stone No. 722 to 726 on NH- 62 (Old NH-14) on LHS From Paldi(M) to Sirohi between Km Stone No. 701 to 706 on	SIROHI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3009 3010	NH-62 (Old NH-14) on RHS At or near barloot between km stone 19 to 22 on SH 38	SIROHI	Regular Regular	150 100	OBC CC 1 ST	DC CFS	35 35	45 35	1575 1225	25 0	75 0	Draw of Lots Draw of Lots	15 0	4
3011	From Swaroopganj to Pindwara between km Stone No. 685 to 690 on NH-27 on RHS	SIROHI	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
3012	From Mawal to Abu Road between km Stone No. 630 to 634 on NH-27 on RHS	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
3013	From Abu Road to Khiwarli between km Stone No. 656 to 661 on NH-27 on RHS	SIROHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3014 3015	From Khiwarli to swaroopganj between km Stone No. 661 to 665 on NH-27 on RHS Reodar WML on any main road	SIROHI	Regular Regular	150 100	SC CC 1 OBC	CFS DC	35 20	45 20	1575 400	0 25	0 45	Draw of Lots Draw of Lots	0	3
3016	From Swaroopganj to Kodarla between km Stone No. 675 to 680 on NH-27 on RHS	SIROHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3017	Talheti to Mount Abu From Sheoganj to Paldi(M) between Km Stone No. 687 to 692	SIROHI	Regular	100	OBC	DC	20	20	400	25	45 0	Draw of Lots	15	4
3018 3019	on NH-62 (Old NH-14) on RHS Mount Abu WML on any main road	SIROHI	Regular Regular	150 100	ST OBC	CFS DC	35 20	45 20	1575 400	0 25	45	Draw of Lots Draw of Lots	0 15	4
3020	From Sumerpur to Paldi(M) between Km Stone No. 679 to 684 on NH-62 (Old NH-14) on LHS Erom Shoogani to Paldi(M) between Km Stone No. 692 to 697	SIROHI	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
3021	From Sheoganj to Paldi(M) between Km Stone No. 693 to 697 on NH-62 (Old NH-14) on LHS From Abu Road to Khiwarli between km Stone No. 648 to 656	SIROHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
3022	on NH-27 on LHS From Magriwara to Mandar between Km Stone No. 252 to 255	SIROHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3023 3024	on SH-27 From Sirodi to Anadra between Km Stone No. 217 to 222 on SH-	SIROHI	Regular	100	Open PH SC	DC CFS	35 35	35 35	1225 1225	25 0	60 0	Draw of Lots Draw of Lots	15 0	5
3024	27 From Abu Rad to Karaoti, between Km stone 105 to 109 on SH-	SIROHI	Regular Regular	100	SC Open	DC	35	35	1225	25	60	Draw of Lots	15	5
3025	11 From Anadra to Karoti between Km Stone No. 233 to 237 on SH-	SIROHI	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
3027	27 Within 2 kms of Revenue village Uthman, Tehsil Sheoganj	SIROHI	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
3028	Revenue village Rohida, Tehsil Pindwara From Reodar to Dantrai between Km Stone No. 5 to 12 on MDR	SIROHI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
3029 3030	26 Revenue village Bant, Tehsil Reodar	SIROHI	Rural Rural	50 50	Open Open	CC CC	35	35 35	1225 1225	12 12	5	Bidding Bidding	10 10	4
3031	From Reodar to Dantrai between Km Stone No. 3 to 5 on MDR 26	SIROHI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
3032 3033	Village rampura, Tehsil Sirohi From JK laxmi cement plant to Banas (Intersection with NH-27)	SIROHI	Rural Rural	50 50	OBC Open CC 2	DC DC	35	35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
3034 3035	Revenue village Bhimana, Tehsil Pindwara From Jawal bus stand to Gol bus stand on Jawal-Gol road	SIROHI	Rural Rural	50 50	OBC Open CC 1	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3
3035	From Varada to Barloot between km stone 26 to 30 on ODR 07	SIROHI	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
3037	From Abu Road-NH27 Intersection to Ambaji Tample on Abu- Ambaji Road	SIROHI	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
3038	Revenue village Nitoda on Swaroopgang- Nitoda Village Road	SIROHI	Rural	50	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
3039 3040	Revenue village Makawal, Tehsil Reodar Revenue village Posaliya, Tehsil Sheoganj	SIROHI SIROHI	Rural Rural	50 50	OBC PH OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	3

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Di M.)//	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
3041	In Revenue village Nimbaj on Anapur-Nimbaj Village Road, Tehsil Reodar	SIROHI	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
3042	In Revenue village Vadvaj on Nimbaj-Badgaon Village Road, Tehsil Reodar	SIROHI	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3043 3044	From Kalandri to Dodua on Kalandri- Dodua village road Revenue village Kojra, Tehsil Pindwara	SIROHI SIROHI	Rural Rural	50 50	ST Open CC 1	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2 4
3045 3046	Revenue village - Kailash Nagar, Tehsil Sirohi In Revenue village Gol, Tehsil Sirohi	SIROHI SIROHI	Rural Rural	50 50	Open OBC CC 1	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
3047	In Revenue village Sivera on Jhadoli-Sivera Village road, Tehsil Pindwara	SIROHI	Rural	50	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4
3048	Between KMS 325 to 327 on LHS from Udaipur towards Ahmedabad	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3049	Between KM Stone 328 to 332, on RHS from Udaipur towards Ahmedabad, on NH-8	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3050	Between KM Stone 343 to 345, on LHS from Udaipur towards	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3051	Ahmedabad, on NH-8 Within 2 KM from R K circle, in any direction on main road,	UDAIPUR	Regular	100	OBC	сс	18	18	324	25	10	Bidding	30	4
3052	Udaipur City From Gogunda towards Udaipur, between KMS 750 to 755 on	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3053	RHS, on NH 27 Within town limit of Parsad, on any main road width more than	UDAIPUR	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
3054	50 ft From Fatehpura Police Chowki towards TB Hospital Badi till Badi	UDAIPUR	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
	lake, in Udaipur Between Mali Conony & Sevasharam roan, on new 100 ft road,		-									-		
3055	in Udaipur City From Udiapole towards Mali Colony till Durga Nursery road, in	UDAIPUR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
3056	Udaipur City Between Thokar Chauraha to Prapnagar Chauraha, in Udaipur	UDAIPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
3057	City Within 2 KM from either side of Reliance Chemotex Udaipur,	UDAIPUR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
3058	Kanpur to NH 8 Road	UDAIPUR	Regular	100	OBC	CC	20	20	400	25	10	Bidding	30	4
3059	From Ceremony marriage garden towards Syphon Chauraha, in Navratan area, Udaipur City	UDAIPUR	Regular	100	SC	CFS	18	18	324	0	0	Draw of Lots	0	3
3060	Within town limit of Chawand, on any main road with width more than 50 ft	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3061	From Sevasharam Fly over to Hiran Magri Police Station, in Udaipur City	UDAIPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
3062	From Pindwara towards Gogunda, between KMS 735 to 740 on RHS, on NH 27	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3063	From Gogunda towards Udaipur between KMS 755 to 760, on RHS, on NH 27	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3064	From Pindwara towards Gogunda, between KMS 715 to 720 on LHS, on NH 27	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3065	Within 2 KM from Pipalwas Govt School towards Jhadol on Pipalwas Jhadol Road on RHS	UDAIPUR	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5
3066	In kaladwas Industrial area on main road width more than 80 ft	UDAIPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
3067	From Pindwara towards Gogunda between KMS 710 to 715 on RHS on NH 27	UDAIPUR	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
3068	Within 2 KM from Navania flyover towards Chittorgarh on LHS on NH 76 (New NH 27)	UDAIPUR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
3069	From Chungi Naka to CA circle on LHS in Udaipur City	UDAIPUR	Regular	100	Open	CC	18	18	324	25	10	Bidding	30	5
3070	From Vana towards Mangalwar on RHS on NH 27 in Udaipur District	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3071	From Vana towards Mangalwar on LHS on NH 27 in Udaipur District	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3072	From Ceremony resort to DPS side road on 100 ft main road on LHS side in Udaipur City	UDAIPUR	Regular	100	Open	CC	18	18	324	25	10	Bidding	30	5
3073	Within town limit of Gogunda on any main road width more than 50 ft	UDAIPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
3074	Between KM Stone 328 to 332 on LHS from Udaipur towards Ahmedabad on NH-8	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3075	From Pindwara towards Gogunda between KMS 740 to 745 on LHS on NH 27	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3076	From Gogunda towards Udaipur between KMS 760 to 765 on LHS on NH 27	UDAIPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
3077	Either side of Shobhagpura Circle - Pramnand Garden till Sukher Road in Udaipur City	UDAIPUR	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
3078	Within 4 KM from Chungi Naka towards Balicha in Udaipur City	UDAIPUR	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
3079	Udaipur WML on any main road Tiddi towards Kherwara Between km stone 332 to 343 on NH 8	UDAIPUR	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
3080 3081	on RHS From Dabok to Bhatewar on RHS on NH 27	UDAIPUR	Regular Regular	150 150	Open OBC	DC DC	35 35	45 45	1575 1575	25 25	75 75	Draw of Lots Draw of Lots	15 15	5
3082	Between Sukhadia Circle to Syphon Chauraha in Udaipur City	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3083	Between R K Circle & CPS Sr Secondary School via 100 ft road,New Bhopalpura	UDAIPUR	Regular	100	Open	DC	18	18	324	25	45	Draw of Lots	15	5
3084	Between KM Stone 343 to 345 on RHS from Udaipur towards Ahmedabad on NH-8	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3085	Anmedabad on NH-8 From Gogunda towards Udaipur between KMS 765 to 770 on LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3086	Between R K Circle & Sukher Chauraha in Udaipur City	UDAIPUR	Regular	100	Open	DC	18	18	324	25	45	Draw of Lots	15	5
3087	From Udaipur towards Debari between KMS 780 to 785 on RHS on NH 27	UDAIPUR	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
3088	Within 1 KM from Amarpura Rajkiya Uchh Madhyamik Vidhyalaya Amarpura towards Jaisamand on LHS, SH 32	UDAIPUR	Regular	100	OBC	СС	35	35	1225	25	10	Bidding	30	4
3089	Tiddi towards Kherwara Between km stone 343 to 353 on NH 8 on RHS	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3090	Between R K Circle & 100 ft connecting road in Udaipur City	UDAIPUR	Regular	100	OBC	сс	18	18	324	25	10	Bidding	30	4
3091	Between KMS 323 to 326 on NH-8 from Udaipur towards Ahmedabad on RHS	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3092	From Thokar Chauraha to Bohra Ganesh Tiraha on main road in Udaipur City	UDAIPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
3093	Within 3 KM from Shobhagpura circle in any direction on main road, Udaipur City	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3094	From Udaipur towards Debari between KMS 785 to 790 on RHS on NH 27	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3095	Between R K Circle & Fatehpura Chauraha in Udaipur City	UDAIPUR	Regular	100	OBC	сс	18	18	324	25	10	Bidding	30	4
			a	ı						1				

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (ii Area of the in Sq. M.). *	site	be ar by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
3096	From Mallatalai Chauraha to Chetak Circle in Udaipur City	UDAIPUR	Regular	100	Open	DC	18	18	324	25	45	Draw of Lots	15	5
3097	Between KM Stone 67 to 68 on RHS from Gingla Chauraha	UDAIPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3098	towards Salumber, SH 53 From Udaipur towards Tiddi Between km stone 290 to 300 on	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3099	NH 8 on RHS On Sunrise Hospital road of width more than 80 feet in Udaipur	UDAIPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
3100	City From Pratapnagar sukher road to Sukher Amberi road via	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3101	Khelgaon in Udaipur City From Udaipur towards Tiddi Between km stone 300 to 310 on	UDAIPUR	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
3102	NH 8 on RHS Tiddi towards Kherwara Between km stone 332 to 343 on LHS	UDAIPUR		150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
	on NH 8 Nathdwara towards udaipur Between KMS 235 to 240 on NH 8		Regular							-				
3103	On RHS From Hadi Rani Circle till Pratapnagar Balicha road via Nand	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3104	Vatika in Udaipur City Within town limit of Kanor on any main road width more than	UDAIPUR	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
3105	50 ft	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3106	Tiddi towards Kherwara Between km stone 343 to 353 on LHS on NH 8	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3107	Within town limit of Rishabhdeo on any main road width more than 50 ft	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3108 3109	From Debari to Dabok on RHS on NH 27 From Shobhagpura Circle towards lakecity mall on 100 ft road in	UDAIPUR	Regular Regular	150 100	OBC OBC	DC CC	35 20	45 20	1575 400	25 25	75 10	Draw of Lots Bidding	15 30	4 4
	Udaipur City			100	sc	CFS			324	0	0		0	3
3110 3111	Between R K Circle & Shobhagpura Chauraha in Udaipur City Within 3 KM from either side of Dakan Kotda on SH 32	UDAIPUR	Regular Regular	100	Open	DC	18 35	18 35	1225	25	60	Draw of Lots Draw of Lots	15	5
3112	Within 2 KM from either side of village Karawali on SH 53 on Bhinder Salumber Road	UDAIPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3113	Nathdwara towards udaipur Between KMS 235 to 240 on NH 8 On LHS	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3114	From Gogunda towards Udaipur between KMS 770 to 775 on	UDAIPUR	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
3115	LHS on NH 27 Within town limit of Kherwara on any main road width more	UDAIPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
3116	than 50 ft Between Geetanjali Hospital to Balicha Tiraha	UDAIPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
3117	Nathdwara towards udaipur Between KMS 243 to 255 on NH 8 On LHS Udaipur Ajmer Road	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3118 3119	Between Pratapnagar Chauraha to Sukher Chauraha Between Pratapnagar Chauraha to Geetanjali Hispital	UDAIPUR	Regular Regular	100 100	OBC OBC	DC CC	20 20	20 20	400 400	25 25	45 10	Draw of Lots Bidding	15 30	4 4
3120	From Sector 8/rani hadi tiraha towards Hiran magri police station House on LHS on Hiranmagri main road	UDAIPUR	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
3121	Within 3 Kms from Balicha Tiraha towards Kaya within municipal limit of Udaipur Within town limit of Bhalariya on any main road width more	UDAIPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
3122	than 50 ft From Debari towards Kaya between Kaladwas Industrial area	UDAIPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
3123 3124	and Kaya on RHS on new bypass On University Road Between Shastri Circle to Mohanlal Sukhadia University	UDAIPUR	Regular Regular	150 100	Open OBC	CC DC	35 20	45 20	1575 400	25	10 45	Bidding Draw of Lots	30 15	5
	Within 2 KM from either side of village Sayra on SH-32 From Bhatewar to Vana on RHS on NH 27	UDAIPUR	Regular Regular	100 150	Open OBC	DC CC	35 35	35 45	1225 1575	25 25	60 10	Draw of Lots Bidding	15 30	5 4
3120	From Debari towards Kaya between Debari and Kaladwas	UDAIPUR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
3128	Industrial area on LHS on new bypass Within town limit of Fatehnagar on any main road width more	UDAIPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
3129	than 50 ft From Debari towards Kaya between Kaladas Industrial area And	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3130	Kaya on LHS on new bypass Nathdwara towards udaipur Between KMS 241 to 243 on NH 8	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3131	from Nathdwara towards Udaipur on RHS Within town limit of Mavli on any main road width more than	UDAIPUR	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
	50 ft Nathdwara towards udaipur Between KMS 243 to 255 on NH 8		-							-				
3132	On RHS on Udaipur Ajmer Road Nathdwara towards udaipur Between KMS 241 to 243 on NH 8	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3133 3134	from Nathdwara towards Udaipur on LHS From Bhatewar to Vana on LHS on NH 27	UDAIPUR	Regular Regular	150 150	Open SC	DC CFS	35 35	45 45	1575 1575	25	75	Draw of Lots Draw of Lots	15 0	5
3135	Between KMS 19 to 20 on LHS from Mavli to Dabok on SH-9	UDAIPUR	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
3136	From Debari towards Kaya between Debari and Kaladwas Industrial area on RHS on new bypass	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3137	From Udaipur towards Debari between KMS 790 to 795 on LHS	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3138	on NH 27 Between KMS 5 to 9 on SH 9 on RHS from Dabok to Mavli	UDAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
3139 3140	Between Surajpole Chauraha to Thokar Chauraha From Gogunda towards Udaipur between KMS 755 to 760 on	UDAIPUR	Regular Regular	100 150	Open PH Open	CC DC	20 35	20 45	400 1575	25 25	10 75	Bidding Draw of Lots	30 15	5
3141	LHS on NH 27 From Pindwara towards Gogunda between KMS 705 to 710 on LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3142	From Udaipur towards Tiddi Between km stone 290 to 300 on NH 8 on LHS	UDAIPUR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
3143	Between Bus Stand Jadiyana Chavnd Road & Amarpura Govt School towards Udaipur on LHS, SH 32	UDAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
3144	Between km stone 55 to 62 ON SH 32 From Pindwara towards Gogunda between KMS 720 to 725 on	UDAIPUR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
3145	RHS on NH 27 Within 2 KM from either side of Kalyanpur on Kalyanpur	UDAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
3146	Rishabhdev road	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3147	From Udaipur towards Tiddi Between km stone 300 to 310 on NH 8 on LHS	UDAIPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3148	From Pindwara towards Gogunda between KMS 710 to 715 on LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3149	From Udaipur towards Tiddi Between km stone 320 to 325 on NH 8 on RHS	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3150	From Pratapnagar Chauraha towards Debari on LHS in Udaipur City	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3151 3152	Between Chungi Naka to Military Base camp on LHS Between Amberi overbridge to Sukher Chaurah on RHS	UDAIPUR UDAIPUR	Regular Regular	100 100	OBC Open	CC DC	20 20	20 20	400 400	25 25	10 45	Bidding Draw of Lots	30 15	4 5
3153	Within 1.5 KM from Kanod Railway Station towards Bhinder on LHS	UDAIPUR	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	D M.)/	Minimum imension (i Area of the in Sq. M.). *	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
3154	From Gogunda towards Udaipur between KMS 760 to 765 on RHS on NH 27	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3155 3156	Within 8 KM from Syphon Chauraha towards Badgaon Between Amberi overbridge to Sukher Chaurah on LHS	UDAIPUR UDAIPUR	Regular Regular	100 100	Open Open	CC CC	20 20	20 20	400 400	25 25	10 10	Bidding Bidding	30 30	5
3157	From Pindwara towards Gogunda between KMS 705 to 710 on RHS on NH 27	UDAIPUR	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
3158	From Pindwara towards Gogunda between KMS 715 to 720 on	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3159	RHS on NH 27 From Gogunda towards Udaipur between KMS 765 to 770 on	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3160	RHS on NH 27 From Debari to Dabok on LHS on NH 27	UDAIPUR	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
3161	From Pindwara towards Gogunda between KMS 720 to 725 on LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3162	From Pindwara towards Gogunda between KMS 725 to 730 on LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3163	From Pindwara towards Gogunda between KMS 730 to 735 on RHS on NH 27	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3164	From Gogunda towards Udaipur between KMS 750 to 755 on IHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3165	From Pindwara towards Gogunda between KMS 745 to 750 on	UDAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
3166	RHS on NH 27 From Udaipur towards Debari between KMS 790 to 795 on RHS	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3167	on NH 27 From Dabok to Bhatewar on LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3168	From Pindwara towards Gogunda between KMS 725 to 730 on RHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3169	From Gogunda towards Udaipur between KMS 770 to 775 on RHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3170	From Pindwara towards Gogunda between KMS 745 to 750 on	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3171	LHS on NH 27 From kaya to Udaipur Jhadol road (via Undari Kalan) on LHS	UDAIPUR	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
3172	From Udaipur towards Debari between KMS 780 to 785 on LHS	UDAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	on NH 27 From Pindwara towards Gogunda between KMS 730 to 735 on													
3173	LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3174	From kaya to Udaipur Jhadol road (via Undari Kalan) on RHS From Gogunda towards Udaipur between KMS 775 to 780 on	UDAIPUR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
3175	LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3176	From Pindwara towards Gogunda between KMS 735 to 740 on LHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3177	From Udaipur towards Debari between KMS 785 to 790 on LHS on NH 27	UDAIPUR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
3178	From Pindwara towards Gogunda between KMS 740 to 745 on RHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3179	From Udaipur towards Tiddi Between km stone 320 to 325 on NH 8 on LHS	UDAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
3180	From Gogunda towards Udaipur between KMS 775 to 780 on RHS on NH 27	UDAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
3181	Either 2 KM from village Pie on Udaipur Jhadol road	UDAIPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3182 3183	On New Salumber bypass on Udaipur Banswara Road Vallabhnagar, Within 4 KM on either side, on Mavli Bhatewar	UDAIPUR	Regular Regular	100	Open OBC	DC DC	35 35	35 35	1225 1225	25 25	45 45	Draw of Lots Draw of Lots	15	5
3184	road Madri Industrial Area, On any Main Road, Udaipur City	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3185 3186	From Udai Pol to Paras Choraha, Udaipur City Gogunda on any main road, District Udaipur	UDAIPUR UDAIPUR	Regular Regular	100 100	SC CC 1 OBC CC 1	CFS DC	20 35	20 35	400 1225	0 25	0 45	Draw of Lots Draw of Lots	0 15	3 4
3187	Bambora, Within 2 KM towards Kurabad, on Salumber Kurabad road	UDAIPUR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
3188	Within 4 KM from Mavli Chauraha towards Dabok on RHS on SH	UDAIPUR	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
3189	9 New Jhadol Bye Pass, Jhadol, District Udaipur	UDAIPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
3190 3191	Between KMS 10 to 15 on Bhinder Udaipur Road Within 5 KM from Rajkiya Uchh Prathmik Vidhyalaya Surajpole,	UDAIPUR	Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12	30 30	Draw of Lots Draw of Lots	5	3
	Kanode towards Bansi on Bhinder Bansi Road													
3192 3193	Within 2 KM from either side of Atal Seva Kendra Vallbhnagar Between KMS 16 to 21 on Bhinder Udaipur Road	UDAIPUR	Rural Rural	50 50	Open SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	5	4
3194	Within 2 KM from Rajkiya Uchh Madhyamik Vidhyalaya Kharsan on Bhinder Udaipur Road	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3195	Within 1 KM from Mateshwari Public Uchh Prathmik Vidhyalaya	UDAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
3196	Towards Kurabad Within 2 KM from Lausing Chauraha towards Iswal on either	UDAIPUR	Rural	50	OBC	сс	35	35	1225	12	5	Bidding	10	3
3197	side Between KMS 10 to 15 on Parsad Chavand road on ODR-11	UDAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
		UDAIPUR				DC					30	Draw of Lots	5	4
3198	Within 1 KM from Khemli Railway Station towards SH9 on LHS Within 1.5 Km from Rajkiya Uchh Madhyamik Vidhyalaya		Rural	50	Open		35	35	1225	12				
3199	Kanpur towards Udaipur on MDR 32A Within 5 KM from either side of village Morwaniya on Udaipur	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3200	to Ubeshwar Mahadev Road	UDAIPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
3201	Within 3 KM from Nagar Palika Office Bhinder towards kanod	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3202	Within 4 KM from either side of Kurabad on Kurabad Debari Road	UDAIPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
3203 3204	Within 6 KM from NH 27 on Devla to Kotra Parvati Road Between Kanpur and Lakkadwas on Udaisagar Road	UDAIPUR UDAIPUR	Rural Rural	50 50	ST OBC	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	0	2
3205	Within 5 KM from either side of Ghodach on Ghodaghati to Gogunda Road	UDAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
3206 3207	In Village Chavand tehsil Sarada Between KMS 38 to 40 on Bhatewar Bhinder Road	UDAIPUR	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12 12	30 30	Draw of Lots Draw of Lots	5	4
3208	Within 5 KM from NH 27 towards Ranakpur	UDAIPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
3209	Within 2 KM from Javahar Vidhyapith Senior Secondary School Kanod towards Bhinder	UDAIPUR	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
3210	From Kaveri Farm House towards Majera Chauraha on LHS	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3211	Within 4 KM from either side of Asian College of Education on Fatehpura Badi lake road	UDAIPUR	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
3212	Within 3 KM from Bus Stand Kherad on Bhinder Udaipur Road	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3213	In Jhamar Kotra village on main road	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *			Finance to be arranged by the applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC PH OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	Within 3 KM from Krishi Upaj Mandi Fatehpura towards Bhinder Ramgarh Road	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3215	Within 4 km from Bhinder Kanod road towards Akola Khedi Road	UDAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
3216	Within 3 KM from Rajkiya Balika Madhyamik Vidhyalaya Parsad towards Chavand on ODR 11	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3217	Within 3 KM from either side of village Pai on Udaipur Jhadol Road	UDAIPUR	Rural	50	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
3218	VILLAGE THUR in tehsil badgaon on Badgaon - Iswal Road	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3219	Between KMS 31 to 36 on Bhinder Kanore Road	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 2 KM from Javahar Vidhyapith Senior Secondary School Kanod towards Bansi	UDAIPUR	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4